PRODUCTS
Car-Pak to Auveco Cross Reference

Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. [tem Description Pkg. Qty. Pkg. Qty. Change Difference
26 23580 LOCK CLIP TOOL

220 23566 L.H. WINDSHIELD LOCKING STRIP INSERT TOOL, 0.360” OPENING

221 N/A INSERTER TOOL-SEE COMME Discontinued
225 N/A THREAD CUTTING TOOL Discontinued
228 23577 WINDSHIELD & BACKGLASS SELF-SEALING RUBBER TOOL

233 N/A HEADLINNER STAPLE REMOVAL TOOL Discontinued
238 N/A MOUNTING TOOL Discontinued
253 23578 WINDSHIELD & BACKGLASS RUBBER TOOL

255 23579 HEAVY DUTY UPHOLSTERY NAIL REMOVER TOOL

256 N/A LOCKING STRIP TOOL Discontinued
293 23567 STRAIGHT WINDSHIELD LOCKING STRIP INSERT TOOL, 0.380” OPENING

294 N/A LOCKING STRIP TOOL Discontinued
298 N/A BACK GLASS AND REVEAL MOULDING REMOVAL TOOL Discontinued
303 N/A LOCKING STRIP TOOL Discontinued
304 23568 R.H. WINDSHIELD LOCKING STRIP INSERT TOOL, 0.380” OPENING

305 23569 L.H. WINDSHIELD LOCKING STRIP INSERT TOOL, 0.590” OPENING

306 23570 R.H. WINDSHIELD LOCKING STRIP INSERT TOOL, 0.590” OPENING

17-11351 11351 DOOR PANEL RETAINER - FORD CHRYSLER VW

17-11917 11917 #6 X 1/2 PHIL PAN HEAD T.S. - BLACK OXIDE

17-11918 11918 #6 X 3/4 PHIL PAN HEAD T.S. - BLACK OXIDE

17-11919 11919 #6 X 1 PHILLIPS PAN HEAD T.S. - BLACK OXIDE

17-12571 12571 FORD FASCIA TO BUMPER RETAINER

17-12903 12903 PHILLIPS PAN HEAD T.S. 4 X 3/8 BLACK OXIDE

17-12904 12904 PHILLIPS PAN HEAD T.S. 4 X 1/2 BLACK OXIDE

17-13470 13470 FORD DOOR TRIM PANEL RETAINER WHITE NYLON

17-13996 13996 GM PUSH-TYPE RETAINER 7/8 LENGTH 11/16 HEAD DIA.

17-14036 14036 GM REAR HOOD SEAL RETAINER

17-14260 14260 TOYOTA PUSH-TYPE RETAINER 15MM HEAD DIA.

17-14269 14269 MAZDA/TOYOTA DOOR PANEL RETAINER 20.5MM LGTH

17-14991 14991 PUSH TYPE RETAINER 11/16 HEAD DIA 11/16 ST LENGTH

17-16454 16454 RUBBER GROMMET 1/4 BORE DIA 1/2 0D

17-16456 16456 RUBBER GROMMET 3/8 BORE DIA 7/8 OD

17-16458 16458 RUBBER GROMMET 1/2 BORE DIA 1 OD

17-16846 16846 EXTRUDED U NUT SCREW LOCK THREAD M6-1.0

17-16889 16889 PHILLIPS PAN HEAD TAP SCREW #6 X 3/8 BLACK OXIDE

17-17992 17992 LEXUS PUSH-TYPE RETAINER 20MM HEAD DIA 12MM LGTH

17-19171 19171 HONDA WEATHERSTRIP RETAINER 5MM X 15MM HEAD SIZE

17-19821 19821 GM ROCKER PANEL CLIP 1-1/4 STEM LGTH FITS 7/16 HOLE

17-20607 20607 GM ROCKER MOULDING CLIP14MM STEM LGTH

17-21102 21102 LEXUS/ TOYOTA RETAINER

17-21241 21241 FORD RETAINER BLACK NYLON

17-21285 21285 NISSAN MOULDING CLIP

17-21682 21682 LEXUS MOULDING CLIP WITH SEALER

17-21683 21683 NISSAN MOULDING CLIP WITH SEALER

17-21685 21685 LEXUS SCREW GROMMET

17-21705 21705 ACURA & HONDA WEATHERSTRIP CLIP

17-21707 21707 ACURA/HONDA WEATHERSTRIP CLIP

17-21780 21780 BMW PUSH-TYPE RETAINER

17-21822 21822 PEUGEOT/CITROEN & TOYOTA RETAINER

17-21856 21856 LEXUS/TOYOTA PUSH-TYPE RETAINER

17-22042 22042 SUBARU MOULDING CLIP

17-22054 22054 HONDA RETAINER

17-22077 22077 MITSUBISHI PUSH-TYPE RETAINER

17-22096 22096 LEXUS/TOYOTA SCREW GROMMET

17-22107 22107 NISSAN WEATHERSTRIP RETAINER

17-22141 22141 BMW MOULDING CLIP

17-4408 4408 GROMMETS 1/8 BORE DIA. 1/2 OUTSIDE DIA.

17-4410 4410 GROMMETS 5/32 BORE DIA. 3/8 QUTSIDE DIA.

17-4414 4414 GROMMETS 3/16 BORE DIA. 3/8 OUTSIDE DIA.

17-4415 4415 GROMMETS 3/16 BORE DIA. 7/16 OUTSIDE DIA.

17-4417 4417 GROMMETS 1/4 BORE DIA. 5/8 OUTSIDE DIA.

17-4419 4419 GROMMETS 5/16 BORE DIA. 9/16 OUTSIDE DIA.

17-4420 4420 GROMMETS 5/16 BORE DIA. 13/16 OUTSIDE DIA.

17-4421 4421 GROMMETS 5/16 BORE DIA. 13/16 OUTSIDE DIA.

17-4422 4422 GROMMETS 5/16 BORE DIA. 13/16 OUTSIDE DIA.

17-4425 4425 GROMMETS 3/8 BORE DIA. 1-1/4 OUTSIDE DIA.

17-4426 4426 GROMMETS 3/8 BORE DIA. 7/8 OUTSIDE DIA.




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
17-4429 4429 GROMMETS 1/2 BORE DIA. 1 OUTSIDE DIA.
17-4430 4430 GROMMETS 1/2 BORE DIA. 1-1/16 OUTSIDE DIA.
17-4431 4431 GROMMETS 5/8 BORE DIA. 1-1/8 OUTSIDE DIA.
17-4433 4433 GROMMETS 3/4 BORE DIA. 1-1/8 OUTSIDE DIA.
17-4436 4436 GROMMETS 3/4 BORE DIA. 1-5/8 OUTSIDE DIA
17-6901 6901 GM RETAINERS QUIK-SELECT Il KIT

17-6902 6902 FORD RETAINERS QUIK-SELECT Il KIT

17-6904 6904 GM PUSH-TYPE RETAINERS QUIK-SELECT Il KIT
17-6905 6905 FORD PUSH-TYPE QUIK-SELECT Il KIT

17-69-12 69-12 QUIK-SELECT Il COMPARTMENT BOX (12 COMPARTMENT)
17-6913 6913 TOYOTA & LEXUS PUSH-TYPE RETAINERS QUIK-SELECT Il KIT
17-6914 6914 HONDA & ACURA PUSH-TYPE RETAINERS QUIK-SELECT Il KIT
17-69-18 69-18 QUIK-SELECT Il COMPARTMENT BOX (18 COMPARTMENT)
17-6919 6919 PUSH-TYPE RETAINER QUIK-SELECT Il KIT FORD-GM-CHRY
17-6923 6923 EXTRUDED “U” NUTS-KIT

17-69-24 69-24 QUIK-SELECT Il COMPARTMENT BOX (24 COMPARTMENT)
17-6933 6933 RUBBER GROMMETS-KIT

17-6937 6937 HYUNDIA & KIA CLIPS AND FASTENERS-KIT
17-6938 6938 WEATHERSTRIP RETAINERS QUIK-SELECT Il KIT
17-6939 6939 ROCKER PANEL & MOULDING CLIPS QUIK-SELECT Il KIT
17-6940 6940 ASIAN BUMPER RETAINERS QUIK-SELECT Il KIT
17-6941 6941 IMPORT FENDER RETAINERS QUIK-SELECT Il KIT
17-6942 6942 F-150 (ALUMINUM BODY) QUIK-SELECT Il KIT
17-69-rack  69-rack QUIK-SELECT Il KIT CABINET

17-9275 17002 ELECTRICAL TERMINAL - GM 56 SERIES 12-10 GA. MALE
17-9276 18651 OEM TERM 59 SERIES 16-14 GA FEMALE 5/16 BLADE
17-9277 14883 ELECTRONIC CONTROL MODULE TERMINAL 20-18 GA.
17-9278 11948 GM PACK-CON 1 TERMINAL MALE TAB CONNECTOR
17-9279 15960 GM PACK-CON HD 1 SERIES TERMINAL 12-10 GA. MALE
17-9280 18650 OEM TERM PACK CON SERIES IIl 16-14 GA FEMALE
17-9281 18653 OEM TERM METRI-PACK 150 20-18 GA. MALE
17-9282 15498 ELECTRICAL TERMINAL 20-18 GAUGE (MATES W/15497)
17-9283 15497 ELECTRICAL TERMINAL 20-18 GAUGE (MATES W/15498)
17-9284 18654 OEM TERMINAL METRI-PACK 150 20-18 GA. FEMALE
17-9285 15499 ELECTRICAL TERMINAL 20-16 GAUGE

17-9286 20212 GM METRI-PACK 150 SERIES TERMINAL 18-16 GAUGE
17-9287 20213 GM METRI-PACK 150 SERIES TERMINAL 22-20 GAUGE
17-9288 16806 ELECTRICAL TERMINAL-GM METRI-PAC 20-18 GAUGE FEM
17-9289 20214 GM METRI-PACK 150.2 PULL TO SEAT TERMINAL 18-16 GA
17-9290 20215 GM METRI-PACK 150.2 PULL TO SEAT TERMINAL 22-20 GA
17-9291 18659 OEM TERM METRI-PACK 280 16-14 GA MALE
17-9292 18658 OEM TERM METRI-PACK 280 16-14 GA. FEMALE
17-9293 20216 GM METRI-PACK 280 SERIES TERMINAL 12-10 GAUGE
17-9294 20220 GM METRI-PACK 280 SERIES ACT TERMINAL 14-12 GA.
17-9295 20226 GM METRI-PACK 280 SERIES ACT TERMINAL 14-12 GA.
17-9296 20221 GM METRI-PACK 280 SERIES ACT TERMINAL 18-16 GA.
17-9297 20227 GM METRI-PACK 280 SERIES ACT TERMINAL 18-16 GA.
17-9298 20217 GM METRI-PACK 280 SERIES TNGLSS TERM. 14-12 GA.
17-9299 20222 GM METRI-PACK 280 SERIES TNGLSS TERM. 14-12 GA.
17-9300 20223 GM METRI-PACK 280 SERIES TNGLSS TERM. 16-14 GA.
17-9301 20218 GM METRI-PACK 280 SERIES TNGLSS TERM. 18-16 GA.
17-9302 20224 GM METRI-PACK 280 SERIES TNGLSS TERM. 18-16 GA.
17-9303 20219 GM METRI-PACK 280 SERIES TNGLSS TERM. 22-20 GA.
17-9304 20225 GM METRI-PACK 280 SERIES TNGLSS TERM. 22-20 GA.
17-9305 20230 GM METRI-PACK 280 FUEL INJECTOR TERMINAL 22-20 GA.
17-9306 15939 METRIPACK TERMINAL 480 SERIES MALE 16-14 GAUGE
17-9307 15938 METRIPACK TERMINAL 480 SERIES FEMALE 16-14 GAUGE
17-9308 15944 METRI-PACK TERMINAL 630 SERIES 16-14 GAUGE MALE
17-9309 15945 METRI-PACK TERMINAL 630 SERIES 16-14 GAUGE FEMALE
17-9310 20231 METRI-PACK 630 PULL TO SEAT TERMINAL 16-14 GA
17-9311 20209 GM MICRO-PACK 100 W SERIES TERMINAL 18 GAUGE
17-9312 20211 GM MICRO-PACK 100 W SERIES TERMINAL 18 GAUGE
17-9313 20210 GM MICRO-PACK 100 W SERIES TERMINAL 22-20 GA.
17-9314 20475 FORD PIN TYPE TERMINAL 20-18 GA. .060 PIN DIA.
17-9315 14887 WEDGE LOCK TERMINAL 20-18 GA. .110 PIN DIA.
17-9316 14888 TERMINAL

17-9317 18853 FORD ELECTRICAL TERMINAL 20-18 GA. MATES W/18852
17-9318 16342 FORD MINI BLOCK ELECTRICAL TERMINAL 20-18 GA (M)
17-9319 16344 FORD MINI BLOCK ELECTRICAL TERMINAL 20-18 GA (F)
17-9320 16348 FORD MINI BLOCK ELECTRICAL TERMINAL 16-14 GA
17-9321 14889 BOX FEMALE & TAB TERMINAL 20-18 GAUGE
17-9322 20815 FORD OEM TERMINAL

17-9323 20816 FORD OEM TERMINAL

17-9324 16801 ELECTRICAL TERMINAL-CHRYSLER 20-18 GAUGE MALE

17-9325 16804 ELECTRICAL TERMINAL-CHRYSLER 24-18 GAUGE




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
17-9326 14892 LOCKING FEMALE TERMINAL 20-18 GAUGE 1/4”
17-9327 15504 ELECTRICAL TERMINAL 14-12 GAUGE 1/4” FEMALE
17-9328 21401 LOCKING RING TERMINAL 16-14 GAUGE 1/4 STUD SIZE
17-9329 N/A TERMINAL - RING, LOCKING, 5/16” STUD Discontinued
17-9330 18855 FORD ELECTRICAL TERMINAL 20-14 GA. MATES W/18856
17-9331 18856 FORD ELECTRICAL TERMINAL 20-14 GA. MATES W/18855
17-9332 18857 FORD ELECTRICAL TERMINAL 20-14 GA. MATES W/18858
17-9333 18858 FORD ELECTRICAL TERMINAL 20-14 GA. MATES W/18857
17-9334 14884 TERMINAL EXTRACTOR PICK - NARROW BLADE
17-9335 14885 TERMINAL EXTRACTOR PICK - WIDE BLADE
17-9336 20901 ELECTRICAL CONNECTOR SEPARATOR

17-9337 21424 WIRE STRIPPER TOOL

17-9338 7711 WIRE CRIMPING & STRIPPING TOOL

17-9339 16004 OPEN BARREL TERMINAL CRIMPING TOOL
17-9340 20751 0.E.M. CRIMPING TOOL FOR SEALED GM TERM
17-9341 20750 0.E.M. TERMINAL MICRO CRIMPING TOOL
17-9342 20752 0.E.M. CRIMPING TOOL FOR WEATHER PACK TERM
17-9343 22425 HEADLIGHT SOCKET ASSEMBLY - H13/9008 BULB
17-9344 22437 HYUNDAI/KIA SPECIALTY RIVET

17-9345 22436 HYUNDAI/KIA SPECIALTY RIVET

17-9346 22438 HYUNDAI/KIA MOULDING CLIP WITH SEALER
17-9347 22355 FORD WEATHERSTRIP RETAINER

17-9348 22363 CHRYSLER PUSH-TYPE RETAINER

17-9349 22354 CHRYSLER PUSH-TYPE RETAINER

17-9350 22349 FORD PUSH-TYPE RETAINER

17-9351 22348 FORD TORX PAN HEAD SEMS TAPPING SCREW
17-9352 22347 GM PUSH-TYPE RETAINER WITH SEALER
17-9353 22372 GM SCREW GROMMET WITH SEALER

17-9354 22365 ACURA/HONDA SCREW GROMMET

17-9355 22367 HONDA SCREW TYPE RETAINER

17-9356 22352 HYUNDAI/KIA SPLASH SHEILD NYLON NUT
17-9357 22337 HYUNDAI RETAINER

17-9358 22396 LEXUS MOULDING CLIP

17-9359 22357 TOYOTA/LEXUS WEATHERSTRIP RETAINER
17-9360 22353 TOYOTA/LEXUS RETAINER

17-9361 22395 TOYOTA/LEXUS RETAINING CLIP

17-9362 22398 TOYOTA/LEXUS/SCION MOULDING CLIP W/SEALER
17-9363 22345 NISSAN MOULDING CLIP

17-9364 22332 TOYOTA & SUBARU SPECIALTY RIVET WITH PLASTIC CAP
17-9365 14197 1/4” WIRE LOOM NYLON 6 - 10 FT LENGTH
17-9366 14198 3/8” WIRE LOOM NYLON 6 - 10 FT LENGTH
17-9367 14199 1/2” WIRE LOOM NYLON 6 - 10 FT LENGTH
17-9368 14200 3/4” WIRE LOOM NYLON 6 - 10 FT LENGTH
17-9369 14201 1/4” WIRE LOOM NYLON 6 - 50’ LENGTH
17-9370 14202 3/8” WIRE LOOM, NYLON 6 - 50’ LENGTH
17-93711 14203 1/2” WIRE LOOM NYLON 6 - MUST BE 50’ LENGTH
17-9372 20536 WIRE LOOM SPLIT FLEXIBLE TUBING 5/8 1.D. 13/16 0.D.
17-9373 14204 3/4” WIRE LOOM NYLON 6 - MUST BE 50° LENGTH
17-9374 18194 SPLIT FLEXIBLE LOOM 17 I.D. 1-1/8 0.D. 25’ LENGTH
17-9375 18693 THIN WALL HEAT SHRINK TUBING 3/64 X 6
17-9376 18694 THIN WALL HEAT SHRINK TUBING 1/16 X 6
17-9377 18695 THIN WALL HEAT SHRINK TUBING 3/32 X 6
17-9378 18696 THIN WALL HEAT SHRINK TUBING 1/8 X 6
17-9379 18697 THIN WALL HEAT SHRINK TUBING 3/16 X 6
17-9380 18698 THIN WALL HEAT SHRINK TUBING 1/4 X 6
17-9381 18699 THIN WALL HEAT SHRINK TUBING 3/8 X 6
17-9382 18700 THIN WALL HEAT SHRINK TUBING 1/2 X 6
17-9383 18701 THIN WALL HEAT SHRINK TUBING 3/4 X 6
17-9384 18702 THIN WALL HEAT SHRINK TUBING 1 X 6

17-9385 18703 THIN WALL HEAT SHRINK TUBING 1-1/2 X 6
17-9386 18887 HEAT SHRINK TUBING KIT

17-9387 16665 HEAT SHRINK TUBING 22-14 GA. BLACK 12” LENGTH
17-9388 16666 HEAT SHRINK TUBING 12-10 GA. BLACK 12” LENGTH
17-9389 18733 HEAT SHRINK TUBING 14-6 GAUGE BLACK
17-9390 18734 HEAT SHRINK TUBING 14-10 GAUGE RED
17-9392 18736 HEAT SHRINK TUBING 8-1 GAUGE RED

17-9394 18738 HEAT SHRINK TUBING 2-4/0 GAUGE RED
17-9395 N/A TUBING - HEAT SHRINK, 14-10 GA, 6” LENGTH Discontinued
17-9396 N/A TUBING - HEAT SHRINK, 14-10 GA, 6” LENGTH Discontinued
17-9397 19104 HEAT SHRINK TUBING 8-1 GA BLACK

17-9398 N/A TUBING - HEAT SHRINK, 8-1 GA, 6” LENGTH Discontinued
17-9399 19106 HEAT SHRINK TUBING 2-4/0 BLACK

17-9400 N/A TUBING - HEAT SHRINK, 2-4/0 GA, 6” LENGTH Discontinued
17-9401 18705 DUAL WALL HEAT SHRINK TUBE.225 X 3-1/2
17-9402 18706 DUAL WALL HEAT SHRINK TUBE




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
17-9403 18707 DUAL WALL HEAT SHRINK TUBE

17-9404 18708 DUAL WALL HEAT SHRINK TUBE.700 X 3-1/2
17-9405 11807 #6-32 NUTSERT TOOL CONVERSION KIT
17-9406 11812 1/4-28 NUTSERT TOOL CONVERSION KIT
17-9407 11814 5/16-24 NUTSERT TOOL CONVERSION KIT
17-9408 11815 3/8-16 NUTSERT TOOL CONVERSION KIT
18-9391 20462 ALUMINUM DRAIN PLUG GASKET 18MM I.D. 24MM 0.D.
18-9393 21178 ALUMINUM OIL DRAIN PLUG GASKET

18-9409 21649 OIL DRAIN PLUG GASKET

18-9410 15918 COPPER WASHER 1/2 1.D. 7/8 0.D. 1/16 THICK
18-9411 19591 COPPER OIL DRAIN PLUG GASKET 12MM I1.D.
18-9412 19592 COPPER OIL DRAIN PLUG GASKET 14MM 1.D.
18-9413 19605 COPPER OIL DRAIN PLUG GASKET 18MM 1.D.
18-9414 19593 COPPER OIL DRAIN PLUG GASKET 20MM 1.D.
18-9415 18021 COPPER OIL DRAIN PLUG GASKET 3/4 INNER DIA
18-9416 15919 COPPER WASHER 9/16 1.D. 13/16 0.D. 3/32 THICK
18-9417 19545 OIL DRAIN PLUG COPPER CRUSHABLE GASKET 1/2 I.D.
18-9418 17261 OIL DRAIN PLUG CRUSHABLE GASKET 12MM I.D. COPPER
18-9419 21258 FORD & NISSAN OIL DRAIN PLUG GASKET
18-9420 17262 OIL DRAIN PLUG CRUSHABLE GASKET 14MM I.D. COPPER
18-9421 17263 OIL DRAIN PLUG CRUSHABLE GASKET 16MM |.D.COPPER
18-9422 17264 OIL DRAIN PLUG CRUSHABLE GASKET 18MM I.D. COPPER
18-9423 17265 OIL DRAIN PLUG CRUSHABLE GASKET 20MM |.D. COPPER
18-9424 19538 OIL DRAIN PLUG BLACK FIBRE GASKET 1/2 1.D.
18-9425 19603 BLK FIBRE OIL DRAIN PLUG GASKET 16.4MM I.D.
18-9426 18829 OIL DRAIN PLUG GASKET 18MM GREEN FIBRE
18-9427 18830 OIL DRAIN PLUG GASKET 20MM GREEN FIBRE
18-9428 N/A GASKET - DRAIN PLUG, FIBRE Discontinued
18-9429 21648 OIL DRAIN PLUG GASKET

18-9430 18020 BLACK FIBRE OIL DRAIN PLUG GASKET 25.5MM I.D.
18-9431 19539 OIL DRAIN PLUG BLACK FIBRE GASKET 9/16 1.D.
18-9432 22134 TOYOTA OIL DRAIN PLUG GASKET

18-9433 16996 NYLON OIL DRAIN PLUG GASKET 1/2 1.D. 15/16 0.D.
18-9434 8277 NYLON GASKET .520 ID .750 OD .094 THICK
18-9435 8281 NYLON GASKET 9/16 ID-13/16 OD

18-9436 8278 NYLON GASKET 5/8” ID X 1” 0D

18-9437 8279 NYLON GASKET 3/4” ID, 1-1/16” OD

18-9438 16680 METRIC DRAIN PLUG GASKET 12MM I.D. -NYLON
18-9439 16681 METRIC DRAIN PLUG GASKET 14MM I.D. -NYLON
18-9440 16683 METRIC DRAIN PLUG GASKET 16.5MM 1.D. -NYLON
18-9441 16684 METRIC DRAIN PLUG GASKET 18MM I.D. -NYLON
18-9442 16685 METRIC DRAIN PLUG GASKET 20MM I.D. -NYLON
18-9443 19139 OIL DRAIN PLUG GASKET 20MM I.D. STEEL
18-9444 16026 OIL DRAIN PLUG GASKET 1/2” I.D. 1" 0.D.
18-9445 18931 OIL DRAIN PLUG GASKET 16MM I.D. STEEL W/SEAL
18-9446 18932 OIL DRAIN PLUG GASKET 18MM I.D. STEEL W/SEAL
18-9447 18849 OIL DRAIN PLUG GASKET 12MM I.D. TEFLON COATED STEEL
18-9448 21180 RUBBER OIL DRAIN PLUG GASKET

18-9449 21179 RUBBER OIL DRAIN PLUG GASKET

18-9450 18665 OIL DRAIN PLUG RUBBER GASKET M12-1.75 21MM 0.D.
18-9451 19630 RUBBER OIL DRAIN PLUG GASKET 11MM 1.D. 25MM 0.D.
18-9452 20896 FORD RUBBER OIL DRAIN PLUG GASKET
18-9453 20453 FORD RUBBER OIL DRN PLG GASKET 13MM 1.D. 22MM 0.D.
18-9454 19007 OIL DRAIN PLUG CRUSHABLE STEEL GASKET 14MM I.D.
18-9455 21677 SUBARU OIL DRAIN PLUG GASKET

18-9456 21116 TOYOTA OIL DRAIN PLUG GASKET

18-9457 8285 DRAIN PLUG WITH GASKETS

18-9458 18373 OIL DRAIN PLUG W/ RUBBER GASKET 1/2-20 THREAD
18-9459 19365 MAGNETIC OIL DRAIN PLUG & GASKET 1/2-20 THREAD
18-9460 17145 MAGNETIC DRAIN PLUG 1/2” SINGLE OVERSIZE W/GSKT
18-9461 17146 MAGNETIC DRAIN PLUG 1/2” DOUBLE QOVERSIZE W/GSKT
18-9462 17147 MAGNETIC DRAIN PLUG 1/2” TRIPLE OVERSIZE W/GSKT
18-9463 18022 OIL DRAIN PLUG W/GASKET 3/4-16 THREAD ZINC
18-9464 8288 DRAIN PLUG WITH GASKETS

18-9465 8289 DRAIN PLUG WITH GASKET, 7/8-14 0S

18-9466 19318 TRANSMISSION DRAIN PLUG & GASKET M10-1.5 THREAD
18-9467 20807 FORD OIL DRAIN PLUG WITH RUBBER GASKET
18-9468 15527 OIL DRAIN PLUG M12-1.25

18-9469 21293 NISSAN OIL DRAIN PLUG W/ GASKET

18-9470 19588 OIL DRAIN PLUG WITH GASKET - 12MM-1.25 THREAD
18-9471 19618 OIL DRAIN PLUG W/GASKET SNGL OVERSIZE M12-1.25
18-9472 19589 OIL DRAIN PLUG WITH GASKET - 12MM-1.5 THREAD
18-9473 20759 OVERSIZE OIL DRAIN PLUG WITH GASKET
18-9474 18023 OIL DRAIN PLUG W/GASKET M12-1.75 THREAD BLACK

18-9475 21093 GM TRANSMISSION DRAIN PLUG STEEL ZINC




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional

Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference

18-9476 18374 OIL DRAIN PLUG W/ RUBBER GASKET M12-1.75 THREAD

18-9477 20347 FORD OIL DRAIN PLUG W/GASKET M12-1.75 13MM HEX

18-9478 21047 OIL DRAIN PLUG WITH RUBBER GASKET M12-1.75 - GM

18-9479 19619 OIL DRAIN PLUG W/GASKET SNGL OVERSIZE M12-1.75

18-9480 17148 MAGNETIC OIL DRAIN PLUG M12-1.75 W/GASKET

18-9481 18024 OIL DRAIN PLUG W/GASKET M14-1.25 THREAD ZINC

18-9482 21353 ACURA/ HONDA OIL DRAIN PLUG W/GASKET

18-9483 16308 OIL DRAIN PLUG - 14MM SHORT BODY W/ GASKET

18-9484 20426 ACURA & HONDA OIL DRAIN PLUG M14-1.4 17MM HEX

18-9485 21650 GM OIL DRAIN PLUG AND GASKET

18-9486 18025 OIL DRAIN PLUG W/GASKET M14-1.5 THREAD ZINC

18-9487 18375 OIL DRAIN PLUG W/RUBBER GASKET M14-1.50 THREAD

18-9488 20746 OIL DRAIN PLUG W/SEMS WASHER - VW

18-9489 20269 OIL DRAIN PLUG M14-1.5 - CHRYSLER

18-9490 19773 FORD OIL DRAIN PLUG W/RUBBER GSKT M14-1.5 THREAD

18-9491 19279 OIL DRAIN PLUG W/ RUBBER GASKET M14-1.5 THREAD

18-9492 21354 CHRYSLER OIL DRAIN PLUG WITH GASKET

18-9493 18026 OIL DRAIN PLUG W/GASKET M14-1.5 THREAD ZINC

18-9494 19620 OIL DRAIN PLUG W/GASKET SNGL OVERSIZE M14-1.40

18-9495 15528 OIL DRAIN PLUG M16.4-1.33

18-9496 21326 SUBARU OIL DRAIN PLUG W/ GASKET

18-9497 15529 OIL DRAIN PLUG M18-1.5

18-9498 15530 OIL DRAIN PLUG M20-1.5

18-9499 21041 VW & AUDI OIL DRAIN PLUG & GASKET

18-9500 18027 OIL DRAIN PLUG W/GASKET M25-1.5 THREAD ZINC

18-9501 21665 FORD PLASTIC CAM LOCKING DRAIN PLUG

18-9502 22143 AUDI/VOLKSWAGEN BLACK PLASTIC OIL DRAIN PLUG

18-9503 22374 SURFACE CONDITIONING DISC

18-9504 22375 SURFACE CONDITIONING DISC

18-9505 22376 SURFACE CONDITIONING DISC

18-9506 22377 SURFACE CONDITIONING DISC

18-9507 22378 SURFACE CONDITIONING DISC

18-9508 22381 MINI GRINDING DISC

18-9509 22382 MINI GRINDING DISC

18-9510 22383 MINI GRINDING DISC

18-9511 22384 MINI GRINDING DISC

18-9512 22385 MINI GRINDING DISC

18-9513 22386 MINI GRINDING DISC

18-9514 22387 MINI GRINDING DISC

18-9515 22388 MINI GRINDING DISC

18-9516 22391 3” PURPLE STRIP BRITE DISC WITH ROL-LOCK

18-9517 22379 HAND CLEANING PAD

18-9518 22380 HAND CLEANING PAD

18-9519 22389 2” TWIST TO-LOCK HOLDER

18-9520 22390 3” TWIST-TO LOCK HOLDER

18-9521 22531 CHRYSLER MOULDING CLIP WITH SEALER

18-9522 22532 FORD PUSH-TYPE RETAINER

18-9523 22533 GM RETAINER

18-9524 22534 GM MOULDING CLIP

18-9526 23277 CHRYSLER & MITSUBISHI MAP SENSOR LAMP HARNESS CONNECTOR

18-9527 23278 AUDI & CHRY COIL, MOTOR, SENSOR, SOLENOID,

SWITCH HARNESS CONNECTOR KIT

18-9528 22535 CHRYSLER SCREW GROMMET WITH SPECIALTY SCREW

18-9529 22756 THREAD CUTTING SCREW W/ LOCK & FLAT SEMS M6-1.0 X 19MM

18-9530 22757 PHILLIPS ROUND HEAD LICENSE PLATE SCREW M6-1.0 X 29MM

18-9531 23239 FORD , VOLVO BRAKE FLUID, CAM, FUEL PRESSURE,
MAP HARNESS CONNECTOR

18-9532 23240 GM COMPRESSOR CLUTCH, SENSORS, LIGHTING,

REGULATOR HARNESS CONNECTOR
18-9533 23000 GM, HYUNDAI & MERCEDES FUEL PRESSURE HARNESS CONNECTOR

18-9534 23241 GM, SATURN CRANK, PARK AID HARNESS CONNECTOR
18-9535 23242 FORD PARKING AID, A/C SWITCH HARNESS CONNECTOR
18-9537 23001 GM ALTERNATOR HARNESS CONNECTOR

18-9538 23243 GM CRANK SENSOR OIL PRESSURE HARNESS CONNECTOR
18-9539 23160 GM IGNITION, CAM, CRANK, MAP, TPS SENSOR HARNESS CONNECTOR
18-9540 23002 GM, ISUZU & SUZUKI KNOCK SENSOR HARNESS CONNECTOR
18-9541 23003 GM, ISUZU & SUZUKI THROTTLE POSITION HARNESS CONNECTOR
18-9542 23004 GM, ISUZU, SAAB & SUZUKI THROTTLE POSITION HARNESS CONNECTOR
18-9543 230056 GM BACK UP LAMP HARNESS CONNECTOR

18-9544 23006 GM & HUMMER STOP LAMP SWITCH HARNESS CONNECTOR
18-9545 23533 GM, FORD & MERCEDES INTERIOR PANEL TRIM RETAINER
18-9546 6560 HALOGEN LAMP HARNESS CONNECTOR KIT

18-9547 22856 DRIVE & TAIL LAMP MOUNTING RIVET

18-9548 22481 HYUNDAI/KIA SPECIALTY RIVET

19-9549 23244 DOMESTIC & IMPORTS SENSOR SWITCH LAMP HARNESS CONNECTOR




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
19-9550 23245  GM, HYUNDAI & KIA PEDAL, YAW SENSOR, INJECTOR HARNESS CONNECTOR
19-9551 23007 GM HEADLAMP & TAIL LAMP HARNESS CONNECTOR
19-9552 23008 GM IGNITION, HAZARD, POWER MIRROR SWITCH HARNESS CONNECTOR
19-9553 23246 GM SWITCH, MODULE, ACTUATOR, SENSOR HARNESS CONNECTOR
19-9554 23161 GM BLOWER RESISTOR, ABS MODULE HARNESS CONNECTOR
19-9555 23162 DOMESTIC & IMPORT VEHICLE FUEL INJECTOR,

CRANK SHAFT HARNESS CONNECTOR
19-9556 23163 GM OIL PRESSURE SWITCH HARNESS CONNECTOR
19-9557 23164 GM BLOWER RESISTOR HARNESS CONNECTOR
19-9558 22796 LIGHT SOCKET
19-9559 24161  GM INTERIOR TRIM GARNISH MOULDING CLIP WITH METAL REINFORCEMENT
19-9560 22770 GM WIRE HARNESS CONNECTOR
19-9561 22771 GM WIRE HARNESS CONNECTOR
19-9562 22772 GM WIRE HARNESS CONNECTOR
19-9563 22773 GM WIRE HARNESS CONNECTOR
19-9564 22774 GM WIRE HARNESS CONNECTOR
19-9565 22775 GM WIRE HARNESS CONNECTOR
19-9566 22776 GM WIRE HARNESS CONNECTOR
19-9567 22777 GM WIRE HARNESS CONNECTOR
19-9568 22778 GM WIRE HARNESS CONNECTOR
65-1053 8583 WINDOW REVEAL MOULDING CLIP
65-1054 23288 FORD HEADLAMP-ADJUSTING NUT & SCREW KIT
65-1071 24145 GM & FORD WINDSHIELD REVEAL MOULDING CLIP
65-1090 23279 GM LICENSE PLATE NUT SCREW 1/4” (#14)
65-1097 23286 GM HEADLIGHT ADJUSTING SCREW 1/4-20 X 1-1/2”
65-1102 23581 GM, FORD BOOT WELL & WEATHERSTRIP RAIL SCREW
65-1113 2611 TUBULAR NUT FOR 1/8 STUD .030-.036 PANEL RANGE
65-1120 23582 FORD, MAZDA & AMC WINDSHIELD & REAR WINDOW REVEAL MOULDING CLIP
65-1138 23583 GM HEADLAMP RIM TO GRILLE RETAINER
65-1139 23584 UNIVERSAL BOTTOM WINDOW CHANNEL
66-1167 23585 GM & FORD WINDSHIELD & BACK GLASS CLIP
66-1174 23586 FORD WINDSHIELD & BACK GLASS MOULDING CLIP
66-1189 23587 FORD HEADLAMP BODY TO HEADLIGHT RIM GROMMET NUT
66-3021 8941 WINDSHIELD REVEAL MOULDING CLIP
66-3029 10053 EXTRUDED U NUT 5/16-18 SCREW SIZE 100 50 -50
67-3069 23588 GM, FORD & CHRYSLER SCREW-IN STUD REPLACES WELD-ON STUD
67-3083 23284 GM UNIVERSAL MOULDING FASTENER
67-3084 23589 UNIVERSAL MOULDING RETAINER
67-3094 8941 WINDSHIELD REVEAL MOULDING CLIP
67-3095 23287 GM HEADLAMP-ADJUSTING NUT & SCREW KIT
67-3100 9361 TRIM CLIP
67-3103 8583 WINDOW REVEAL MOULDING CLIP
67-3111 3209 1/4-28 X 1 PHIL. HEADLIGHT ADJUSTING SCREW ZINC
67-3112 23590 CHRYSLER WINDSHIELD WIPER RETAINING CLIP
67-3115 23591 WINDOW RETAINING NUT REMOVAL TOOL
67-3119 23592 GM & FORD HOOD INSULATION RETAINER
67-3120 9862 NYLON NUT 100 50 -50
67-3122 9851 NYLON NUT
67-3127 23594 GM VENT WINDOW REGULATOR SPRING CLIP
67-3130 23282 GM LICENSE PLATE NUT SCREW 1/4” (#14)
68-2039 N/A WINDSHIELD & BACK GLASS REVEAL MOULDING REMOVAL TOOL Discontinued
68-2047 N/A WEATHERSTRIP Discontinued
68-3157 24155 FORD POWER WINDOW REGULATOR GEAR 9/45 SPLINES
68-3160 8853 FORD WEATHERSTRIP RETAINER
68-3161 14985 DOOR WEATHERSTRIP TO INSIDE PANEL CLIP
68-3163 9877 4-24 X 3/8 STEEL SPEC. PHIL. FLAT
68-3179 23595 GM WINDOW REGULATOR TO CHANNEL CLIP
68-3193 23596 FORD MANIFOLD STUD 5/16-18 X 1-11/16
68-3197 10090 HEADLIGHT ADJUSTING SPRING - GM
68-3204 N/A TENSION SPRING Discontinued
68-3210 23138 GM DIMMER SWITCH HARNESS CONNECTOR
68-3211 23139 FORD, CHRYSLER & AMC DIMMER SWITCH HARNESS CONNECTOR
68-3216 10220 MOULDING CLIP - GM 100 50 -50
68-3236 23597 CHRYSLER WINDSHIELD & REAR WINDOW REVEAL

MOULDING ATTACHING SCREW

68-3239 20310 FORD GRILLE TO HDLIGHT BRACKET RTNR 5/8 HEAD DIA. 100 50 -50
68-3240 23289 GM HEADLIGHT ADJUSTING SCREW 1/4-20 X 1-1/2”
68-3242 23598 CHRYSLER BACK GLASS MOULDING CLIP
68-3243 23599 CHRYSLER WINDSHIELD REVEAL MOULDING CLIP
68-3252 10330 GRILLE NYLON NUT #8 SCREW SIZE - GM
69-3259 23600 GM COWL AIR OUTLET CONTROL CLIP
69-3265 23601 AMC HORN BLOWING INDEX RING
69-3266 23358 CHRYSLER DISTRIBUTOR GEAR
69-3267 10365 SCREW GROMMET NYLON - GM

69-3271 23602 CHRYSLER REAR WINDOW ALIGNMENT CLIP




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
69-3291 23587 FORD HEADLAMP BODY TO HEADLIGHT RIM GROMMET NUT

69-3326 10322 MOULDING CLIP - VW

69-3328 20675 CHRYSLER DOOR LOCK ROD CLIP 50 25 -25

69-3329 14967 GM & FORD DOOR LOCK RQD CLIP FITS 5/32” ROD

69-3330 N/A GUIDE Discontinued
70-3375 11442 ALTERNATOR HARNESS PIGTAIL CONNECTOR - GM 12 10 -2

70-3386 23603 SPRING TYPE U-NUT SCREW #10

70-3387 9905 LAMP SOCKET

70-3388 23290 INSTRUMENT PANEL SOCKET FOR 1/2” HOLE

70-3398 16260 DOOR TRIM PANEL AND HEADLIGHT RETAINER

70-3411 24156 FORD POWER WINDOW REGULATOR GEAR 7/45 SPLINES

70-3414 23291 EXTRUDED U-NUT 5/16”-18 SCREW SIZE

70-3422 11120 WEATHERSTRIP RETAINER - GM

70-3424 13542 PIGTAIL SOCKET ASSEMBLY SIDE MARKER 5 2 -3

71-3438 23310 GM & AMC HEADLIGHT ADJUSTING SCREW & NUT ASSEMBLY

71-3445 23293 GM DOOR LOCK ROD CLIP

71-3454 10050 EXTRUDED U NUT 1/4-20 SCREW SIZE

71-3455 10051 EXTRUDED U NUT 1/4-20 SCREW SIZE

71-3467 8941 WINDSHIELD REVEAL MOULDING CLIP

71-3468 23294 GM WINDSHIELD MOULDING CLIP

71-3477 23604 FORD FRONT SEAT TRUCK ADJUSTING LEVER HANDLE CLIP

71-3482 23285 AMC HEADLAMP-ADJUSTING NUT & SCREW

71-3487 23159 GM IGNITION SWITCH HARNESS CONNECTOR

71-3494 11067 GM WINDOW REVEAL MOULDING CLIPS

71-3496 N/A MOULDING CLIP Discontinued
71-3499 10832 GM TRIM PANEL RETAINER 100 50 -50

71-3501 N/A FASTENER Discontinued
71-3516 23605 GM MOULDING CLIP

71-3524 11678 DOOR TRIM X-MAS TREE RETAINER - CHRYSLER GM AMC VW 100 25 -75

71-3535 23295 GM FORD SIDE MARKER AND LICENSE PLATE SOCKET ASSEMBLY

71-3546 23606 CHRYSLER WINDOW REGULATOR ROLLER

71-4010 N/A MOULDING CLIP Discontinued
71-4030 23607 FORD, TRIUMPH, ROVER MOULDING PUSH-TYPE RETAINER

72-3567 23608 GM, FORD & CHRYSLER DASH & COWL PANEL RETAINER

72-3568 23609 GM & FORD TRANSMISSION RETAINING CLIP

72-3572 23610 PHIL. WSHR HEAD T.S. W/ TEK POINT #8 X 3/8 - CHROME

72-3576 15677 EXTRUDED U NUT #10-24 SCREW SIZE

72-3585 15673 CHRYSLER DOOR LOCK ROD CLIP 5/32 ROD SIZE (RH)

72-3586 15674 CHRYSLER DOOR LOCK ROD CLIP 5/32 ROD SIZE (LH)

72-3591 10780 DOOR TRIM PANEL FASTENER - FORD

72-3599 23438 VOLVO HEADLAMP ADJUSTING SCREW & NUT

72-3604 23612 CHRYSLER WINDOW REGULATOR ROLLER

72-3609 2293 U NUT 1/4-20 SCREW SIZE .064-.125 RANGE

72-3623 23613 GM HEADLAMP ADJUSTING SPRING

72-3626 23296 NYLON STRAIGHT CONNECTOR 3/16” X 3/16”

72-3627 23297 NYLON STRAIGHT CONNECTOR 3/16” X 1/4”

72-3631 N/A MOULDING CLIP Discontinued
72-3635 23614 FORD TAIL GATE WINDOW LIMIT SWITCH

72-3640 24189 TUBULAR TYPE NUT STUD SIZE 1/8”

72-3650 2595 TUBULAR NUT FOR 1/8 STUD .040-.045 PANEL RANGE

72-3653 23615 FORD BATTERY HOLD DOWN BOLT 5/16”- 18 X 8-5/8”

72-3654 23298 CHRYSLER BATTERY HOLD DOWN BOLT 1/4”-20 X 9”

72-3660 10362 BODY BOLT IND HEX WASHER HEAD 5/16-18 X 13/16 - GM

72-3666 10780 DOOR TRIM PANEL FASTENER - FORD

72-3667 19813 FORD POWER BRAKE HARNESS CONNECTOR 25 10 -15

72-3673 23009 GM IGNITION SWITCH HARNESS CONNECTOR

72-3681 11440 A/C BLOWER RELAY HARNESS CONNECTOR - GM CHRYSLER

72-3688 23616 FORD WEATHERSTRIP CLIP

72-3698 10054 EXTRUDED U NUT 3/8-16 SCREW SIZE

72-3704 16259 FENDER AND BUMPER SHIELD RETAINER

72-3705 14967 GM & FORD DOOR LOCK ROD CLIP FITS 5/32” ROD 25 50 +25

72-3710 11067 WINDOW REVEAL MOULDING CLIPS - GM

72-3711 N/A MOULDING CLIP Discontinued
72-3718 13757 HOOD INSULATION RETAINER 2 X 2 50 25 -25

72-3730 23617 GM DOOR WEATHERSTRIP CLIP

72-37317 N/A WIRING HARNESS Discontinued
72-3744 11443 TRANSISTOR ALT HARNESS PIGTAIL CONNECTOR - GM 12 10 -2

72-3746 23618 PHIL. WSHR HEAD T.S. W/ TEK POINT #8 X 1/2 - ZINC

72-3747 23619 PHIL. HEX/SLOTTED WSHR HD T.S. #8 X 3/4 - ZINC

72-3749 11721 TRIM PANEL RETAINER - GM 100 50 -50

72-3752 23165 GM A/C POWER SERVO HARNESS CONNECTOR

73-2085 23571 STRAIGHT WINDSHIELD LOCKING STRIP INSERT TOOL, 0.580” OPENING

73-3775 12470 DOOR HANDLE 10 1 -9

73-3781 23620 GM L.H. DOOR LOCK PUSH BUTTON SPRING

73-3783 23621 GM L.H. DOOR LOCK SPRING




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
73-3784 N/A SPRING Discontinued
73-3785 23622 GM R.H. DOOR LOCK SPRING

73-3786 23623 GM L.H. DOOR LOCK SPRING

73-3792 23626 FORD DOOR GLASS ATTACHING ROLLER

73-3806 24184 GM REAR WINDOW LOWER GARNISH MOULDING RETAINER
73-3807 2771 8 X 5/8 PHIL OVAL HD SEMS TAP SCREW CNTRSNK CHR
73-3808 2751 8 X 3/4 PHIL OVAL HEAD SEMS TAP SCREW CNTRSK CHR
73-3809 2772 8 X 1 PHIL OVAL HD SEMS TAP SCREW CNTRSNK CHRM
73-3810 2773 8 X1 1/4 PHIL OVAL HEAD SEMS TAP SCREW CNTRSNK CHR
73-3811 23624 FORD WINDSHIELD WASHER NOZZLE

73-3813 23299 NYLON TEE CONNECTOR 3/16” X 3/16” X 3/16”

73-3819 11119 HEADLINER CLIP - GM

73-3835 23300 GM & AMC WINDSHIELD TO PANEL LOWER SIDE MOULDING CLIP
73-3842 23625 FORD DOOR GLASS ATTACHING RIVET

73-3844 23301 GM HOOD INSULATION RETAINER

73-3850 23116 GM RADIO LEAD TO WINDSHIELD ANTENNA CONNECTOR
73-3856 23628 PHILLIPS OVAL HEAD T.S. #6 X 5/8 - BLACK

73-3857 12796 PHILLIPS OVAL HD 6 X 3/4 T.S. BLACK OXIDE

73-3858 12797 PHILLIPS OVAL HEAD T.S. 6 X 1 BLACK OXIDE

73-3859 12798 PHILLIPS OVAL HEAD T.S. 6 X 1 1/4 BLACK

73-3860 10163 #8 X 1/2 PHIL OVAL HEAD T.S. BLACK OXIDE AB

73-3861 10165 #8 X 3/4 PHIL OVAL HEAD T.S. BLACK OXIDE

73-3862 10167 #8 X 1 PHIL OVAL HEAD T.S. BLACK OXIDE

73-3863 10169 #8 X 1-1/4 PHIL OVAL HEAD T.S. BLACK OXIDE

73-3864 10171 #8 X 11/2 PHIL OVAL HEAD T.S. BLACK OXIDE

73-3866 10162 #8 X 1/2 PHIL OVAL HEAD T.S. W/ #6 HEAD BLACK OXIDE
73-3867 10164 #8 X 3/4 W/ #6 HEAD PHIL OVAL HEAD T.S. BLACK OXIDE AB
73-3868 10166 #8 X 1 W/ #6 HEAD PHIL OVAL HEAD T.S. BLACK OXIDE
73-3869 10168 #8 X 1-1/4 W/ #6 HEAD PHIL OVAL HEAD T.S. BLACK OXIDE
73-3870 10170 #8 X 11/2 PHIL OVAL HEAD T.S. W/ #6 HEAD BLACK OXIDE
73-3872 11086 #10 X 3/4 PHIL OVAL HEAD T.S. - BLACK OXIDE

73-3873 11088 #10 X 1 PHIL OVAL HEAD T.S. - BLACK OXIDE

73-3874 11092 #10 X 1-1/2 PHIL OVAL HEAD T.S. - BLACK OXIDE

73-3876 11087 #10 X 3/4 W/ #8 HEAD PHIL OVAL HEAD T.S. - BLACK OXIDE
73-3877 11089 #10 X1 W/ #8 HEAD PHIL OVAL HEAD T.S. - BLACK OXIDE
73-3879 23629 PHILLIPS OVAL HEAD T.S. #10 X 2 - BLACK

73-3883 2027 PHILLIPS OVAL #6 HEAD TAP SCREW 8 X 1/2 CHROME
73-3884 1799 PHILLIPS OVAL HEAD TAP SCREW #38 X 3/4 CHROME #6 HEAD
73-3885 1483 PHILLIPS OVAL HEAD TAP SCREW #8 X 1 #6 HEAD CHROME
73-3886 1423 PHILLIPS OVAL HEAD TAP SCREW #8 X 1-1/4 #6 HEAD
73-3887 1932 PHILLIPS OVAL #6 HEAD TAP SCREW 8 X 1-1/2 CHROME AB
73-3888 24175 ROUND WSHR HEAD T.S. #8 X 1/2 - CHROME

73-3889 1717 PHILLIPS OVAL HD TAP SCREW #8 HD 10 X 3/4 CHROME
73-3890 2730 #10 X 1 #8 HEAD PHILLIPS OVAL HEAD TAP SCREW CHROME
73-3891 2734 10 X 1 1/4 #8 HEAD PHILLIPS OVAL HEAD TAP SCREW CHROME
73-3892 20374 PHILLIPS OVAL HEAD TAP SCREW 10 X 1-1/2 8 HEAD CHROME
73-3893 2706 8 X 1/2 PHILLIPS OVAL HEAD TAP SCREW ZINC

73-3894 1798 PHILLIPS OVAL HEAD TAP SCREW #38 X 3/4 ZINC #6 HEAD
73-3895 1801 PHILLIPS OVAL TAP SCREW #8 X 1 ZINC #6 HEAD

73-3896 1803 PHILLIPS OVAL TAP SCREW #8 X 1-1/4 ZINC #6 HEAD
73-3897 2717 8 X 11/2 #6 HEAD PHILLIPS OVAL HEAD TAP SCREW ZINC
73-3898 N/A TENSION SPRING Discontinued
73-3899 2727 #10 X 3/4 #8 HEAD PHILLIPS OVAL HEAD TAP SCREW ZINC
73-3900 2578 #10 X 1 W/ #8HEAD PHILLIPS OVAL HEAD TAP SCREW ZINC
73-3901 2661 10 X 1 1/4 PHILLIPS OVAL #8 HEAD TAP SCREW ZINC
73-3906 23630 GM WEATHERSTRIP CLIP

73-3908 14859 PHILLIPS FLAT WASHER HEAD TAP SCREW 8-18 X 1/2
73-3909 14861 PHILLIPS FLAT WASHER HEAD TAP SCREW 8-18 X 3/4
73-3910 14862 PHILLIPS FLAT WASHER HEAD TAP SCREW 8-18 X 1

73-3912 12213 PHILLIPS FLAT WASHER HEAD T.S. 8-18 X 1/2 BLACK

73-3913 12215 PHILLIPS FLAT WASHER HEAD T.S. 8 X 3/4 BLACK

73-3914 23631 PHILLIPS FLAT TOP WSHR HEAD T.S. #8 X 1 - BLACK

73-3915 23302 #8 X 1-1/4 PHILLIPS FLAT TOP WASHER HEAD TAPPING SCREW BLACK
73-3920 9829 NYLON NUT 100 50 -50
74-3935 23632 CHRYSLER CONTROL ROD CABLE CLIP

74-3937 9879 SPRING TYPE U NUT #8 SCREW SIZE

74-3938 23303 SPRING TYPE U-NUT #14 SCREW RANGE 0.025-0.125
74-3940 23633 SPRING TYPE U-NUT SCREW #10 RANGE 0.100-0.250 - BLACK
74-3941 16267 SPRING TYPE U NUT #8 SCREW SIZE .025-.125 RANGE
74-3942 23634 SPRING TYPE U-NUT SCREW #14 RANGE 0.025-0.125 - BLACK
74-3945 11136 INSULATION RETAINER - FORD CHRYSLER 100 25 -75
74-3972 23306 CHRYSLER BELT & SIDE MOULDING CLIP

74-3975 2293 U NUT 1/4-20 SCREW SIZE .064-.125 RANGE

74-3977 13616 CHRYSLER MOULDING CLIP 100 25 -75

74-3986 11156 PIGTAIL CONNECTOR BACKUP & CORNERING - GM 10 1 -9




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
74-4044 11243 HEADLIGHT ADJUSTING ASSEMBLY - GM 25 10 -15
74-4046 4439 RUBBER VACUUM CAP FOR 1/4 DIA. 9/16 INSIDE LGTH
74-4047 4440 RUBBER VACUUM CAP FOR 3/16 DIA. 9/16 INSIDE LGTH
74-4057 11345 WINDOW REVEAL MOULDING CLIP - GM
74-4059 23307 GM ENGINE COMPARTMENT WIRE CLIP FOR 1/4 TUBE
74-4062 23636 THREAD CUTTING NUT 1/2 STUD SIZE - ZINC
74-4063 2895 THREAD CUTTING NUT 1/8 STUD SIZE 5/16 HEX
74-4065 8855 THREAD CUTTING NUT 5/32 STUD SIZE
74-4066 23308 THREAD CUTTING NUT 1/4 STUD SIZE - ZINC
74-4067 22802 PUSHNUT BOLT RETAINER 7/16 BOLT 27/32 OD BLACK PHOS
74-4077 15459 THROTTLE ROD RETAINING CLIP FOR 1/4 ROD 100 50 -50
74-4088 17233 GM HEADLINING WIRE RETAINER CLIP
74-4098 N/A MOULDING RETAINER Discontinued
74-4099 N/A ADJUSTING SPRING Discontinued
75-4101 23637 CHRYSLER BODY SILL MOULDING CLIP
75-4117 16851 PUSHNUT BOLT RETAINER #6 BOLT 11/32 0.D.
75-4118 10085 PUSH-NUT BOLT RETAINER #8 BOLT 3/8 0D
75-4119 16852 PUSHNUT BOLT RETAINER #10 BOLT 7/16 0.D.
75-4120 22797 PUSHNUT BOLT RETAINER 1/4 BOLT 1/2 OD BLACK PHOS
75-4121 22798 PUSHNUT BOLT RETAINER 5/16 BOLT 5/8 OD BLACK PHOS
75-4122 22799 PUSHNUT BOLT RETAINER 3/8 BOLT 25/32 0D BLACK PHOS
75-4123 22800 PUSHNUT BOLT RETAINER 1/2 BOLT 15/16 OD BLACK PHOS
75-4124 11419 4 WAY HOSE CONNECTOR 3/16 ALL ENDS
75-4129 11245 PLASTIC NUT - GM
75-4143 23638 FORD BRAKE MASTER CYLINDER CAP GASKET
75-4156 23311 ROUTING GLIP HOLDS 1/2” TUBE/HOSE
75-4157 14532 ROUTING CLIP 5/8 50 25 -25
75-4158 14533 ROUTING CLIP 3/4 50 25 -25
75-4163 19003 RUBBER VACUUM CAP FOR 3/8 0.D. TUBE
75-4164 19001 RUBBER VACUUM CAP FOR 1/4 0.D. TUBE
75-4165 19000 RUBBER VACUUM CAP FOR 3/16 0.D. TUBE
75-4167 23639 GM CABLE & HARNESS STRAP 8-3/4 LENGTH
75-4189 23640 FORD SIDE MOULDING CLIP
75-4191 N/A MOULDING CLIP Discontinued
75-4194 24171 GM, FORD & CHRYSLER WINDSHIELD & REAR WINDOW
REVEAL MLDG ATTACHING SCREW
75-4196 11425 NYLON VINYL TOP MOULDING CLIP - GM
75-4198 12735 HEADLIGHT BEZEL NYLON NUT #6 SCREW SIZE 100 50 -50
75-4199 11691 #8 & #6 SCREW NYLON NUT - GM
75-4200 13933 NYLON GRILLE NUT #8 OR #10 SCREW SIZE 1/2 HEAD 100 50 -50
75-4209 23641 FORD NYLON OIL DRAIN PLUG GASKET 15MM I.D. 22MM 0.D.
75-4210 23312 NYLON 5 WAY TEE CONNECTOR 3/16” ALL ENDS
75-4213 12627 UNIVERSAL FUSIBLE LINK 18 GAUGE 12 5 -7
75-4216 11443 TRANSISTOR ALT HARNESS PIGTAIL CONNECTOR - GM 12 10 -2
75-4218 23642 GM HEADLAMP ADJUSTING SPRING
75-4221 23353 1/4-28 X 2 PHILLIPS HDLAMP ADJ SCREW - ZINC
75-4224 11243 HEADLIGHT ADJUSTING ASSEMBLY - GM 25 10 -15
75-4225 11243 HEADLIGHT ADJUSTING ASSEMBLY - GM 25 10 -15
76-2090 23572 R.H. WINDSHIELD LOCKING STRIP INSERT TOOL, 0.580” OPENING
76-2094 N/A WIRE CUTTING PLIERS Discontinued
76-4237 N/A PANEL CLIP Discontinued
76-4252 11826 1/4-28 X 2 HEADLIGHT ADJUST. ASSEMBLY - GM
76-4253 23643 FORD & AMC AIR CLEANER WING NUT SELF THREADING
76-4263 13141 MOULDING INSERT RED NYLON 100 50 -50
76-4264 11717 BELT MOULDING CLIP - GM 100 50 -50
76-4268 23644 CHRYSLER WINDOW REGULATOR ROLLER
76-4277 23645 WIRING & TUBING STRAP
76-4285 13174 MOULDING CLIP RED NYLON 100 25 -75
76-4287 23611 PHIL. WSHR HEAD T.S. W/ TEK POINT #8 X 1/2 - ZINC
76-4291 23646 GM QUARTER BELT REVEAL MOULDING CLIP
76-4295 14255 HONDA NYLON NUT #8 SCREW SIZE 9.5MM X 9.5MM 100 50 -50
76-4297 23292 FORD DOOR TRIM PANEL FASTENER
76-4298 23647 TUBULAR NYLON NUT STUD SIZE 1/8
76-4304 N/A PLUG Discontinued
76-4306 23648 GM MOULDING CLIP
76-4308 23313 CHRYSLER WINDSHIELD WIPER LINKAGE BUSHING
76-4313 23309 GM & AMC HEADLIGHT ADJUSTING SCREW & NUT ASSEMBLY
76-4315 N/A HOLD DOWN SCREW Discontinued
76-4316 23314 EXTRUDED U-NUT M6.3-1.0 SCREW SIZE RANGE 0.8 - 4.0MM
76-4317 23315 EXTRUDED U-NUT M8-1.25 SCREW SIZE RANGE 0.8 - 4.0MM
76-4319 23316 EXTRUDED U-NUT M8-1.25 SCREW SIZE RANGE 0.8 - 4.0MM
76-4320 23317 EXTRUDED U-NUT M10-1.50 SCREW SIZE RANGE 1.5 - 5.5MM
76-4329 11109 BODY BOLT 3/8-16 X 1 HEX HEAD SEMS 1 QD - PHOS
76-4330 11110 BODY BOLT 3/8-16 X 1-3/8 HEX HEAD SEMS

76-4332 14264 TOYOTA MOULDING CLIP 28MM WIDTH 14MM LENGTH 100 25 -75




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
76-4333 23319 NISSAN & TOYOTA WEATHERSTRIP & TRIM PANEL RETAINING CLIP

76-4334 13932 MITSUBISHI & TOYOTA NYLON NUT #10 SCREW SIZE 100 50 -50
76-4335 14277 TOYOTA SCREW GROMMET 15MM X 12MM X 16MM 100 15 -85
76-4340 20838 FORD WIRE HARNESS CONNECTOR ALTERNATOR

76-4342 23140 FORD VOLTAGE REGULATOR HARNESS CONNECTOR

76-4365 23649 GM QUARTER MOULDING CLIP

76-4377 N/A RETAINER CLIP Discontinued
76-4379 9288 PLASTIC PLUG BUTTON W/DEP CTR 1/2 HOLE

76-4382 23650 FORD WEATHERSTRIP CLIP

76-4384 15414 PANEL RETAINER - BLACK NYLON

76-4387 10055 EXTRUDED U NUT 3/8-16 SCREW SIZE

76-4389 12923 NYLON TEE CONNECTOR 1/8 X 1/8 X 1/8 25 10 -15
76-4390 12916 NYLON TEE CONNECTOR 1/8 X 3/16 X 1/8 25 10 -15
76-4391 23651 NYLON TEE CONNECTOR 1/8” X 1/8” X 3/16”

76-4395 11655 #12-28 X 1-3/4 HEADLIGHT ADJUST ASSEMBLY - GM

76-4397 23652 FORD RND HEAD BUMPER BOLT M8 - 1.25 X 20MM - CHROME

76-4400 13614 M8-1.25 X 30MM HEX HEAD SEMS 24MM OD PHOS 50 25 -25
76-4403 23330 GM OUTSIDE REAR VIEW MIRROR BOLT & JACK NUT

76-4404 23320 HEX WASHER HEAD SCREW M8-1.25 X 25MM BLACK

76-4406 23653 HEX WSHR HD BODY BOLT CA POINT M8-1.25 X 20MM - BLACK

76-4407 23654 HEX WSHR HD BODY BOLT CA POINT M6.3-1.0 X 20MM - BLACK

76-4409 23655 FREE SPINNING WSHR NUT M6.3-1.0 19MM WSHER 0.D.

76-4410 23656 FREE SPINNING WASHER NUT M8-1.25 24MM TOOTHED WASHER

76-4411 23321 METRIC HEX FLANGE NUT M10-1.5

76-4413 12932 NYLON ELBOW CONNECTOR 3/16 X 3/16 50 10 -40
76-4414 12933 NYLON ELBOW CONNECTOR 1/4 X 1/4 50 10 -40
76-4417 23657 CHRYSLER BODY SILL MOULDING CLIP

76-4421 23078 CHRYSLER VOLTAGE REGULATOR HARNESS CONNECTOR

76-4424 23618 PHIL. WSHR HEAD T.S. W/ TEK POINT #8 X 1/2 - ZINC

76-4427 23329 GM OUTSIDE MIRROR MOUNTING SCREW 1/4”-20 X 1-1/4”

76-4431 23658 GM QUARTER BELT REVEAL MOULDING CLIP

76-4435 23659 FORD LOWER BACK PANEL MOULDING RETAINER

76-4437 23660 GM GEAR SHIFT LEVER KNOB

76-4440 23661 HEX HEAD SEMS BODY BOLT CA POINT M6.3-1.0 X 20MM - BLACK

77-2095 23573 STRAIGHT WINDSHIELD LOCKING STRIP INSERT TOOL, 0.470” OPENING

77-2096 23574 R.H. WINDSHIELD LOCKING STRIP INSERT TOOL, 0.470” OPENING

77-2097 23575 L.H. WINDSHIELD LOCKING STRIP INSERT TOOL, 0.470” OPENING

77-2102 N/A LACING TOOL Discontinued
77-4444 23322 RUBBER CAP FOR 1/8” 0.D. TUBE

77-4446 9877 4-24 X 3/8 STEEL SPEC. PHIL. FLAT

77-4455 23323 HEX HEAD SEMS SCREW W/ STARTER POINT M8-1.25 X 25MM

77-4459 10823 HEX HEAD SEMS W/ DOG PT 1/4-20 X 7/8 - BLACK

77-4460 17034 HEX HEAD SEMS BODY BOLT 1/4 - 20 X 7/8

77-4461 24168 HEX HEAD SEMS BODY BOLT W/DOG POINT 1/4-20 X 1-1/8

77-4462 23662 HEX HEAD SEMS BODY BOLT W/DOG POINT 5/16-18 X 15/16 - BLACK

77-4463 23663 HEX HEAD SEMS BODY BOLT W/DOG POINT 5/16-18 X 1-3/16 - BLACK

77-4465 23664 HEX HEAD SEMS BODY BOLT W/DOG POINT 3/8-16 X 1-13/16 - BLACK

77-4467 23665 HEX HEAD SEMS BODY BOLT W/DOG POINT 5/16-18 X 1-3/16 - ZINC & YELLOW

77-4468 24177 HEX HEAD SEMS BODY BOLT W/DOG POINT 1/4-20 X 3/4” BLACK

77-4469 23666 HEX HEAD SEMS BODY BOLT W/DOG POINT 5/16-18 X 15/16 - ZINC & YELLOW

77-4470 23324 HEX HEAD SEMS BODY BOLT W/DOG POINT 5/16-18 X 1-1/16 - ZINC & YELLOW

77-4411 23665 HEX HEAD SEMS BODY BOLT W/DOG POINT 5/16-18 X 1-3/16 - ZINC & YELLOW

77-4473 23667 FORD SIDE MOULDING CLIP

77-4474 11368 LICENSE PLATE NUT NYLON - FORD 100 50 -50
77-4485 8863 PUSH-ON RETAINER FOR 1/8 STUD 3/8 OD

77-4486 8864 PUSH-ON RETAINER FOR 5/32 STUD 7/16 OD

77-4487 22798 PUSHNUT BOLT RETAINER 5/16 BOLT 5/8 OD BLACK PHOS

77-4488 12125 PUSHNUT BOLT RETAINER M8-1.25 15.9MM QD - ZINC

77-4490 22801 PUSHNUT BOLT RETAINER M12-1.75 21MM OD BLACK PHOS

77-4495 12253 THREAD CUTTING NUT 5MM STUD SIZE - PHOS. 100 50 -50
77-4496 12253 THREAD CUTTING NUT 5MM STUD SIZE - PHOS. 100 50 -50
77-4497 23668 THREAD CUTTING NUT 5MM STUD SIZE - BLACK

77-4499 12255 THREAD CUTTING NUT 6.3MM STUD SIZE - ZINC 100 50 -50
77-4504 18337 EXTRUDED U NUT M4-.7 SCREW SIZE .60MM-3.8MM RANGE

77-4505 11625 EXTRUDED U NUT M4-.7 SCREW SIZE - GM

77-4506 11626 EXTRUDED U NUT M5-.8 SCREW SIZE - GM

77-4508 11797 INTERIOR TRIM PANEL RETAINER - FORD 100 50 -50
77-4517 N/A MOULDING CLIP Discontinued
77-4522 11709 M8-1.25 HEX FLANGE LOCKNUT 17MM FLANGE

77-4523 11708 M10-1.5 HEX FLANGE LOCKNUT 21MM FLANGE 50 25 -25
77-4527 23325 HEX HEAD SEMS SCREW W/ STARTER POINT M10-1.50 X 40MM

77-4531 11838 NYLON NUT #6 SCREW - GM 100 50 -50
77-4538 23669 PAL NUT #8-18 THREAD

77-4543 22797 PUSHNUT BOLT RETAINER 1/4 BOLT 1/2 OD BLACK PHOS

77-4545 23530 PUSH NUT 5MM STUD 11MM 0.D. - BLACK

10



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
77-4549 23670 HEX HD SEMS BODY BOLT CA POINT M6.3-1.0 X 40MM - BLACK

77-4563 N/A SHIM Discontinued
77-4565 23671 GM AIR CLEANER WING NUT M8-1.25

77-4566 23671 GM AIR CLEANER WING NUT M8-1.25

77-4583 23672 GM MOULDING CLIP

77-4598 N/A MOULDING RETAINER Discontinued
77-4606 N/A ACORN NUT Discontinued
77-4607 23314 EXTRUDED U-NUT M6.3-1.0 SCREW SIZE RANGE 0.8 - 4.0MM

77-4608 12126 PUSHNUT BOLT RETAINER M10-1.5 19.8MM QD - PHOS 100 50 -50
77-4611 23673 FORD ENGINE TO TRANSMISSION VACUUM TUBE CONNECTOR

77-4613 11827 22-18 GA FEMALE QUICK SLIDE TERMINALS - RED

77-4614 11828 22-18 GA MALE QUICK SLIDE TERMINALS - RED

77-4615 11606 INSUL NYLON FEMALE QUICK-CONNECT TERMINAL 16-14 GA

77-4616 11605 INSUL NYLON MALE QUICK-CONNECT TERMINAL 16-14 GA

77-4617 11829 12-10 GA FEMALE QUICK SLIDE TERMINALS - YELLOW 50 25 -25
77-4622 16017 TRIM PANEL RETAINER- GM TRUCK

77-4628 24157 FORD POWER WINDOW REGULATOR GEAR 9/41 SPLINES

77-4629 16261 GM DOOR TRIM PANEL RETAINER

77-4634 23674 FORD TAIL GATE OUTSIDE LOWER MOULDING CLIP

77-4643 20582 GM SPRING TYPE U-NUT #8 SCREW .125-.250 RANGE

77-4644 N/A RETAINER Discontinued
77-4647 23010 GM FUSIBLE LINK WIRE 14 GA ORANGE

77-4649 23675 GM & CHRYSLER RADIATOR GRILLE SCREW GROMMET

77-4657 12115 THREAD CUTTING NUT 4MM STUD SIZE - ZINC

77-4661 15935 PACK CON TERMINAL FEMALE 16-14 GAUGE 100 50 -50
77-4668 3155 SHIM 1-1/4 X 1-1/8 X 1/16 W/3/8 SLOT ZINC

77-4669 3156 SHIM 1-1/4 X 1-1/8 X 1/8 W/3/8 SLOT ZINC

77-4670 2452 SHIM 1-3/4 X 1-1/4 X 1/16 W/ 1/2 SLOT ZINC

77-4671 2453 SHIM 1-3/4 X 1-1/4 X 1/8 W/ 1/2 SLOT ZINC

77-4685 23327 NYLON TEE CONNECTOR 1/4” X 1/4” X 1/4”

77-4686 22164 GM HEX HEAD SEMS BODY BOLT WITH DOG POINT 100 50 -50
77-4691 11612 WEATHERSTRIP RETAINER - GM FORD AMC

77-4692 11679 MUD SHIELD RETAINER - GM FORD CHRYSLER

77-4693 11672 TRIM PANEL X-MAS TREE RETAINER - FORD

77-4694 11671 SEAT BACK PANEL XMAS TREE RETAINER - FORD

77-4695 11673 INTERIOR TRIM PANEL RETAINER - GM CHRYSLER

77-4698 11675 ROOF HEADLINER RETAINER - GM CHRYSLER

77-4699 23082 OEM FEMALE ELECTRICAL FORK TYPE TERMINAL 20-16-18 GA

77-4705 20364 GM PHILLIPS WASHER HEAD DRILL SCREW #10 X 5/8

77-4707 23328 GM & AMC BUMPER FASTENER

77-4710 N/A MOULDING CLIP Discontinued
77-4719 23676 GM SIDE MOULDING CLIP

77-4724 23677 PHIL. PAN HD LICENSE PLATE SCREW M6-1.0 X 20MM

77-4726 23678 FORD ROOF TRIM PANEL RETAINER

77-4733 23527 SPRING TYPE U-NUT SCREW #8 RANGE 0.045-0.062 - BLACK

77-4735 23141 GM ALTERNATOR EXTENDER HARNESS CONNECTOR

78-4740 16954 FORD HOOD PROP ROD CLIP (FOR 5/16 ROD DIA.) 50 25 -25
78-4767 14218 NYLON NUT #6 OR #8 SCREW SIZE 100 50 -50
78-4768 20839 FORD WIRE HARNESS CONNECTOR COIL TO IGNITION

78-4770 11864 EXTRUDED U NUT M6-1.0 SCREW SIZE - GM

78-4777 23679 GM WINDSHIELD REVEAL LOWER MOULDING CLIP

78-4790 11706 GRILLE TO METAL PUSH-TYPE RETAINER - FORD

78-4792 24181 GM TRIM PANEL RETAINER

78-4800 11702 WHEEL ORNAMENT DRIVE RIVET - FORD 25 50 +25
78-4801 11699 PUSH-TYPE RETAINER - GM CHRYSLER

78-4804 11672 TRIM PANEL X-MAS TREE RETAINER - FORD 50 25 -25
78-4806 12675 METRIC WHEEL NUT 12MM-1.5

78-4807 23680 GM ROCKER MOULDING CLIP

78-4808 11718 HEADLIGHT ADJUSTING NUT - GM

78-4813 23681 CHRYSLER DOOR LOCK ROD CLIP

78-4814 23682 CHRYSLER DOOR LOCK ROD CLIP

78-4817 11841 GRILLE ATTACHMENT NUT #6 SCREW - FORD 100 50 -50
78-4819 12713 NYLON SCREW GROMMET 50 25 -25
78-4821 13647 RADIATOR GRILLE NUT #8 SCREW SIZE 50 25 -25
78-4831 12260 PUSHNUT BOLT RETAINER M10-1.5 24MM 0D

78-4838 11842 DASHBOARD X-MAS TREE RETAINER - FORD 50 25 -25
78-4839 23683 FORD DOOR PANEL RETAINER

78-4842 23684 FREE SPINNING WASHER NUT M6-1.0 16MM WSHR 0.D.

78-4843 15328 M6-1.0 FREE SPINNING WASHER NUT 16MM OD

78-4844 15328 M6-1.0 FREE SPINNING WASHER NUT 16MM 0D

78-4845 23685 FREE SPINNING WASHER NUT M6-1.0 19MM WSHR 0.D.

78-4846 23686 FREE SPINNING WASHER NUT M6-1.0 24MM WSHR 0.D.

78-4847 19216 M6-1.0 FREE SPINNING WASHER NUT 14MM 0.D.

78-4848 15331 M6-1.0 FREE SPINNING WASHER NUT 20MM 0D

78-4849 12922 NYLON TEE CONNECTOR 3/8 X 1/4 X 3/8 25 10 -15

11



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
78-4852 23687 FORD CHRYSLER DOOR & INTERIOR TRIM PANEL RETAINER

78-4854 16322 EXTRUDED U NUT M6-1.0 SCREW SIZE

78-4855 18449 EXTRUDED U NUT M6-1.0 SCREW SIZE .80MM-4.0MM RANGE

78-4858 23688 HEX HD SEMS SCREW W/ DOG POINT M6-1.0 X 18MM - BLACK

78-4860 15778 HEX HEAD SEMS BODY BOLT ZINC M6-1.0 X 22.5MM

78-4862 23689 HEX HEAD SEMS SCREW M6-1.0 X 25MM - BLACK

78-4875 N/A MOULDING CLIP Discontinued
78-4877 N/A MOULDING RETAINER Discontinued
78-4880 23690 GM WHEEL MOULDING CLIP

78-4895 23691 FORD QUARTER PANEL MOULDING RETAINER

78-4896 23692 HEX WSHR HEAD BODY BOLT CA POINT 5/16-18 X 1 - BLACK

78-4905 23693 HEX FLANGE LOCK NUT M8-1.25 18MM DIA.

78-4910 12735 HEADLIGHT BEZEL NYLON NUT #6 SCREW SIZE 100 50 -50

78-4921 23694 CHRYSLER HEADLINER PUSH-TYPE RETAINER

78-4924 12995 JACK NUT 1/4-20 THREAD COATED 50 25 -25

78-4925 N/A WIRING HARNESS Discontinued
78-4927 23012 GM RADIO POWER SUPPLY HARNESS CONNECTOR

78-4928 N/A WIRING HARNESS Discontinued
78-4929 19205 HEX FLANGE NUT M6-1.0 BLACK PHOS. CLASS 9

78-4934 23695 HEX HEAD SEMS T.S. M6.3-1.81 X 22MM - BLACK

78-4940 23696 FORD WINSHIELD REVEAL MOULDING CLIP

78-4958 23497 GM WELL NUT, WASHER & SCREW ANCHOR KIT

78-4963 N/A NUT Discontinued
78-4965 23697 GM QUARTER BELT REVEAL MOULDING CLIP

78-4970 N/A HEADLAMP SCREW Discontinued
78-4971 20675 CHRYSLER DOOR LOCK ROD CLIP 50 25 -25

78-4973 14544 WIRE LOOM ROUTING CLIP 11/321.D. 1/2 0.D. 50 25 -25

78-4974 14545 WIRE LOOM ROUTING CLIP 13/32 I.D. 19/32 0.D. 50 25 -25

78-4975 14546 WIRE LOOM ROUTING CLIP 1/21.D. 11/16 0.D.

78-4976 14547 WIRE LOOM ROUTING CLIP 3/41.D. 1 0.D. 50 25 -25

79-4977 23698 TORX OVAL HEAD T.S. M4.2-1.41 X 40MM - CHROME

79-4978 N/A SCREW & RIVET Discontinued
79-4980 23699 FORD DASH PANEL & GRILLE RETAINING SCREW GROMMET

79-4987 23700 NISSAN DOOR TRIM PANEL CLIP

79-4991 23701 GM WINDSHIELD MOULDING CLIP

79-4992 23702 GM MOULDING CLIP

79-5002 11633 6.3-1.0 X 20MM HEX HEAD SEMS 17MM WASH 0.D. - PHOS 50 25 -25

79-5003 4447 GM TRUNK LID RUBBER BUMPERS

79-5005 15373 M4.2-1.41 X 20MM HEX HEAD SEMS T.S. 16MM 0D

79-5008 23627 FORD DOOR GLASS ATTACHING ROLLER & RIVET KIT

79-5009 16349 CHRYSLER QUICK CONNECT TERMINAL 16-14 GA. 50 25 -25

79-5015 23703 NYLON RECESSED PLUG 1-5/8 HOLE SIZE

79-5026 23704 GM REAR BUMPER PUSH-TYPE RETAINER

79-5030 12066 6-1.0 X 25MM HEX HEAD SEMS 24MM 0.D. - PHOSPHATE

79-5046 11944 4.2-1.41 X 20MM SS TORX PAN HD T.S. - BLACK 0X

79-5050 23705 TORX PAN HD T.S. M4.2-1.41 X 50MM - CHROME

79-5053 23706 TORXOVALHD T.S. #10 X 3/4 - CHROME

79-5057 23707 CHRYSLER WINDSHIELD GARNISH MOULDING SPACER

79-5067 23708 FORD BELT MOULDING CLIP

79-5087 N/A MOULDING RETAINER Discontinued
79-5100 14163 HOOD INSULATION RETAINER 100 50 -50

79-5109 23331 FORD TRIM PANEL RETAINER

79-5110 13922 1/4-20 X 5/8 NAT. NYLON L.P SCREW & NUT 50 25 -25

79-5118 23166 FORD FUSIBLE LINK WIRE 18 GAUGE RED

79-5126 23332 GM HOOD INSULATION RETAINER

79-5127 23333 GM HOOD INSULATION RETAINER

80-5141 23334 HEX HEAD SEMS TAPPING SCREW M4.2-1.41 X 20MM BLACK

80-5152 12135 WINDSHIELD REVEAL MOULDING CLIP - GM

80-5156 11787 #8 X 5/8 PHIL OVAL #6 HEAD AB TAPPING SEMS - BLACK

80-5157 11789 #8 X 1 PHIL OVAL #6 HEAD AB TAPPING SEMS - BLACK

80-5158 16263 RADIATOR APRON PANEL RETAINER

80-5159 12314 GM WINDOW CRANK HANDLE-CLEAR KNOB 12 1 -11

80-5160 12315 GM WINDOW CRANK HANDLE-BLACK KNOB 12 1 -11

80-5161 15467 GM FRONT & REAR DOOR WINDOW GUIDE

80-5162 15466 GM FRONT DOOR WINDOW GUIDE (UPPER PT OF GLASS)

80-5165 23709 FORD WINDOW REGULATOR HANDLE

80-5168 23710 GM TRUNK LID BUMPER 3/4 LENGTH 11/16” DIA.

80-5172 N/A MOULDING CLIP Discontinued
80-5182 23711 HEX FLANGE HEAD CAP SCREW M10-1.5 X 30MM - BLACK

80-5188 12067 6-1.0 X 20MM HEX HEAD SEMS 17MM OD - PHOSPHATE

80-5204 12824 GM REAR QUARTER REVEAL MOULDING CLIP 100 50 -50

80-5208 15453 GM HOOD BUMPER 1-29/32 LENGTH 15/16 DIA. 25 50 +25

80-5210 23712 HEATER BY PASS CAP 5/8 HOSE SIZE

80-5211 23713 FORD AIR CLEANER THUMB SCREW 1/4-20 X 3/4”




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
80-5221 23714 HEATER BY PASS CAP 3/4 HOSE SIZE

80-5225 23715 PHIL. WSHR HEAD T.S. W/ TEK POINT #8 X 7/16 - CHROME

80-5229 14127 FASCIA BUMPER RIVET 3/16 DIA. 3/8-1/2 GRIP

80-5233 12602 GM MOULDING CLIP 1980-0ON 50 25 -25
80-5236 13931 NISSAN NYLON NUT SCREW GROMMET 14MM X 14MM 25 50 +25
80-5238 23716 CORVETTE WINDSHIELD MOULDING CLIP

80-5239 23717 GM WINDOW REGULATOR HANDLE

80-5249 23335 METRIC PUSHNUT BOLT RETAINER FOR THREADED FASTENERS

80-5254 23336 GM TRIM PANEL RETAINER

80-5257 17075 FORD TRIM PANEL RETAINER

80-5260 13960 HEADLIGHT NYLON NUT FITS 5/16 HOLE #8 SCREW SIZE

80-5261 13927 BODY SIDE MOULDING CLIP 50 25 -25
80-5265 23718 FORD FENDER SIDE LOWER REAR MOULDING CLIP

80-5273 23337 HEX HEAD SEMS SCREW W/ DOG POINT M6-1.0 X 30MM BLACK

80-5274 12232 M5-0.8 X 20MM HEX HEAD SEMS THREAD CUTTING SCREW

80-5276 12652 SPECIAL RIVET (FORD) 1/4 DIA. 3/4 FLANGE DIA.

80-5277 23719 PHIL. FLAT TOP WSHR HEAD T.S. B POINT #8 X 5/8 - BLACK

81-5289 23720 GM BELT MOULDING CLIP

81-5290 23721 CHRYSLER FENDER & DOOR MOULDING CLIP

81-5293 14695 SCREW GROMMET 16MM HEAD DIA. 17MM LENGTH

81-5299 23338 HEX HEAD SEMS SCREW W/ DOG POINT M6-1.0 X 25MM BLACK

81-5305 13189 AUDI MOULDING CLIP

81-5306 14642 GM QUARTER BELT REVEAL MOULDING CLIP 100 50 -50
81-5307 23339 FORD DOOR HINGE BUSHING

81-5308 14548 DOOR HINGE BUSHING 1/2 0.D. 3/8 I.D. 50 25 -25
81-5310 23340 FORD FRONT & REAR BUMPER, DOOR FRAME SPACER RETAINER

81-5326 23341 HEX HEAD SEMS SCREW W/ DOG POINT M6-1.0 X 22MM BLACK

81-5341 17073 GM WINDOW REGULATOR DRIVE BLOCK

81-5344 23722 HEX FLANGE HEAD CAP SCREW M6-1.0 X 28MM - BLACK

81-5360 23685 FREE SPINNING WASHER NUT M6-1.0 19MM WSHR 0.D.

81-5364 14873 SPIN LOCK NUT W/ SERR. #10-24 1/2 0D

81-5365 14874 SPIN LOCK NUT W/ SERR.1/4-2019/32 OD

81-5381 23723 FORD WINSHIELD REVEAL MOULDING CLIP

81-5385 14366 MAZDA & NISSAN SCREW GROMMET 9.5MM X 9.5MM 25 50 +25
81-5386 14353 NISSAN RETAINING CLIP 14MM HEAD DIA. 16MM LENGTH 25 50 +25
81-5388 14364 MAZDA SCREW GROMMET 13MM HEAD DIA. #8 SCREW SIZE

81-5389 14728 TOYOTA DOOR PANEL RETAINER 8.5MM STEM DIA.

81-5409 N/A CLIP Discontinued
81-5410 23724 GM HEADLIGHT ADJUSTING SCREW #12-28 X 1 3/4

81-5412 23725 GM INTERIOR DOOR HANDLE

81-5413 23726 GM WINDOW REGULATOR HANDLE

81-5414 23727 GM WINDOW REGULATOR HANDLE

81-5415 14144 TOYOTA DOOR TRIM PANEL RETAINER 20.5MM LENGTH

81-5416 23342 NISSAN TRIM PANEL RETAINING CLIP

81-5419 14268 HONDA & TOYOTA SCREW GROMMET ##6 SCREW SIZE

81-5420 14724 NISSAN SCREW GROMMET 11.5MM HEAD DIA. 9.5MM

81-5423 23728 NISSAN ROUTING CLIP

81-5424 23729 TOYOTA HIGH MOUNT LAMP SCREW GROMMET

81-5428 16262 FRONT END STONE SHIELD RETAINER

81-5433 23343 GM FRONT & REAR BUMPER FASCIA RETAINER

81-5434 19847 GM FASCIA RETAINER 7/8 HEAD DIA. 25/32 STEM LGTH

81-5435 12756 GM PUSH-TYPE RETAINER 1” HEAD DIA. 7/8 LENGTH 25 15 -10
81-5437 23344 PHIL. OVAL HEAD T.S. COUNTERSUNK WSHR #10 X 5/8 - CHROME

81-5438 23345 PHIL. OVAL HEAD T.S. COUNTERSUNK WSHR #10 X 3/4 - CHROME

81-5439 23346 PHIL. OVAL HEAD T.S. COUNTERSUNK WSHR #10 X 1 - CHROME

81-5440 23347 PHIL. OVAL HEAD T.S. COUNTERSUNK WSHR #10 X 1-1/4 - CHROME

81-5441 23348 PHIL. OVAL HEAD T.S. COUNTERSUNK WSHR #10 X 5/8 - BLACK

81-5442 11791 #10 X 3/4 PHIL OVAL #8 HEAD AB TAPPING SEMS - BLACK

81-5443 11792 #10 X 1 PHIL OVAL #8 HEAD AB TAPPING SEMS - BLACK

81-5444 14973 SEMS PHILLIPS OVAL TAP SCREW 8 HEAD 10 X 1-1/4

81-5450 N/A MOULDING CLIP Discontinued
81-5451 23730 CHRYSLER ROOF TRANSVERSE MOULDING CLIP

81-5452 N/A LENS RIVET Discontinued
81-5459 23731 GM BELT MOULDING CLIP

82-5461 14335 SCREW GROMMET 13.5 HEAD DIA. 16MM LENGTH 25 50 +25
82-5465 23732 CHRYSLER & MITSUBISHI INTERIOR TRIM RETAINER

82-5483 23733 GM & VW GRILLE PUSH-TYPE RETAINER

82-5486 14007 FENDER LINER RETAINER 11/16 HEAD DIA. 9/16 LENGTH

82-5487 14009 GRILLE ATTACHMENT GROMMET #6 OR #8 SCREW SIZE 100 50 -50
82-5490 13475 TRIM PANEL RETAINER 19MM HEAD DIA. 18MM LGTH

82-5495 12675 METRIC WHEEL NUT 12MM-1.5

82-5496 23734 GM REAR RADIATOR LOWER GRILLE PUSH-TYPE RETAINER

82-5498 12259 PUSHNUT BOLT RETAINER M8-1.25 24MM OD

82-5503 23281 SLOTTED HEX WASHER HEAD LICENSE PLATE SCREW #14 X 3/4”

82-5506 14328 HONDA WEATHERSTRIP RETAINER 7MM X 16MM

13



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
82-5510 18509 CHRYSLER WEATHERSTRIP RETAINER

82-5513 N/A EMBLEM Discontinued
82-5520 14970 SEMS PHILLIPS OVAL TAP SCREW 6 HEAD 8 X 1 1/2

82-5521 24166 PHILLIPS OVAL HEAD T.S. COUNTERSUNK WSHR #8 X 2 - CHROME

82-5529 23735 GM R.H. OUTSIDE DOOR HANDLE

82-5530 23736 GM L.H. OUTSIDE DOOR HANDLE

82-5534 23349 HONDA, MAZDA, NISSAN & TOYOTA SCREW GROMMET

82-5535 23737 NISSAN TRIM PANEL RETAINING CLIP

82-5536 23700 NISSAN DOOR TRIM PANEL CLIP

82-5539 21121 NISSAN GRILLE CLIP 50 25 -25

82-5541 14524 DOOR TRIM PANEL FASTENER

82-5543 12731 GM SEAT BACK RETAINER

82-5556 17194 TOYOTA GRILLE CLIP 13MM WIDTH 23MM LENGTH

82-5557 17195 GRILLE CLIP 13MM WIDTH 22MM LENGTH

82-5558 23738 TOYOTA TRIM PUSH-TYPE RETAINER

82-5559 18297 TOYOTA HOOD SEAL RETAINING CLIP 13MM HEAD DIA.

82-5563 23350 NYLON U-NUT FENDER/WHEEL HOUSING M5.5 SCREW SIZE

82-5567 23739 CHRYSLER L.H. DOOR LOCK ROD CLIP

82-5570 14256 TOYOTA NYLON NUT #8 SCREW SIZE 10MM X 10MM

82-5571 23351 NISSAN & TOYOTA SCREW GROMMET

82-5587 N/A LOCK CYLINDER CASE Discontinued
82-5590 12565 FORD DOOR TRIM PANEL RETAINER

82-5591 23740 GM BRAKE MASTER CYLINDER CAP GASKET

82-5594 N/A COLLAR HOUSING Discontinued
82-5604 23741 GM OUTSIDE DOOR HANDLE-LH

82-5605 23742 GM QUTSIDE DOOR HANDLE-RH

83-5617 12992 GM DOOR TRIM PANEL RETAINER

83-5618 12993 REAR WINDOW MOULDING RETAINER

83-5619 23743 AMC AIR CLEANER HOLD DOWN NUT Mé6-1.0

83-5620 23283  SLOTTED HEX WASHER HEAD LICENSE PLATE SCREW & NUT KIT #14 X 3/4”

83-5621 23280  SLOTTED HEX WASHER HEAD LICENSE PLATE SCREW & NUT KIT #14 X 3/4”

83-5628 23744 GM BELT MOULDING CLIP

83-5634 14010 GM FASCIA PUSH-TYPE RETAINER 1 HEAD DIA. 23/32 LENGTH

83-5636 14020 SPLASH SHIELD/FASCIA RETAINER FITS 1/4 HOLE

83-5638 14016 PUSH-TYPE TAIL LIGHT RETAINER 7/16 LENGTH

83-5639 N/A TRIM GROMMET Discontinued
83-5640 13966 TUBULAR NUT (NYLON) FOR 3/16 STUD 50 100 +50

83-5642 13747 NYLON EXPANSION RIVET 13/64 HOLE DIA. 1-7/8 LENGTH

83-5643 13748 NYLON RIVET 13/64 HOLE DIA. 1-7/8 LENGTH

83-5644 13748 NYLON RIVET 13/64 HOLE DIA. 1-7/8 LENGTH

83-5645 13755 NYLON RIVET 13/64 HOLE DIA. 2 LENGTH

83-5646 13749 NYLON EXPANSION RIVET 1/4 HOLE DIA. 2-3/16 LENGTH

83-5647 13750 NYLON RIVET 1/4 HOLE DIA. 2-3/16 LENGTH

83-5648 13751 NYLON EXPANSION RIVET 1/4 HOLE DIA. 2-3/16 LENGTH

83-5649 13752 NYLON EXPANSION RIVET 17/64 HOLE DIA. 1-7/8 LENGTH

83-5650 13753 NYLON RIVET 17/64 HOLE DIA. 1-7/8 LENGTH

83-5652 14747 WINDSHIELD MOULDING CLIP 18MM X 50MM X 15MM

83-5655 23745 FORD TRIM PANEL RETAINER

83-5656 N/A TRIM CLIP Discontinued
83-5657 23746 FORD TRIM PANEL RETAINER

83-5658 23747 FORD TRIM PANEL RETAINER

83-5659 23748 FORD TRIM PANEL RETAINER

83-5660 23749 GM ARM REST SCREW GROMMET

83-5663 12567 GM FENDER MUD SKIRT PUSH-TYPE RETAINER

83-5664 17496 GRAY NYLON RIVET 1/4 DIA. 5/32-3/8 GRIP

83-5665 N/A CP KIT-MOULDING CLIPS Discontinued
83-5677 23750 GM TORX DRIVE KNURLED SOCKET HEAD T.S. M4.5-1.41 X 20MM

83-5687 23751 NISSAN TRIM PANEL RETAINING CLIP

83-5688 23752 NISSAN TRIM PANEL RETAINING CLIP

83-5690 14313 NYLON NUT 17MM WIDTH 17MM LENGTH #10 SCREW SIZE

83-5692 14266 TOYOTA SCREW GROMMET 18MM HEAD DIA. 21MM LGTH

83-5694 14267 TOYOTA SCREW GROMMET 20MM HEAD DIA. 17MM LGTH

83-5697 14746 TOYOTA WINDSHIELD MLDG. CLIP 20MM X 41MM 25 15 -10

83-5698 19669 TOYOTA NYLON “U” NUT 20MM X 31MM #10 SCREW

83-5703 14306 HONDA BODY SIDE MOULDING CLIP 18MM X 15MM

83-5704 14308 HONDA BODY SIDE MOULDING CLIP 10MM X 12MM

83-5705 23352 LEXUS & TOYOTA BODY MOULDING SCREW GROMMET

83-5706 23353 NYLON U-NUT FENDER/WHEEL HOUSING #14 SCREW SIZE

83-5707 23354 GM DOOR HINGE PIN

83-5709 19183 GM DOOR HINGE PIN 4” LENGTH 11/32 PIN DIA. 25 10 -15

83-5710 9045 SPRING PINS 5/16 X 2 ZINC

83-5711 14553 DOOR HINGE BUSHING 31/64 0.D. 11/32 1.D.

83-5712 14549 DOOR HINGE BUSHING 1/2 0.D. 11/32 1.D.

83-5718 13847 DECK LID MOULDING CLIP

83-5720 13843 DECK LID MOULDING CLIP

14



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
83-5721 N/A MOULDING CLIP Discontinued
83-5723 23355 NISSAN WINDOW CRANK HANDLE RETAINING CLIP

83-5724 14552 DOOR HINGE BUSHING 5/16 0.D. 17/64 1.D.

83-5725 14551 DOOR HINGE BUSHING 27/64 0.D. 11/32 1.D.

83-5726 13564 WINDOW REVEAL MOULDING CLIP

83-5727 6806 NYLON RIVET QUIK-SELECT KIT

83-5729 14690 SCREW GROMMET 12MM WIDTH 19MM LENGTH

83-5731 6881 GM, FORD & CHRYSLER DOOR HINGE PIN AND BUSHING KIT

83-5732 N/A GROMMET Discontinued
83-5733 23753 GM WINDOW REGULATOR HANDLE

83-5735 14725 NISSAN PUSH-TYPE RETAINER 12MM HEAD WIDTH 25 15 -10
83-5736 23754 GM INTERIOR DOOR HANDLE

83-5737 9038 SPRING PINS 1/4 X 2 1/4 ZINC 25 50 +25
83-5741 16859 PUSH-TYPE RETAINER 14MM HEAD DIA. 16MM LENGTH

83-5742 16858 NISSAN, MAZDA, FORD & KIA PUSH-TYPE RETAINER

83-5744 14751 TOYOTA WINDSHIELD MLDNG. CLIP 18MM X 49MM X 13MM

83-5745 23755 GM WINDOW REGULATOR HANDLE

83-5746 18819 FORD HEATER/A.C.BLOWER HARNESS CONNECTOR 6 1 -5
83-5747 15666 HEADLIGHT ADJ. SCREW ASSEMBLY 1/4-28 X 2-1/4

83-5752 12566 GM GRILLE ATTACHING SCREW GROMMET 50 25 -25
84-2103 23576 STRAIGHT WINDSHIELD LOCKING STRIP INSERT TOOL, 0.460” OPENING

84-5755 14687 HONDA HOOD PROP ROD CLIP HOLDS 8MM ROD 50 25 -25
84-5759 23756 EXTRUDED U-NUT SCREW M6-1.0 RANGE 0.8 - 1.6MM

84-5761 23757 GM GEAR SHIFT LEVER KNOB

84-5766 23758 HEX WASHER HEAD T.S. #14 X 3/4

84-5770 14294 HONDA SCREW GROMMET 15MM WIDTH 15MM LENGTH 25 15 -10
84-5773 14281 HONDA & TOYOTA SCREW GROMMET WITH SEALER

84-5774 N/A CLIP Discontinued
84-5777 17281 HONDA WINDSHIELD MOULDING CLIP BLACK 25 15 -10
84-5779 23759 NYLON STRAIGHT CONNECTOR 1/8 X 1/8

84-5780 23356 NYLON STRAIGHT CONNECTOR 1/4 X 1/4

84-5781 12920 TEE CONNECTOR 5/16 X 5/16 X 5/16 25 10 -15
84-5782 12925 NYLON TEE CONNECTOR 3/8 X 3/8 X 3/8 25 10 -15
84-5783 N/A HOLD DOWN NUT Discontinued
84-5788 13469 UPPER HOOD RETAINER 3/4 HEAD DIA. 1/2 STEM LNGTH 50 25 -25
84-5789 N/A HOLD DOWN NUT Discontinued
84-5793 23357 HEX HEAD SEMS SCREW W/ STARTER POINT M10-1.50 X 20MM

84-5794 14726 NISSAN PUSH-TYPE RETAINER 17MM HEAD DIA. 18MM LENGTH

84-5795 13454 GM COWL VENT RETAINER BLACK NYLON

84-5798 13860 CARPET RETAINER (BLACK) 30MM HEAD DIA.

84-5799 13856 NYLON REAR SPEAKER NUT M6-1.0 THREAD

84-5802 16306 TOYOTA BUMPER CUSHION CLIP 50 25 -25
84-5803 14968 GM BUMPER IMPACT STRIP RETAINER 100 50 -50
84-5804 14703 WINDSHIELD MLDG CLIP 35MM LENGTH 14MM WIDTH

84-5808 16825 HONDA BACK GLASS MOULDING CLIP 33MM X 30MM

84-5811 11620 PEEL TYPE RIVET 1/4 DIA. 1/32 GRIP - GM FORD CHRY

84-5812 11852 PEEL TYPE RIVET 1/4 DIA. 5/64 GRIP - GM FORD

84-5813 12658 SPECIAL PEEL-TYPE RIVET (GM & FORD) 1/4 DIA.

84-5814 23760 CHRYSLER HEADLAMP-ADJUSTING NUT & SCREW

84-5817 9023 SPRING PINS 3/16 X 1 1/4 ZINC 100 50 -50
84-5818 9022 SPRING PINS 3/16 X 1 ZINC 100 50 -50
84-5819 9006 SPRING PINS 1/8 X 3/4 ZINC 100 50 -50
84-5820 8983 SPRING PINS 1/16 X 1/2 ZINC 100 50 -50
84-5828 20657 MERCEDES-BENZ MLDNG CLIP 11MM WDTH 20MM LGTH 25 15 -10
84-5830 23761 GM DOOR HINGE PIN

84-5837 15472 HONDA WINDSHIELD MOULDING CLIP 11MM X 35MM 25 15 -10
84-5838 23359 FORD & NISSAN HOOD INSULATION RETAINER, BLACK NYLON

84-5839 15481 FASCIA RETAINER CHRYSLER

84-5840 13993 GM PUSH-TYPE RETAINER 50 25 -25
84-5841 14019 SPLASH SHIELD/FASCIA RETAINER FITS 5/16 HOLE 50 25 -25
84-5848 23117 GM POWER TAILGATE LOCK CYLINDER CONNECTOR

84-5855 23762 GM STEERING COLUMN HOUSING END CAP COVER W/TILT

84-5856 23763 GM STEERING COLUMN HOUSING COVER W/TILT

84-5857 23768 GM STEERING COLUMN HOUSING BOWL FOR M/T

84-5859 23769 GM STEERING COLUMN HOUSING BOWL W/TILT

84-5861 23083 GM SPARK PLUG WIRE GUIDE HOLDS 4-7MM WIRES

84-5863 23764 GM IGNITION SWITCH ACTUATOR GEAR & PRELOAD SPRING

84-5869 14709 MAZDA HOOD INSULATION CLIP 15MM HEAD DIA 9MM LGTH

84-5871 14705 QUARTER WINDOW MOULDING CLIP 18MM X 18MM

84-5872 14923 FLUSH SHEET METAL PLUG PLASTIC 3/8 HOLE BLACK

84-5873 23770 GM FENDER & QUARTER MOULDING CLIP

84-5880 15468 NISSAN WINDSHIELD MOULDING CLIP 11MM X 40MM 25 15 -10
85-5889 23360 UNIVERSAL GLASS SETTING BLOCK

85-5891 15463 GM FRONT DOOR WINDOW GUIDE (FRONT OF GLASS) 25 15 -10

85-5893 23771 WIRE-CABLE STOP W/SCREW




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
85-5896 N/A LEVER Discontinued
85-5898 20375 PHILLIPS RND WSHR HEAD TAP SCREW #8 X 1/2
85-5899 13026 PHILLIPS WASHER HEAD TAP SCREW 8 X 3/4
85-5900 20376 PHILLIPS ROUND WASHER HEAD TAP SCREW #8 X 1
85-5901 23773 PHIL. FLAT TOP WSHR HEAD T.S. #8 X 1-1/4
85-5902 17558 PHIL FLAT WSHR HEAD TAP SCREW 10 X 3/4” BLACK E COAT
85-5903 23361 PHIL. FLAT TOP WSHR HEAD T.S. #10 X 1 BLACK
85-5904 12955 PHILLIPS FLAT WASHER HEAD T.S.#10 X 1-1/4 BLACK 100 50 -50 Phillips Flat Top
Washer Head, formerly more rounded.
85-5905 23774 PHIL. FLAT TOP WSHR HEAD T.S. #10 X 1-1/2
85-5906 23775 PHIL. FLAT TOP WSHR HEAD T.S. #8 X 1/2
85-5907 23776 PHIL. FLAT TOP WSHR HEAD T.S. #8 X 3/4
85-5908 23777 PHIL. FLAT TOP WSHR HEAD T.S. #8 X 1
85-5909 23778 PHIL. FLAT TOP WSHR HEAD T.S. #8 X 1-1/4
85-5910 13709 #10 X 3/4 PHIL.FLAT TOP WSHR HEAD T.S. 15/32” DIA 100 50 -50
85-5913 23779 PHIL. FLAT TOP WSHR HD T.S. #10 X 1-1/2
85-5915 12605 HEADLIGHT ADJUSTING ASSEMBLY CAMARO & FIREBIRD
85-5920 15462 GM FRONT DOOR WINDOW GUIDE (REAR OF GLASS) 25 15 -10
85-5921 23780 SLOTTED WASHER HEAD LICENSE PLATE SCREW 10-12 X 3/4 - ZINC
85-5923 13461 TRIM PANEL RETAINER WHITE NYLON 50 25 -25
85-5924 15337 M10-1.5 FREE SPINNING WASHER NUT 24MM 0D
85-5930 14727 PUSH-TYPE RETAINER 5MM X 14MM SCREW
85-5931 14749 TOYOTA WINDSHIELD MLDG CLIP 18MM X 49MM X 16MM
85-5932 23011 FORD PARKING SOCKET ASSEMBLY
85-5936 23781 HYUNDAI, DODGE & MITSUBISHI WINDSHIELD MOULDING CLIP
85-5937 23362 GM SCREEN SHROUD VENT GRILLE TO PANEL RETAINER
85-5938 N/A MOULDING CLIP Discontinued
85-5940 16860 NISSAN GRILLE CLIP 50 25 -25
85-5942 14006 GM MOULDING RETAINER 50 25 -25
85-5943 13999 BODY SIDE MOULDING RETAINER 1/2” LGTH 3/8” HEAD DIA 50 25 -25
85-5944 13994 GM PUSH-TYPE RETAINER 7/8” LENGTH 1” HEAD DIA.
85-5945 17103 GM & FORD FASCIA RETAINER 15MM HEAD DIA 23MM LGTH
85-5946 19197 FORD TRIM PANEL RETAINER GRAY
85-5947 15480 FORD INTERIOR TRIM PANEL RETAINER - BLACK NYLON
85-5948 14953 FASCIA/TRIM/GRILL RETAINER 15/32 X 15/32 HEAD 50 25 -25
85-5949 23363 FORD & CHRYSLER COWL, FENDER, BUMPER,
RADIATOR SHIELD PUSH-TYPE RETAINER

85-5950 23364 FORD FASCIA RETAINER
85-5952 23782 GM & VW DOOR TRIM PANELS FENDER RETAINER
85-5955 14220 GRILLE RETAINING GROMMET #48 SCREW SIZE
85-5956 13946 GM DOOR TRIM PANEL RETAINER 50 25 -25
85-5958 23783 NISSAN DOOR TRIM PANEL CLIP
85-5965 23784 EXTRUDED J-NUT SCREW M12-1.75 RANGE 2.0-5.0MM - BLACK
85-5966 23785 TOYOTA WINDOW CRANK HANDLE RETAINING CLIP
85-5967 16942 WINDSHIELD MOULDING CLIP 15MM X 47MM X 13MM 25 15 -10
85-5972 2303 J NUT #10 SCREW SIZE .027-.045 RANGE 50 100 +50
85-5973 23786 GM, FORD & CHRYSLER WEATHERSTRIP CLIP
85-5976 23787 GM FRONT DOOR GLASS GUIDE
85-5978 14685 HONDA WINDSHIELD MLDG CLIP 60MM LENGTH 14MM WIDTH
85-5981 23365 ISUZU, MAZDA & NISSAN PUSH-TYPE RETAINER
85-5982 16986 BUMPER BOLT M8-1.25 X 25MM W/STAINLESS CAP PAN HEAD
85-5984 18416 HEX HD SEMS BODY BOLT 10MM HEX M6-1.0 X 35MM
85-5990 23788 GM DOOR PANEL RETAINER
85-5991 14696 PUSH-TYPE RETAINER 15MM HEAD DIA. 11MM LENGTH
85-6007 14700 WINDSHIELD MLDG CLIP 35MM LENGTH 14MM WIDTH
86-6013 23789  TORX ROUND WSHR HEAD BODY BOLT W/CA POINT M6-1.0 X 25MM - ZINC
86-6015 23366 CHRYSLER HOOD INSULATION & FENDER SHIELD RETAINER
86-6016 14822 U NUT M4.2-1.41 (#8) SCREW SIZE .094-.109 RANG 100 50 -50
86-6028 N/A BOLT Discontinued
86-6030 N/A BOLT FQA Discontinued
86-6032 23531 FORD HEADLAMP HORIZONTAL ADJUSTING NUT & SCREW

W/0-RING & RETAINER KIT
86-6033 23532 FORD HEADLAMP VERTICAL ADJUSTING NUT & SCREW

W/0-RING & RETAINER KIT
86-6034 23790 HONDA FENDER, WHEEL HOUSE SCREW GROMMET
86-6039 14701 WINDSHIELD MLDG CLIP 34MM LENGTH 17MM WIDTH
86-6042 15807 TORX HEAD BODY BOLT M6-1.0 X 25MM ZINC
86-6044 23791 TORX ROUND WSHR HEAD BODY BOLT W/CA POINT M6-1.0 X 25MM - ZINC
86-6047 23013 FORD PARKING & TAIL LAMP SOCKET ASSEMBLY
86-6049 23792 PHILLIPS PAN HEAD T.S. W/ TEK POINT #8 X 5/8 - BLACK
86-6050 23793 PHILLIPS POZI OVAL HEAD T.S. M4.2-1.41 X 25MM - ZINC
86-6051 23794  PHILLIPS POZI WSHR HEAD T.S. W/ TEK POINT M4.2-1.41 X 13MM - CHROME
86-6052 24178 PHILLIPS WASHER HEAD T.S. W/ TEK POINT #8 X 1/2 - CHROME
86-6055 23765 GM IGNITION SWITCH ACTUATOR SECTOR GEAR

86-6056 21022 CHRYSLER WINDOW GUIDE BLACK NYLON




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
86-6057 N/A CP JACK NUT Discontinued
86-6058 12999 JACK NUT M6-1.0 RAINTITE 25 10 -15
86-6059 15478 BUMPER FASCIA RETAINER
86-6061 20311 FORD FRONT END FASCIA RETAINER (REPLACES 15483)
86-6063 18692 WEATHERSTRIP RETAINER 5MM X 15MM HEAD 10MM LGTH
86-6064 16478 #8 X 1/2 PHIL. FLAT TOP WASHER HEAD TAP SCREW BLACK
86-6068 14745 WINDSHIELD MOULDING CLIP 14MM X 47MM X 12MM
86-6069 23795 HEX SEMS WSHR T.S. W/ TEK POINT #38 X 5/8 - BLACK
86-6077 N/A NUT ADJ RANGE Discontinued
86-6078 23796 HEX FLANGE HEAD CAP SCREW M8-1.25 X 40MM - BLACK
86-6079 17287 HONDA COWL VENT PANEL RETAINER 11MM LENGTH
86-6082 19582 FORD HEATER BLOWER HARNESS CONNECTOR 6 5 -1
86-6083 23797 FORD TRIM PANEL RETAINER
86-6084 14698 PUSH-TYPE RETAINER 18MM HEAD DIA. 11MM LENGTH
86-6085 23367 GM RADIATOR OVERFLOW/WINDSHIELD WASHER BOTTLE RETAINER
86-6086 18392 GM DOOR LOCK ROD CLIP (RIGHT SIDE) 5/32 ROD SIZE 50 25 -25
86-6087 18393 GM DOOR LOCK ROD CLIP (LEFT SIDE) 5/32 ROD SIZE 50 25 -25
86-6088 14575 PLASTIC RAZOR BLADE
86-6091 23142 HALOGEN HEADLIGHT HI-TEMP SOCKET ASSEMBLY
86-6092 15187 NYLON RIVET RECTANGULAR HEAD 5/32 DIA.
86-6095 15701 PUSH-TYPE RIVET 25MM HEAD DIA. 27MM STEM LENGTH
86-6096 14753 PUSH-TYPE RETAINER 11/16 HEAD DIA. 7/8 LENGTH
86-6097 15479 FORD INTERIOR TRIM PANEL RETAINER - BLACK NYLON
86-6109 19954 GM KEY BLANK GROOVE: #50-A - B&S 320588 50 25 -25
86-6110 19955 GM KEY BLANK GROOVE: #51-B - B&S 320589 50 25 -25
86-6111 19957 GM KEY BLANK GROOVE: #54-C - B&S 320652 50 25 -25
86-6112 19958 GM KEY BLANK GROOVE: #55-D - B&S 320653 50 25 -25
86-6113 19944 GM KEY BLANK GROOVE: #56-E - B&S 320404 50 25 -25
86-6114 19945 GM KEY BLANK GROOVE: #57-H - B&S 320405 50 25 -25
86-6116 23798 GM KEY BLANK GROOVE: 59-K
86-6127 N/A TUMBLER Discontinued
86-6132 N/A DOOR LOCKING CLIP Discontinued
86-6145 18671 FORD A/C CLUTCH FIELD COIL HARNESS CONNECTOR
86-6147 N/A NUT Discontinued
86-6153 23799 PHILLIPS WSHR HEAD T.S. W/ TEK POINT #8 X 3/8 - CHROME
86-6161 23800 GM ROUTING CLIP 1-1/2 1.D. 1-7/8 0.D.
86-6165 20582 GM SPRING TYPE U-NUT #8 SCREW .125 - .250 RANGE
86-6172 14880 GM METRI PACK TERMINAL 16-14 GAUGE
86-6173 15947 METRI-PACK TERMINAL 280 SERIES 20-18 GA FEMALE 25 50 +25
86-6174 15946 METRI-PACK TERMINAL 280 SERIES 20-18 GA. MALE 25 50 +25
86-6184 N/A MOULDING CLIP Discontinued
87-6188 N/A MOULDING CLIP Discontinued
87-6191 N/A EXTRUDED NUTFQA Discontinued
87-6193 18394 JEEP FASCIA TO BUMPER RETAINER 1-1/8 STEM LGTH
87-6197 16725 NISSAN PUSH-TYPE RETAINER 12MM X 18MM HEAD
87-6198 N/A ADJUSTING SCREW Discontinued
87-6201 23801 HEX HEAD SEMS SCREW M5-0.80 X 20MM - BLACK
87-6211 23368 HONDA, MAZDA & NISSAN COWL, SPLASH SHIELD PUSH-TYPE RETAINER
87-6219 23802 HYUNDAI INTERIOR TRIM RETAINER
87-6226 23369 TOYOTA BUMPER STRIP RETAINER
87-6233 23370 HALOGEN HEADLIGHT SOCKET ASSEMBLY
87-6234 23371 HALOGEN HEADLIGHT SOCKET ASSEMBLY
87-6235 23372 HALOGEN HEADLIGHT SOCKET ASSEMBLY
87-6236 14738 TOYOTA RETAINING GLIP 30MM HEAD DIA. 17MM LENGTH
87-6237 12065 6-1.0 X 25MM HEX HEAD SEMS 17MM 0D - PHOSPHATE
87-6247 15675 FORD DOOR LOCK ROD CLIP 5/32 ROD SIZE
87-6249 22182 FORD WIRE HARNESS CONNECTOR 6 1 -5
87-6250 12569 NYLON NUT #12 SCREW SIZE
87-6253 23803 HEX HEAD SEMS TAPPING SCREW #14 X 1 - ZINC
87-6254 8249 1/4 X 5/8 SLTD. RD.WA.HD.B SCREW ZINC
87-6255 5711 5/16-18 X 1 IND HEX LRG FLG WA. HEAD DOG PT
87-6257 24174 HEX HEAD SEMS BODY BOLT W/DOG POINT 1/4-20 X 1-3/16 - BLACK
87-6259 18217 FORD IGN. & NEUTRAL SAFETY HARNESS CONN.
87-6260 17122 DOOR LOCK ROD END CLIP- FORD
87-6263 N/A GUIDE Discontinued
87-6265 19309 HEX FLANGE NUT M5-.8 BLACK OXIDE
87-6266 23804 GM TRANSMISSION, BRAKE, CLUTCH, THROTTLE &
ACCELERATOR LINKAGE CLIP
87-6267 17006 BLACK ALUMINUM RIVET 5/32 DIA. 1/4-3/8 GRIP
87-6268 16951 HEADLIGHT SPACER - 15MM WIDTH 18MM LENGTH
87-6272 23805 PHILLIPS OVAL HEAD T.S. COUNTERSUNK WASHER #10 X 1/2 - BLACK
87-6273 14580 GM RADIATOR FAN PIGTAIL 6 1 -5
87-6275 N/A KEY BLANK Discontinued
87-6279 19985 FORD KEY BLANK GROOVE: #49 - B&S 321648 25 15 -10

87-6284 N/A CLIP Discontinued




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
87-6293 15462 GM FRONT DOOR WINDOW GUIDE (REAR OF GLASS) 25 15 -10
87-6294 17159 GM FRONT DOOR WINDOW GUIDE (REAR OF GLASS) 25 15 -10
87-6295 17176 GM FRONT DOOR WINDOW GUIDE

87-6296 23806 PHILLIPS OVAL HEAD T.S. #8 X 3/4 - BLACK

87-6297 23373 FORD INTERIOR TRIM PUSH-TYPE RETAINER

87-6300 15702 PUSH-TYPE RIVET 1” HD DIA. 15/16 STEM LENGTH

87-6301 14997 PUSH-TYPE RETAINER 19/32 HEAD DIA. 13/16 LENGTH

87-6302 16624 GM FRONT BUMPER FASCIA RETAINER 17MM HEAD DIA

87-6305 14857 FORD FASCIA FASTENER

87-6309 17434 CHRYSLER DOOR HINGE BUSHING 7/16” LENGTH

87-6310 15488 GM NYLON RIVET 1/4 HOLE DIA. 2-3/16 LENGTH 25 50 +25
87-6311 14005 NYLON BLIND RIVET 13/64 HOLE DIA. 1-3/16 LENGTH

87-6314 17101 NYLON RIVET 1/4 HOLE DIA. 5/16-15/32 GRIP BLACK

87-6322 15998 HOOD INSULATION RETAINER 30MM HEAD DIA 9MM LENGTH

87-6324 14275 SCREW GROMMET 18MM HEAD DIA. 17MM LENGTH

87-6326 23807 GM & ISUZU COWL SCREEN RETAINER

87-6336 15326 M5-.8 FREE SPINNING WASHER NUT 15MM 0D

87-6340 23808 HEX HEAD SEMS SCREW W/ DOG POINT M6-1.0 X 28MM - BLACK

87-6342 16421 SLOT. HEX WSHR HD LICENSE PLT SCREW #14 X 5/8 BLK

87-6343 N/A WIRING HARNESS Discontinued
87-6344 15670 GM TRIM PANEL RETAINER

87-6347 N/A SCREW Discontinued
87-6349 23144 CHRYSLER BACK-UP, PARK & TURN LAMP SOCKET ASSEMBLY

87-6350 12600 90 DEGREE PIGTAIL & SOCKET ASSEMBLY 6 1 -5
87-6355 13014 JACK NUTS 10-24 THREAD .716 LENGTH

87-6359 23809 HEX WASHER HEAD T.S. M4.2-1.41 X 17MM - BLACK

87-6364 23810 WINDSHIELD SETTING TOOL

88-6382 16833 TOYOTA WINDSHIELD CLIP 12MM WIDTH 66MM LENGTH 25 10 -15
88-6403 17280 HONDA/ACURA WINDSHIELD MOULDING CLIP

88-6407 16953 GM UPPER RADIATOR SHIELD RETAINER 15 10 -5
88-6409 23374 GM & CHRYSLER DOOR WEATHERSTRIP RETAINER 100 50 -50
88-6410 14037 COWL VENT NUT #6 OR #8 SCREW SIZE

88-6413 23375 HEX HEAD SEMS SCREW WITH DOG POINT M8-1.25 X 33MM BLACK

88-6415 18214 FORD IGNITION MODULE HARNESS CONNECTOR

88-6416 11788 #8 X 3/4 PHIL OVAL #6 HD AB TAPPING SEMS - BLACK

88-6417 23811 HEX HEAD SEMS SCREW W/ DOG POINT M6-1.0 X 20MM - BLACK

88-6418 15369 ELECTRIC CHOKE CONNECTOR PIGTAIL-GRAY

88-6419 24173 HEX HEAD SEMS T.S. M6.3-1.81 X 20MM - BLACK

88-6420 17382 GM BUMPER VALANCE PANEL RETAINER

88-6421 11790 #8 X 1-1/4 PHIL OVAL #6 HEAD AB TAPPING SEMS - BLACK

88-6424 23812 PHILLIPS POZI PAN HEAD T.S. W/ TEK POINT M6.3-1.81 X 20MM - BLACK

88-6426 23813 HEX WSHR HEAD SEMS T.S. W/ TEK POINT M4.2-1.41 X 13MM - BLACK

88-6428 18817 TYPE 1A DRIVE RD WS HD TEKS TAP SCREW M4.2 X 16MM BLACK

88-6429 23814 PHILLIPS POZI WSHR HD T.S. W/ TEK POINT M4.2-1.41 X 13MM - BLACK

88-6430 14980 PUSHNUT BOLT RETAINER M6-1.0 THREAD 17MM 0D

88-6431 17289 HONDA COWL SCREEN SCREW COVER 17MM HEAD DIA. 15 25 +10
88-6446 8868 PUSH-ON RETAINER FOR 1/4 STUD 17/32 QD

88-6447 15042 GM BUMPER FASCIA RETAINER 1” HEAD DIA. 1-1/8 LENGTH

88-6448 15044 GM BUMPER FASCIA RETAINER 1 HEAD DIA. 1 LENGTH

88-6449 23376 NISSAN BUMPER & FASCIA PUSH-TYPE RETAINER

88-6454 18218 FORD ALTERNATOR HARNESS CONNECTOR

88-6460 23815 PLASTIC VACUUM TUBE CONNECTOR 90 DEGREE

88-6461 23816 PLASTIC VACUUM TUBE CONNECTOR 90 DEGREE

88-6463 17661 FORD ELECTRONIC IGNITION COIL HARNESS CONNECT 6 1 -5
88-6465 17102 GM FORD & AMC TRIM PANEL RETAINER

88-6466 16865 GARNISH CLIP - GM

88-6467 23817 HEX HEAD SEMS SCREW W/DOG POINT M8-1.25 X 25MM - BLACK

88-6487 17443 HONDA BODY SIDE MOULDING CLIP

88-6489 15043 GM BUMPER FASCIA RETAINER 7/8 HEAD DIA. 1-3/64 LGTH

88-6493 N/A KEY BLANK Discontinued
88-6499 23818 GM, FORD, MAZDA & TOYOTA GRILLE & HEADLAMP DOOR CLIP

88-6502 17124 FORD TRIM PANEL RETAINER

88-6503 5076 SHIM 1/16 THK 1-1/8 X 1-1/8 W/ 1/2 SLOT

88-6504 5077 SHIM 1/8 THK 1-1/8 X 1-1/8 W/ 1/2 SLOT

88-6506 23819 FORD & MAZDA COWL SCREEN RETAINER

88-6511 16826 SLOTTED HEX WASHER HEAD ZINC M6-1.0 X 20MM

88-6516 23820 HYUNDAI FENDER APRON SCREW GROMMET

88-6518 23821 FORD PARKING LAMP RETAINING CLIP

88-6525 N/A SCREW Discontinued
88-6532 15327 M5-.8 FREE SPINNING WASHER NUT 19MM OD 25 50 +25
88-6533 N/A KEY BLANK Discontinued
88-6536 20030 CHRYS. KEY BLANK GROOVE: #73 Y-154 - B&S594145 15 10 -5
88-6549 12348 8-1.25 X 30MM HEX WASHER HEAD - PHOS

89-6569 18261 HEX WASHER HEAD TEKS SEMS SCREW M4.2 X 16MM

89-6573 17453 FORD/MAZDA TRIM RETAINER 15MM HEAD DIA. 14MM LGTH

18



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
89-6574 23822  GM COWL, BUMPER, FENDER LINER, INTERIOR TRIM PUSH-TYPE RETAINER
89-6575 21119 FORD & MAZDA PUSH TYPE RETAINER
89-6576 17478 PUSH-TYPE RETAINER 14MM HEAD DIA 16MM STEM LGTH
89-6579 18206 FORD & MAZDA PUSH-TYPE RETAINER 18MM HEAD DIA.
89-6580 N/A RETAINER PLATE Discontinued
89-6581 17554 FORD/MAZDA REAR HATCH RETAINER
89-6582 17553 FORD/MAZDA REAR HATCH GROMMET 15 25 +10
89-6585 14357 MAZDA NYLON NUT 12MM WIDTH 12MM LENGTH 50 25 -25
89-6586 23823 FORD & MAZDA DOOR TRIM PANEL RETAINER
89-6587 14988 PUSH TYPE RETAINER 7/16 HEAD DIA 11/16 ST LENGTH
89-6594 15467 GM FRONT & REAR DOOR WINDOW GUIDE 10 25 +15
89-6599 18296 PHILLIPS WASHER HEAD TEKS #8 X 1 ZINC 100 50 -50
89-6602 20837 FORD WIRE HARNESS CONNECTOR
89-6605 23014 GM SEALED HEADLAMP SOCKET ASSEMBLY
89-6606 23015 GM SEALED HEADLAMP SOCKET ASSEMBLY
89-6616 N/A MOULDING CLIP Discontinued
89-6618 23377 FORD HEADLIGHT COMPONENT PIVOT RETAINING CLIP
89-6621 N/A NUT Discontinued
89-6622 N/A MOULDING CLIP Discontinued
89-6625 23016 GM COOLANT TEMP. SPEED SENSOR HARNESS CONNECTOR
89-6627 15490 GM NYLON RIVET 9/32 HOLE DIA. 2-3/16 LENGTH
89-6628 23017 GM COMPRESSOR HIGH PRESSURE CUT-OFF SWITCH HARNESS CONNECTOR
89-6629 23018 GM COMPRESSOR LOW PRESSURE CUT-OFF SWITCH HARNESS CONNECTOR
89-6630 16693 GM AIR TEMP. SENSOR PIGTAIL ASSEMBLY
89-6633 13230 PUSH-TYPE RETAINER 7MM LENGTH 10MM HEAD DIA. 25 50 +25
89-6634 16422 SLOT. HEX WSHR HD LICENSE PLT SCRW #14 X 5/8 ZNC
89-6638 17107 GM OXYGEN SENSOR CONNECTOR PIGTAIL
89-6644 16849 HOOD ADJUSTMENT NUT 15 10 -5
89-6646 N/A MOULDING CLIP Discontinued
89-6647 23084 GM WIRE LOOM ROUTING CLIP 1 I.D.
89-6648 17341 GM FRONT DOOR WINDOW GUIDE (FRONT OF GLASS) 25 15 -10
89-6652 16835 GM PUSH-TYPE RETAINER 25MM STEM LGTH
89-6653 16694 GM HALOGEN CORNERING LIGHT PIGTAIL ASSEMBLY
89-6656 23824 CHRYSLER FLEX RACK FOR WINDOW REGULATOR
89-6657 16949 WNDSHIELD WSHR HOSE RETAINER FOR 3MM I.D.
89-6659 23825 SPRING TYPE U-NUT SCREW M4.2-1.41 RANGE 1.47 - 2.30MM
89-6660 23019 GM INTERNAL REGULATORS 3 LEADS HARNESS CONNECTOR
89-6661 17619 FORD ENGINE FAN HARNESS CONNECTOR WIRING KIT
89-6662 15684 PEEL TYPE RIVET 1/4 DIA. 7/64 - 11/64 GRIP
89-6665 23378 HONDA DOOR BELT MOULDING CLIP
89-6667 17440 ACURA BODY SIDE MOULDING CLIP 25 15 -10
89-6671 19278 M4.2-1.41 X 20MM HEX HEAD SEMS TAP SCREW BLACK
89-6672 14282 HONDA RETAINING CLIP13MM HEAD DIA. 15MM LENGTH
89-6676 16850 FORD HOOD ADJUSTMENT BUMPER M6-1.0 X 44MM 10 5 )
89-6677 18918 GM IDLE AIR CONTROL HARNESS CONNECTOR
89-6678 23145 GM THROTTLE POSITION SENSOR HARNESS CONNECTOR
89-6681 23826 GM GRILLE TO HEADLAMP HOUSING PUSH-TYPE RETAINER
89-6683 15860 TYPE G MINIATURE HOSE CLAMP 10.5 - 13MM 15 10 )
89-6684 23379 TYPE G MINI HOSE CLAMP 12.5MM-14.5MM RANGE
89-6698 23827 CHRYSLER DECK LOCK & KEY
89-6702 15522 FORD PUSH-TYPE RETAINER 5/8 HEAD DIA. 17/32 LENGTH
89-6707 23020 GM DISTRIBUTOR MODULE, IGNITION COIL,
CRANK SENSOR HARNESS CONNECTOR
89-6708 23021 GM & CHRYSLER DISTRIBUTOR MODULE & HORN HARNESS CONNECTOR
89-6710 23828 TOYOTA HEADLAMP ADJUSTING SCREW & NUT
89-6713 16960 PHILLIPS HEX WASH HEAD TAP SCREW 6MM X 20MM
89-6714 18157 HONDA RETAINING CLIP 13MM HEAD DIA. 16MM LENGTH
89-6715 14282 HONDA RETAINING CLIP13MM HEAD DIA. 15MM LENGTH
89-6716 16726 FRONT BUMPER STONE DEFLECTOR RETAINER 18MM LGTH
90-6720 N/A CLIP Discontinued
90-6726 23023 OEM FEMALE ELECTRICAL PIN GRIP TERMINAL 20-18 GA
90-6727 23167 OEM FEMALE ELECTRICAL PIN GRIP TERMINAL 16-14 GA
90-6728 17060 BUMPER COVER RETAINER 20 X 30MM HEAD SIZE 20MM LGTH 15 10 )
90-6732 16832 FORD HOOD ADJUSTING NUT AND BUMPER
90-6738 17662 FORD EGR SENSOR HARNESS CONNECTOR
90-6739 15758 SLOT TRUSS HEAD W/DOG PT LICENSE PLT SCR #14X5/8 100 50 -50
90-6743 23829 HEX HEAD SEMS TAPPING SCREW B POINT #8 X 5/8
90-6744 23830 HEX HEAD SEMS SCREW M6-1.0 X 16MM
90-6748 14947 MIRROR MOUNTING SCREW M6 X 26MM 15 25 +10
90-6749 17081 COWL PUSH-TYPE RETAINER 18MM HEAD DIA. 12MM LGTH
90-6750 21110 MAZDA PUSH TYPE RETAINER
90-6753 23831 GM ROOF MOULDING CLIP
90-6754 18914 FORD DOOR LOCK STRIKER BSHNG 1/2 1.D. 11/16 OD 15 50 +35
90-6756 2625 NYLON LICENSE PLATE NUT #8 SCREW SIZE 50 100 +50
90-6757 18515 TORX WASHER HD BODY BOLT M6-1.0 X 20MM

19



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
90-6759 17438 TOYOTA RADIATOR GRILLE CLIP

90-6760 17121 SPLIT- TYPE RIVET ALL ALUM 3/16” DIA. 5/16” - 15/64” GRIP

90-6761 16622 GM BUMPER FASCIA PUSH-TYPE RETAINER

90-6763 23832 FORD NYLON BLIND RIVET

90-6766 16843 BUMPER COVER RETAINER 18MM STEM LENGTH 5 10 +5
90-6767 15366 PUSH-TYPE BUMPER RETAINER 11MM LENGTH

90-6770 17355 GEO & ISUZU WINDSHIELD REVEAL MOULDING CLIP

90-6779 24149 FORD HEADLAMP HORIZONTAL ADJUSTING PIVOT & SCREW ASSEMBLY

90-6780 24150 FORD HEADLAMP VERTICAL ADJUSTING PIVOT & SCREW ASSEMBLY

90-6787 23380 HONDA & HYUNDAI BUMPER FASCIA PUSH-TYPE RETAINER

90-6788 24188 HONDA, BUMPER FASCIA PUSH-TYPE RETAINER

90-6791 23024 GM RADIO SPEAKER HARNESS CONNECTOR

90-6792 16940 SPECIALTY RIVET 3/16 DIA. 1/2-5/8 GRIP ALL ALUM.

90-6793 12653 SPECIAL PEEL-TYPE RIVET (FORD) 1/4 DIA. 1/2 FLANGE

90-6795 23096 FUEL INJECTOR SOLENOID HARNESS CONNECTOR

90-6797 17667 FORD NYLON TUBULAR NUT (GREEN) 3/8 HOLE SIZE

90-6798 18859 GM AIR INTAKE GRILLE PANEL RETAINER

90-6799 17618 FORD ENGINE FAN SWITCH REPAIR HARNESS

90-6800 23381 NISSAN BODY SIDE MOULDING PUSH-TYPE RETAINER

90-6801 16847 RETAINER

90-6802 17667 FORD NYLON TUBULAR NUT (GREEN) 3/8 HOLE SIZE

90-6803 16695 GM APV VAN TRIM PANEL RETAINER 50 25 -25
90-6805 16950 HOOD PROP ROD CLIP - HOLDS 8MM PROP ROD

90-6806 17162 GM PUSH-TYPE RETAINER 15MM HEAD DIA. 13MM LGTH

90-6807 17383 GM RADIATOR GRILLE RETAINER 11MM HEAD DIA.

90-6808 17057 PUSH-TYPE RETAINER18MM HEAD DIA. 21MM LENGTH

90-6815 17621 FORD WINDSHIELD WSHR PUMP HARNESS CONNECTOR

90-6819 23833 PHIL. SERRATED WSHR HEAD T.S. W/ TEK POINT M4.2-0.79 X 15MM

90-6820 N/A KEY BLANK Discontinued
90-6824 20008 GM KEY BLANK GROOVE: #57-H /B-79 B&S 321951

90-6826 23025 GM IDLE SPEED CONTROL HARNESS CONNECTOR

90-6827 16967 HEAT BLOWER CONNECTOR PIGTAIL - GM

90-6829 24179 GM & FORD GRILLE, BUMPER & RADIATOR SUPPORT INSERT NUT

90-6830 23834 PHIL. OVAL HD SEMS FLUSH WSHR T.S. #8 X 1/2 - CHROME

90-6831 2774 8 X 5/8 PHIL OVAL HEAD SEMS TAP SCRW FLUSH CHROME

90-6832 2775 8 X 7/8 PHIL OVAL HEX SEMS TAP SCRW FLUSH CHROME

90-6833 23835 PHIL. OVAL HEAD SEMS FLUSH WSHR T.S. #10 X 5/8 - CHROME

90-6835 23836 PHIL. OVAL HEAD SEMS FLUSH WSHR T.S. #10 X 1 - CHROME

90-6836 12956 PHILLIPS OVAL #6 HEAD SCREW 8-18 X 1/2

90-6837 10652 #8-18 X 5/8 PHIL OV #6 HEAD AB W/SEMS T.S. - BLACK 0X

90-6838 23837 PHIL. OVAL HEAD SEMS FLUSH WSHR T.S. #8 X 3/4 - BLACK

90-6839 23838 PHIL. OVAL HEAD SEMS FLUSH WSHR T.S. #10 X 5/8 - BLACK

90-6840 23839 PHIL. OVAL HEAD SEMS FLUSH WSHR T.S. #10 X 3/4 - BLACK

90-6841 23840 PHIL. OVAL HEAD SEMS FLUSH WSHR T.S. #10 X 1 - BLACK

90-6843 N/A HEADLAMP ADJ ASSY Discontinued
90-6845 23841 PHILLIPS PAN HEAD T.S. SEMS M4.2-1.41 X 15MM - BLACK

90-6850 23842 FORD TAIL LAMP MOUNTING SCREW GROMMET

90-6853 23382 GM SPLIT-TYPE RIVET 3/16 DIA. ALUM.

90-6857 16956 ALUM DRAIN PLUG GASKET 14MM 1.D 22MM 0.D.

90-6859 19966 KENWORTH KEY BLANK GROOVE: #3 - B&S 320734 15 10 -5
90-6862 N/A KEY BLANK Discontinued
90-6863 23843 WHITE TRUCK KEY BLANK GROOVE: 60

90-6865 N/A MOULDING CLIP Discontinued
90-6868 17617 FORD ENGINE FAN SWITCH REPAIR HARNESS

90-6869 23845 TOYOTA WINDSHIELD MOULDING CLIP

90-6876 23846 HEX WASHER HEAD T.S. M4.8-1.61 X 17MM - YELLOW

90-6877 23847 HEX HEAD SEMS T.S. M4.8-1.61 X 16MM - ZINC

91-6881 17620 FORD AIR COND. MOTOR HARNESS CONNECTOR

91-6882 23848 FORD WINSHIELD REVEAL MOULDING CLIP

91-6885 23026 GM MASS AIR FLOW SENSOR HARNESS CONNECTOR

91-6888 23849 GM HEADLAMP ADJUSTING BEARING

91-6890 15672 PUSH-TYPE RETAINER 17MM HEAD DIA. 17MM LENGTH

91-6893 21118 CHRYSLER TRIM PANEL RETAINER

91-6894 17624 FORD HEADLIGHT SWITCH ASSY HARNESS CONNECTOR

91-6897 17092 GM DOOR TRIM PANEL RETAINER YELLOW NYLON

91-6899 23850 HEX SERRATED WASHER HEAD T.S. W/ PIERCE POINT #14 X 3/4 - BLACK

91-6901 23851 NISSAN WINDSHIELD MOULDING CLIP

91-6902 23852 SPRING TYPE U-NUT SCREW M4.2-1.41 RANGE 0.5-1.7MM - ZINC

91-6903 13223 U NUT 4.2MM (#8) SCREW SIZE 3-4MM RANGE

91-6904 13218 U NUT 4.8MM SCREW SIZE .5-1.7MM RANGE

91-6905 13162 U NUT M5.6 (#12) SCREW SIZE

91-6906 13220 U NUT 6.5MM (#14) SCREW SIZE .7-1.5MM RANGE

91-6909 23766 GM DIMMER SWITCH SWITCH ACTUATOR

91-6914 17622 FORD FUEL PUMP RELAY HARNESS CONNECTOR

91-6915 17623 FORD EEC IV TEST PLUG REPAIR HARNESS CONNECTOR

20



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
91-6917 17439 PUSH-TYPE RETAINER 27MM LGTH 15MM HEAD DIA.

91-6918 17347 NISSAN BUMPER COVER PUSH-TYPE RTNR 15MM LGTH

91-6919 16585 SIGNAL/PARK/STOP/TAIL LIGHTS ELECTRICAL SOCKET

91-6920 16586 SIGNAL/PARK/STOP/TAIL LIGHTS ELECTRICAL SOCKET

91-6921 21109 HONDA MOULDING CLIP

91-6925 N/A MOULDING CLIP Discontinued
91-6932 N/A KEY BLANK Discontinued
91-6934 N/A KEY BLANK Discontinued
91-6935 24194 GM BACK WINDOW UPPER & SIDE MOULDING GARNISH CLIP

91-6937 23027 GM INTERNAL REGULATORS WITH 4 LEADS HARNESS CONNECTOR

91-6939 17205 HONDA COWL TOP RETAINING CLIP 15MM LENGTH

91-6941 23028 FORD CORNER & SIDE MARKER LIGHT SOCKET ASSEMBLY

91-6942 23029 FORD REAR LAMP SOCKET ASSEMBLY

91-6943 23030 FORD 2 HEAD INJECTOR/GLOW GASKET HARNESS CONNECTOR

91-6944 23031 FORD BACK UP LAMP SOCKET ASSEMBLY

91-6945 23168 FORD A/C CLUTCH CYCLING PRESSURE SWITCH HARNESS CONNECTOR

91-6946 N/A KEY BLANK Discontinued
91-6950 17349 NISSAN WINDOW REVEAL MOULDING CLIP - BACK GLASS

91-6951 23853 NISSAN WINDSHIELD MOULDING CLIP

91-6953 17472 NISSAN PUSH-TYPE RETAINER

91-6954 17634 NISSAN COWL GRILLE RETAINER 12MM HEAD DIA 16MM LGTH

91-6955 17452 BUMPER FASCIA RETAINER 15MM LGTH 13MM HEAD DIA

91-6956 17342 NISSAN FRONT BMPR APRON NYLON NUT 15MM HEAD DIA.

91-6958 23383 HONDA FENDER SPLASH SHIELD PUSH-TYPE RETAINER

91-6959 17167 CHRYSLER FRONT & REAR DOOR HINGE BUSHING 15 25 +10

91-6960 23854 GM DOOR HINGE PIN

91-6962 17356 GM RADIATOR GRILLE CLIP

91-6963 19415 HONDA BELT MOULDING CLIP

91-6964 18524 GM MAP MASS AIR FLOW SENSOR HARNESS CONN

91-6967 17643 FORD FUEL LINE RETAINER CLIP FOR 5/16 FUEL LINE

91-6968 17642 FORD FUEL LINE RETAINER CLIP FOR 3/8 FUEL LINE

91-6970 17381 FORD HEADLINER RETAINER 15 10 -5

91-6971 17609 HONDA GRILLE SPACER GROMMET #10 SCREW SIZE

91-6973 23169 FORD IGNITION SWITCH HARNESS CONNECTOR KIT

91-6979 18418 GM FRNT FNDR/DOOR/REAR QUARTR PNL MLDNG CLIP

91-6982 N/A MOULDING CLIP Discontinued
91-6987 N/A MOLDING CLIP Discontinued
91-6988 24183 HEX HEAD SEMS T.S M4.2-1.41 X 20MM - BLACK

91-6989 23032  GM, FORD, CHRYSLER & IMPORTS FUEL INJECTOR HARNESS CONNECTOR

91-6991 16965 A/C PRESSURE SWITCH HARNESS CONNECTOR - GM

91-6992 17096 HONDA ROCKER PANEL MOULDING CLIP 20MM X 20MM

91-6993 N/A GROMMET NUT Discontinued
91-6994 17350 HONDA SPLASH SHIELD PUSH-TYPE RETAINER

91-6995 17683 FORD COOLANT TEMP. SENSOR HARNESS CONNECTOR

91-6996 17192 HONDA PUSH-TYPE RETAINER

91-7000 N/A MOULDING CLIP Discontinued
92-7001 23855 SATURN TORX BUTTON HEAD BODY BOLT

92-7002 23856 GM FRONT DOOR GLASS GUIDE

92-7005 17354 CHRYSLER COWL SCREEN NUT #8 SCREW SIZE

92-7007 N/A MOULDING CLIP Discontinued
92-7012 17633 NISSAN COWL SCREEN PIN RETAINER

92-7013 17339 FORD WEATHERSTRIP RETAINER

92-7014 23857 GM HOOD ADJUSTMENT BUMPER M8-1.25 X 38MM

92-7018 9611 #8 X 1/2 HEX WASHER HEAD TEKS T.S. ZINC

92-7020 23792 PHILLIPS PAN HD T.S. W/ TEK POINT #8 X 5/8 - BLACK

92-7021 16033 PHILLIPS PAN HEAD TEKS SCREW #8 X 1/2

92-7025 19801 GM PUSH-TYPE RETAINER

92-7027 18530 GM HEADLIGHT SWITCH HARNESS CONNECTOR

92-7028 18512 HONDA WINDSHIELD WASHER HOSE CLIP 11MM X 42MM 10 15 +5

92-7029 17064 CHRYSLER WOODGRAIN SIDE MOULDING CLIP

92-7032 17608 ACURA WINDSHIELD SIDE MOULDING CLIP

92-7035 16936 SPLINED DOOR HINGE BUSHING - UPPER HINGE

92-7036 16937 SPLINED DOOR HINGE BUSHING - LOWER HINGE

92-7037 23384 GM DOOR HINGE PIN

92-7038 23385 GM AIR BAFFLE TO UNDER CARRIAGE PUSH-TYPE RETAINER

92-7039 23386 GM & FORD BUMPER, WHEEL WELL, COWL PUSH-TYPE RETAINER

92-7040 17226 GM PUSH-TYPE RETAINER 15MM HEAD DIA. 29MM LGTH

92-7041 17220 GM NYLON RIVET 5/32 HOLE DIA. 7/64-7/32 PANEL RANGE

92-7042 17219 GM ROOF DRIP MOULDING CLIP (2- & 4-DOOR MODELS)

92-7043 17218 GM TRIM PANEL RETAINER NATURAL NYLON

92-7045 18398 GM WINDOW UPPER GARNISH MOULDING CLIP

92-7046 17602 FORD BODY SIDE & ROCKER PANEL MOULDING CLIP

92-7051 23858 GM DOOR MOULDING CLIP

92-7052 18417 GM FRONT & REAR DOOR LOWR FINISH PANL MLDNG CLIP

92-7053 23033 FORD M.A.P. SENSOR HARNESS CONNECTOR




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
92-7054 23387 GM THROTTLE BODY INJECTION HARNESS CONNECTOR

92-7055 17113 GM A.C. COMPRESSOR CLUTCH PIGTAIL

92-7056 17980 PHILLIPS HEX WSHR HEAD TAP SCREW M6 X 16MM

92-7057 23388 SLOTTED ROUND WASHER HEAD LICENSE PLATE SCREW M6-1.0 X 16MM

92-7058 14130 SIGNAL/PARK LIGHTS PIGTAIL SOCKET ASSEMBLY

92-7059 14135 PARKING LIGHTS PIGTAIL SOCKET ASSEMBLY

92-7060 N/A KEY BLANK Discontinued
92-7062 8418 GM NYLON NUT

92-7063 9289 PLASTIC PLUG BUTTON W/DEP CTR 3/4 HOLE 50 100 +50
92-7064 11749 FLUSH SHEET METAL PLUG PLASTIC 1 HOLE BLACK 50 100 +50
92-7065 18244 GM SPLIT TYPE RIVET 3/16 DIA. 3/16-3/8 GRIP BL 15 10 -5
92-7066 17227 GM PUSH-TYPE RETAINER 7MM HD DIA. 10MM LGTH

92-7067 17215 GM HOOD INSULATION RETAINER

92-7071 17410 CLOSED END RIVET 3/16 DIA. 3/8-1/2 GRIP ALUM. BLK.

92-7073 N/A KEY BLANK Discontinued
92-7079 17976 GM DOOR HINGE PIN RETAINER 21/64 1.D. 9/16 0.D.

92-7080 18102 FORD REAR LIGHT ASSEMBLY RETAINER

92-7081 18216 FORD EXHAUST SENSOR HARNESS CONNECTOR

92-7082 18215 FORD EXHAUST SENSOR HARNESS CONNECTOR

92-7083 17463 GM TBI FUEL INJECTOR PIGTAIL CONNECTOR

92-7084 18676 FORD IGNITION SWITCH HARNESS CONNECTOR

92-7086 16625 GM FRONT BUMPER FASCIA RETAINER 20MM HEAD DIA

92-7087 17975 HOOD INSULATION RETAINER

92-7088 18934 HEX WASHER HEAD TAP SCREW #14 X 7/8 ZINC

92-7092 10617 MOULDING CLIP - GM

92-7093 18237 CHRYSLER HEADLIGHT SHIELD RETAINER

92-7096 17196 NISSAN GRILLE GROMMET 22MM WIDTH 26MM LENGTH

92-7097 23389 NISSAN NYLON FENDER/WHEEL HOUSING U-NUT

93-7100 23090 GM, AMC & JEEP IGNITION SWITCH HARNESS CONNECTOR KIT

93-7102 18113 NISSAN GLASS MOUNT M6-1.0 THREAD

93-7103 20841 FORD WIRE HARNESS CONNECTOR ELECTRONIC IGNITION MODULE

93-7104 18028 CHRYSLER NYLON RIVET 1/4 DIA. 1/32-11/64 GRIP

93-7105 17599 GENERAL MOTORS RADIATOR GRILLE RETAINER

93-7130 23034 GM & FORD T.PS. & FUEL INJECTION TIMING HARNESS CONNECTOR

93-7131 23035 GM SEALED HEADLAMPS W/FIBRE OPTICS HARNESS CONNECTOR

93-7132 19076 FORD MASTER CYLINDER HARNESS CONNECTOR

93-7133 23859 GM INSULATION PANEL RETAINER

93-7137 23146 GM A/C COMPRESSOR CLUTCH WITH DIODE HARNESS CONNECTOR

93-7138 23860 UNIV. WINDSHIELD GLASS SUPPORT

93-7139 23036 FORD TURN SIGNAL SWITCH HARNESS CONNECTOR

93-7140 23037 FORD TURN SIGNAL SWITCH HARNESS CONNECTOR

93-7141 18463 FORD HEADLIGHT SWITCH HARNESS CONNECTOR

93-7142 23170 FORD HEADLAMP SWITCH HARNESS CONNECTOR

93-7144 18029 CHRYSLER REAR FASCIA RETAINER 7/8 X 1-25/32 HEAD

93-7145 18030 PUSH-TYPE RETAINER 11/16 HEAD 13/16 LGTH

93-7146 19774 BUMPER COVER RETAINER - REP. FOR 18106 50 25 -25
93-7148 23861 GM & CHRYSLER SPECIALTY RIVET 1/8 DIA.

93-7151 19138 FORD & MAZDA COWL VENT GRILLE RETAINER

93-7153 12936 NYLON STRAIGHT CONNECTOR 1/8 X 1/4 25 10 -15
93-7154 23390 NYLON STRAIGHT CONNECTOR 3/8 X 1/4

93-7155 12946 NYLON STRAIGHT CONNECTOR 5/16 X 5/16 50 10 -40
93-7157 23391 NYLON TEE CONNECTOR 3/16 X 3/16 X 1/8

93-7159 11738 1/4 X 1/4 X 3/16 NYLON TEE 15 10 -5
93-7161 12921 NYLON TEE CONNECTOR 3/8 X 3/8 X 1/4 25 10 -15
93-7164 23392 NYLON Y CONNECTOR 3/16 X 3/16 X 3/16

93-7165 12943 NYLON Y CONNECTOR 1/4 X 1/4 X 1/4 15 10 -5
93-7166 12944 NYLON Y CONNECTOR 5/16 X 5/16 X 5/16 15 10 -5
93-7167 23862 NYLON Y CONNECTOR 3/8 X 3/8 X 3/8

93-7168 12948 NYLON ELBOW CONNECTOR 3/16 X 1/4 25 10 -15
93-7169 23393 NYLON ELBOW CONNECTOR 1/8 X 3/16

93-7170 11419 4 WAY HOSE CONNECTOR 3/16 ALL ENDS 15 25 +10
93-7173 18508 JEEP WEATHERSTRIP RETAINER

93-7174 23863 WINDOW ROLLER NUT TOOL

93-7176 18032 CHRYSLER PUSH-TYPE RETAINER 15/32 HEAD 9/16 LGTH

93-7177 19131 CHRYSLER COWL SCREEN RETAINER

93-7179 20277 FORD FAN SPEED SWITCH REPAIR HARNESS

93-7181 15334 M8-1.25 FREE SPINNING WASHER NUT19MM 0D

93-7182 23085 GM SPARK PLUG WIRE GUIDE HOLDS 3-7MM WIRES

93-7184 11349 DOOR PANEL RETAINER - AMC GM CHRYSLER

93-7186 N/A KEY BLANK Discontinued
93-7187 20090 CHRY KEY BLANK GROOVE #85 - B&S 322235, 322236

93-7189 18525 GM TAIL LIGHT HARNESS CONNECTOR

93-7190 23038  GM WINDOW LIFT MOTOR & DOOR LOCK ACTUATOR HARNESS CONNECTOR

93-7191 17690 WASHER FLUID SENSOR HARNESS CONNECTOR 1 B +4
93-7192 23147 WEATHER PACK IN-LINE 2-WAY SHROUD HARNESS CONNECTOR

22



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
93-7193 22459 CHRYSLER PUSH-TYPE RETAINER
93-7195 23864 PHILLIPS HEX/SLOTTED WSHR HD T.S. #14 X 3/4 - BLACK
93-7196 23394 GM & CHRYSLER WEATHERSTRIP RETAINER
93-7197 18269 JEEP LOWER SILL MOULDING RETAINER 1” STEM LGTH
93-7198 18031 CHRYSLER NYLON RIVET 1/4 DIA. 1/32-3/16 GRIP 15 25 +10
93-7200 18242 CHRYSLER NYLON RIVET 1/4 DIA. 3/64-3/16 GRIP
93-7201 23039 FORD MASS AIR FLOW SENSOR HARNESS CONNECTOR
93-7202 23395 FORD & MAZDA BUMPER COVER RETAINER
93-7203 11865 FRONT END BEZEL NUT #6/#8 SCREW - GM FORD
93-7204 20172 FORD REPAIR HARNESS CONNECTOR EEC RELAY
93-7205 23555 HONDA WINDSHIELD SIDE MOULDING CLIP
93-7210 19476 HONDA & ACURA WINDSHIELD LFT CRNR MLDNG CLIP 5 10 +5
94-7213 18115 HONDA REVEAL MOULDING PIN RETAINER
94-7214 23396 HONDA FRONT & REAR BUMPER PUSH-TYPE RETAINER
94-7215 23397 ACURA FRONT & REAR BUMPER PUSH-TYPE RETAINER
94-7216 17058 HEADLIGHT ADJUSTING SCREW NUT M5-.8 SCREW SIZE
94-7217 18457 HONDA RADIATOR GRILLE CLIP
94-7219 23865 GM STEERING COLUMN HOUSING COVER W/TILT & AIR BAG
94-7221 18748 GM RADIATOR GRILLE RETAINING CLIP
94-7222 18897 GM SIDE ROOF RAIL WEATHERSTRIP RETAINER
94-7228 20547 FORD MULTIFUNCTION SWITCH HARNESS CONNECTOR
94-7229 20548 FORD MULTIFUNCTION SWITCH HARNESS CONNECTOR
94-7230 18673 FORD MULTI-FUNCTION SWITCH HARNESS CONNECTOR
94-7231 23866 GM FRONT DOOR GLASS GUIDE
94-7237 12656 SPECIAL RIVET (GM) 1/8 DIA. 5/16 FLANGE DIA.
94-7238 17639 SPLIT TYPE RIVET 1/4 DIA. 3/16-3/8 GRIP
94-7240 18889 GM RIVET 1/4” DIA. 1/16”-5/32” GRIP 15 25 +10
94-7242 23398 GM BLIND RIVET 3/16 DIA.
94-7243 16686 LARGE FLANGE MULTI-PURPOSE RIVET 1/8 DIA
94-7244 15970 GM DOOR TRIM PANEL RETAINER WHITE NYLON
94-7247 20246 FORD MULTI-FUNCTION SWITCH HARNESS CONNECTOR
94-7248 20550 FORD MULTIFUNCTION SWITCH HARNESS CONNECTOR
94-7249 18674 GM COOLANT TEMP SENSOR HARNESS CONNECTOR
94-7250 23867 PHILLIPS OVAL HEAD SEMS FLUSH WSHR T.S. #8 X 1 - CHROME
94-7251 23399 PHIL. OVAL HEAD T.S. FLUSH WASHER 8 X 1 - BLACK
94-7253 23400 CHRYSLER COWL SCREEN RETAINER
94-7254 23401 CHRYSLER COWL TOP STUD RETAINER COVER
94-7256 18108 NYLON RIVET 1/4 DIA. 5/32-3/8 GRIP BLACK
94-7257 13751 NYLON EXPANSION RIVET 1/4 HOLE DIA. 2-3/16 LENGTH
94-7258 18690 GM 59 SERIES 0.E.M. ELECTRICAL TERMINAL 50 25 -25
94-7259 18236 ACURA WINDSHIELD CLIP 5 10 +5
94-7264 23247 FORD TERMINATED MINI PIN RECEPTACLE, FEMALE 16 GA DWR B2
94-7266 23171 FORD TERMINATED MINI PIN RECEPTACLE, FEMALE 16 GA DWR B5
94-7267 23172 FORD TERMINATED MINI PIN RECEPTACLE, FEMALE 16 GA DWR B9
94-7269 23248 FORD TERMINATED BOX BLADE, FEMALE 16 GA DWR D2
94-7275 23173 FORD TERMINATED MINI BLADE, FEMALE 16 GA DWR D14
94-7279 23174 FORD TERMINATED BLADE, FEMALE 16 GA DWR D26
94-7280 23175 FORD TERMINATED BLADE, FEMALE 12 GA DWR D27
94-7281 23176 FORD TERMINATED BLADE-BRASS, FEMALE 12 GA DWR D32
94-7282 N/A TERMINATED LEAD Discontinued
94-7288 18501 CHRYSLER NYLON RIVET 3/16 DIA. 5/32-1/4 GRIP
94-7296 N/A WINDSHIELD CLIP Discontinued
94-7297 15957 GM 56 SERIES TERM 16-14 GA. FEMALE
94-7298 23249 OEM FEMALE ELECTRICAL 1/4” BLADE TERMINAL 16-14 GA
94-7302 N/A WINDSHIELD CLIP Discontinued
94-7303 18268 GM FRONT LIC. PLATE BRACKET RETAINER 1” HEAD DIA 10 5 -5
94-7304 18334 GM FRONT LIC. PLATE BRACKET RETAINER 1-3/4 LGTH 10 5 -5
94-7305 23079 GM INGITION COIL HARNESS CONNECTOR
94-7306 23080 GM INGITION COIL HARNESS CONNECTOR
94-7307 20424 GM FRONT DOOR WINDOW GUIDE 1-13/32 TOTAL LGTH
94-7309 17408 CLOSED END RIVET 1/8 DIA. 13/64-9/32 GRIP AL. BLK.
94-7310 18502 NYLON RIVET 1/4 DIA. 5/32-1/4 GRIP
94-7312 24151 HOOD ADJUSTMENT BUMPER STUD
94-7314 12563 QUARTER BELT REVEAL MOULDING CLIP
94-7315 N/A KEY BLANK Discontinued
94-7316 20089 GM TRUCK KEY BLANK GROOVE #75 - B&S 596222
94-7317 N/A KEY BLANK Discontinued
94-7318 20844 FORD WIRE HARNESS CONNECTOR ELECTRONIC IGNITION MODULE
94-7319 23402 FORD & MAZDA SPLASH SHIELD, COWL, ENG UNDER COVER
PUSH-TYPE RETAINER
94-7322 18764 ACURA WINDSHIELD SIDE MLDNG CLIP YELLOW NYLON
94-7326 N/A WINDSHIELD CLIP Discontinued
94-7328 18760 ACURA WINDSHIELD SIDE MLDNG CLIP RED NYLON
94-7329 23868 PHILLIPS PAN WSHR HEAD LICENSE PLATE SCREW M5-0.8 X 8MM - ZINC
94-7330 18779 PHIL PAN WSHR HEAD LIC. PLATE SCREW M5-.8 X 12MM

23



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional

Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference

94-7331 18769 PHIL PAN HEAD LIC. PLATE SCREW BLACK M6-1.0 X 20MM Black E-Coat Finish,
formerly Black Zinc Finish

94-7335 23250 FORD TERMINATED PIN, MALE 18 GA DWR A9

94-7341 23177  FORD TERMINATED RIGHT ANGLE LAMP SOCKET CONTACT 18 GA DWR H10

94-7342 23178 FORD TERMINATED PIN GRIP, FEMALE 16 GA DWR I1

94-7360 23040 FORD THROTTLE POSITION SENSOR HARNESS CONNECTOR

95-7361 23869 HEX HEAD SEMS T.S. B POINT M4.2-1.41 X 18MM - BLACK

95-7363 18781 HEX HD SEMS TAP SCREW M4.2-1.41 X 14MM BLACK

95-7367 N/A PLASTIC SCREW Discontinued

95-7368 23870 FORD COWL, BMPR, FENDER, ENG. UNDER COVER SCRW GROMMET

95-7369 20319 FORD HOOD INSULATION RETAINER BLACK NYLON 15 25 +10

95-7370 24187 FORD TRUNK LINER, REAR SEAT CARPET, & RADIATOR SIDE SHIELD

95-73711 18504 FORD HOOD PROP ROD CLIP FITS 6MM ROD

95-7373 18377 FORD DOOR TRIM RETAINING CLIP

95-7374 18498 FORD DOOR TRIM RETAINING CLIP

95-7375 20193 FORD COWL GRILLE RETAINER 38MM LGTH UNDER HD B 15 +10

95-7376 18503 FORD FRONT BUMPER RETAINER 1” HD DIA 1” ST LGTH

95-7377 23871 FORD DOOR TRIM GROMMET

95-7378 23403 EXTRUDED U-NUT #8-32 SCREW SIZE RANGE 0.025-0.150 - BLACK

95-7379 23404 GM DOOR TRIM PANEL PUSH-TYPE RETAINER

95-7380 18338 EXTRUDED U NUT M5-.8 SCRW SZ .60MM-3.8MM RANGE

95-7381 23405 EXTRUDED U-NUT M10-1.50 SCREW SIZE RANGE 1.5-5.5MM - ZINC

95-7382 16863 HOOD INSULATION RETAINER - FORD 50 25 -25

95-7383 20610 HONDA DOOR TRIM PANEL RETAINER 15MM STM LGTH

95-7386 N/A KEY BLANK Discontinued

95-7387 17664 GM, FORD and CHRYSLER SHIELD PANEL RETAINER

95-7388 18924 GM REAR SIDE MARKER LIGHTS SOCKET ASSEMBLY

95-7389 23118 RUBBER BOOT FUEL INJECTOR CONNECTOR

95-7390 23041 FORD HEADLAMP SWITCH HARNESS CONNECTOR

95-7392 17058 HEADLIGHT ADJUSTING SCREW NUT M5-.8 SCRW SZ

95-7393 16818 GM & CHRYSLER TRIM PANEL RETAINER

95-7394 23042 FORD OXYGEN SENSOR HARNESS CONNECTOR 4-LEAD

95-7395 23043 FORD OXYGEN SENSOR HARNESS CONNECTOR 3-LEAD

95-7396 N/A NUT Discontinued

95-7397 23872 CORVETTE WINDSHIELD MOULDING CLIP

95-7398 19891 GM WINDSHIELD WIPER MOTOR HARNESS CONNECTOR

95-7399 23179 GM WINDSHIELD WIPER MOTOR HARNESS CONNECTOR

95-7400 23044 FORD WIPER MOTOR HARNESS CONNECTOR

95-7401 19885 FORD WIPER MOTOR HARNESS CONNECTOR

95-7402 23873 GM STEERING COLUMN LOCK HOUSING END CAP BASE

95-7403 23874 GM STEERING COLUMN LOCK HOUSING END CAP COVER

95-7404 23875 GM DOOR LOCK ROD CLIP

95-7416 23251 FORD TERMINATED MINI BOX BLADE, FEMALE 12 GA DWR D65

95-7418 24170 CHRYSLER WINDSHIELD & REAR WINDOW REVEAL MOULDING CLIP

95-7419 18893 FORD PUSH-TYPE RETAINER

95-7420 18894 FORD PUSH-TYPE RETAINER

95-7421 18895 FORD PUSH-TYPE RETAINER

95-7422 13549 PIGTAIL SOCKET

95-7423 23406 NISSAN PUSH-TYPE RETAINER

95-7426 23876 TORX WSHR HEAD T.S. W/ TEK POINT M4.2-1.41 X 13MM - BLACK

95-7427 18816 FORD GRILLE & SIDE MARKER LIGHT GROMMET 25 50 +25

95-7428 19125 FORD STOP/TAIL/TURN/PARK LGHT HARNESS CONNECTOR

95-7429 19126 FORD BACK-UP LIGHTS HARNESS CONNECTOR

95-7430 N/A KEY BLANK Discontinued

95-7437 18836 EMISSION HARNESS ELBOW CONNECTOR 3/16 X 5/16 X 5/16

95-7439 18835 EMISSION HARNESS CONNECTOR 3/16” ALL ENDS

95-7440 23877 CHRYSLER WINSHIELD REVEAL MOULDING CLIP

95-7442 21122 PHILLIPS WASHER HEAD TEKS SCREW

95-7443 23878 PUSH NUT FOR NON-THREADED 1/4 STUD 15/16 0.D.

95-7444 23879 PUSH NUT FOR NON-THREADED 5/16 STUD 15/16 0.D.

95-7445 23880 PUSH NUT FOR NON-THREADED 3/8 STUD 15/16 0.D.

95-7446 23881 PUSH NUT FOR NON-THREADED 7/16 STUD 15/16 0.D.

95-7447 23882 PUSH NUT FOR NON-THREADED 1/2 STUD 15/16 0.D.

95-7448 11746 FLUSH SHEET METAL PLUG PLASTIC 1/2 HOLE BLACK

95-7449 18750 FLUSH SHEET METAL PLUG BLACK POLY 5/8 HOLE SIZE

95-7450 23883 NYLON FLUSH HOLE PLUG 11/16 HOLE SIZE

95-7451 11747 FLUSH SHEET METAL PLUG PLASTIC 3/4 HOLE BLACK

95-7452 11748 FLUSH SHEET METAL PLUG PLASTIC 7/8 HOLE BLACK

95-7453 17649 GM TRIM PANEL RETAINER 25 50 +25

95-7454 17612 FORD & CHRYSLER TRIM PANEL RETAINER

95-7456 24159 FORD HEATER HOSE COUPLER KIT 3/4”

95-7459 17199 GM TRANSMISSION CONVERTER CLUTCH CONN PIGTAIL

95-7460 16694 GM HALOGEN CORNERING LIGHT PIGTAIL ASSEMBLY

95-7461 19006 M4 2-1.41 X 25MM ROUND WASHER HEAD TEKS TAPPING SCREW

95-7462 23407 HONDA & NISSAN COWL, GRILLE, FENDER PUSH-TYPE RETAINER

24



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
95-7463 14697 PUSH-TYPE RETAINER 14MM HEAD DIA. 11MM LENGTH
95-7464 18899 FORD HEADLIGHT PIVOT SOCKET
95-7465 18456 ACURA BUMPER CLIP
95-7466 23408 TOYOTA NYLON HOOD PROD ROD CLIP
95-7469 N/A KEY BLANK Discontinued
95-7470 20123 MERCURY KEY BLANK #82 GROOVE - B&S 597037
95-7471 20149 GM KEY BLANK B89 GROOVE: 75 - B&S 597749
95-7473 N/A KEY BLANK Discontinued
95-7475 16816 GM PUSH-TYPE RETAINER 14MM LENGTH 14MM HD. DIA.
95-7476 17616 GM BUMPER FASCIA RETAINER 1-3/16 HD DIA 2 LGTH
95-7477 23409 GM BUMPER FASCIA PUSH-TYPE RETAINER
95-7479 19310 CHRYSLER DOOR PANEL NUT #6 SCRW STEEL PHOS.
95-7481 16930 PHIL. COUNTERSUNK SEMS T.S. #8 X 1/2 BLACK 0X
95-7482 19002 RUBBER VACUUM CAP FOR 5/16 0.D. TUBE
95-7483 12907 RUBBER VACUUM CAP BLACK FOR 5/16 DIA.
95-7484 12210 RUBBER VACUUM CAP BLACK FOR 3/8 DIA.
95-7486 19740 ACURA & HONDA ROOF MOULDING CLIP
95-7490 N/A GROMMET NUT Discontinued
95-7491 20753 PUSH TYPE RETAINER - NISSAN
95-7492 19147 NISSAN FRONT BUMPER RETAINER
95-7493 N/A CLIP Discontinued
95-7494 19483 HONDA/ACURA WEATHERSTRIP RET. CLIP 8MMX18MM HD
95-7495 23252 GM OIL & LOW AIR PRESSURE SWITCH HARNESS CONNECTOR
95-7496 23254 GM OIL PRESSURE SWITCH HARNESS CONNECTOR
95-7497 23255 GM INSTRUMENT PANEL HARNESS CONNECTOR
95-7498 23045 FUEL INJECTOR SOLENOID HARNESS CONNECTOR W/OFF SET INDEX
95-7499 19156 FORD ALT. REGUL.- A/C CLUTCH HARNESS CONNECTOR
95-7500 19157 FORD VARIABLE SPEED SENSOR HARNESS CONNECTOR
96-7501 23410 FORD DOOR TRIM PANEL RETAINER
96-7502 18301 GM BUMPER FASCIA RETAINER
96-7503 23884 GM FRONT BUMPER RETAINER
96-7504 24162 GM & FORD DOOR PANEL & WHEEL HOUSE RETAINER
96-7505 18298 GM REAR BUMPER FASCIA RETAINER
96-7509 18746 ACURA & HONDA HOOD INSULATION RETAINER
96-7511 18458 FORD & MAZDA HOOD INSULATION CLIP 14MM HEAD DIA.
96-7512 16938 GM TRIM PANEL RETAINER
96-7513 18936 FORD TRIM PANEL RETAINER
96-7515 19524 FORD DOOR TRIM PANEL RETAINER GREEN NYLON
96-7516 23411 GM, FORD & CHRYSLER BUMPER PUSH-TYPE RETAINER
96-7517 17612 FORD & CHRYSLER TRIM PANEL RETAINER
96-7518 23885 CHRYSLER TAIL LAMP SCREW GROMMET
96-7519 21196 GM DOOR LOCK ROD CLIP WHITE NYLON
96-7520 21197 GM DOOR LOCK ROD CLIP BLACK NYLON
96-7521 17669 JEEP & CHRYSLER TRIM PANEL RETAINER 100 50 -50
96-7525 18248 CHRYSLER HEADLIGHT GRILLE RETAINING CLIP
96-7526 23412 TOYOTA DECK TRIM PUSH-TYPE RETAINER
96-7528 18510 GM HOOD SEAL RETAINER
96-7529 18165 HONDA COWL PNL RETAINER 17MM HEAD DIA 9MM LGTH
96-7530 23156 GM WINDSHIELD WASHER PUMP, LOW COOLANT SENSOR
HARNESS CONNECTOR
96-7531 17111 GM HORN CONNECTOR PIGTAIL
96-7532 19117 HONDA CNTR PILLAR GARNISH MLDNG SCRW GROMMET
96-7536 23886 HONDA WINDSHIELD SIDE MOULDING CLIP
96-7537 17981 HONDA BELT MOULDING CLIP
96-7541 23887 GM BRAKE HOSE RETAINER CLIP
96-7542 17069 LOCK ROD CLIP 4MM ROD SIZE 10MM HEAD DIA. 50 100 +50
96-7543 23413 GM TAILGATE ROD CLIP
96-7544 19248 VOLVO BUMPER COVER RETAINER 16MM HEAD DIA. 25 15 -10
96-7545 18294 HONDA TRIM PANEL RETAINER 14MM STEM LENGTH
96-7547 17685 JEEP TRIM PANEL RETAINER
96-7548 19242 GM AIR INLET GRILLE PANL RETAINER 13/32 HEAD DIA 50 25 -25
96-7549 15668 FORD X-MAS TREE RETAINER
96-7550 20344 GM WEATHERSTRIP RETAINER (REPLACES 18322)
96-7551 18771 CHRYSLER HDLGHT MOUNTING PNL SHIELD RETAINER 15 25 +10
96-7552 23180 FORD INERTIA FUEL SHUT OFF SWITCH HARNESS CONNECTOR
96-7553 N/A REPAIR HARNESS Discontinued
96-7554 18867 GM IGNITION SPEED SENSOR HARNESS CONNECTOR
96-7556 19441 FORD ROCKER PANEL GROUND EFFECTS MOULDING CLIP
96-7559 23888 FORD LOWER GRILLE CLIP
96-7560 19244 FORD TRUNK TRIM PANEL RETAINER 1” HEAD DIA
96-7562 19238 FORD FORD COWL TOP VENT GRILLE GROMMET
96-7563 N/A RETAINER Discontinued
96-7565 19277 FORD WHEEL OPENING SCREW GROMMET
96-7568 23120 GM, FORD & CHRYSLER SEALED HEADLAMP CONNECTOR
96-7569 18870 GM IGNITION SPEED SENSOR HARNESS CONNECTOR

25



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
96-7570 18916 GM IGN. & COOLANT SENSOR HARNESS CONNECTOR
96-7571 18917 GM CAMSHAFT SENSOR HARNESS CONNECTOR
96-7572 23121 FORD STRAIGHT LAMP SOCKET BASE HARNESS CONNECTOR
96-7573 23122 FORD STRAIGHT LAMP SOCKET BASE HARNESS CONNECTOR
96-7575 23889 GM FUEL LINE RETAINER CLIP
96-7577 23414 NISSAN HOOD INSULATION RETAINER
96-7578 18310 GM REAR BUMPER FASCIA RETAINER 1” HEAD DIA.
96-7579 23415 GM & CHRYSLER TRIM PANEL RETAINER
96-7580 18174 GM TRIM PANEL RETAINER
96-7581 19786 TORQUE PIN KIT FOR WINDOW REG. GEAR
96-7582 19556 GM BRAKE LGHT SWITCH HARNESS CONNECTOR
96-7583 21490 GM & FORD WIRE HARNESS CONNECTOR
96-7584 19393 REAR VIEW MIRROR BRACKET
96-7585 19419 FORD SPECIALTY RIVET 1/8 DIA. 3/16-3/8 GRIP BLACK
96-7586 18930 GM TRIM PANEL RETAINER YELLOW NYLON
96-7588 20177 FORD WHEEL OPENING MOULDING RETAINER GRAY
96-7589 14008 GRILLE ATTACHMENT RETAINER 3/4 X 19/32 HEAD SIZE
96-7591 20194 FORD COWL GRILLE SCREW COVER 13MM 0.D. 25 50 +25
96-7593 19115 HONDA DRIP MOULDING CLIP
96-7594 23181 GM & FORD BACK-UP LIGHT SWITCH & SPEED SENSOR HARNESS CONNECTOR
96-7595 23418 GM MONOBOLT DOME HEAD RIVET 1/4 DIA. STEEL
96-7597 19397 GM FRONT & REAR DOOR WINDOW GUIDE
96-7598 17450 BUMPER COVER RETAINER 20MM X 30MM HEAD 11MM LGTH
96-7599 23890 GM PEEL TYPE RIVET M5 DIA. 11-13MM GRIP
96-7600 23182 FORD IGNITION SWITCH HARNESS CONNECTOR KIT
96-7601 N/A WIRE HARNESS Discontinued
96-7602 23157 GM WIPER MOTOR, WINDSHIELD WIPER, WINDOW SWITCH
HARNESS CONNECTOR
96-7603 19219 TOYOTA & LEXUS FRONT BUMPER RETAINER 15MM HEAD DIA
96-7604 23891 LEXUS BUMPER COVER PUSH-TYPE RETAINER
96-7606 23419 TOYOTA REAR BUMPER COVER PUSH-TYPE RETAINER
96-7607 18114 HONDA HOOD INSUL. RETAINING CLIP 10MM HD DIA.
96-7608 18271 MAZDA HOOD INSUL. RETAINER 14MM HD DIA 15MM LGTH
96-7609 23892 GM HOOD SEAL RETAINER
96-7610 18389 GM RADIATOR BAFFLE RETAINER
96-7611 N/A HEADLAMP ADJUSTING SCREW Discontinued
96-7615 11288 MOULDING CLIP - GM 25 100 +75
97-7618 19338 FORD & CHRYSLER HOOD INSULATION RETAINER
97-7620 19881 FORD IGNITION SWITCH HARNESS CONNECTOR
97-7621 19275 GM DOOR TRIM PANEL RETAINER WHITE
97-7622 19270 GM TRIM PANEL RETAINER
97-7623 18371 GM DOOR TRIM PANEL RETAINER
97-7624 18391 GM REAR DOOR TRIM PANEL RETAINER 25 15 -10
97-7627 N/A RETAINER Discontinued
97-7628 23256 GM IN-LINE INTR LIGHTING, MIRROR, MARKER LMP,
LUMBAR SWITCH HARNESS CONNECTOR

97-7629 23893 PHILLIPS WSHR HEAD T.S. W/ TEK POINT #8 X 1/2 - BLACK
97-7630 N/A SCREW Discontinued
97-7633 18979 CHRYSLER WINDSHIELD SETTING BLOCK 10 15 +5
97-7634 19170 PHILLIPS TRUSS HEAD TAP SCREW M6.3-1.81 X 16MM
97-7635 18340 PHILLIPS TRUSS HEAD TAP SCREW M4.8-1.61 X 15MM
97-7636 19337 FORD HEADLIGHT ACCESSORY RETAINER 14MM HEAD DIA
97-7638 19417 CHRYSLER SPECIALTY SCREW M7.5 X 35MM 22MM HEAD DIA
97-7639 23894 GM HOOD PROD ROD CLIP
97-7651 23257 FORD TERMINATED MINI BLADE, FEMALE 16 GA DWR D43
97-7661 23258 GM & CHRY VOLTAGE REGULATOR, OIL PRESSURE,

WATER TEMP SWITCH HARNESS CONNECTOR
97-7662 23123 CHRYSLER HEADLAMP SWITCH HARNESS CONNECTOR
97-7664 22065 GM WEATHERSTRIP CLIP
97-7665 19425 FORD WEATHERSTRIP RETAINER NAT. NYLON 100 50 -50
97-7668 19932 GM, CHRYSLER & AMC TUMBLER SPRING 50 100 +50
97-7669 N/A SPRING Discontinued
97-7670 15366 PUSH-TYPE BUMPER RETAINER 11MM LENGTH
97-7672 23895 CHRYSLER HEADLAMP ADJUSTING PIVOT SOCKET
97-7673 23420 TOYOTA DOOR TRIM PANEL RETAINER
97-7676 17420 CLOSED END RIVET 3/16 DIA. 1/8-1/4 GRIP ALUMINUM
97-7677 16687 TRUNK LOCK RIVET W/SEALED END 5/32 DIA 50 25 -25
97-7681 23092 GM RELAY HARNESS CONNECTOR KIT
97-7682 18925 GM FUEL PUMP HARNESS CONNECTOR
97-7683 19880 FORD TRANS. GEAR SHIFT SENSOR HARNESS CONNECTOR
97-7684 23046 GM CRANK POSITION SENSOR LAMP HARNESS CONNECTOR
97-7685 23421 FORD BLIND RIVET 3/16 DIA. ALUM.
97-7686 19149 CHRYSLER WEATHERSTRIP RETAINER FRONT & REAR DOORS
97-7687 N/A RIVET Discontinued
97-7689 N/A RIVET Discontinued

26



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
97-7690 19413 FORD DOOR PANEL SCREW COVER BLACK 5/8 HOLE

97-7691 19267 FORD INTERIOR TRIM PANEL SCREW GROMMET

97-7692 19385 JEEP & MITSU. HOOD INSUL. RET. 26MM HEAD DIA 8MM LGTH

97-7693 19155 CHRYSLER HOOD INSULATION RETAINER 15 25 +10

97-7694 18825 CHRYSLER COWL & DASH PANEL SCREW GROMMET 10 15 +5

97-7695 20549 FORD COOLING FAN MOTOR HARNESS CONNECTOR

97-7697 23739 CHRYSLER L.H. DOOR LOCK ROD CLIP

97-7699 19191 CHRYSLER DOOR LOCK ROD CLIP RIGHT SIDE 1/8 ROD SIZE

97-7700 19421 FORD FRONT DOOR SCUFF PLATE RETAINER

97-7702 19678 FORD WEATHERSTRIP RETAINER WHITE NYLON

97-7704 23422  ACURA, CHRY, GEO, MITSUBISHI & TOYOTA BMPR COVER PUSH-TYPE RTNR

97-7705 23423 ACURA & HONDA WEATHERSTRIP RETAINER

97-7707 23424 TOYOTA DOOR TRIM PANEL & GARNISH RETAINER

97-7708 19113 TOYOTA & LEXUS HOOD INSUL. RETAINER 25MM HD DIA

97-7709 23425 TOYOTA SIDE TRIM PANEL RETAINING CLIP

97-7710 19123 TOYOTA FENDER APRON SEAL CLIP 17MM HEAD DIA.

97-7711 23556 TOYOTA WINDSHIELD MOULDING CLIP

97-71712 N/A CLIP Discontinued
97-7713 19112 TOYOTA HOOD INSULATION RETAINER 30MM HEAD DIA.

97-7714 19128 TOYOTA PUSH-TYPE RETAINER 20MM HEAD DIA 9MM STEM LGTH

97-7715 23559 TOYOTA DOOR TRIM PANEL & BACK PANEL LOWER GARNISH RETAINER
97-7716 23426  TOYOTA REAR DOOR TRIM & LUGGAGE COMPARTMENT PUSH-TYPE RETAINER

97-7717 18888 TOYOTA PUSH-TYPE RETAINER
97-7718 19118 HONDA PUSH-TYPE RETAINER 20MM HEAD DIA 10MM STEM LGTH
97-7719 23427 ACURA, HONDA HOOD & TRUNK MOULDING RETAINING CLIP
97-7720 19116 HONDA WEATHERSTRIP RETAINER 5MM X 15MM HEAD
97-7721 19145 HONDA TRIM PANEL RETAINER 9MM STEM DIA 12MM LGTH 50 25 -25
97-7723 19667 FORD TRIM PANEL RETAINER BLACK NYLON
97-7724 23896 FORD HEADLINER HOOD INSULATION RETAINER
97-7725 N/A RETAINER Discontinued
97-7728 18913 NYLON RIVET 15/64 DIA. 5/32 - 9/32 GRIP
97-7729 16026 OIL DRAIN PLUG GASKET 1/2” I.D. 1" 0.D. 10 5 -5
97-7730 18299 FORD OIL DRAIN PLUG GASKET 14MM 1.D. ZINC & YELLW
97-7731 23183 CHRYSLER OIL PRESSURE SWITCH & VEHICLE SPEED SENSOR
HARNESS CONNECTOR
97-7732 23237 CHRYSLER STARTER RELAY HARNESS CONNECTOR
97-7733 23428 GM HEADLIGHT DIMMER SWITCH HARNESS CONNECTOR
97-7734 21688 NISSAN MOULDING GROMMET WITH SEAL 15 25 +10
97-7735 23429 NISSAN FENDER PANEL BRACKET RETAINER
97-7737 18827 CHRYSLER HOOD INSULATION RETAINER
97-7740 19648 MAZDA WINDSHIELD CLIP 13MM X 49MM X 11MM
97-7742 24198 MITSUBISHI WINDSHIELD MOULDING CLIP
97-7743 19776 LEXUS WINDSHIELD CLIP WHITE NYLON
97-7746 23416 FORD POWER WINDOW REGULATOR GEAR 62 SPLINES
97-7748 23897 GM COWL SCREEN RETAINER WITH SEALER
97-7750 18952 ELECTRICAL TERMINAL SPLICE CLIP 16 GA.
97-7751 22341 SOLDERLESS TERMINAL NON-INSULATED SPLICE CLIP
97-7752 23898 FORD LARGE OVAL COWL SCREW PLUG
97-7754 N/A REPAIR HARNESS Discontinued
97-7756 19516 GM SPLIT-TYPE RIVET 1/4 DIA. 3/64-1/4 GRIP ALUM.
97-7760 23417 FORD POWER WINDOW REGULATOR GEAR, ROLLERS & 62 SPLINES
98-7761 23047 FORD HEADLAMP SWITCH HARNESS CONNECTOR
98-7762 23899 FORD FRONT BUMPER AIR DEFLECTOR PUSH-TYPE RETAINER
98-7763 19356 GM FRONT & REAR DOOR TRIM PANEL RETAINER 25 50 +25
98-7764 19536 FORD COWL VENT PLUG 21/32 HEAD DIA.
98-7765 19243 GM BUMPER FASCIA PUSH-TYPE RETAINER 16MM HEAD DIA
98-7766 23430 NISSAN BUMPER PUSH-TYPE RETAINER
98-7770 23431 HONDA, MAZDA & TOYOTA BUMPER COVER & WHEEL HOUSING
PUSH-TYPE RETAINER
98-7771 N/A CLIP Discontinued
98-7772 14526 HIGH TORQUE SPECIAL U NUT 17/32 WDTH 51/64 LGTH 25 50 +25
98-7774 19345 FORD PILLAR TRIM CLIP 25 50 +25
98-7775 18862 CHRYSLER TRIM PANEL RETAINER
98-7776 17669 JEEP & CHRYSLER TRIM PANEL RETAINER
98-7777 19414 FORD PEEL TYPE RIVET 3/16 DIA. 1/32-1/4 GRIP BLACK
98-7778 23259 GM GLOW PLUG HARNESS CONNECTOR
98-7779 19623 FORD IGN. CONTROL MODULE HARNESS CONN.
98-7780 18927 GM SPECIALTY RIVET 3/16 DIA. 5/16-7/16 GRIP 15 25 +10
98-7781 23900 HEX HEAD SEMS SCREW M4-0.70 X 12MM - BLACK
98-7782 19537 TUBULAR NUT FOR 1/4 STUD
98-7783 23432 CHRYSLER GRILLE TO FASCIA FASTENER
98-7784 19386 CHRYSLER TRIM PANEL RETAINER
98-7789 18951 MITSUBISHI FRONT BUMPER RETAINER 26MM STEM LGTH
98-7790 17988 LEXUS PUSH-TYPE RETAINER 19MM HEAD DIA 26MM LGTH

98-7791 19534 LEXUS & TOYOTA COWL VENT GROMMET 16MM STEM LGTH




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
98-7792 19535 LEXUS & TOYOTA COWL VENT PIN RETAINER 16MM HEAD DIA
98-7793 23433 TOYOTA BUMPER COVER PUSH-TYPE RETAINER
98-7795 N/A BUSHING Discontinued
98-7798 23108 FORD LAMP SOCKET, POWER STEERING PRESSURE & MASTER CYL.
LEVEL SENSOR BRAKE SW. HARNESS CONNECTOR
98-7799 23158 GM BLOWER RESISTOR HARNESS CONNECTOR
98-7800 19317 GM FRNT FNDR EXT/L.P. BRACKET RETAINER NUT M6-1.0
98-7801 19657 CHRYSLER SPECIALTY RIVET 1/8 DIA 1/32-3/16 GRIP
98-7802 23434 CHRYSLER GRILLE EMBLEM THREAD CUTTING NUT
98-7803 19548 SELF-THREADING NUT 6MM STUD 11MM HEX ZINC 100 50 -50
98-7804 19519 GM GARNISH MOULDING FASTENER
98-7805 19213 CHRYSLER TRIM PANEL RETAINER
98-7806 19237 FORD COWL VENT GRILLE NYLON SCREW #10 X 1-1/32
98-7807 15040 CHRYSLER/AMC TRIM PANEL RETAINER
98-7810 23435 FORD FASCIA RETAINER
98-7811 19422 CHRYSLER FASCIA PUSH-TYPE RETAINER 29/32 STEM LGTH
98-7812 23124 GM NEUTRAL & PARK SWITCH HARNESS CONNECTOR
98-7814 19541 CHRYSLER HOOD INSULATION RETAINER BLK NYLON
98-7815 2744 UNIVERSAL MOULDING FASTENER #10-24 X 3/4 BOLT 25 50 +25
98-7816 2619 UNIVERSAL MOULDING FASTENER #10-24 X 3/4 BOLT 25 50 +25
98-7817 2752 MOULDING FASTENER #10-24 X 3/4” BOLT 25 50 +25
98-7819 23987 GM WINDOW REGULATOR ROLLER
98-7820 23988 GM WINDOW REGULATOR ROLLER
98-7821 18327 JEEP FRONT BUMPER FASCIA RETAINER 11/16 HEAD DIA
98-7822 20272 HONDA BELT MOULDING CLIP 20MM WDTH 24MM LGTH
98-7824 18842 TOYOTA HOOD INSULATION RETAINER 30MM HEAD DIA.
98-7826 19482 LEXUS FRONT DOOR OUTSIDE MOULDING CLIP
98-7828 17989 LEXUS SIDE MOULDING RETAINER 10 5 -5
98-7829 19233 ACURA & HONDA PUSH-TYPE RETAINER
98-7830 19890 FORD BACKUP LAMP SWITCH HARNESS CONNECTOR
98-7832 23184 GM COOLING FAN RELAY HARNESS CONNECTOR
98-7834 19887 FORD AUX. BLOWER SWITCH HARNESS CONNECTOR
98-7835 19883 FORD BLOWER MOTOR SWITCH HARNESS CONNECTOR
98-7836 9639 WINDOW REVEAL MOULDING CLIP 25 50 +25
98-7838 19406 CHRYSLER SPECIALTY RIVET 1/8 DIA. 1/16-1/4 GRIP
98-7840 19194 TOYOTA FENDER LINER SCREW GROMMET #12 SCRW SIZE
98-7844 20965 FORD MOULDING CLIP 25 15 -10
98-7846 23436 GM DOOR WEATHERSTRIP RETAINER
98-7847 18939 LEXUS BUMPER COVER RETAINER 23MM STM LGTH
98-7848 19729 TOYOTA HOOD INSULATION CLIP 25MM HD DIA.
98-7849 N/A GROMMET Discontinued
98-7850 19245 CHRYSLER FASCIA TO FRNT BMPR RETAINER 1-1/8 LGTH
98-7851 19355 GM PUSH TYPE RETAINER 17/32 HEAD DIA 1-5/64 LGTH
98-7852 23236 FORD BLOWER MOTOR RESISTOR HARNESS CONNECTOR
98-7853 23437 GM WINDSHIELD WASHER PUMP HARNESS CONNECTOR
98-7854 19274 NISSAN PUSH-TYPE RETAINER 20MM HEAD DIA. 9MM STEM LGTH
98-7855 19739 TOYOTA PUSH-TYPE RETAINER
98-7856 18270 LEXUS PUSH-TYPE RETAINER 17MM HEAD DIA 9MM LGTH
98-7857 19359 HONDA DOOR MOULDING CLIP 15 10 -5
98-7858 N/A CLIP Discontinued
98-7859 23901 HONDA DOOR BELT MOULDING CLIP
98-7860 20564 ACURA & HONDA PUSH-TYPE RETAINER 20MM HEAD DIA
98-7862 19239 ACURA & HONDA PUSH-TYPE RETAINER 20MM HEAD DIA
98-7863 N/A CLIP-SIDE MOULDING Discontinued
98-7864 20270 BMW HOOD&TRUNK INSUL. RETAINER 20MM HEAD DIA
98-7865 23902 BMW COWL VENT PUSH-TYPE RETAINER
98-7866 21391 VOLKSWAGEN & AUDI PUSH TYPE RETAINER
98-7867 21392 VOLKSWAGEN & AUDI RETAINER
98-7869 23048 FORD BLOWER SWITCH HARNESS CONNECTOR
98-7871 23903 FORD HEADLAMP HOUSING ADJUSTING NUT
98-7872 19472 GM INST. PANEL INSUL. TURN RETAINER 15 25 +10
98-7873 19639 GM PUSH-TYPE RETAINER 17MM HD DIA 16MM STEM LGTH
98-7874 19615 GM REAR BUMPER COVER RETAINER 21MM STEM LGTH
98-7877 19638 CHRYSLER FRONT BUMPER FASCIA RETAINER 34MM HEAD DIA
98-7878 19640 CHRYSLER BUMPER FASCIA GROMMET M4.2 SCRW SIZE
98-7880 19373 FORD TRIM PANEL RETAINER ZUCA GRANITE 25 50 +25
98-7881 20192 FORD MUD FLAP RETAINER BLACK NYLON
98-7882 18682 GM FRONT DOOR LOWER MOULDING RETAINER
98-7883 19819 GM FRONT SIDE DOOR WINDOW GUIDE
98-7884 20232 GM FRONT & REAR DOOR WINDOW MOULDING CLIP 50 25 -25
98-7885 23904 GM WINDOW REGULATOR ROLLER
98-7886 23906 GM WINDOW REGULATOR ROLLER & RIVET KIT
98-7887 23907 GM, ASIAN TRIM PANEL RETAINER
98-7889 19644 GM EXTRUDED U NUT M8-1.25 SCREW 1.7MM-5.5MM RNGE
98-7890 23081 GM FUEL PUMP, BLOWER MOTOR & DAYTIME RUNNING LAMP

28



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional

Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
RELAY HARNESS CONNECTOR

98-7891 23155 CHRYSLER NEUTRAL SAFETY SWITCH HARNESS CONNECTOR

98-7892 23908 CHRYSLER COWL SCREEN RETAINER

98-7893 19802 CHRYSLER DOOR MOULDING RETAINER WHITE NYLON

98-7894 14739 SCREW GROMMET 16MM WIDTH 12MM LENGTH 25 50 +25

98-7895 19485 CHRYS LICENSE PLATE NYLON NUT #14 SCRW SIZE 15 10 -5

98-7897 19429 GM TAIL LIGHT SCREW GROMMET

98-7899 23049 CHRYSLER BLOWER MOTOR RESISTOR HARNESS CONNECTOR

98-7900 23050 GM FRONT AXLE 4WD ACTUATOR HARNESS CONNECTOR

98-7901 15388 10-24 X 3/4 PHILLIPS PAN HEAD M.S. ZINC

98-7902 23909 PHILLIPS WSHR HEAD T.S. W/ TEK POINT M4.2-1.41 X 12MM - BLACK

98-7903 18732 ALUMINUM RIVET 5/32 DIA. 1/8-1/4 GRIP

98-7904 19795 GM WIRE LOOM ROUTING CLIP 1/4 1.D. 3/8 Q.D.

98-7905 23439 GM WIRE LOOM ROUTING CLIP 1/4 1.D.

98-7908 19110 FORD PEEL TYPE RIVET 1/4 DIA 1/32-7/32 GRIP ALUM.

98-7909 19783 PARK & TURN SIGNAL GROMMET 13MM HEAD DIA

98-7910 23440 HONDA BUMPER RETAINER

99-7911 23441 TOYOTA COWL PANEL & LUGGAGE COMPARTMENT PUSH-TYPE RETAINER

99-7912 19741 HONDA DOOR PANEL SCREW GROMMET 12MM HEAD DIA

99-7913 19376 VOLVO RIVET 5/32 DIA. 1/8-11/32 GRIP ALUMINUM BLACK

99-7914 19142 HONDA PUSH-TYPE RETAINER 15MM HEAD DIA 13MM LGTH 25 5 -20

99-7915 19650 HONDA BUMPER GROMMET 18MM X 20MM HEAD SIZE 15 10 -5

99-7916 20261 GM HEX HEAD SEMS BODY BOLT M6-1.0 X 30MM 50 25 -25

99-7917 19628 CHRYSLER DOOR TRIM PANEL RETAINER

99-7919 20846 FORD WIRE HARNESS CONNECTOR STARTER SOLENOID

99-7920 23051 FORD BLOWER SWITCH HARNESS CONNECTOR

99-7922 15045 GM BUMPER FASCIA RETAINER 1 HEAD DIA. 1-7/64 LENGTH

99-7923 N/A U-NUT Discontinued

99-7926 13750 NYLON RIVET 1/4 HOLE DIA. 2-3/16 LENGTH

99-7927 18308 GM PUSH-TYPE RETAINER 1-1/8 STEM LENGTH

99-7929 19732 GM FRONT BUMPER FASCIA HINGED PANEL RETAINER

99-7932 20264 FORD KICK PANEL GROMMET 23MM HD DIA 24MM LGTH

99-7933 19760 FORD KICK PLATE RETAINER BLACK NYLON

99-7934 19788 GM ROCKER PNL RETAINER 11MM HEAD DIA 20MM STEM LGTH

99-7936 19607 FORD FRONT BUMPER COVER RETAINER 16MM HD DIA

99-7937 23910 COPPER SEALING WASHER 20MM 1.D. 24MM 0.D.

99-7938 23911 COPPER SEALING WASHER 6MM 1.D. 10MM 0.D.

99-7939 23912 COPPER SEALING WASHER 6MM 1.D. 12MM 0.D.

99-7940 23913 COPPER SEALING WASHER 8MM 1.D. 12MM 0.D.

99-7941 23914 COPPER SEALING WASHER 10MM 1.D. 14MM 0.D.

99-7942 23915 COPPER SEALING WASHER 10MM I.D. 16MM 0.D.

99-7943 23916 COPPER SEALING WASHER 12MM 1.D. 16MM 0.D.

99-7944 23917 COPPER SEALING WASHER 12MM I.D. 18MM 0.D.

99-7945 23918 COPPER SEALING WASHER 14MM 1.D. 18MM 0.D.

99-7946 20454 COPPER OIL DRAIN PLUG GASKET 14MM ID 20MM 0D 50 15 -35

99-7947 14871 16MM COPPER WASHER 16.2MM 1.D. 19.8MM 0.D. 50 25 -25

99-7948 19604 16MM COPPER .628 X .870 X .057 25 10 -15

99-7949 23919 COPPER SEALING WASHER 18MM 1.D. 22MM 0.D.

99-7950 23920 COPPER SEALING WASHER 18MM I.D. 24MM 0.D.

99-7951 23921 COPPER SEALING WASHER 20MM 1.D. 26MM 0.D.

99-7952 23922 ALUMINUM SEALING WASHER 6MM I.D. 10MM 0.D.

99-7953 16955 ALUM DRAIN PLUG GASKET 18MM 1.D 25.5MM 0.D. 25 50 +25

99-7954 23923 ALUMINUM SEALING WASHER 8MM I.D. 12MM 0.D.

99-7955 23924 ALUMINUM SEALING WASHER 10MM 1.D. 14MM 0.D.

99-7956 23925 ALUMINUM SEALING WASHER 12MM I.D. 16MM 0.D.

99-7957 23926 ALUMINUM SEALING WASHER 12MM 1.D. 18MM 0.D.

99-7958 23927 ALUMINUM SEALING WASHER 14MM I.D. 18MM 0.D.

99-7959 23442 ALUM. OIL DRAIN PLUG GASKET 14MM 1.D. 20MM 0.D.

99-7960 23928 ALUMINUM SEALING WASHER 16MM I.D. 22MM 0.D.

99-7961 23929 ALUMINUM SEALING WASHER 20MM 1.D. 24MM 0.D.

99-7962 23930 ALUMINUM SEALING WASHER 20MM I.D. 26MM 0.D.

99-7963 23931 ALUMINUM SEALING WASHER 22MM 1.D. 27MM 0.D.

99-7967 N/A END CAP Discontinued

99-7973 N/A COVER Discontinued

99-7976 N/A COVER Discontinued

99-7977 N/A RETAINER Discontinued

99-7978 N/A RETAINER Discontinued

99-7979 N/A RETAINER Discontinued

99-7980 19250 TRIM PANEL RETAINER WHITE NYLON 50 25 -25

99-7984 19820 GM ROCKER PANEL CLIP 3/4 X 1-3/16 HD SIZE 19/32 STEM

99-7985 20968 FORD MOULDING CLIP 25 15 -10

99-7988 17481 TOYOTA ROCKER PANEL MOULDING CLIP

99-7989 20849 FORD WIRE HARNESS CONNECTOR BLOWER MOTOR SWITCH

99-7990 23185 FORD REAR LAMP SOCKET ASSEMBLY

99-7991 23932 FORD FENDER LIP MOULDING RETAINER




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
99-7992 23052 FORD IGNITION SWITCH HARNESS CONNECTOR KIT

99-7993 20259 HONDA SPECIALTY SEMS SCREW M4.8-1.61 X 19MM

99-7994 19793 CHRYSLER TAIL LAMP HOUSING GROMMET 16MM HD DIA

99-7995 23933 CHRYSLER & FORD HEADLINER FRONT FENDER RETAINER

99-7996 19511 FORD DOOR LOWER TRIM PNL RETAINER 11/16 STEM LGTH 10 25 +15
99-7998 19658 GM DOOR LOCK ROD CLIP 5/32 ROD SIZE

99-7999 23443 FORD PEEL-TYPE RIVET 1/4 DIA.

99-8000 19449 GM REAR BUMPER FASCIA RETAINER BLK NYLON

99-8001 N/A RIVET Discontinued
99-8002 20163 GM PUSH-TYPE RETAINER 12.5MM HD DIA 17MM STM LGTH

99-8003 19522 GM DOOR SILL TRIM PLATE RETAINER 12MM HD DIA.

99-8004 23260 GM STOP LAMP SW. & TORQUE CONVERTER HARNESS CONNECTOR

99-8005 23086 GM SPARK PLUG WIRE GUIDE HOLDS 4-8MM WIRES

99-8006 23087 GM SPARK PLUG WIRE GUIDE HOLDS 3-8MM WIRES

99-8008 20626 TOYQTA SPEC. RIVET 3/16 DIA. 1/8-5/16 GRIP ALUM/STEEL

99-8009 20171 FORD COWL VENT GROMMET FITS 10MM X 14MM HOLE

99-8010 20165 CHRYSLER TRIM PANEL RETAINER BLACK NYLON

99-8011 20164 CHRYSLER HOOD INSULATION RETAINER BLACK NYLON

99-8012 20180 CHRYSLER WEATHERSTRIP RETAINER BLACK NYLON

99-8013 20181 CHRYSLER WEATHERSTRIP RETAINER WHITE NYLON

99-8014 20182 CHRYSLER WEATHERSTRIP RETAINER WHITE NYLON

99-8019 23934 CHRYSLER WINDOW REGULATOR ROLLER

99-8020 20358 FORD ROCKER PANEL MLDNG CLIP 13MM X 39MM HEAD SIZE

99-8021 14258 TOYOTA NYLON NUT #10 SCREW SIZE 14MM X 14MM 15 25 +10
99-8022 23935 GM & TOYOTA ROCKER PANEL PUSH-TYPE RETAINER

99-8023 19752 FORD DOOR BELT MOULDING CLIP

99-8024 19894 JEEP ROCKER PANEL CLIP 7/16 X 25/32 HEAD SIZE 15 25 +10
99-8026 19418 GM & FORD COWL INSULATION RETAINER 50 25 -25
99-8029 19614 GM FRONT AIR DEFLECTOR GROMMET 13MM STEM LGTH

99-8030 19613 GM FRONT AIR DEFLECTOR RETAINER 24MM STEM LGTH

99-8032 23444 FORD NYLON HOOD INSULATION RETAINER - BLACK

99-8033 10744 WEATHERSTRIP RETAINER - GM 50 100 +50
99-8034 17224 NYLON NUT 10MM WIDTH 10MM LENGTH #6 SCREW SIZE 25 50 +25
99-8035 23186 FORD HORN & BLOWER RELAY HARNESS CONNECTOR KIT

99-8039 20191 FORD PUSH TYPE RETAINER 16MM HEAD DIA 18MM STEM LGTH

99-8040 19293 NISSAN BODY SIDE MOULDING SCREW GROMMET #10 SCREW 25 15 -10
99-8041 20169 FORD PUSH-TYPE RETAINER 15MM HEAD DIA 13MM STEM LGTH

99-8042 23261 GM NEUTRAL SAFETY SWITCH HARNESS CONNECTOR

99-8043 23262 GM NEUTRAL SAFETY SWITCH HARNESS CONNECTOR

99-8044 19186 FRONT BUMPER COVER RETAINER 11MM HEAD DIA.

99-8045 19547 HONDA COWL TOP RETAINER 17MM HEAD DIA 13MM STEM LGTH

99-8046 N/A CLIP Discontinued
99-8048 10655 BUMPER BOLT 3/8-16 X 1 STAINLESS CAP PAN HEAD 10 25 +15
99-8049 20389 CHRY SGNL/STOP/TAIL/TURN LGHTS HARNESS CONN

99-8050 23936 GM WINDOW REGULATOR ROLLER RIVET

99-8051 11705 FENDER SHEILD PUSH-TYPE RETAINER - FORD 25 50 +25
99-8053 19683 HONDA COWL VENT RETAINING CLIP 8MM X 18MM HD SZ

99-8054 23937 FORD TRUCK FENDER FLARE RETAINER

99-8055 N/A GROMMET Discontinued
99-8056 18668 FORD FUEL PUMP SENDING UNIT CONNECTOR

99-8057 24197 TORX PAN HEAD T.S. SEMS M4.2-1.41 X 25MM - BLACK

99-8058 13746 NYLON EXPANSION RIVET 3/16 HOLE DIA. 1-7/8 LENGTH

99-8061 19758 GM TRIM PANEL RETAINER WITH SEALANT GREEN

99-8062 20244 GM PUSH TYPE RETAINER 19MM HEAD DIA 32MM STEM LGTH

99-8064 19626 UNIVERSAL MOULDING FASTENER #10-24 X 3/4 BOLT

99-8065 20309 CHRYSLER WINDOW REG. GROMMET 57MM LENGTH

99-8066 23445 CHRYSLER TRIM PANEL RETAINER WITH SEALER

99-8069 23938 GM COWL SCREEN RETAINER

99-8070 23939 GM SPECIALTY RIVET 1/4 DIA. .80 - .375 GRIP

99-8071 N/A CLIP Discontinued
99-8072 23940 FORD HOOD PROD ROD CLIP

99-8073 23941 GM RADIATOR BAFFLE RETAINER

99-8074 23053 GM CRANK SENSOR & IGNITION COIL HARNESS CONNECTOR

99-8075 20402 GM SATURN PEEL-TYPE RIVET 1/4 DIA 3/16-1/4 GRIP

99-8076 23942 PUSH NUT FOR NON-THREADED 5MM STUD 24MM 0.D.

99-8077 14359 MAZDA ROD END CLIP HOLDS 4MM RODS

99-8079 23943 TOYOTA DOOR PANEL PUSH-TYPE RETAINER

99-8081 11704 GRILLE PUSH-TYPE RETAINER - CHRYSLER 15 25 +10
99-8082 23263 WEATHER PACK IN-LINE 2-WAY TOWER HARNESS CONNECTOR

99-8083 23187 WEATHER PACK IN-LINE 3-WAY SHROUD HARNESS CONNECTOR

99-8084 23264 WEATHER PACK IN-LINE 3-WAY TOWER HARNESS CONNECTOR

99-8085 23125 WEATHER PACK IN-LINE 4-WAY SHROUD HARNESS CONNECTOR

99-8086 23188 WEATHER PACK IN-LINE 4-WAY TOWER HARNESS CONNECTOR

99-8087 23126 WEATHER PACK IN-LINE 6-WAY SHROUD HARNESS CONNECTOR

99-8088 23189 WEATHER PACK IN-LINE 6-WAY TOWER HARNESS CONNECTOR

30



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
99-8089 23944 CHRYSLER ADJUSTABLE WINDSHIELD STOP BLOCK
99-8090 23119 FORD EGR SENSOR HARNESS CONNECTOR
99-8092 19775 CHRYSLER TRIM PANEL RETAINER W/SEALANT
99-8093 20274 CHRYSLER DOOR PANEL RETAINER USE W/20275
99-8094 20275 CHRYSLER DOOR PANEL GROMMET 19MM HEAD DIA
99-8095 20245 FORD SCREW GROMMET 10MM X 10MM HEAD M4.2 SCREW SIZE
99-8097 21177 GM MOULDING CLIP
99-8099 N/A RETAINER Discontinued
99-8100 19742 TOYOTA FENDER LINING GROMMET 18MM HEAD DIA. 10 15 +5
99-8101 19721 TOYOTA SCREW GROMMET, #12 SCREW SIZE
99-8102 23945 TOYOTA FENDER APRON NYLON U-NUT
99-8103 20908 TOYOTA PUSH-TYPE RETAINER
99-8104 20425 FORD SCREW GROMMET M4.2 10MM X 10MM HEAD SIZE
99-8105 N/A SPACER Discontinued
99-8106 23127 GM & ISUZU BACK-UP, LICENSE PLATE, MARKER, PARK,
TURN SIGNAL LAMP HARNESS CONNECTOR

99-8109 19777 DUO-DRIVE TRUSS HEAD L.P SCREW 14MM HEAD DIA
99-8110 23446 FORD TRIM PANEL RETAINER
99-8111 23447  GM HEADLINER, SIDE MARKER WIRING, AIR CLEANER HOUSING RETAINER
99-8112 20273 CHRY & FORD INT. TRIM/DASH/CONSOLE RETAINER
99-8113 23054 GM FUEL PUMP, HEADLAMP, BLOWER, ABS, HORN RELAY HARNESS CONNECTOR
99-8114 19850 FORD WEATHERSTRIP RETAINER NAT. NYLON
99-8117 19297 GM PUSH-TYPE RETAINER 16MM HD DIA 12MM LGTH 10 15 +5
99-8118 19892 GM RADIATOR SUPP. SIGHT SHIELD RETAINER 27MM HEAD DIA
99-8119 23448 GM ROCKER PANEL MOULDING CLIP
99-8120 20280 GM ROCKER PANEL MOULDING CLIP 7/8 WDTH 2 LGTH
99-8122 20843 FORD WIRE HARNESS CONNECTOR
99-8123 20356 CHRYSLER RUBBER GROMMET 15MM HEAD DIA 11MM STEM LGTH
99-8125 19816 CHRYSLER WINDSHIELD GLASS ADJ. SETTING BLOCK 5 10 +5
99-8126 23449 CHRYSLER WINDSHIELD & REAR WINDOW REVEAL MOULDING CLIP
99-8127 23190 GM IN-LINE WITH BRAKES, ENGINE, LAMPS,

WHEEL SPEED SENSOR HARNESS CONNECTOR
99-8128 20852 FORD WIRE HARNESS CONNECTOR RADIATOR COOLING
99-8129 23191 FORD FUEL GAGE SENSOR HARNESS CONNECTOR
99-8130 23192 FORD FUEL PUMP HARNESS CONNECTOR
99-8131 20845 FORD WIRE HARNESS CONNECTOR CAM SHAFT & CRANKSHAFT SENSOR
99-8134 20373 PHILLIPS OVAL HEAD TAP SCREW 8 X 3/4 10 HEAD CHROME
99-8135 23193 FORD TRANSMISSION SOLENOID HARNESS CONNECTOR
99-8136 20383 TOYOTA SPECIALTY RIVET 5/32 DIA 1/16-1/4 GRIP ALUM
99-8137 19734 ACURA & HONDA BUMPER GROMMET #10 SCREW SIZE 10 15 +5
99-8138 20411 HONDA WNDSHLD GRNSH PILLAR RETAINER 12MM STEM LGTH
99-8139 20829 CHRYSLER TRIM PANEL RETAINER BLACK NYLON
99-8140 19849 FORD BUMPER PUSH-TYPE RETAINER 18MM HEAD DIA
99-8141 20400 FORD RADIATOR GRILLE CLIP 11/32 WDTH 1-9/32 LGTH
99-8142 23946 FORD HEADLAMP HOUSING ADJUSTING NUT
99-8143 23194 FORD RUNNING BOARD LIGHT, EVAPORATOR SOLENOID HARNESS CONNECTOR
99-8144 23195 FORD RUNNING BOARD LIGHT SOCKET
99-8146 20367 FORD PUSH-TYPE RETAINER 18MM HEAD DIA
99-8147 20381 HONDA, NISSAN, MITSU TRIM CLIP 16MM HEAD DIA
99-8148 23947 TOYOTA COWL VENT GROMMET
99-8149 23948 TOYOTA COWL RETAINER
99-8150 20848 FORD WIRE HARNESS CONNECTOR REAR LAMP ASSEMBLY
99-8151 23450 TOYOTA LUGGAGE COMPARTMENT TRIM RETAINER
99-8152 20341 VOLKSWAGEN DOOR TRM PNL RETAINER 22MM HD DIA
99-8153 20179 CHRYSLER DOOR TRIM PNL NYLON NUT M4.2 SCRW SIZE 50 25 -25
99-8154 20189 GM FORD & CHRYSLER RETAINER BLACK NYLON
99-8158 20561 FORD BRAKE LIGHT SWITCH HARNESS CONNECTOR
99-8162 23451 VOLVO ROCKER PANEL PUSH-TYPE RETAINER
99-8163 20407 VOLVO PUSH-TYPE RETAINER 8MM X 25MM HD SIZE
99-8164 23949 VOLVO HOOD & TRUNK INSULATOR RETAINER
99-8165 23950 VOLVO FRONT BUMPER SCREW GROMMET
99-8167 20281 GM BUMPER FASCIA RETAINER 25 15 -10
99-8169 12667 EXTRUDED U NUT M8-1.25 SCREW SIZE
99-8170 20412 TOYOTA FENDER LINER SCREW GROMMET 18MM HEAD DIA
99-8171 23452 GM & TOYOTA GRILLE, INTERIOR TRIM RETAINER WITH SEALER
99-8173 19843 TOYQOTA GARNISH CLIP 20MM HEAD DIA 20MM STEM LGTH
99-8174 23560 TOYOTA FRONT FENDER FLARE SCREW GROMMET
99-8177 20205 MERCEDES MOULDING INSERT 11.5MM HEAD DIA 12MM STEM
99-8178 13144 MOULDING INSERT BLUE NYLON
99-8181 20659 MERCEDES-BENZ MLDNG INSERT 6MM STM 7MM HEAD DIA 50 15 -35
99-8182 20638 MERCEDES-BENZ PUSH TYPE RETAINER 14MM STEM
99-8183 23453 VW BUMPER & SPLASH SHIELD PUSH-TYPE RETAINER
99-8184 20187 MERCEDES PUSHTYPE RETAINR 10MM HEAD DIA 10MM STEM 50 15 -35
99-8185 23951 BMW SCUFF PLATE RETAINER
99-8186 20656 MERCEDES-BENZ ROCKER PNL RETAINER 28MM STEM 25 10 -15

31



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
99-8187 23228 MERCEDES COWL VENT NYLON NUT
99-8190 23952 BMW COWL VENT RETAINER
99-8192 20734 PUSH TYPE RETAINER BLACK NYLON - BMW
99-8193 23454 BMW BUMPER TRIM PUSH-TYPE RETAINER
99-8194 21423 BMW WINDOW REGULATOR GUIDE
99-8195 23536 GM WEATHERSTRIP CLIP
99-8197 20365 GM COWL VENT RETAINER 18MM HEAD DIA 13MM STEM LGTH
99-8198 20359 GM BMPR CVR RETAINER 18MM HEAD DIA 26MM STEM LGTH
99-8199 20265 GM RADIATOR SUPPORT RETAINER 1 HEAD DIA 1 STEM LT 15 10 -5
99-8200 23953 FORD HEADLAMP ADJUSTING NUT
99-8201 N/A NUT Discontinued
99-8202 24148 FORD HEADLAMP ADJUSTING PIVOT
99-8204 23093 GM BLOWER MOTOR, DOOR LOCK, POWER WINDOW
HARNESS CONNECTOR KIT

99-8207 20627 TOYOTA SPEC. RIVET 1/8 DIA 3/64-3/16 GRIP ALUM/STEEL
99-8208 20628 TOYOTA SPEC. RIVET 1/8 DIA 5/32-5/16 GRIP ALUM/STEEL
99-8209 20834 TOYOTA SPECIALTY RIVET ALUMINUM & STEEL
99-8210 20408 GM DOOR & ROCKER PNL MOULDING CLIP 8MM STEM LGTH
99-8211 23196 GM & UNIVERSAL 5 BLADE RELAY HARNESS CONNECTOR
99-8212 23265 GM WINDOW LIFT MOTOR HARNESS CONNECTOR
99-8214 20268 GM GARNISH MOULDING FASTENER 1/2 WDTH 5/8 HEIGHT
99-8215 23455 GM & CHRY WINDSHIELD GARNISH,

SIDE DR GARNISH MLDG & LIFTGATE TRIM PANEL FASTENER
99-8216 20366 FORD FENDER LINER & MUDFLAP RETAINER
99-8217 20393 FORD DOOR PANEL GROMMET M4.2 SCRW SIZE 20MM STEM
99-8218 23456 TOYOTA FENDER LINER SCREW GROMMET
99-8219 23457 ACURA FRONT COWL RETAINING CLIP
99-8220 20472 HONDA TUBULAR NUT 3MM STUD SIZE 8.5MM HEAD DIA
99-8221 21107 ACURA & HONDA RETAINER
99-8224 20362 GM BUMPER FASCIA RETAINER
99-8225 23954 GM FRONT AUXILLARY LAMP MOUNTING & PIVOT PUSH-TYPE RETAINER
99-8226 20279 GM TRIM PANEL RETAINER WITH SEALER 15 10 -5
99-8228 23266 GM HEADLAMP SWITCH HARNESS CONNECTOR
99-8229 19004 FORD TRANSMISSION MLP SENSOR HARNESS CONNECTOR
99-8230 19379 GM MOULDING CLIP 9/16 STEM LGTH FITS 7/16 HOLE
99-8231 19381 GM MOULDING CLIP 9/16 STEM LGTH FITS 7/16 HOLE
99-8233 19390 GM REAR SIDE DOOR LOWER MOULDING CLIP
99-8234 20464 ROCKER PNL/FENDER FLARE RETAINER 41MM TOTAL LGTH
99-8235 23955 FORD COWL VENT RETAINER PIN
99-8236 19639 GM PUSH-TYPE RETAINER 17MM HEAD DIA 16MM STEM LGTH
99-8237 20457 CHRYS. TAIL LGHT HOUSING RETAINER 23MM STEM LGTH
99-8238 20466 SCREW GROMMET WITH SEALER 13MM X 22MM HEAD SIZE
99-8239 20468 TRIM PANEL GROMMET 17MM HEAD DIA 12MM STEM LGTH
99-8242 21025 MITSUBISHI GROMMET BLACK NYLON
99-8244 23458 GM ROCKER PANEL MOULDING CLIP WITH SEALER
99-8245 23956 GM REAR WINDOW REVEAL MOULDING CLIP
99-8246 23459 EXTRUDED U-NUT M4.2-1.41 SCREW RANGE 0.5-2.0MM - ZINC
99-8248 21000 FORD MOULDING CLIP
99-8249 23957 FORD CRANKCASE VENTILATION HOSE TO VALVE COVER CONNECTOR
99-8250 20565 CHRYS. & MITSU. BMPR GROMMET 24MM HEAD DIA 21MM STEM
99-8251 20458 CHRYSLER PUSH-TYPE RETAINER 20MM HEAD DIA
99-8252 20318 GM ROCKER PANEL CLIP 7/8” WIDTH 2” LENGTH
99-8253 23198 CHRYSLER CAM & CRANK SHAFT SENSORS, IGNITION COIL

HARNESS CONNECTOR

99-8255 20338 GM DOOR TRIM PANEL RETAINER WHITE NYLON
99-8256 20514 WIRING HARNESS CLIP 9MM X 37MM HEAD SIZE GRAY
99-8258 19854 SATURN DOOR HANDLE RETAINER 7MM HEAD DIA 50 25 -25
99-8260 20474 LARGE FLANGE ALUMINUM RIVET 1/8 DIA 3/8-1/2 GRIP
99-8261 23199 GM & FORD FUEL INJECTOR HARNESS CONNECTOR
99-8264 20526 CHRYSLER RAD. GRILLE COVER CLIP 26MM X 26MM
99-8265 23460 FORD COWL GRILLE, LOWER RADIATOR COVER PUSH-TYPE RETAINER
99-8266 21176 GM PUSH-TYPE RETAINER BLACK NYLON
99-8267 20353 GM ROCKER PANEL MOULDING CLIP 9/16 STEM LGTH
99-8268 20521 GM ROCKER PANEL MOULDING CLIP 9/16 STEM LGTH
99-8271 18461 SPLIT-TYPE RIVET 5/32 DIA. 3/64-1/4 GRIP ALUM.
99-8272 20399 FORD HOOD INSULATION RETAINER
99-8273 21361 GM & NISSAN PUSH TYPE RETAINER
99-8274 19643 TOYOTA XMAS TREE RETAINER 16MM HEAD DIA 16MM STEM LGTH
99-8275 20349 NISSAN & TOYOTA PUSH-TYPE RETAINER
99-8277 23461 GM DOOR PANEL EXTRUDED NUT
99-8278 23200 FORD LICENSE PLATE & SIDE MARKER LIGHT SOCKET ASSEMBLY
99-8279 21120 TOYOTA PUSH TYPE RETAINER
99-8280 23958 TOYOTA COWL VENT PUSH-TYPE RETAINER
99-8281 23959 TOYOTA COWL VENT PUSH-TYPE RETAINER
99-8282 20473 TOYOTA MOULDING RETAINER 20MM TOTAL LGTH

32



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
99-8283 19842 TOYOTA ROCKER PANEL CLIP 18MM HEAD DIA 22MM STEM
99-8284 23462 MAZDA MUD GUARD PUSH-TYPE RETAINER
99-8285 20579 MAZDA COWL VNT GROMMET 12MM X 22MM HEAD 13MM STEM
99-8286 23463 JEEP ROCKER PANEL & BUMPER FASCIA CLIP
99-8287 20700 MOULDING CLIP BLACK NYLON - CHRYSLER 10 25 +15
99-8288 20360 GM ENGINE COMPARTMENT & FRONT END RETAINER
99-8290 23960 ALUMINUM SEALING WASHER 14MM I.D. 22MM 0.D.
99-8301 23961 GEO COWL VENT RETAINER
99-8302 23962 GEO COWL VENT RETAINER
99-8303 20348 NISSAN & FORD PUSH-TYPE RETAINER 20MM HEAD DIA
99-8305 18938 GM SPECIALTY RIVET 1/4 DIA. 1/16-1/4 GRIP
99-8306 19514 GM SPLIT-TYPE RIVET 3/16 DIA. 3/64-15/64 GRIP ALUM.
99-8307 19515 GM ALUMINUM/STEEL RIVET 3/16 DIA. 3/16-3/8 GRIP
99-8308 23464 SLOTTED HEX WASHER HEAD LICENSE PLATE SCREW

#14 X 3/4 - BLACK E-COAT
99-8309 23201 FORD BRAKE SWITCH, PARKING LAMP, AIR BAG SENSOR

HARNESS CONNECTOR

99-8310 23963 FORD WINDSHIELD STOP BLOCK
99-8311 23202 FORD MANUAL LEVER POSITION SENSOR HARNESS CONNECTOR
99-8312 23098 FORD ALTERNATOR HARNESS CONNECTOR
99-8313 23465 FORD, KIA & MAZDA TRIM PANEL RETAINER
99-8314 20581 CHRYS. & MITSU. GROMMET 16MM HEAD DIA 20MM STEM LGTH
99-8315 20580 CHRY. & MITSU. PUSH-TYPE RETAINER 12MM STEM LGTH
99-8316 23466 HONDA & MITSUBISHI FENDER & BUMPER PUSH-TYPE RETAINER
99-8317 23203 FORD HEADLAMP SWITCH HARNESS CONNECTOR
99-8318 20516 FORD PUSH-TYPE RETAINER 20MM HEAD DIA 13MM STEM
99-8319 20427 CHRYSLER TRIM PANEL RETAINER GRAY & WHITE NYL
99-8320 20515 DOOR TRIM PANEL RETAINER YELLOW & WHITE NYLON
99-8321 20541 CHRYSLER HEADLINER RETAINER TAN NYLON
99-8322 20428 CHRYSLER TRIM PANEL RETAINER GREEN & WHITE NYL
99-8323 20363 FORD DOOR TRIM PANEL RETAINER 32MM OVERALL LGTH
99-8324 19410 GM FRONT & REAR DOOR LOWER MOULDING CLIP
99-8325 N/A RETAINER Discontinued
99-8327 23467 TOYOTA FENDER MOULDING CLIP
99-8328 23468 TOYOTA FENDER MOULDING CLIP
99-8329 20234 BMW SCUFF PLATE RETAINER 15MM HD DIA 15MM STM LGTH
99-8330 20254 BMW COWL PANEL MOULDING INSERT 13MM HD DIA 100 50 -50
99-8331 20253 BMW TRIM PANEL RETAINER 9MM STEM DIA 15MM STEM LGTH
99-8333 23267 FORD ABS, AIR RIDE COMPRESSOR, ANTI-SKID RELAY HARNESS CONNECTOR
99-8334 20853 FORD WIRE HARNESS CONNECTOR
99-8335 12324 6-1.0 X 20MM HEX WASHER HD - PHOSPHATE
99-8336 23204 FORD THROTTLE POSITION SENSOR HARNESS CONNECTOR
99-8337 23268 GM OXYGEN SENSOR HARNESS CONNECTOR
99-8338 18950 TOYOTA GARNISH RETAINER 20MM OVERALL LGTH 15 5 -10
99-8339 20604 NISSAN SCREW GROMMET W/SLR 20MM HEAD DIA 15MM STM
99-8340 20196 TOYOTA ROCKER PANEL RETAINER 14MM HEAD DIA 8MM STEM
99-8341 20669 NISSAN TRIM PANEL RETAINER 15MM STM LGTH 15 25 +10
99-8342 21414 NISSAN RETAINER 15 25 +10
99-8343 19468 INFINITI HOOD INSULATION RETAINER 28MM HEAD DIA.
99-8344 21619 NISSAN MOULDING CLIP 10 15 +5
99-8346 20452 GM SCREW GROMMET 5/8-3/4 HEAD SZ 9/16 STEM LGTH
99-8347 20530 FORD RADIATOR SHROUD RETAINER 20MM HEAD DIA
99-8348 20531 FORD BUMPER COVER RETAINER
99-8349 20532 FORD BUMPER COVER GROMMET 15MM HD DIA 21MM STEM
99-8350 20528 GM BUMPER COVER RETAINER
99-8351 20525 CHRYSLER HDLGT MNTNG GROMMET 16MM X 22MM HEAD
99-8352 23238 GM ABS WHEEL SPEED SENSOR HARNESS CONNECTOR
99-8353 20527 GM LAMP HOUSING GROMMET 24MMX24MM HD 17MM STEM
99-8354 20529 GM LAMP HOUSING GROMMET 13MMX20MM HD 17MM STEM
99-8355 20576 GM & TOYOTA FENDER FLARE RETAINER 13.5MM LGTH
99-8356 20559 TOYOTA RETAINER 18MM TOTAL LGTH
99-8357 20577 GM, TOYOTA & LEXUS PUSH-TYPE RETAINER 8MM STEM
99-8358 20578 GM & TOYOTA ROCKER PNL MLDNG RETAINER 10MM STEM
99-8359 20575 TOYOTA & LEXUS MLDNG RETAINER 20MM TOTAL LGTH
99-8360 23469 GM & TOYOTA ROCKER MOULDING, TRIM BOARD RETAINER
99-8361 20482 FORD FUEL LINE RETAINER CLIP FOR 5/16 FUEL LINE
99-8362 20483 FORD FUEL LINE RETAINER CLIP FOR 3/8 FUEL LINE
99-8363 20542 GM SATURN PUSH-TYPE RETAINER 16.5MM HD DIA
99-8365 23964 GM UNIVERSAL MOULDING FASTENER USE W/BARREL NUTS
99-8366 23099 SEALED FUSE HOLDER FOR ATM BLADE TYPE FUSES
99-8368 21059 ACURA & HONDA RETAINER - BLUE NYLON
99-8369 20386 HONDA WINDSHIELD MOULDING CLIP 23MM X 63MM 25 10 -15
99-8372 N/A RETAINER Discontinued
99-8373 20869 TOYOTA PUSH-TYPE RETAINER-BLACK NYLON
99-8374 N/A RETAINER Discontinued

33



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
99-8375 18861 TOYOTA SCUFF PLATE RETAINER 17MM OVERALL LGTH 25 15 -10
99-8376 20558 TOYOTA RETAINER 17MM TOTAL LGTH
99-8377 20632 GM & FORD PUSH-TYPE RETAINER 20MM HD DIA 26MM STM LGTH
99-8378 21428 GM SPECIALTY GROMMET
99-8381 20851 FORD WIRE HARNESS CONNECTOR ALTERNATOR
99-8384 20616 GM DOOR PANEL RETAINER W/ SEALER WHITE NYLON
99-8387 21182 BLK NYLON L.P SCREW
99-8388 19757 GM ROCKER PANEL MOULDING CLIP 11/16 X 1-5/16 HD SZ
99-8391 23470 CHRYSLER SPLIT-TYPE RIVET 5/32 DIA.
99-8392 N/A RETAINER Discontinued
99-8394 23552 GM DOOR PANEL RETAINER & GROMMET
99-8395 20563 CHRYSLER TRIM PANEL RETAINER 25 15 -10
99-8396 23269 FORD WASHER PUMP, IAC VALVE HARNESS CONNECTOR
99-8397 23471 TOYOTA WEATHERSTRIP RETAINER
99-8398 19506 ACURA & HONDA TRNK LINING RETAINER 16MM HEAD DIA 50 15 -35
99-8399 18688 GM HEADLINING TRIM FINISH PANEL RETAINER 25 50 +25
99-8400 18277 FORD ROOF TRIM PANEL & GARNISH RETAINER-GRAY
99-8401 20615 GM FENDER LINER RETAINER
99-8402 20774 MOULDING CLIP - GM
99-8404 20392 FORD MOULDING CLIP 3/4 HEAD DIA 15/32 STEM LGTH 15 10 -5
99-8405 23965 GM SIDE MOULDING CLIP
99-8406 12351 6.3-1.81 X 20MM HEX WASH HD SEMS - BLK.PHOS. 100 50 -50
99-8407 23472 HEX HEAD SEMS T.S. M6.3-1.81 - BLACK
99-8409 21195 GM WINDSHIELD SETTING BLOCK BLACK NYLON
99-8410 23966 CHRYSLER FENDER APRON, HOOD INSULATOR RETAINER
99-8411 20623 CHRYSLER COWL SCREEN RETAINER 25MM HD DIA
99-8412 20625 FORD HEADLINER RETAINER TAN NYLON
99-8413 20624 FORD FENDER FLARE RETAINER BLACK NYLON
99-8414 20771 RETAINER - CHRYSLER
99-8415 23967 CHRYSLER REAR VIEW MIRROR MOUNTING BRACKET
99-8416 15545 BUMPER BOLT STAINLESS STEEL CAP 1/4-20 X 3/4 15 25 +10
99-8417 22183 CHRYSLER WIRE HARNESS CONNECTOR
99-8418 18921 CHRYSLER SIGNAL/PARK/BACKUP LGHT SOCKET ASSY
99-8419 18920 CHRYSLER BACK-UP LIGHTS SOCKET ASSEMBLY
99-8420 9749 WINDOW REVEAL MOULDING CLIP
99-8424 9633 WINDOW REVEAL MOULDING CLIP 50 100 +50 Finish difference
99-8425 9275 WINDOW REVEAL MOULDING CLIP
99-8426 23205 FORD WIPER MOTOR HARNESS CONNECTOR
99-8427 23206 FORD PFE, EGR SENSOR HARNESS CONNECTOR
99-8428 15037 WHEEL MOULDING SCREW #8 X 7/16
99-8429 23128 FORD MARKER, SIGNAL, LICENSE, BACK UP & LIFT GATE

LAMP SOCKET HARNESS CONNECTOR
99-8430 20190 FORD TRIM PANEL RETAINER CARAMEL/NATURAL NYLON
99-8431 20622 CHRYSLER HEADLINER RETAINER YELLOW & WHITE
99-8433 20614 NISSAN COWL RETAINER 10MM X 18MM HEAD SZ 13MM STM
99-8434 20613 NISSAN FRONT BUMPER RETAINER 18MM HEAD DIA 20MM STM
99-8435 20671 NISSAN TRIM PANEL RETAINER 20MM HEAD DIA 15MM STEM
99-8436 20672 NISSAN COWL VENT RETAINER 13MM STEM LGTH
99-8437 23968 FORD DOOR LOCK BUTTON GROMMET
99-8440 20630 FORD DOOR LATCH GUIDE 23MM WDTH 36MM LGTH
99-8441 20611 HONDA COWL VENT RETAINER 7MM STEM LENGTH
99-8442 20612 HONDA COWL GROMMET 10MM X 24MM FLANGE 6MM STEM
99-8443 20609 HONDA HOOD INSUL. RETAINER 30MM HEAD DIA 6MM STEM
99-8444 23474 TOYOTA FENDER & WHEEL FLARE MOULDING CLIP
99-8445 20608 HONDA PUSH-TYPE RETAINER
99-8446 20387 HONDA WINDSHIELD MOULDING CLIP 17MM X 50MM 15 10 -5
99-8447 21793 GM MOULDING CLIP WITH SEALER
99-8448 20631 GM FRNT BMPR COVER RETAINER 18MM HEAD DIA 26MM STM
99-8449 20326 GM DOOR MOULDING TRIM CLIP 9/16 X 3/4 HEAD SIZE
99-8450 20545 FORD PUSH-TYPE RETAINER 18MM HEAD DIA 18MM STEM
99-8451 23100 FORD LICENSE, SIDE MARKER & BACK UP SOCKET
99-8452 23129 FORD PARK, SIDE MARKER & BACK UP SOCKET
99-8455 21007 U-TYPE NUT SPRING STEEL PHOSPHATE
99-8457 23088 GM WIRE LOOM ROUTING CLIP .413/.500 I.D.
99-8458 23089 GM WIRE LOOM ROUTING CLIP .625 I.D.
99-8460 20879 MERCEDES BENZ RETAINER - GREEN NYLON
99-8461 20735 PANEL RETAINER-BLACK NYLON - MERCEDES BENZ
99-8462 20736 SCREW GROMMET NATURAL NYLON - NISSAN
99-8467 20667 CHRYSLER COWL VENT GROMMET 14MM X 20MM HEAD SZ
99-8468 20663 FORD ROCKER PNL MLDNG CLIP 11MM STEM 14MM X 40MM HEAD
99-8469 23561 FORD SPECIALTY RIVET M3.2 DIA.
99-8470 23207 FORD GLOW PLUG PASS THRU AT VALVE COVER GASKET

HARNESS CONNECTOR

99-8471 18484 BLACK NYLON LIC. PLATE SCREW & NUT 1/4-20 X 5/8 50 25 -25
99-8472 23475 HYUNDAI & KIA NYLON HOOD INSULATION RETAINER

34



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
99-8473 21068 HYUNDAI NYLON NUT
99-8474 23969 MERCEDES COWL COVER RETAINER
99-8475 20567 HYUNDAI BODY SIDE MOULDING CLIP W/SLR 10MM STM
99-8476 21064 HYUNDAI MOULDING CLIP - YELLOW NYLON
99-8477 20568 HYUNDAI ROCKER PANEL CLIP W/SLR 10MM STEM LGTH
99-8478 23476 HYUNDAI & KIA HEADLIGHT ASSEMBLY GROMMET
99-8479 21696 HONDA COWL CLIP
99-8481 23208 FORD A/C COMPRESSOR CLUTCH & RADIO ANTENNA

HARNESS CONNECTOR
99-8482 23970 GM SPLIT-TYPE RIVET 5/32 DIA. .197 - .472 GRIP
99-8483 21687 LEXUS TOYOTA AND SCION U TYPE NUT 10 15 +5
99-8484 23971 CHRYSLER & MITSUBISHI INTERIOR TRIM SCREW GROMMET
99-8485 23972 CHRYSLER & MITSUBISHI INTERIOR TRIM RETAINER
99-8486 15862 TYPE G MINIATURE HOSE CLAMP 13.5 - 16MM 25 10 -15
99-8487 24176 HEX HEAD SEMS T.S. M4.8-1.61 X 16MM - BLACK
99-8488 24172 HEX HEAD SEMS T.S. M4.8-1.61 X 19MM - BLACK
99-8489 20836 FORD WINDSHIELD SETTING BLOCK BLACK NYLON
99-8490 20761 FORD XMAS TREE RETAINER
99-8491 23973 GM SPECIALTY RIVET 1/8 DIA. .157 - .312 GRIP
99-8492 21111 NISSAN SCREW GROMMET
99-8493 20764 NISSAN SCREW GROMMET
99-8494 20953 NISSAN & INFINITI PUSH-TYPE RETAINER
99-8495 20256 NISSAN SPLSH SHLD RETAINR 15MM HEAD DIA 14MM STEM 25 50 +25
99-8496 20769 CHRYSLER TAIL LAMP RETAINER
99-8497 18168 GM RIVET 3/16 DIA. 1/4-3/8 GRIP ALL STEEL
99-8498 20766 CHRYSLER PUSH TYPE RETAINER
99-8499 18302 GM WEATHERSTRIP RETAINER
99-8501 20757 TOYOTA PIN RETAINER
99-8502 20758 TOYOTA FENDER & BUMPER COVER CLIP
99-8503 21070 HYUNDAI, KIA, & GM RETAINER-WHITE NYLON
99-8504 21067 HYUNDAI RETAINER
99-8507 21066 HYUNDAI & KIA NYLON NUT
99-8508 23055 FORD BACK UP & STOP LAMP SOCKET ASSEMBLY
99-8509 23056 HALOGEN HEADLIGHT HARNESS CONNECTOR
99-8510 20933 VOLKSWAGEN SCREW GROMMET
99-8511 20645 MERCEDES CARPET RETAINER FITS 5MM STUD
99-8512 21376 CHRYSLER PUSH TYPE RETAINER 15 10 -5
99-8513 20768 CHRYSLER PUSH TYPE RETAINER
99-8514 20763 CHRYSLER MOULDING CLIP
99-8515 20760 CHRYSLER WEATHERSTRIP CLIP
99-8516 20739 PUSH-TYPE RETAINER BLACK NYLON - CHRYSLER
99-8517 23477 TOYOTA FENDER LINER PUSH-TYPE RETAINER
99-8518 20765 CHRYSLER TRIM PANEL RETAINER
99-8519 20755 MAZDA PUSH TYPE RETAINER
99-8520 21044 MERCEDES BENZ PUSH TYPE RETAINER
99-8521 23974 MERCEDES BACKGLASS MOULDING PUSH-TYPE RETAINER
99-8522 23057 FORD OIL PRESSURE SWITCH HARNESS CONNECTOR KIT
99-8523 20862 MOULDING CLIP FORD
99-8524 20770 WEATHERSTRIP RETAINER - FORD
99-8525 19682 HONDA HOOD SEAL RETAINING CLIP 11MM HEAD DIA
99-8526 24163 PHILLIPS PAN HD LICENSE PLATE SCREW M6-1.0 X 16MM
99-8527 20665 GM WIRE LOOM ROUTING CLIP 19MM I.D. 24MM 0.D. 25 15 -10
99-8529 20738 HEADLIGHT CLIP - TOYOTA 5 4 -1
99-8530 23101 FORD BACK UP LAMP SOCKET
99-8531 23102 FORD PARK, TURN SIGNAL, TAIL & SIDE MARKER LAMP SOCKET
99-8532 23058 FORD STRAIGHT LAMP SOCKET BASE HARNESS CONNECTOR
99-8533 23059 FORD STRAIGHT LAMP SOCKET BASE HARNESS CONNECTOR
99-8534 23060 FORD STRAIGHT LAMP SOCKET BASE HARNESS CONNECTOR
99-8535 23061 FORD STRAIGHT LAMP SOCKET BASE HARNESS CONNECTOR
99-8536 23103 FORD BACK UP, STOP/TURN/TAIL LAMP SOCKET
99-8537 23104 FORD BACK UR, STOP/TURN/TAIL LAMP SOCKET
99-8538 23105 FORD SIGNAL LAMP SOCKET, USE W/23058 HARNESS
99-8539 23106 FORD BACK UP, PARK/TURN, STOP/TURN/TAIL LAMP SOCKET,

USE W/23061 HARNESS
99-8540 24192 FORD PARK/TURN, STOP/TURN/TAIL LAMP SOCKET
99-8544 20825 GM MOULDING CLIP 10 15 +5
99-8545 20817 FORD MOULDING CLIP
99-8547 20188 MERCEDES TRIM PANEL RETAINER 11MM STEM LGTH 15 10 -5
99-8548 20314 MERCEDES PUSH-TYPE RETAINER 13MM HEAD DIA 14MM STEM
99-8549 23975 BLIND RIVET 3/32 DIA. .098 MAX GRIP - ALUMINUM
99-8550 20890 CHRYSLER PUSH-TYPE RETAINER - BLACK & NAT NYLON
99-8551 20893 GM & FORD XMAS TREE RETAINER-BLACK NYLON
99-8552 20826 GM PUSH-TYPE RETAINER BLACK NYLON
99-8553 20892 GM PUSH-TYPE RETAINER
99-8554 20327 NISSAN BMPR FASCIA RETAINER 18MM HD DIA 22M ST 15 10 -5

35



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional

Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference

99-8555 23478 TOYOTA WHEEL FLARE MOULDING CLIP WITH SEALER

99-8556 23479 TOYOTA ROCKER MOULDING CLIP WITH SEALER

99-8557 20881 GM RETAINER - WHITE NYLON

99-8558 20863 GM PUSH-TYPE RETAINER - BLACK NYLON

99-8559 19800 GM ROCKER PANEL MOULDING CLIP 15/32 X 1-5/16 HD

99-8560 21081 DUO-DRIVE TRUSS HEAD L.P SCREW

99-8561 24160 WINDOW LIFT MOTOR MOUNTING RETAINER

99-8563 20924 VOLKSWAGEN SCREW GROMMET

99-8564 20925 VOLKSWAGEN & AUDI SCREW GROMMET

99-8565 13467 FIREWALL INSULATION RETAINER BLACK NYLON 50 25 -25

99-8566 20887 CHRYSLER MOULDING CLIP - GRAY NYLON

99-8568 20827 CHRYSLER MOULDING CLIP WHITE NYLON

99-8569 20828 CHRYSLER MOULDING CLIP BLACK NYLON

99-8570 21290 GM RETAINER & LOCK RING KIT

99-8571 20775 MOULDING CLIP - GM 25 15 -10

99-8572 23480 GM ROCKER PANEL MOULDING CLIP WITH SEALER

99-8573 20885 GM MOULDING CLIP - GRAY NYLON

99-8574 20633 TOYOTA TRIM PANEL RETAINER 20MM TOTAL LGTH

99-8575 20878 TOYOTA XMAS TREE RETAINER - BLACK NYLON

99-8576 20931 TOYOTA PUSH TYPE RETAINER

99-8577 20956 LEXUS & TOYOTA NYLON “U” NUT

99-8578 20880 GM PUSH-TYPE RETAINER - BLACK NYLON

99-8579 20889 GM PUSH-TYPE RETAINER - BLACK NYLON

99-8580 20888 GM PUSH-TYPE RETAINER - BLACK NYLON

99-8582 20936 FORD MOULDING CLIP

99-8583 20355 FORD FRONT END MOULDING CLIP 3/8 STEM LGTH

99-8584 23976 NYLON FLUSH HOLE PLUG 1/8 HOLE SIZE

99-8586 19136 VW WINDSHIELD REVEAL MOULDING CLIP 25 15 -10

99-8587 20955 LEXUS & TOYOTA PUSH-TYPE RETAINER

99-8588 20934 GM MOULDING CLIP

99-8589 20935 GM MOULDING CLIP

99-8590 20938 GM TAIL LIGHT GROMMET

99-8591 20942 FORD WINDSHIELD BLOCK-BLACK NYLON

99-8592 21210 UNIVERSAL HEADLAMP HARNESS CONNECTOR FOR H7 HALOGEN BULB

99-8593 21088 GM TRIM PANEL RETAINER-WHITE NYLON

99-8594 23130 GM BACK-UP & FOG LAMP SOCKET

99-8595 23131 GM PARKING, TURN SIGNAL AND TAIL LAMP SOCKET

99-8596 23132 GM BACK-UP, PARKING, TURN SIGNAL, STOP & TAIL LAMP SOCKET

99-8597 21862 MAZDA NYLON U-TYPE NUT

99-8598 N/A GROMMET Discontinued

99-8599 20958 MAZDA RETAINER

99-8600 20923 FORD & MAZDA PUSH TYPE RETAINER

99-8601 20910 HONDA PUSH TYPE RETAINER

99-8602 20959 ACURA & HONDA RETAINER

99-3603 20814 GM TRIM PANEL RETAINER

99-8605 20927 FORD NYLON NUT

99-3606 20926 FORD XMAS TREE RETAINER

99-8609 20860 GM GRILLE FASTENER

99-8610 20788 SPECIALTY RIVET - LEXUS 15 10 -5

99-8611 23481 LEXUS BLIND WITH PLASTIC CAP 1/8 DIA.

99-8612 23062 FORD INJECTOR/GLOW PLUG HARNESS CONNECTOR

99-8614 20943 GM PUSH-TYPE RETAINER-BLACK NYLON

99-8615 20983 MAZDA TRIM PANEL RETAINER

99-8617 20954 ACURA & HONDA GROMMET

99-8618 23482 HONDA COWL & GARNISH RETAINER

99-8619 20986 HONDA PUSH-TYPE RETAINER

99-8620 20984 MAZDA SCREW GROMMET

99-8621 23071 GM DATA LINK FOR 0BDII HARNESS CONNECTOR KIT

99-8622 20884 GM MOULDING CLIP - BLACK NYLON

99-8623 20962 CHRYSLER GROMMET

99-8625 21220 UNIVERSAL HEADLIGHT HARNESS CONNECTOR

99-8626 17415 CLOSED END RIVET 3/16 DIA. 1/8-1/4 GRIP ALUM & STEEL

99-8627 20944 GM TRIM PANEL RETAINER-GREEN NYLON

99-8628 20783 HONDA MOULDING CLIP - WHITE 15 10 -5

99-8629 20784 HONDA MOULDING CLIP - BLUE 15 10 -5

99-8630 20785 HONDA MOULDING CLIP - RED 15 10 -5

99-8631 23511 GM DOOR HINGE REPAIR KIT

99-8632 20883 GM MOULDING FASTENER

99-8634 24200 CHRYSLER LICENSE PLATE LAMP SOCKET ASSEMBLY

99-8635 18402 GM WEATHERSTRIP CLIP PHOSPHATE & GREEN Phosphate & Green
Finish, formerly Black Finish

99-8636 24169 FORD WEATHERSTRIP CLIP

99-8637 20985 BMW U-TYPE NUT

99-8638 20640 MERCEDES PUSH TYPE RETAINER 11MM STM LGTH 15 25 +10

99-8639 20639 MERCEDES-BENZ PUSH TYPE RETAINER 11MM STM 15 25 +10

36



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
99-8640 20641 MERCEDES-BENZ PUSH-TYPE RETAINER 15MM STM 5 10 +5
99-8642 20636 MERCEDES-BENZ PUSH TYPE RETAINER 10MM STM 10 15 +5
99-8643 N/A RETAINER Discontinued
99-8644 20651 BMW & MERCEDES CAGE NUT .5MM-1.7MM RANGE B 10 +5
99-8645 20977 FORD MOULDING CLIP

99-8647 20979 FORD MOULDING CLIP

99-8648 N/A RETAINER Discontinued
99-8649 20981 FORD MOULDING CLIP

99-8650 20982 CHRYSLER MOULDING CLIP

99-8651 17172 GM STOP/TAIL/TURN/PARK LIGHTS SOCKET ASSEMBLY

99-8652 23094  GM PARK/TURN, STOP/TAIL & TURN SIGNAL LAMP HARNESS CONNECTOR

99-8653 23075 GM BACK-UP & TURN SIGNAL LAMP HARNESS CONNECTOR

99-8654 21006 GM WIRE HARNESS CONNECTOR

99-8655 20964 CHRYSLER CLIP

99-8656 20970 GM FORD & CHRYSLER NYLON SCREW 22MM HEAD 0D, 34MM LENGTH

99-8657 20963 CHRYSLER PUSH-TYPE RETAINER

99-8658 20966 CHRYSLER PUSH-TYPE RETAINER

99-8659 20967 CHRYSLER PUSH-TYPE RETAINER

99-8660 20909 MERCEDES BENZ PUSH TYPE RETAINER

99-8661 14820 DASH PANEL NUT #8 SCREW SIZE

99-8662 N/A RIVET Discontinued
99-8663 23977 WASHER LOCK NUT M6-1.0 18MM DIA.

99-8664 20865 MOULDING CLIP-GM GRAY NYLON

99-8665 20995 GM DOOR PANEL RETAINER (PIN AND GROMMET)

99-8666 20996 GM DOOR PANEL RETAINER (PIN AND GROMMET)

99-8667 23553 GM DOOR PANEL RETAINER & GROMMET

99-8668 20998 GM DOOR PANEL RETAINER (PIN AND GROMMET)

99-8669 20999 GM DOOR PANEL RETAINER(PIN AND GROMMET)

99-8670 23209 HALOGEN HEADLIGHT SOCKET ASSEMBLY

99-8672 2896 THREAD CUTTING NUT 3/16 STUD SIZE 3/8 HEX

99-8673 20950 GM MOULDING CLIP 10 15 +5
99-8674 20951 GM MOULDING CLIP 10 15 +5
99-8675 23483 GM ROCKER PANEL MOULDING CLIP

99-8677 21015 TOYOTA & LEXUS SCREW GROMMET

99-8678 21012 RETAINER TOYOTA & LEXUS BLACK NYLON

99-8679 21016 TOYOTA FENDER & BUMPER CLIP BLUE NYLON

99-8680 19231 ACURA PUSH-TYPE RETAINER 18MM HEAD DIA.

99-8681 23484 HONDA GARNISH SIDE PROTECTOR PUSH-TYPE RETAINER

99-8682 20971 MERCEDES BENZ RIVET

99-8683 21090 GM RETAINER-BLACK NYLON

99-8684 20388 BMW COWL VENT RETAINER 20MM HD DIA 16MM STEM 25 50 +25
99-8685 21017 NISSAN & INFINITI “U” NUT WHITE NYLON

99-8687 21087 HONDA RETAINER-ORANGE NYLON

99-8688 20972 GM MOULDING CLIP

99-8690 21091 GM RETAINER-BLACK NYLON

99-8691 N/A GROMMET Discontinued
99-8692 20932 MAZDA TRIM PANEL RETAINER

99-8693 21086 MERCEDES-BENZ PUSH-TYPE RETAINER GRAY NYLON

99-8695 20989 GM & FORD PUSH-TYPE RETAINER

99-8696 20988 GM & CHRYS PUSH-TYPE RETAINER

99-8697 20990 GM & CHRYS PUSH-TYPE RETAINER

99-8698 20991 GM PUSH-TYPE RETAINER

99-8699 20992 GM PUSH-TYPE RETAINER

99-8700 20993 GM & FORD PUSH-TYPE RETAINER

99-8701 20994 GM PUSH-TYPE RETAINER

99-8702 23210 GM RELAY HARNESS CONNECTOR

99-8703 21020 FORD BUMPER COVER FASTENER, ZINC ORGANIC

99-8704 21033 GM WIRE HARNESS CONNECTOR

99-8705 21173 ACURA & HONDA PUSH-TYPE RETAINER BLACK NYLON

99-8706 23978 ACURA & HONDA COWL RETAINER

99-8708 23979 CAGE NUT M5-0.80 RANGE 2.4-3.2MM - BLACK

99-8710 23980 CAGE NUT M8-1.25 RANGE 1.6-2.4MM - BLACK

99-8711 21089 FORD PUSH TYPE RETAINER

99-8712 23133 FORD BLOWER MOTOR HARNESS CONNECTOR

99-8713 23063 GM, AMC & JEEP OXYGEN SENSOR HARNESS CONNECTOR

99-8714 15949 1-CAVITY CONNECTOR SHELL FOR MALE TERMINAL 10 25 +15
99-8715 15950 1-CAVITY CONNECTOR SHELL FOR FEMALE TERMINAL 10 25 +15
99-8716 15951 2-CAVITY CONNECTOR SHELL FOR MALE TERMINAL 10 25 +15
99-8717 15952 2-CAVITY CONNECTOR SHELL FOR FEMALE TERMINAL 10 25 +15
99-8718 15953 3-CAVITY CONNECTOR SHELL FOR MALE TERMINAL 10 15 +5
99-8719 15954 3-CAVITY CONNECTOR SHELL FOR FEMALE TERMINAL 10 15 +5
99-8720 18146 WEATHERPACK TERM. SHELL 4 WAY FLAT FEMALE 10 5 )
99-8721 18145 WEATHERPACK TERM. SHELL 4 WAY FLAT MALE

99-8722 18150 WEATHERPACK TERM.SHELL 5 WAY ROUND FEMALE

99-8723 18149 WEATHERPACK TERM. SHELL 5 WAY ROUND MALE




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
99-8724 18152 WEATHERPACK TERM. SHELL 6 WAY FLAT FEMALE
99-8725 18151 WEATHERPACK TERM. SHELL 6 WAY FLAT MALE 5 3 -2
99-8726 18148 WEATHERPACK TERM. SHELL 4 WAY SQUARE FEMALE 10 5 -5
99-8727 18147 WEATHERPACK TERM. SHELL 4 WAY SQUARE MALE
99-8728 18326 WEATHERPACK SEAL - USE W/ 14 GA PRIMARY WIRE 50 25 -25
99-8729 20618 GM WEATHERPACK CABLE SEAL USE W/18324 & 18325 50 25 -25
99-8730 14152 WEATHER PACK TERMINAL SEALS
99-8732 23981 HEX WSHR HD T.S. #10 X 3/4 - BLACK
99-8734 16964 MAP HARNESS CONNECTOR PIGTAIL - GM
99-8735 12966 GM MOULDING FASTENER
99-8736 20741 SPECIALTY RIVET ALL ALUMINUM BLACK - GM
99-8737 21129 GM MOULDING CLIP WHITE NYLON
99-8738 21124 GM SPECIALTY RIVET ALL STEEL 50 25 -25
99-8739 21130 GM MOULDING CLIP BLACK NYLON
99-8740 21126 FORD FUEL LINE CLIP - PINK NYLON
99-8741 21127 FORD FUEL LINE GCLIP - PINK NYLON
99-8742 21125 GM RETAINER BLACK NYLON
99-8743 23064 FORD SPEED SENSOR, RELAYS, SWITCHES, LAMPS,
PUMPS & MOTORS HARNESS CONNECTOR
99-8744 21128 GM MOULDING CLIP
99-8745 20891 GM MOULDING CLIP - YELLOW NYLON
99-8746 21071 TOYOTA BUMPER COVER CLIP
99-8747 21036 GM MOULDING CLIP
99-8748 21189 GM TRIM PANEL RETAINER
99-8749 21157 GM MOULDING CLIP - WHITE NYLON
99-8750 21161 GM MOULDING CLIP - GREEN NYLON
99-8751 21156 GM MOULDING CLIP - YELLOW NYLON
99-8753 21153 CHRYSLER MOULDING CLIP - BLACK NYLON
99-8754 21037 MERCEDES BENZ PUSH TYPE RETAINER BLACK NYLON
99-8755 21192 NISSAN & INFINITI PUSH-TYPE RETAINER BLACK NYLON
99-8756 23485 NISSAN COWL VENT & OUTSIDE MIRROR PUSH-TYPE RETAINER
99-8757 21198 FORD MOULDING CLIP
99-8758 21191 TOYOTA HEADLAMP GROMMET WHITE NYLON
99-8759 21155 CHRYSLER MOULDING CLIP - BLACK NYLON
99-8760 21154 CHRYSLER MOULDING CLIP - BLACK NYLON
99-8762 21145 VOLKSWAGEN RETAINER BLACK NYLON
99-8763 21082 TOYOTA SPECIALTY RIVET
99-8764 21201 TOYOTA & LEXUS PUSH-TYPE RETAINER BLACK NYLON
99-8765 21225 TOYOTA PUSH TYPE RETAINER - BLACK NYLON
99-8766 21230 FORD MOULDING CLIP WHITE NYLON
99-8767 21098 CHRYSLER & FORD PUSH TYPE RETAINER BLACK NYLON
99-8768 21172 FORD PUSH-TYPE RETAINER BLACK NYLON
99-8769 21174 FORD MOULDING CLIP
99-8770 21141 HONDA PUSH TYPE RETAINER BLACK & WHITE NYLON B 25 +20
99-8771 21085 NISSAN MOULDING CLIP-LIGHT BLUE NYLON 10 15 +5
99-8772 21202 FORD MOULDING CLIP BLUE NYLON
99-8773 21200 GM MOULDING CLIP BLACK NYLON
99-8774 20754 NYLON BLIND RIVET - BMW
99-8775 21199 FORD & GM RETAINER BLACK NYLON
99-8776 21151 LEXUS & TOYOTA SCREW GROMMET
99-8778 21187 CHRYSLER & GM BUMPER & GRILLE CLIP ZINC PLATED
99-8779 21224 FORD GROMMET BLACK NYLON
99-8780 21095 HONDA WINDSHIELD CLIP BLUE NYLON
99-8781 21096 HONDA WINDSHIELD CLIP WHITE NYLON
99-8782 23107 CHRYSLER PARK & TURN LAMP SOCKET
99-8783 21223 CHRYSLER MOULDING CLIP BLACK NYLON
99-8785 21114 GM SPECIALTY RETAINER 25 50 +25
99-8786 21148 FORD MOULDING CLIP WITH SEALER WHITE NYLON 10 15 +5
99-8787 21204 ACURA MOULDING CLIP 25 15 -10
99-8788 21557 ACURA & HONDA MOULDING CLIP WHITE NYLON
99-8789 21094 HONDA WINDSHIELD CLIP WHITE NYLON
99-8790 21322 SUBARU RETAINER
99-8791 18262 GM RADIATOR GRILLE RETAINER 15 25 +10
99-8792 21134 NISSAN PUSH TYPE RETAINER BLACK NYLON
99-8793 23982 CHRYSLER FRT. BUMPER, DOOR GLASS & GRILLE SNAP IN NUT
99-8794 21123 TOYOTA & LEXUS PUSH TYPE RETAINER BLACK NYLON
99-8795 21380 GM RETAINER
99-8796 21249 TOYOTA PUSH-TYPE RETAINER BLACK NYLON
99-8797 21254 TOYOTA RETAINER BLACK NYLON
99-8798 21103 TOYOTA PUSH TYPE RETAINER
99-8799 21104 TOYOTA PUSH TYPE RETAINER
99-8800 21132 TOYOTA MOULDING CLIP GRAY NYLON
99-8801 21133 TOYOTA MOULDING CLIP BLACK NYLON 5 10 +5
99-8802 21219 FORD MOULDING CLIP NYLON
99-8803 21304 FORD & MAZDA BUMPER GROMMET

38



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
99-8804 21257 CHRYSLER & FORD RETAINER BLACK NYLON

99-8805 21300 FORD & MAZDA SCREW GROMMET

99-8806 21239 FORD SCREW GROMMET WHITE NYLON 15 25 +10
99-8807 21164 GM RETAINER BLACK NYLON 15 25 +10
99-8809 23486 FORD DOOR TRIM PANEL RETAINER WITH SEALER

99-8810 21165 FORD HEADLAMP GROMMET BLACK NYLON

99-8811 19900 LEXUS MOULDING CLIP PINK NYLON 10 15 +5
99-8813 16834 FORD WINDSHIELD RIVET 1/8 DIA. 1/8-3/16 GRIP

99-8814 23983 TYPE G MINI HOSE CLAMP 11.5MM-13.5MM RANGE

99-8815 23984 TYPE G MINI HOSE CLAMP 15.5MM-16.5MM RANGE

99-8816 15543 GM & CHRYSLER FASCIA RETAINER

99-8817 21218 TOYOTA PUSH TYPE RETAINER

99-8818 23487 TOYOTA FRONT FENDER UPPER SEAL MOULDING CLIP

99-8819 23488 TOYOTA FRONT FENDER/SHEET METAL UPPER SEAL MOULDING CLIP

99-8820 23489 TOYOTA FRONT FENDER/SHEET METAL UPPER SEAL MOULDING CLIP

99-8821 23985 DUO-DRIVE TRUSS HEAD LICENSE PLATE SCREW M6-1.0 X 12MM

99-8822 21316 GM MOULDING CLIP

99-8823 21351 GM PUSH-ON RETAINER

99-8824 21327 GM NYLON RIVET

99-8825 19031 MULTI-GRIP RIVET 1/4 DIA. 5/64-11/32 GRIP 15 25 +10
99-8826 21334 FORD WEATHERSTRIP CLIP

99-8827 20448 BODY SHIM 1/16” THICK

99-8828 20449 BODY SHIM 1/8” THICK

99-8829 19893 CHRYSLER FENDER & BUMPER SHIELD RETAINER

99-8830 21212 GM WIRE HARNESS CONNECTOR

99-8831 23490 CHRYSLER SPLIT-TYPE RIVET 1/4 DIA.

99-8832 21306 FORD MOULDING CLIP

99-8833 21357 LEXUS BUMPER COVER PIN

99-8834 21358 LEXUS BUMPER COVER CLIP

99-8835 21359 LEXUS NYLON “U” NUT

99-8836 19505 TOYOTA REAR DOOR PANEL SCREW GROMMET #12 SCRW SIZE

99-8837 21338 GM RETAINER

99-8838 21374 GM MOULDING CLIP

99-8839 21335 GM MOULDING CLIP

99-8840 21226 TOYOTA RETAINER BLACK NYLON

99-8841 21011 TOYOTA PUSH-TYPE RETAINER BLACK NYLON 25 15 -10
99-8842 23491 TOYOTA RADIATOR SPLASH SHIELD PUSH-TYPE RETAINER

99-8843 21366 TOYOTA PUSH TYPE RETAINER

99-8844 21337 TOYOTA SPECIALTY NYLON NUT

99-8846 N/A REPAIR HARNESS Discontinued
99-8847 21560 MAZDA RETAINER

99-8848 21364 GM RETAINER

99-8849 21365 GM RETAINER

99-8850 21368 FORD TAIL LAMP GROMMET

99-8851 21362 FORD SCREW GROMMET

99-8852 21329 CHRYSLER RETAINER

99-8853 21333 GM RETAINER

99-8854 23986 GM WINDOW REGULATOR ROLLER

99-8855 21370 GM MOULDING CLIP

99-8856 21417 ACURA & HONDA RETAINER

99-8857 21289 NISSAN RETAINER

99-8858 23134  GM, ISUZU & SAAB COMBINATION LAMP BACK PLATE HARNESS CONNECTOR

99-8859 21251 VOLKSWAGEN PUSH-TYPE RETAINER BLACK NYLON

99-8860 21214 FORD FUEL LINE RETAINER CLIP 10 15 +5
99-8861 21400 GM PUSH TYPE RETAINER

99-8862 N/A RETAINER Discontinued
99-8863 21284 GM GRILLE CLIP-WHITE NYLON 15 25 +10
99-8864 23072 CHRYSLER BLOWER MOTOR RESISTOR HARNESS CONNECTOR KIT

99-8865 20616 GM DOOR PANEL RETAINER W/ SEALER WHITE NYLON

99-8866 21313 FORD RETAINER

99-8867 23554 GM FRONT BUMPER AIR DEFLECTOR SCREW & NUT

99-8868 21307 MAZDA RETAINING CLIP

99-8869 21420 SUBARU PUSH TYPE RETAINER

99-8870 21422 SUBARU PUSH TYPE RETAINER

99-8871 21421 SUBARU RETAINER

99-8872 23076 FORD STOP LAMP SWITCH HARNESS CONNECGTOR KIT

99-8873 21072 GM DOOR HINGE PIN & BUSHING KIT

99-8874 21443 GM RETAINER

99-8875 23077 FORD WASHER PUMP HARNESS CONNECTOR

99-8876 17214 GM PUSH-TYPE RETAINER 11MM HD DIA. 18MM LGTH

99-8877 21446 CHRYSLER NYLON RIVET

99-8878 23989 INFINITY & NISSAN DOOR & INTERIOR TRIM RETAINER

99-8879 17315 HEX FLANGE LICENSE PLATE SCREW M6-1.0 X 12MM

99-8880 17316 HEX FLANGE LICENSE PLATE SCREW M6-1.0 X 16MM

99-8881 18807 JIS SMALL HD HEX FLANGE BOLT M6-1.0X20MM

39



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
99-8882 21048 J.I.S. SMALL HEAD HEX FLANGE BOLT
99-8883 18808 JIS SMALL HD HEX FLANGE BOLT M6-1.0X30MM
99-8884 21049 J.I.S. SMALL HEAD HEX FLANGE BOLT
99-8885 18809 JIS SMALL HD HEX FLANGE BOLT M6-1.0X40MM
99-8886 21050 J.I.S. SMALL HEAD HEX FLANGE BOLT 15 25 +10
99-8887 18980 JIS HEX FLANGE BOLT M8-1.25 X 12MM ZINC
99-8888 17387 JIS HEX FLANGE BOLT M8-1.25 X 16MM ZINC
99-8889 17388 JIS HEX FLANGE BOLT M8-1.25 X 20MM ZINC
99-8890 21051 J.1.S. SMALL HEAD HEX FLANGE BOLT
99-8891 17389 JIS HEX FLANGE BOLT M8-1.25 X 30MM ZINC
99-8892 21052 J.1.S. SMALL HEAD HEX FLANGE BOLT
99-8893 17390 JIS HEX FLANGE BOLT M8-1.25 X 40MM ZINC
99-8894 21053 J.1.S. SMALL HEAD HEX FLANGE BOLT
99-8895 17188 JIS HEX FLANGE BOLT M10-1.25 X 16MM ZINC
99-8896 17189 JIS HEX FLANGE BOLT M10-1.25 X 20MM ZINC
99-8897 21054 J.I.S. SMALL HEAD HEX FLANGE BOLT
99-8898 17190 JIS HEX FLANGE BOLT M10-1.25 X 30MM ZINC
99-8899 21055 J.I.S. SMALL HEAD HEX FLANGE BOLT
99-8900 17191 JIS HEX FLANGE BOLT M10-1.25 X 40MM ZINC
99-8901 21056 J.I.S. SMALL HEAD HEX FLANGE BOLT
99-8902 16769 SPIN LOCK NUT W/SERRATION. M6-1.0 14MM OD
99-8903 16830 SPIN LOCK NUT W/SERRATION M8-1.25 17MM 0.D.
99-8904 16470 SPIN LOCK NUT W/ SERRATIONS M10-1.25 20MM 0D
99-8905 23990 FORD TAIL LAMP MOUNTING GROMMET W/ SEALER
99-8906 23991 FORD TAIL LAMP MOUNTING GROMMET W/ SEALER
99-8907 21320 LEXUS SPECIALTY RIVET
99-8908 21502 SUBARU RETAINER WITH SEALER 15 10 -5
99-8909 21501 SUBARU PUSH TYPE RETAINER
99-8910 21500 SUBARU PUSH TYPE RETAINER
99-8911 21295 NISSAN RETAINER
99-8912 21205 HONDA SCREW GROMMET BLACK NYLON
99-8914 21530 SUBARU PUSH TYPE RETAINER
99-8915 21238 GM PUSH-TYPE RETAINER BLACK NYLON
99-8916 20895 TOYOTA NYLON NUT-NATURAL NYLON
99-8917 21445 FORD HEATER HOSE COUPLER RETAINER
99-8918 23992 CHRYSLER BLIND RIVET M6.3 DIA. 4.0 - 7.0MM
99-8919 23275 GM H.E.I. DISTRIBUTOR POWER & TACH FEED HARNESS CONNECTOR KIT
99-8921 21217 TOYOTA MOULDING CLIP 10 B -5
99-8922 21375 GM MOULDING CLIP
99-8923 21504 GM MOULDING CLIP
99-8924 21332 TOYOTA RETAINER
99-8925 21453 TOYOTA MOULDING CLIP WITH SEALER
99-8926 21410 TOYOTA RETAINER
99-8927 21503 GM MOULDING CLIP
99-8928 23993 GM AIR DAM, FENDER FLARES/APRON, BUMPER,
GRILLE PUSH-TYPE RETAINER
99-8929 21522 FORD MOULDING CLIP WITH SEALER
99-8930 21523 FORD MOULDING CLIP WITH SEALER
99-8931 21411 TOYOTA SCREW GROMMET
99-8932 21488 GM RETAINER- GRAY NYLON
99-8933 21489 GM RETAINER- YELLOW NYLON
99-8934 23095 CHRYSLER BLOWER MOTOR RESISTOR HARNESS CONNECTOR KIT
99-8935 21663 MAZDA PUSH TYPE RETAINER
99-8936 21662 MAZDA PUSH TYPE RETAINER
99-8937 21661 MAZDA RETAINER
99-8938 21505 LEXUS MOULDING CLIP
99-8939 21529 GM PUSH TYPE RETAINER WITH SEAL
99-8940 21526 FORD WINDSHEILD MOULDING CLIP
99-8941 21535 GM DOOR PANEL RETAINER
99-8942 21536 GM DOOR PANEL RETAINER
99-8943 21679 CHRYSLER RETAINER
99-8944 21680 CHRYSLER PUSH-TYPE RETAINER
99-8945 21664 NISSAN CLIP 15 10 -5
99-8946 17993 LEXUS NYLON U NUT #10 SCREW SIZE 18MM X 27MM 15 10 -5
99-8947 21667 GM MOULDING CLIP WITH SEALER
99-8948 21624 TOYOTA PUSH TYPE RETAINER- BLACK NYLON 5 15 +10
99-8949 21439 GM SPECIALTY RIVET 25 50 +25
99-8950 14855 SPIN LOCK NUT W/ SERR. M6-1.0 THREAD 17MM 0.D.
99-8951 21432 BMW MOULDING CLIP
99-8952 21430 BMW MOULDING CLIP
99-8953 21431 BMW & MERCEDES-BENZ MOULDING NUT
99-8954 21429 BMW MOULDING CLIP- WHITE NYLON
99-8955 21479 VOLKSWAGEN & AUDI PUSH TYPE RETAINER- GRAY NYLON
99-8956 21478 VOLKSWAGEN & AUDI MOULDING CLIP- WHITE & ORANGE NYLON
99-8957 21480 VOLKSWAGEN & AUDI SCREW GROMMET- NATURAL NYLON

40



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
99-8958 21481 VOLKSWAGEN & AUDI MOULDING CLIP- WHITE NYLON
99-8959 21482 VOLKSWAGEN & AUDI PUSH TYPE RETAINER- BLACK NYLON
99-8960 21508 VOLKSWAGEN & AUDI MOULDING CLIP
99-8961 21509 VOLKSWAGEN & AUDI RETAINER
99-8962 21510 VOLKSWAGEN & AUDI SCREW GROMMET
99-8963 21540 GM U-TYPE NUT
99-8965 21541 GM TORX TRUSS HEAD TAPPING SCREW
99-8966 23065 GM HEADLIGHT & IGNITION SWITCH HARNESS CONNECTOR
99-8967 23135 GM, FORD, CHRYSLER & MITSUBISHI FUEL INJECTOR & ABS
HARNESS CONNECTOR

99-8968 23270 FORD COOLANT TEMP. SENSOR HARNESS CONNECTOR
99-8969 23136 GM DRL & TURN SIGNAL LAMP BULB HARNESS CONNECTOR
99-8970 23137 GM FOG LAMP BULB HARNESS CONNECTOR
99-8971 5196 TUBULAR NUT FOR 1/4 STUD 50 100 +50
99-8972 23067 FORD EGR, PRESSURE FEEDBACK SENSOR,

FUEL TANK PRESSURE TRANSDUCER HARNESS CONNECTOR
99-8973 21026 CHRYSLER TRIM PANEL RETAINER BLACK NYLON
99-8974 23271 FORD COOLANT TEMP. SENSOR HARNESS CONNECTOR
99-8975 21517 GM BUMPER FASCIA NYLON SCREW
99-8976 21538 TOYOTA RETAINER
99-8977 21545 NISSAN PUSH TYPE RETAINER
99-8978 21551 TOYOTA WEATHERSTRIP CLIP
99-8979 21331 TOYOTA NYLON NUT
99-8980 21552 LEXUS & TOYOTA WEATHERSTRIP CLIP
99-8981 21562 SUBARU GRILLE CLIP
99-8982 21563 SUBARU PUSH TYPE RETAINER
99-8983 21564 SUBARU MOULDING CLIP WITH SEALER
99-8984 21565 SUBARU WEATHERSTRIP CLIP
99-8985 21566 SUBARU PUSH TYPE RETAINER
99-8986 21584 SUBARU RETAINER
99-8987 21567 SUBARU MOULDING RETAINER WITH SEALER
99-8988 21568 SUBARU PUSH TYPE RETAINER
99-8989 21548 TOYOTA WEATHERSTRIP RETAINER BLACK NYLON
99-8990 21569 SUBARU SCREW GROMMET
99-8991 21585 SUBARU PUSH TYPE RETAINER
99-8992 21570 SUBARU PUSH TYPE RETAINER
99-8993 21571 SUBARU PUSH TYPE RETAINER
99-8994 21573 SUBARU WEATHERSTRIP CLIP
99-8995 21574 SUBARU RETAINER
99-8996 21576 SUBARU PUSH TYPE RETAINER W/SEALER
99-8997 21578 SUBARU PUSH TYPE RETAINER
99-8998 21579 SUBARU GROMMET WITH SEALER
99-8999 21580 SUBARU PUSH TYPE RETAINER
99-9000 21581 SUBARU MOULDING CLIP WITH SEALER
99-9001 24203 SUBARU RADIATOR GRILLE RETAINER
99-9002 21586 TOYOTA MOULDING RETAINER
99-9003 21572 SUBARU GRILLE CLIP
99-9004 21601 CHRYSLER PUSH-TYPE RETAINER W/ SEALER
99-9005 21666 CHRYSLER MOULDING CLIP WITH SEALER 25 15 -10
99-9006 23492 CHRYSLER ROCKER PANEL MOULDING CLIP
99-9007 21442 CHRYSLER RETAINER
99-9008 21672 GM PUSH-TYPE RETAINER WITH SEALER
99-9010 21506 FORD MOULDING CLIP WITH SEALER
99-9011 20485 GM DOOR HINGE PIN & BUSHING KIT
99-9012 21158 GM MOULDING CLIP - GREEN NYLON
99-9013 21207 HONDA MOULDING CLIP WHITE NYLON
99-9014 23493 FORD ROCKER PANEL MOULDING CLIP WITH SEALER
99-9015 21669 FORD MOULDING CLIP WITH SEALER 15 10 -5
99-9016 21673 FORD RETAINER
99-9017 21010 TOYOTA PUSH-TYPE RETAINER BLACK NYLON
99-9018 23211 GM ALTERNATOR HARNESS CONNECTOR
99-9019 21670 CHRYSLER MOULDING CLIP
99-9020 21216 HONDA MOULDING CLIP
99-9021 21652 HONDA RETAINER- BLACK NYLON
99-9022 21675 HONDA RETAINER
99-9023 21651 HONDA PUSH TYPE RETAINER
99-9024 21676 HONDA RETAINER
99-9025 21702 TOYOTA & LEXUS PUSH TYPE RETAINER
99-9026 21609 #14 X 3/4 PHIL PAN HEAD STAIN STEEL TAP SCREW 50 100 +50
99-9027 21596 TOYQOTA PUSH-TYPE RETAINER
99-9028 23212 FORD BLOWER MOTOR SWITCH & RESISTOR HARNESS CONNECTOR
99-9029 21597 HONDA MOULDING CLIP
99-9030 N/A RETAINER Discontinued
99-9031 23494 GM & SATURN NUT WITH SILICONE PAD
99-9032 21321 HYUNDAI MOULDING CLIP WITH SEALER 10 15 +5

41



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change
99-9033 21136 HYUNDAI MOULDING CLIP WITH SEALER

99-9035 23073 CHRYSLER WINDOW & WIPER MOTOR, TAIL LAMP HARNESS CONNECTOR KIT

99-9036 20566 HYUNDAI MOULDING CLIP 14MM X 14MM HD SZ 10MM STM

99-9037 20680 LICENSE PLATE SCREW - HYUNDAI

99-9038 21038 HYUNDAI MOULDING CLIP NATURAL NYLON

99-9039 21135 HYUNDAI & KIA OIL DRAIN PLUG W/GASKET

99-9040 21146 KIA PUSH-TYPE RETAINER BLACK NYLON

99-9041 21150 HYUNDAI & KIA SCREW GROMMET

99-9042 21188 HYUNDAI & KIA TRIM PANEL RETAINER

99-9043 21232 HYUNDAI SCREW GROMMET NATURAL NYLON 10 15 +5
99-9044 21233 HYUNDAI PUSH TYPE RETAINER

99-9045 21244 HYUNDAI MOULDING CLIP WITH SEALER 10 15 +5
99-9046 21292 HYUNDAI MOULDING GROMMET 10 15 +5
99-9047 21312 KIA & HYUNDAI MOULDING CLIP 10 15 +5
99-9048 21328 HYUNDAI AND KIA PUSH TYPE RETAINER 10 15 +5
99-9049 21349 KIA RETAINER

99-9050 21350 KIA RETAINER

99-9051 21355 HYUNDAI CABLE TIE

99-9052 21356 HYUNDAI & KIA NYLON NUT 10 15 +5
99-9053 21360 HYUNDAI RETAINER

99-9054 21363 KIA RETAINER

99-9055 21371 KIA NYLON NUT 15 25 +10
99-9056 21372 KIA NYLON FLANGE NUT

99-9057 21378 HYUNDAI & KIA NYLON “U” NUT

99-9058 21381 HYUNDAI/KIA RETAINER 25 50 +25
99-9059 21382 HYUNDAI/KIA RETAINER

99-9060 23495 RD HEAD BUMPER BOLT W/STAINLESS STEEL CAP 1/2-13 X 1-1/2

99-9061 21797 LEXUS & TOYOTA BUMPER CLIP

99-9062 21703 FORD PUSH-TYPE RETAINER

99-9063 23213 FORD STOP, PARKING & TURN, SIGNAL LAMP SOCKET

99-9064 23214 FORD STOP, TURN, SIGNAL LAMP SOCKET

99-9065 23215 FORD BACK UP, PARKING & STOP LAMP SOCKET

99-9066 23216 FORD BACK UP, PARKING & STOP LAMP SOCKET

99-9068 23217 FORD STOP, TAIL & TURN SIGNAL LAMP SOCKET

99-9069 23218 FORD TURN SIGNAL LAMP SOCKET

99-9070 23219 FORD BACK UP, STOR, TAIL LAMP SOCKET

99-9071 22184 FORD LIGHTING SOCKET BASE

99-9072 21794 FORD RETAINER WITH SEALER 15 10 -5
99-9073 21795 LEXUS & TOYOTA RETAINER W/ SEALER

99-9074 21745 GM MOULDING FASTENER 10 15 +5
99-9075 22857 ROOF MOULDING RETAINER

99-9077 21796 HONDA MOULDING CLIP

99-9078 21706 ACURA & HONDA PUSH TYPE RETAINER

99-9079 13002 WELL NUT M6-1.0 THREAD .787 HEAD DIA.

99-9080 23220 PARK, TURN SIGNAL, TAIL LAMP SOCKET ASSEMBLY

99-9081 21790 FORD & LINCOLN HOOD INSULATION CLIP

99-9082 22021 FORD MOULDING CLIP

99-9083 22022 GM MOULDING CLIP WITH METAL REINFORCEMENT

99-9084 22024 GM MOULDING CLIP WITH METAL REINFORCEMENT

99-9085 23221 SATURN CANISTER PURGE SOLENOID HARNESS CONNECTOR

99-9086 22033 FORD MOULDING CLIP WITH SEALER

99-9087 22034 GM RETAINER

99-9088 22027 GM MOULDING CLIP WITH SEALER

99-9089 22026 GM RETAINER

99-9090 22025 GM RETAINER

99-9091 22003 HYUNDAI/KIA RETAINER

99-9092 22004 HYUNDAI RETAINER

99-9093 22005 HYUNDAI/KIA RETAINER

99-9094 22006 HYUNDAI RETAINER WITH SEALER

99-9095 22007 HYUNDAI/KIA RETAINER

99-9096 22008 HYUNDAI/KIA RETAINER

99-9097 22009 HYUNDAI/KIA RETAINER

99-9098 22010 HYUNDAI MOULDING CLIP WITH SEALER

99-9099 22011 HYUNDAI SCREW GROMMET WITH SEALER

99-9100 22012 HYUNDAI RETAINER WITH SEALER

99-9101 22013 HYUNDAI MOULDING CLIP WITH SEALER

99-9102 22014 KIA MOULDING CLIP WITH SEALER

99-9103 22015 HYUNDAI & KIA MOULDING CLIP WITH SEALER

99-9105 22017 HYUNDAI/KIA MOULDING RETAINER

99-9106 22018 HYUNDAI MOULDING CLIP WITH SEALER

99-9107 22019 HYUNDAI MOULDING CLIP WITH SEALER

99-9108 22020 HYUNDAI MOULDING CLIP WITH SEALER

99-9109 22028 CHRYSLER GROMMET

99-9110 21825 GM MOULDING CLIP WITH SEALER 10 15 +5
99-9111 22070 GM TORX PAN HEAD SEMS TAP SCREW WITH DOG POINT

42



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
99-9112 23222 CHRYSLER, DODGE & JEEP LAMP SOCKET

99-9113 21791 CHRYSLER MOULDING CLIP 25 15 -10
99-9114 22036 GM MOULDING CLIP WITH SEALER

99-9115 21827 GM MOULDING CLIP WITH SEALER

99-9116 22037 GM MOULDING CLIP WITH SEALER

99-9117 22023 FORD SPECIALTY RIVET

99-9118 22185 FORD WIRE HARNESS CONNECTOR

99-9119 23223 CHRYSLER, DODGE & JEEP TAIL LAMP SOCKET

99-9120 22068 ACURA/HONDA PUSH-TYPE RETAINER WITH SEALER

99-9121 22069 ACURA/HONDA PUSH-TYPE RETAINER WITH SEALER

99-9122 21296 TOYOTA RETAINER

99-9123 22066 FORD SPECIALTY RIVET

99-9124 22067 FORD SPECIALTY RIVET

99-9125 22165 HONDA MOULDING CLIP

99-9126 21836 HONDA MOULDING CLIP 25 15 -10
99-9127 22071 GM RETAINING CLIP

99-9128 22166 TOYOTA MOULDING RETAINER

99-9129 22038 FORD MOULDING CLIP

99-9130 23498  CHRYSLER & JEEP RADIATOR GRILLE, FRT & REAR BUMPER, ROCKER CLIP

99-9131 22099 FORD MOULDING CLIP

99-9132 22072 TOYOTA/LEXUS PUSH-TYPE RETAINER

99-9133 22073 TOYQTA/LEXUS MOULDING RETAINER

99-9134 23499 GM LOCKING METRIC EXTRUDED U-NUT

99-9135 21040 GM EXTRUDED U TYPE NUT 15 25 +10
99-9136 22058 FORD PUSH-TYPE RETAINER

99-9137 22167 GM MOULDING CLIP WITH METAL REINFORCEMENT

99-9138 22168 GM HOOD INSULATION RETAINER

99-9139 23500 LEXUS & TOYOTA FRONT BUMPER PUSH-TYPE RETAINER

99-9140 22177 CHRYSLER PUSH-TYPE RETAINER WITH SEALER

99-9141 22088 GM SPECIALTY RIVET

99-9142 22276 GM MOULDING CLIP WITH METAL REINFORCE & SEALER

99-9143 22178 FORD PUSH-TYPE RETAINER

99-9144 22124 FORD MOULDING CLIP WITH SEALER

99-9145 22179 FORD RETAINER WITH SEALER 15 10 -5
99-9146 22180 FORD RETAINER

99-9147 22282 MAZDA PUSH-TYPE RETAINER

99-9148 22230 SUBARU PUSH-TYPE RETAINER

99-9149 22160 SUBARU PUSH-TYPE RETAINER

99-9150 22154 FORD MOULDING CLIP

99-9151 22277 GM DOOR PANEL CLIP

99-9152 22278 GM DOOR PANEL RETAINER

99-9153 22279 GM DOOR PANEL RETAINER

99-9154 22100 GM PUSH-TYPE RETAINER

99-9155 22181 SUBARU PUSH-TYPE RETAINER

99-9156 22104 FORD HEX HEAD SEMS TAPPING SCREW

99-9157 22173 GM SPECIALTY RIVET

99-9158 22209 CHRYSLER RETAINER

99-9159 22228 GM MOULDING CLIP

99-9160 22312 KIA RETAINER

99-9161 22313 HYUNDAI & KIA RETAINER

99-9162 22314 HYUNDAI MOULDING CLIP

99-9163 22315 HYUNDAI & KIA RETAINER

99-9164 22316 HYUNDAI & KIA TRIM CLIP 100 50 -50
99-9165 23317 HYUNDAI & KIA TRIM CLIP

99-9166 22318 HYUNDAI MOULDING RETAINER WITH SEALER

99-9167 22319 HYUNDAI & KIA MOULDING RETAINER WITH SEALER

99-9168 22320 HYUNDAI RETAINER

99-9169 22321 HYUNDAI & KIA RETAINER

99-9170 22322 HYUNDAI & KIA SCREW GROMMET

99-9171 23501 HYUNDAI, KIA FENDER LINER PUSH-TYPE RETAINER

99-9172 22323 KIA SCREW GROMMET

99-9173 22324 HYUNDAI BODY SIDE MOULDING NUT

99-9174 22470 HYUNDAI/KIA MOULDING CLIP WITH SEALER

99-9175 22325 HYUNDAI & KIA RETAINER

99-9176 22326 KIA MOULDING CLIP WITH SEALER

99-9177 22327 HYUNDAI MOULDING CLIP WITH SEALER

99-9178 22328 HYUNDAI MOULDING CLIP WITH SEALER

99-9179 22329 HYUNDAI & KIA MOULDING CLIP WITH SEALER

99-9180 23994 HYUNDAI ROCKER PANEL MOULDING CLIP

99-9181 22331 HYUNDAI & KIA MOULDING CLIP WITH SEALER 50 25 -25
99-9182 22227 FORD PUSH-TYPE RETAINER

99-9183 23224 FORD BLOWER MOTOR RESISTOR HARNESS CONNECTOR

99-9184 23225 GM BLOWER RESISTOR, WINDOW, STEERING SWITCH HARNESS CONNECTOR

99-9185 23226 GM 02 SENSOR HARNESS CONNECTOR

99-9186 23227 GM FUEL INJECTOR HARNESS CONNECTOR

43



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional

Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference

99-9187 24202 GM FUEL INJECTOR, KNOCK, CAM, CRANK,
COOLANT SENSOR HARNESS CONNECTOR

99-9188 22237 NISSAN TRIM PANEL RETAINER 10 25 +15

99-9189 22233 GM HOOD INSULATION RETAINER

99-9190 20740 SPECIALTY RIVET ALL ALUMINUM - GM

99-9191 16842 EXTRUDED U NUT M6-1.0 SCREW 3.4MM-6.3MM RANGE

99-9192 23562 GM COOLANT, GLOW PLUG SENSOR HARNESS CONNECTOR

99-9193 22268 GM MOULDING CLIP W/SEAL AND METAL REINFORCEMENT

99-9194 22206 SUBARU TRIM PANEL RETAINER

99-9195 21594 SUBARU PUSH TYPE RETAINER

99-9196 21531 SUBARU COWL PANEL VENT CAP

99-9197 21590 SUBARU GROMMET

99-9198 22232 FORD HEX HEAD SEMS BODY BOLT W/ THREADED PATCH

99-9199 22211 SUBARU RETAINER

99-9200 21889 VW, AUDI, SEAT & SKODA COWL FASTENER

99-9201 21891 VW, AUDI, SEAT & SKODA RETAINER

99-9202 22203 HONDA PHILLIPS FLAT HEAD TAPPING SCREW

99-9203 22212 TOYOTA & LEXUS RETAINING CLIP

99-9204 22239 NISSAN SCREW GROMMET

99-9205 21754 GM SPECIALTY PUSH-IN NUT

99-9206 22266 GM SPECIALTY RIVET

99-9207 21864 FORD SPECIALTY RIVET WITH PLASTIC CAP

99-9208 14355 NISSAN RETAINING CLIP 11MM HD DIA. 13MM LENGTH

99-9209 22302 FORD WEATHERSTRIP RETAINER

99-9210 22289 GM SPECIALTY PUSH-IN NUT

99-9211 22258 GM MOULDING CLIP WITH SEALER

99-9212 22284 FORD PUSH-TYPE RETAINER

99-9213 22292 NISSAN PHILLIPS TRUSS HEAD TAPPING SCREW

99-9214 22295 HYUNDAI PHILLIPS TRUSS HEAD TAPPING SCREW

99-9215 22296 HYUNDAI PHILLIPS TRUSS HEAD TAPPING SCREW

99-9216 22297 HYUNDAI MOULDING GROMMET WITH SEALER

99-9217 22299 HYUNDAI PUSH-TYPE RETAINER

99-9218 23229 HALOGEN HEADLIGHT HI-TEMP SOCKET ASSEMBLY

99-9219 23230 HALOGEN HEADLIGHT HI-TEMP SOCKET ASSEMBLY

99-9220 23231 HALOGEN HEADLIGHT HI-TEMP SOCKET ASSEMBLY

99-9221 23232 HALOGEN HEADLIGHT HI-TEMP SOCKET ASSEMBLY

99-9222 23233 HALOGEN HEADLIGHT HI-TEMP SOCKET ASSEMBLY

99-9223 23234 HALOGEN HEADLIGHT HI-TEMP SOCKET ASSEMBLY

99-9224 14150 MALE TERMINAL 20-18 GAUGE 25 50 +25

99-9225 14151 FEMALE TERMINAL 20-18 GAUGE 25 50 +25

99-9226 15948 WEATHERPACK TERMINAL 16-14 GAUGE MALE 25 50 +25

99-9227 15937 WEATHERPACK TERMINAL FEMALE 16-14 GAUGE 25 50 +25

99-9228 18325 WEATHERPACK TERMINAL 12 GA 20 AMP MAX (MALE)

99-9229 18324 WEATHERPACK TERMINAL 12 GA 20 AMP MAX (FEMALE)

99-9230 15955 GM WEATHERPACK CAVITY PLUG

99-9231 14462 WEATHER PACK TERMINAL EXTRACTOR TOOL

99-9232 22366 KIA MOULDING CLIP WITH SEALER

99-9233 22435 HYUNDAI/KIA MOULDING GROMMET

99-9234 8750 PIGTAIL CONNECTORS

99-9235 11446 STOP & TAIL LIGHTS PIGTAIL CONNECTOR - GM

99-9236 11476 PARK STOP & TAIL LIGHT SOCKET CONNECTOR - GM

99-9237 13540 PIGTAIL SOCKET ASSEMBLY SD MARKER LIGHTS

99-9238 13544 PIGTAIL SOCKET ASSEMBLY

99-9239 13545 PIGTAIL SOCKET ASSEMBLY TAIL LTS SINGLE CONTACT

99-9240 13546 PIGTAIL SOCKET ASSEMBLY SIGNAL/PARK LIGHTS

99-9241 17173 GM STOP/TAIL/TURN/PARK LIGHTS SOCKET ASSEMBLY

99-9242 17174 GM BACK-UP LIGHTS SOCKET ASSEMBLY

99-9243 17175 GM STOP/TAIL/TURN/PARK LIGHTS SOCKET ASSEMBLY

99-9244 18923 GM BACK-UP LIGHTS ELECTRICAL SOCKET ASSEMBLY

99-9245 13547 ALTERNATOR EXTENDER HARNESS FEMALE CONNECTOR

99-9246 16962 ELECTRICAL HARNESS CONNECTOR PIGTAIL - GM

99-9247 18320 GM AIR SWITCH VALVE HARNESS CONNECTOR

99-9248 13533 REAR LIGHTS PIGTAIL SOCKET

99-9249 14128 SIGNAL/PARK LIGHTS PIGTAIL SOCKET ASSEMBLY

99-9250 14132 TAIL/STOP LIGHTS PIGTAIL SOCKET ASSEMBLY

99-9251 14133 TAIL/STOP LIGHTS PIGTAIL SOCKET ASSEMBLY

99-9252 8763 PIGTAIL CONNECTORS

99-9253 12598 PIGTAIL & SOCKET ASSEMBLY SINGLE CONTACT

99-9254 12599 PIGTAIL & SOCKET ASSEMBLY DOUBLE CONTACT

99-9255 13233 PARK & TURN SIGNAL SOCKET

99-9256 13554 SHIELDED LICENSE/UTILITY LIGHT 28” LEAD W/MALE

99-9257 9900 SNAP PLUG CONNECTOR

99-9258 9901 SNAP PLUG CONNECTOR

99-9259 8770 PIGTAIL RECEPTACLE

99-9260 20206 SEALED FUSE HLDR FOR ATM MINI FUSES 20/25/30 AMP

44



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
99-9261 20207 SEALED FUSE HOLDER FOR ATM MINI FUSES 2-15 AMP

99-9262 20320 HIGH POWER SEALED AUTOFUSE HOLDER 40 AMP

99-9263 12908 RUBBER VACUUM CAP BLACK FOR 1/2 DIA.

99-9264 12934 NYLON STRAIGHT CONNECTOR 3/8 X 3/8

99-9265 12924 NYLON TEE CONNECTOR 1/8 X 3/16 X 3/16

99-9266 12917 NYLON TEE CONNECTOR 1/8 X 1/8 X 1/4

99-9267 12919 NYLON TEE CONNECTOR 1/4 X 3/16 X 3/16

99-9268 12940 NYLON F CONNECTOR 3/16 X 3/16 X 3/16

99-9269 12939 NYLON CROSS CONNECTOR 3/16 ALL ENDS

99-9270 16961 HOSE CONNECTOR 1/2 X 1/2 HOSE SIZE

99-9271 11229 HOSE FITTINGS TEES 1/2 X 1/2 X 1/2

99-9272 11224 ELBOWS HOSE FITTINGS 3/8 x 3/8 HOSE ID

99-9273 11220 ELBOWS HOSE FITTINGS 1/4 PT 3/8 HOSE ID

99-9274 11226 HOSE FITTINGS TEES 1/4 PT 1/4 X 1/4 HOSE ID

AN203 N/A CP KIT-BOX Discontinued
AN208 N/A CP KIT-BOX Discontinued
ANG06 N/A CP KIT-PLASTIC BOX 6 EQUAL COM Discontinued
AN612 N/A CP KIT-BOX Discontinued
AN900 6876 GM REVEAL MOULDING CLIPS AND STUD SCREW QUIK-SELECT KIT

AN901 6809 REVEAL MOULDING CLIP QUIK-SELECT KIT

AN903 6864 DOOR LOCK ROD CLIP QUIK-SELECT KIT

AN905 6836 NYLON CONNECTOR QUIK-SELECT KIT

AN906 6826 RUBBER VACUUM CAP QUIK-SELECT KIT

AN907 6810 SEMS SCREW QUIK-SELECT KIT

AN909 N/A CP KIT-NUT Discontinued
AN911 N/A CP KIT-CLIP Discontinued
AN912 6875 RETAINER QUIK-SELECT KIT

AN913 N/A CP KIT-RIVET Discontinued
AN914 6877 PUSH-TYPE RETAINER QUIK-SELECT KIT

AN920 N/A CP KIT-SEALING WASHER ASST. Discontinued
AN921 6878 COPPER SEALING WASHER QUIK-SELECT KIT

AN922 N/A CP KIT-RETAINER ASST. Discontinued
AN925 N/A CP KIT-WEATHERSTRIP KIT Discontinued
AN927 N/A CP KIT-HOLE PLUG ASST. Discontinued
AN930 N/A CP KIT-ASST-ERGOLOK DRIVE RIVET Discontinued
B-7547 N/A RIVET Discontinued
B-7717 23905 GM WINDOW REGULATOR ROLLER RIVET

B-7719 23995 GM WINDOW REGULATOR ROLLER RIVET

B-7722 23998 GM UPPER VENT PIVOT TUBULAR RIVET

CS-10116 24142 FORD WINDOW REGULATOR ROLLER COIL SPRING

J00013 N/A KIT-ASST#13 PHIL PAN SMS P Discontinued
J00021 N/A KIT-RIVET KIT W/TOOL Discontinued
J00050 N/A KIT-PAK INTERNAL SNAP R Discontinued
J00051 N/A KIT-PAK EXTERNAL SNAP R Discontinued
J00052 6879 THROTTLE ROD CLIP QUIK-SELECT KIT

J00053 N/A KIT-PAK WOODRUFF KEYS W Discontinued
J00054 6861 SPRING PIN QUIK-SELECT KIT

J00055 N/A KIT-PAK HAIRPIN RETAINER Discontinued
J00057 N/A KIT-PAK RUBBER 0: RINGS Discontinued
J00061 6856 EXT & INT LOCK WASHER QUIK-SELECT KIT

J00063 19443 U.S. GREASE FITTING KIT

J00064 6827 RUBBER GROMMET QUIK-SELECT KIT

J00065 N/A KIT-PAK NYLON HOLE PLUG Discontinued
J00066 N/A KIT-PAK TUBING CONNECTOR Discontinued
J00069 6862 E TYPE RETAINING RING QUIK-SELECT KIT

J00071 6842 NYLON INS. ELEC.TERMINAL QUIK-SELECT KIT

J00072 6813 TEKS SCREW QUIK-SELECT KIT

J00075 N/A KIT-PAK FENDER WASHERS Discontinued
J00077 N/A KIT-ALUM RIVET -PAK Discontinued
J00078 N/A KIT-TRIM CLIP PAK Discontinued
J00081 N/A KIT-HEAT SEAL TERMINALS & Discontinued
J00083 N/A KIT-PAK COTTER PIN COTT Discontinued
J00085 N/A KIT-PAK MINI BLADE FUSE Discontinued
J00098 N/A RACK Discontinued
J00099 N/A PLASTIC BOX Discontinued
J00102 N/A SLOT PAN HEAD SHT METAL SCREW Discontinued
J00103 1263 6 X 3/8 SLTD PAN HEAD T.S. ZINC AB

J00105 1452 SLOTTED PAN HEAD TAP SCREW #6 X 1/2 ZINC

J00106 1453 SLOTTED PAN HEAD TAP SCREW 6 X 5/8 ZINC

J00107 1454 SLOTTED PAN HEAD TAP SCREW 6 X 3/4 ZINC

J00109 1455 SLOTTED PAN HEAD TAP SCREW 6 X 1 ZINC

J00110 N/A SLOT PAN HEAD SHT METAL SCREW Discontinued
J00113 N/A SLOT PAN HEAD SHT METAL SCREW Discontinued
J00114 N/A SLOT PAN HEAD SHT METAL SCREW Discontinued

J00116 1456 SLOTTED PAN HEAD TAP SCREW 8 X 3/8 ZINC




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J00117 1146 #8 X 1/2 SLTD PAN HEAD T.S. AB - ZINC

J00118 1092 #8 X 5/8 SLTD PAN HEAD AB T.S. - ZINC

J00119 N/A SLOT PAN HEAD SHT METAL SCREW Discontinued
J00120 N/A SLOT PAN HEAD SHT METAL SCREW Discontinued
Joo121 1457 SLOTTED PAN HEAD TAP SCREW 8 X 1 ZINC

J00123 3028 8 X 1 1/2 SLOTTED PAN HEAD TAP SCREW ZINC

J00125 N/A SLOT PAN HEAD SHT METAL SCREW Discontinued
J00126 1458 SLOTTED PAN HEAD TAP SCREW 10 X 1/2 ZINC

J00127 1787 SLOTTED PAN HEAD TAP SCREW 10 X 5/8 ZINC

J00128 1265 10 X 3/4 SLTD PAN HEAD T.S. ZINC AB

J00130 1459 SLOTTED PAN HEAD TAP SCREW 10 X 1 ZINC

J00132 1460 SLOTTED PAN HEAD TAP SCREW 10 X 1-1/2 ZINC

J00136 N/A SLOT PAN HEAD SHT METAL SCREW Discontinued
J00138 N/A SLOT PAN HEAD SHT METAL SCREW Discontinued
J00139 1346 12 X 1 SLOTTED PAN HEAD TAP SCREW ZINC AB

Joo141 3032 12 X1 1/2 SLOTTED PAN HEAD TAP SCREW ZINC

J00142 N/A SLOT PAN HEAD SHT METAL SCREW Discontinued
J00144 1347 14 X 1/2 SLOTTED PAN HEAD TAP SCREW ZINC AB

J00146 1381 SLOTTED PAN HEAD TAP SCREW 14 X 3/4

J00148 1382 SLOTTED PAN HEAD TAP SCREW 14 X 1 ZINC

J00154 N/A SLOT PAN HEAD SHT METAL SCREW Discontinued
J00162 3374 8 X 1/2 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J00163 3376 8 X 3/4 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J00164 12369 SELF PIERCING SCREW 10 X 1/2” SIZE 100 50 -50

J00165 12370 SELF PIERCING SCREW 10 X 3/4” SIZE 100 50 -50

J00166 7767 MAGNETIC CHUCK FOR 1/4 HEX SIZE

J0o171 N/A SLOT FLAT HEAD SHT METAL SCREW Discontinued
J00172 N/A SLOT FLAT HEAD SHT METAL SCREW Discontinued
J00174 N/A SLOT FLAT HEAD SHT METAL SCREW Discontinued
J00178 N/A SLOT FLAT HEAD SHT METAL SCREW Discontinued
J00181 N/A SLOT FLAT HEAD SHT METAL SCREW Discontinued
J00182 N/A SLOT FLAT HEAD SHT METAL SCREW Discontinued
J00185 N/A SLOT FLAT HEAD SHT METAL SCREW Discontinued
J00201 2571 6 X 1/2 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00202 2699 6 X 5/8 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00203 2700 #6 X 3/4 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00204 2572 NO 6 X 7/8 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00205 2702 #6 X 1 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00206 2704 6 X 1 1/4 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00207 3484 8 X 3/8 PHILLIPS OVAL HD TAP SCREW ZINC

J00208 2358 #8 X 1/2 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00209 2574 NO 8 X 5/8 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00210 2359 #8 X 3/4 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00211 2575 NO 8 X 7/8 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00212 2360 #8 X 1 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00213 2361 #8 X 1-1/4 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00214 2362 #8 X 11/2 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00215 2579 NO 10 X 1/2 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00216 2580 NO 10 X 5/8 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00217 2581 #10 X 3/4 TAP SCREW ZINC

J00219 2582 #10 X 1 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00220 2583 NO 10 X 1 1/4 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00221 2585 NO 10 X 1 1/2 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00223 2666 10 X 2 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00224 2705 8 X 3/8 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00225 2706 8 X 1/2 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00227 1798 PHILLIPS OVAL HEAD TAP SCREW #38 X 3/4 ZINC #6 HEAD

J00228 1801 PHILLIPS OVAL TAP SCREW #8 X 1 ZINC #6 HEAD

J00229 1803 PHILLIPS OVAL TAP SCREW #8 X 1-1/4 ZINC #6 HEAD

J00230 2717 8 X1 1/2 #6 HEAD PHILLIPS OVAL HEAD TAP SCREW ZINC

J00232 2632 8 X 2 #6 HEAD PHILLIPS OVAL HEAD TAP SCREW ZINGC

J00234 2727 #10 X 3/4 #8 HEAD PHILLIPS OVAL HEAD TAP SCREW ZINC

J00235 2578 #10 X 1 W/ #8 HEAD PHILLIPS OVAL HEAD TAP SCREW ZINC

J00238 2665 10 X 2 PHILLIPS OVAL #8 HEAD TAP SCREW ZINC

J00240 2729 10 X 1 #6 HEAD PHILLIPS OVAL HEAD TAP SCREW ZINC

J00241 23999 PHILLIPS OVAL HEAD T.S. #10 X 1-1/4 - ZINC

400242 N/A PHIL OVAL HEAD SHT METAL SCREW Discontinued
J00246 8050 12 X 3/4 PHIL OVAL HEAD.T.S. ZINC AB

400247 8056 12 X 1 PHIL OVAL T.S. ZINC AB

J00248 8083 14 X1 PHIL OVAL T.S. ZINC AB

J00251 2720 10 X 1/2 #6 HEAD PHILLIPS OVAL HEAD TAP SCREW ZINC

J00252 N/A PHIL OVAL HEAD SHT METAL SCREW Discontinued
J00255 3063 4 X 1/2 PHILLIPS OVAL HEAD TAP SCREW ZINC

J00257 8062 12 X1 1/2 PHIL OVAL T.S. ZINC AB

J00265 N/A SLOT OVAL HEAD SHT METAL SCREW Discontinued




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J00266 N/A SLOT OVAL HEAD SHT METAL SCREW Discontinued
J00268 N/A SLOT OVAL HEAD SHT METAL SCREW Discontinued
J00269 N/A SLOT OVAL HEAD SHT METAL SCREW Discontinued
J00271 1149 #8 X 3/4 SLTD HEAD OVAL AB T.S. - ZINC

J00272 1137 #8 X 1 SLTD OVAL HEAD T.S. AB - ZINC

J00273 N/A SLOT OVAL HEAD SHT METAL SCREW Discontinued
J00281 N/A SLOT OVAL HEAD SHT METAL SCREW Discontinued
J00283 N/A SLOT OVAL HEAD SHT METAL SCREW Discontinued
J00284 N/A SLOT OVAL HEAD SHT METAL SCREW Discontinued
J00287 N/A SLOT OVAL HEAD SHT METAL SCREW Discontinued
J00289 N/A SLOT OVAL HEAD SHT METAL SCREW Discontinued
J00291 N/A SLOT OVAL HEAD SHT METAL SCREW Discontinued
J00299 2661 10 X 1 1/4 PHILLIPS OVAL #8 HEAD TAP SCREW ZINC

J00301 2530 6-32 X 1/2 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00302 2531 6-32 X 3/4 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00303 2532 6-32 X 1 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00305 2533 8-32 X 1/2 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00306 2534 8-32 X 3/4 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00307 2535 8-32 X 1 SLOTTED ROUND HEAD MACHINE SCREW ZINGC

J00309 2536 10-32 X 1/2 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00310 2537 10-32 X 3/4 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00311 2538 10-32 X 1 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00312 2539 10-32 X 1 1/4 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00313 2540 10-32 X 1 1/2 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00315 2541 10-24 X 1/2 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00316 2542 10-24 X 3/4 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00317 2543 10-24 X 1 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00318 2544 10-24 X 1 1/4 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00319 2545 10-24 X 1 1/2 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00321 2546 12-24 X 1/2 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00322 5704 12-24 X 3/4 SLOTTED RD HEAD MACH SC. ZINC

J00323 2548 12-24 X 1 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00324 N/A SLOT RD HEAD MACH SCREW Discontinued
J00325 2550 12-24 X 1 1/2 SLOTTED ROUND HEAD MACHINE SCREW ZINC

J00326 8029 SLOTTED ROUND HEAD MACHINE SCREW

J00327 8030 SLOTTED ROUND HEAD MACHINE SCREW

J00328 8031 SLOTTED ROUND HEAD MACHINE SCREW

J00335 8594 10-24 X 2 SLTD RD HEAD MACH SCREW ZINC

J00341 N/A SLOT FLAT HEAD MACH SCREW Discontinued
J00342 N/A SLOT FLAT HEAD MACH SCREW Discontinued
J00348 N/A SLOT FLAT HEAD MACH SCREW Discontinued
J00351 N/A SLOT FLAT HEAD MACH SCREW Discontinued
J00356 N/A SLOT FLAT HEAD MACH SCREW Discontinued
J00357 N/A SLOT FLAT HEAD MACH SCREW Discontinued
J00360 N/A SLOT FLAT HEAD MACH SCREW Discontinued
J00366 N/A SLOT FLAT HEAD MACH SCREW Discontinued
J00367 N/A SLOT FLAT HEAD MACH SCREW Discontinued
J00371 N/A SLOT OVAL HEAD MACH SCREW Discontinued
J00381 N/A SLOT OVAL HEAD MACH SCREW Discontinued
J00383 N/A SLOT OVAL HEAD MACH SCREW Discontinued
J00384 N/A SLOT OVAL MACH SCREW 1 Discontinued
J00387 N/A SLOT OVAL MACH SCREW 1 Discontinued
J00388 2354 10-24 X 1 1/2 SLOTTED OVAL HEAD MACHINE SCREW ZINC

J00395 N/A SLOT OVAL MACH SCREW 1 Discontinued
J00400 16362 PHILLIPS OVAL HEAD M.S. 6-32 X 3/8

J00401 16363 PHILLIPS OVAL HEAD M.S. 6-32 X 1/2

J00402 16364 PHILLIPS OVAL HEAD M.S. 6-32 X 3/4

J00404 16368 PHILLIPS OVAL HEAD M.S. 8-32 X 1/2

J00406 16369 PHILLIPS OVAL HEAD M.S. 8-32 X 3/4

J00407 16370 PHILLIPS OVAL HEAD M.S. 8-32 X 1

J00408 16380 PHILLIPS OVAL HEAD M.S. 10-32 X 1/2

J00409 16381 PHILLIPS OVAL HEAD M.S. 10-32 X 3/4

J00410 16382 PHILLIPS OVAL HEAD M.S. 10-32 X 1”

J00411 N/A PHIL OVAL HEAD MACH SCREW Discontinued
J00412 1877 PHILLIPS OVAL HEAD MACHINE SCREW 10-24 X 1/2 ZINC

J00413 16375 PHILLIPS OVAL HEAD M.S. 10-24 X 3/4

J00414 16376 PHILLIPS OVAL HEAD M.S. 10-24 X 1

J00415 16371 PHILLIPS OVAL HEAD M.S. 8-32 X 1 1/4

J00418 N/A PHIL OVAL HEAD MACH SCRE Discontinued
J00420 16386 PHILLIPS OVAL HEAD M.S. 1/4-20 X 3/4 100 50 -50

J00421 16387 PHILLIPS OVAL HEAD M.S. 1/4-20 X 1 100 50 -50

J00431 N/A PHIL FILISTR HEAD MACH S Discontinued
J00432 N/A PHIL FILISTR HEAD MACH S Discontinued
J00434 N/A PHIL FILISTR HEAD MACH S Discontinued
J00438 8588 6/32 X1 1/2 SLTD RD HEAD MACH SC. ZINC

47



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J00439 N/A SLOT RD HEAD MACH SCREW Discontinued
J00441 8589 8/32 X 1 1/2 SLTD RD HEAD MACH SC. ZINC

J00443 N/A SLOT RD HD MACH SCREW Discontinued
J00449 8033 SLOTTED ROUND HEAD MACHINE SCREW

J00450 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00451 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00452 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00453 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00454 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00455 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00456 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00460 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00462 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00463 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00465 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00466 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00467 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00469 N/A SLT FLT HEAD MACH SCRW B Discontinued
J00472 N/A SLOT RD HD MACH SCRW B Discontinued
J00473 N/A SLOT RD HEAD MACH SCRW B Discontinued
J00477 N/A SLOT RD HEAD MACH SCRW B Discontinued
J00481 N/A SLOT RD HEAD MACH SCRW B Discontinued
J00485 N/A SLOT RD HEAD MACH SCRW B Discontinued
J00488 N/A SLOT RD HEAD MACH SCRW B Discontinued
J00489 N/A SLOT RD HEAD MACH SCRW B Discontinued
J00491 N/A SLOT RD HEAD MACH SCRW B Discontinued
J00494 8036 1/4-20 X 2 1/2 SLTD RD. HEAD MACH SCREW

J00503 2487 #10 X 3/4 IND. HEX HEAD TAP SCREW 5/16 HEX ZINC

J00504 N/A UNSLT HX HD SHT MET SC Discontinued
J00507 3216 12 X 1 INDENTED HEX HEAD TAP SCREW ZINC

J00509 N/A UNSLT HEX HEAD SHT MET SC Discontinued
J00510 2109 14 X 3/4 IND.HEX HEAD TAP SCREW 7/16 HEX ZINC

J00511 2266 #14 X1 IND. HEX HEAD TAP SCREW 7/16 HEX ZINC

J00513 2110 5/16 X 3/4 IND HEX HEAD TAP SCREW 1/2 HEX ZINC

J00514 2268 #5/16 X 1 IND HEX HEAD TAP SCREW 1/2 HEX ZINC

J00515 3220 5/16 X 1 1/2 INDENTED HEX HEAD TAP SCREW ZINC

J00518 N/A SLOT FLAT HEAD MACH SCRW Discontinued
J00522 N/A SLOT TRUS SHT MET SCRW Discontinued
J00525 N/A SLOT TRUS SHT MET SCRW Discontinued
J00533 9603 #14 X 3/4 SLTD TRUSS HEAD L.P SCREW ZINC

J00535 N/A SLOT FLAT HEAD MACH SCREW Discontinued
J00539 N/A SLOT FLAT HEAD MACH SCREW Discontinued
J00540 2364 #6 X 3/4 PHILLIPS PAN HEAD TAP SCREW ZINC

J00541 3079 #8 X 1 PHILLIPS PAN HEAD TAP SCREW ZINC

J00542 3085 12 X 1/2 PHILLIPS PAN HEAD TAP SCREW ZINC

J00543 2367 #12 X 3/4 PHILLIPS PAN HEAD TAP SCREW ZINC

J00544 3086 12 X 1 PHILLIPS PAN HEAD TAP SCREW ZINC

J00545 5632 14 X 5/8 PHIL PAN HEAD T.S. ZINC AB

J00547 N/A SLOT FLAT HEAD MACH SCREW Discontinued
J00548 N/A SLOT FLAT HEAD MACH SCREW Discontinued
J00550 1939 PHILLIPS PAN HEAD TAP SCREW 8 X 3/8 ZINC AB

J00551 1940 PHILLIPS PAN HEAD TAP SCREW #8 X 1/2 ZINC

J00552 5625 8 X 5/8 PHIL PAN HEAD T.S. ZINC AB

J00553 2365 #8 X 3/4 PHILLIPS PAN HEAD TAP SCREW ZINC

J00554 1942 PHILLIPS PAN HEAD TAP SCREW 10 X 3/8 ZINC AB

J00555 1943 PHILLIPS PAN HEAD TAP SCREW #10 X 1/2 ZINC

J00556 2808 10 X 5/8 PHILLIPS PAN HEAD TAP SCREW ZINC

J00557 2366 #10 X 3/4 PHILLIPS PAN HEAD TAP SCREW ZINC

J00558 1936 PHILLIPS PAN HEAD TAP SCREW 6 X 3/8 ZINC AB

J00559 1937 PHILLIPS PAN HEAD TAP SCREW #6 X 1/2 ZINC

J00560 3082 #10 X 1 PHILLIPS PAN HEAD TAP SCREW ZINC

J00561 3090 14 X 3/4 PHILLIPS PAN HEAD TAP SCREW ZINC

J00562 3091 14 X 1 PHILLIPS PAN HEAD TAP SCREW ZINC

J00563 3092 14 X1 1/4 PHILLIPS PAN HEAD TAP SCREW ZINC

J00564 3093 14 X 1 1/2 PHILLIPS PAN HEAD TAP SCREW ZINC

J00579 N/A SLOT FLAT MACH SCREW 1 Discontinued
J00582 N/A SLOT FLAT MACH SCREW 1 Discontinued
J00583 N/A SLOT FLAT MACH SCREW 1 Discontinued
J00584 N/A SLOT FLAT MACH SCREW 1 Discontinued
J00596 N/A SLOT FLAT MACH SCREW 1 Discontinued
J00599 24000  PHIL. FLAT HEAD FLOOR BOARD THREAD CUTTING SCREW 1/4-20 X 3 - ZINC

J00601 727 6-32 HEX MACHINE SCREW NUT ZINC

J00602 728 8-32 HEX MACHINE SCREW NUT ZINC

J00603 730 10-24 HEX MACHINE SCREW NUT ZINC

J00604 729 10-32 HEX MACHINE SCREW NUT ZINC

48



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J00605 731 12-24 HEX MACHINE SCREW NUT ZINC
J00606 733 1/4-20 HEX MACHINE SCREW NUT ZINC
J00607 3492 6-32 HEX KEPS NUT ZINC
J00608 3493 8-32 HEX KEPS NUT ZINC
J00609 3494 10-24 HEX KEPS NUTS ZINC
J00610 3495 10-32 HEX KEPS NUTS ZINC
J00614 3496 1/4-20 HEX KEPS NUTS ZINC
J00615 3497 1/4-28 HEX KEPS NUTS ZINC
J00616 3498 5/16-18 HEX KEPS NUT ZINC
J00617 3499 5/16-24 HEX KEPS NUTS ZINC
J00618 3500 3/8-16 HEX KEPS NUTS ZINC
J00619 N/A KEPS NUT 3/8-24 Discontinued
J00620 2555 WASHER LOCK NUT #8-32 15/32 0.D. 11/32 HEX
J00621 2556 WASHER LOCK NUT#10-32 1/2 0.D. 3/8 HEX
J00622 2557 WASHER LOCK NUT #10-24 1/2 0.D. 3/8 HEX
J00623 2558 WASHER LOCK NUT #10-24 3/4 0.D. 3/8 HEX
J00625 3975 HEX PALNUT 3/8-24 THREAD 9/16 HEX ZINC
J00633 1183 3/16 X 3/4 OD FENDER WASHER - ZINC
J00635 2333 FENDER WASHER 1/4 BOLT SIZE 1-1/4 0.D. ZINC
J00636 768 WASHER 1-1/4 0.D. FOR 5/16 BOLT ZINC
J00637 1700 FENDER WASHER LARGE 5/16 BOLT 1-1/2 0.D. ZINC 100 50 -50
J00638 2227 FENDER WASHER 3/8 BOLT SIZE X 1-1/2 0.D. ZINC 100 50 -50
J00639 5260 #6 (1/8) INTERNAL LOCK WASHERS
J00640 5261 #8 (5/32) INTERNAL LOCK WASHERS
J00641 5262 #10 (3/16) INTERNAL LOCK WASHERS
J00642 5263 #12 (7/32) INTERNAL LOCK WASHERS
J00643 5264 #14 (1/4)INTERNAL LOCK WASHERS
J00644 5265 5/16 INTERNAL LOCK WASHERS
J00645 5266 3/8 INTERNAL LOCK WASHERS
J00647 5268 1/2 INTERNAL LOCK WASHER
J00648 5250 #6 (1/8) EXTERNAL LOCK WASHERS
J00649 5251 #8 (5/32) EXTERNAL LOCK WASHERS
J00650 5252 #10 (3/16) EXTERNAL LOCK WASHERS
J00651 5253 #12 (7/23) EXTERNAL LOCK WASHERS
J00652 5254 #14 (1/4) EXTERNAL LOCK WASHERS
J00653 5255 5/16 EXTERNAL LOCK WASHERS
J00654 5256 3/8 EXTERNAL LOCK WASHERS
J00655 5257 7/16 EXTERNAL LOCK WASHERS
J00656 5258 1/2 EXTERNAL LOCK WASHERS
J00657 5270 #6 CTSK EXTERNAL LOCK WASHER ZINGC
J00658 5271 #8 CTSK EXTERNAL LOCK WASHER ZINC
J00659 5272 #10 CTSK EXTERNAL LOCK WASHER ZINC
J00660 24001 CNTRSNK EXTERNAL LOCK WSHR #12 - ZINC
J00661 5274 #14 CTSK EXTERNAL LOCK WASHER ZINC
J00662 24002 CNTRSK EXTERNAL LOCK WSHR 5/16 - ZINC
J00663 24003 CNTRSNK EXTERNAL LOCK WSHR 3/8 - ZINC
J00666 614 NO.6 COUNTERSUNK WASHER NICKEL ON BRASS
J00667 616 NO.8 COUNTERSUNK WASHER NICKEL ON BRASS
J00668 618 NO.10 COUNTERSUNK WASHER NICKEL ON BRASS
J00669 619 NO.12 COUNTERSUNK WASHER NICKEL ON BRASS
J00670 602 NO.6 FLUSH WASHER NICKEL ON BRASS
J00671 604 NO. 8 FLUSH WASHER NICKEL ON BRASS
J00672 24004 FLUSH TYPE WASHER #12 - NICKEL PLATED BRASS
J00688 16015 #10 FLUSH TYPE FINISHING WASHER NICKEL PLATED
J00690 N/A ALUM DRIVE RIVET Discontinued
J00693 3219 14 X 1 1/2 INDENTED HEX HEAD TAP SCREW ZINC
J00694 N/A SLOT HEX HEAD SHT MET SCREW Discontinued
J00695 1781 14 X 3/4 IND HEX HEAD TAP SCREW 3/8 HEX SIZE ZINC
J00696 N/A UNSLT HEX HEAD SHT MET SC Discontinued
J00701 5242 BUMPER BOLT 7/16-14 X 1-1/4SS RD CAP HEAD
J00702 5243 BUMPER BOLT, 7/16-14 X 1-1/2”
J00705 23502 SLOTTED ROUND WASHER HEAD LICENSE PLATE SCREW
W/ HEX NUT 1/4-20 X 1/2

J00706 23503 SLOTTED ROUND WASHER HEAD LICENSE PLATE SCREW

W/ SQUARE NUT 1/4-20 X 1/2
J00707 23505 SLOTTED TRUSS HEAD LICENSE PLATE SCREW

W/ SQUARE NUT 1/4-20 X 9/16
J00708 5909 SLTD RD. WA.HEAD LICENSE PLATE BOLT
J00709 8552 7/16-14 X 1 SS CAPPED RD. HEAD BUMPER BOLT
J00711 5239 BUMPER BOLT
J00720 N/A SLOT TRUS MACH SCRW 10 Discontinued
J00722 N/A SLOT TRUS MACH SCRW 10 Discontinued
J00726 5908 SLTD RD. HEAD LICENSE PLATE BOLT
J00727 23504 SLOTTED TRUSS HEAD LICENSE PLATE SCREW 1/4-20 X 5/8 - ZINC
J00728 5910 SLTD RD. HEAD LICENSE PLATE BOLT

49



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J00730 N/A SLOT TRUS MACH SCREW 5/ Discontinued
J00731 N/A SLOT TRUS MACH SCREW 5/ Discontinued
J00735 13922 1/4-20 X 5/8 NAT. NYLON L.P SCREW & NUT 50 25 -25

J00738 24005 HEX HEAD BODY TAP BOLT 3/8-16 X 2

J00742 N/A HEX HEAD BODY BOLT 1/4-20 Discontinued
J00745 N/A HEX HEAD BODY BOLT 1/4-20 Discontinued
J00747 N/A HEX HEAD BODY BOLT 5/16-1 Discontinued
J00749 N/A HEX HEAD BODY BOLT 5/16-1 Discontinued
J00758 3741 1/4-20 COLD FORGED WING NUTS-NICKEL

J00759 N/A WING NUT 1/4-28 Discontinued
J00760 24006 COLD FORGED WING NUT 5/16-18

J00761 3743 3/8-16 COLD FORGED WING NUTS-NICKEL 100 50 -50

J00777 8623 7/16 -14 X1 TRUSS HEAD BUMPER BOLT ZINC

J00779 9354 BUMPER BOLT 7/16-14 X 1-3/8SS CAP PAN HEAD

J00788 N/A BRASS HEX NUT 5/16-18 Discontinued
J00789 N/A BRASS HEX NUT 5/16-24 Discontinued
J00791 N/A BRASS HEX NUT 3/8-24 B Discontinued
J00796 3083 #10 X 1-1/4 PHILLIPS PAN HEAD TAP SCREW ZINC

J00797 3084 10 X 1 1/2 PHILLIPS PAN HEAD TAP SCREW ZINC

J00798 3087 12 X 1 1/4 PHILLIPS PAN HEAD TAP SCREW ZINC

J00799 3088 12 X1 1/2 PHILLIPS PAN HEAD TAP SCREW ZINC

J00812 15380 8-32 X 3/8 PHILLIPS PAN HEAD M.S. ZINC

J00813 15386 10-24 X 3/8 PHILLIPS PAN HEAD M.S. ZINC

J00817 N/A SLOT FLAT HEAD SHT MET Discontinued
J00820 5655 8 X 1/2” PHIL FLAT HEAD T.S. ZINC AB

J00826 5167 SPIN LOCK NUT W/ SERR. 5/16”-18 13/16” OD

J00827 2753 1/4-20 X 5/8 HEX WASHER HEAD SPIN LOCK BOLT

J00830 24007 SPIN LOCK NUT W/SERRATIONS 1/4-20 THREAD 19/32 0.D.

J00832 2994 5/16 X 1 HEX HEAD SEMS TAP SCREW ZINC 50 100 +50

J00835 3382 10 X 5/8 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J00836 23281 SLOTTED HEX WASHER HEAD LICENSE PLATE SCREW #14 X 3/4”

J00837 2988 14 X 3/4 HEX HEAD SEMS TAP SCREW ZINC

J00839 N/A HEX HEAD THREAD CUT SCREW 1 Discontinued
J00852 3211 14 X1 3/4 PHILLIPS PAN HEAD TAP SCREW ZINC

J00853 5634 14 X 2 PHIL PAN HEAD T.S. ZINC AB

J00856 8442 5/16 X 3/4 IND HEX WA HEAD TYPE F TCS 50 100 +50

J00857 2751 8 X 3/4 PHIL OVAL HEAD SEMS TAP SCRW CNTRSK CHR

J00859 3615 5/16-18 X 3/4 HEX WASHER HD SPIN LOCK BOLTS

J00860 2771 8 X 5/8 PHIL OVAL HEAD SEMS TAP SCRW CNTRSNK CHR

J00861 3186 5/16-18 X 1 1/4 BATT. TERMINAL BOLT & NUT ZINC

J00862 5711 5/16-18 X 1 IND HEX LRG FLG WA. HEAD DOG PT

J00863 14974 BATTERY TERMINAL BOLT 5/16-18 X 1-1/4 ZINC 100 50 -50

J00865 14975 BATTERY COLLARED NUT 5/16-18 ZINC 100 50 -50

J00866 24008 SPIN LOCK NUT W/SERRATIONS 5/16-18 THREAD 11/16 0.D.

J00867 24009 SPIN LOCK NUT W/SERRATIONS 5/16-24 THREAD 11/16 0.D.

J00868 24010 SPIN LOCK NUT W/SERRATIONS 3/8-16 THREAD 3/4 0.D.

J00869 23510 HEX WSHR HEAD TYPE F THREAD CUTTING SCREW 5/16-18 X 1/2

J00870 3541 1/4-20 FINISH HEX NUT ZINC

J00871 3542 1/4-28 FINISH HEX NUT ZINC

J00872 3543 5/16-18 FINISH HEX NUT ZINC

J00873 3544 5/16-24 FINISH HEX NUT ZINC

J00874 3545 3/8-16 FINISH HEX NUT ZINC

J00875 3546 3/8-24 FINISH HEX NUT ZINC

J00876 3547 7/16-14 FINISH HEX NUT ZINC

J00877 8443 5/16 X 1 IND HEX WA HEAD TYPE F TCS ZINC 50 100 +50

J00878 3548 7/16-20 FINISH HEX NUT ZINC

J00879 24011 SPIN LOCK NUT W/SERRATIONS 3/8-24 THREAD 3/4 0.D.

J00880 3549 1/2-13 FINISH HEX NUT ZINC

J00881 3550 1/2-20 FINISH HEX NUT ZINC

J00884 9538 12-24 NYLON INSERT HEX STOP NUT ZINC

J00886 9535 8/32 NYLON INSERT HEX STOP NUT ZINC

J00887 9536 10-24 NYLON INSERT HEX STOP NUT ZINC

J00888 9537 10-32 NYLON INSERT HEX STOP NUT ZINC

J00889 9539 1/4-20 NYLON INSERT HEX STOP NUT ZINC

J00890 9540 1/4-28 NYLON INSERT HEX STOP NUT ZINC

J00891 9541 5/16-18 NYLON INSERT HEX STOP NUT ZINC 100 50 -50

J00892 9542 5/16-24 NYLON INSERT HEX STOP NUT ZINC 100 50 -50

J00893 9543 3/8-16 NYLON INSERT HEX STOP NUT ZINC 100 50 -50

J00894 9544 3/8-24 NYLON INSERT HEX STOP NUT ZINC 100 50 -50

J00895 9545 7/16-14 NYLON INSERT HEX STOP NUT ZINC 100 50 -50

J00896 9546 7/16-20 NYLON INSERT HEX STOP NUT ZINC 100 50 -50

J00897 9547 1/2-13 NYLON INSERT HEX STOP NUT ZINC 100 50 -50

J00898 9548 1/2-20 NYLON INSERT HEX STOP NUT ZINC 100 50 -50

J00900 2452 SHIM 1-3/4 X 1-1/4 X 1/16 W/ 1/2 SLOT ZINC

J00901 2453 SHIM 1-3/4 X 1-1/4 X 1/8 W/ 1/2 SLOT ZINC

50



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J00921 2288 DOOR & WINDOW CRANK HANDLE RETAINING CLIP

J00923 7595 3/4 X 14 GA UPHOLSTERY RINGS

J00935 2850 FRONT SEAT SELF-LOCKING CLIP

J00937 3610 THROTTLE ROD CLIPS 5/32 ROD DIA (LEFT) 50 100 +50

J00938 3609 THROTTLE ROD CLIPS 5/32 ROD DIA (RIGHT) 50 100 +50

J00939 3612 THROTTLE ROD CLIPS 3/16 ROD DIA (LEFT) 50 100 +50

J00940 3611 THROTTLE ROD CLIPS 3/16 ROD DIA (RIGHT) 50 100 +50

J00941 3614 THROTTLE ROD CLIPS 1/4 ROD DIA (LEFT) 50 100 +50

400942 3613 THROTTLE ROD CLIPS 1/4 ROD DIA (RIGHT) 50 100 +50

J00943 23772 WIRE-CABLE STOP W/SCREW

J00950 24147 GM DOOR WEATHERSTRIP CLIP

J00951 8830 RETAINING RINGS

J00952 N/A HIGH NYLON STOP NUT CF Discontinued
J00955 N/A HIGH NYLON STOP NUT Discontinued
J00960 N/A NYLON STOP NUT 41168 Discontinued
J00961 N/A NYLON STOP NUT 43359 Discontinued
J00962 15863 NYLON INSERT LOCK NUT 5/8-11 USS 50 25 -25

J00963 15864 NYLON INSERT LOCK NUT 5/8-18 SAE ZINGC 50 25 -25

J00964 15865 NYLON INSERT LOCK NUT 3/4-10 USS 50 25 -25

J00965 N/A NYLON STOP NUT NYNE 34 Discontinued
J00966 N/A NYLON STOP NUT 40002 Discontinued
J00970 N/A SLOT PAN THREAD CUT SCREW Discontinued
J00974 5292 8/32 X 1/2 SLTD PAN HD TYPE F ZINC TCS

J00977 N/A SLOT PAN THRD CUT SCREW Discontinued
J00978 5301 10-24 X 3/4 SLTD PAN HD.TYPE F ZINC TCS

J00981 N/A SLOT PAN THRD CUT SCREW Discontinued
J00982 N/A SLOT PAN THRD CUT SCREW Discontinued
J00984 N/A SLOT PAN THRD CUT SCREW Discontinued
J01005 10073 TUBULAR NUT FOR 3/16 STUD

J01006 2595 TUBULAR NUT FOR 1/8 STUD .040-.045 PANEL RANGE

Jo1011 24012 CAGE NUT #10-24 - BLACK

J01012 24013 CAGE NUT #10-32 - BLACK

J01013 24014 CAGE NUT 1/4-20 - BLACK

J01015 3798 CAGE NUT 5/16-18 THREAD .023-.063 PANEL RANGE

J01023 2303 J NUT #10 SCREW SIZE .027-.045 RANGE

J01026 24015 SPRING TYPE U-NUT SCREW #8-32 RANGE 0.025-0.040

J01027 2346 J NUT #8 SCREW SIZE .025-.040 PANEL RANGE

J01028 2057 J NUT #14 SCREW SIZE .032-.040 RANGE

J01032 2293 U NUT 1/4-20 SCREW SIZE .064-.125 RANGE

J01036 2098 FLAT NUT 1/16 STUD SIZE 7/32 X 3/8

J01037 2100 FLAT NUT 3/32 STUD SIZE 1/4 X 7/16

J01039 2099 FLAT NUT 1/8 STUD SIZE 5/16 X 9/16

J01040 2102 FLAT NUT 5/32 STUD SIZE 3/8 X 9/16

Jo1041 1905 FLAT NUT 5/32 STUD SIZE 7/16 X 3/4

J01042 2103 FLAT NUT 3/16 STUD SIZE 3/8 X 5/8

J01058 2105 FLAT NUT 1/4 STUD SIZE 7/16 X 5/8

J01064 1898 FLAT NUT #6-32 SCREW SIZE 1/2 X 7/8

J01065 1899 FLAT NUT #8-32 SCREW SIZE 1/2 X 7/8

J01067 24016 PUSH NUT FOR THREADED SCREWS 1/4"-20

J01070 24016 PUSH NUT FOR THREADED SCREWS 1/4”-20

J01072 N/A FLAT PUSH ON SPEED NUT Discontinued
J01073 3138 FLAT NUT 5/16 STUD SIZE 1/2 X 11/16

J01110 N/A UNIV TOGGLE BLT/NUT 1/ Discontinued
J01157 1256 REAR QUARTER STRIP TRIM FASTENER - FORD CHRYSLER

J01237 5228 NYLON NUT 100 50 -50

J01300 N/A PARTS CABINET HOLDSSLIDE RACK 1300 SERIES DRAWERS Discontinued
J01312 N/A PARTS DRAWER Discontinued
J01316 N/A PARTS DRAWER Discontinued
J01320 N/A PARTS DRAWER Discontinued
J01324 N/A PARTS DRAWER Discontinued
J01350 N/A BASE FOR 1300 CABINET Discontinued
J01400 N/A PARTS CABINET HOLDS 6 SLIDE RACK 1400 SERIES DRAWERS Discontinued
J01412 N/A PARTS DRAWER Discontinued
J01416 N/A PARTS DRAWER Discontinued
J01420 N/A PARTS DRAWER Discontinued
J01424 N/A PARTS DRAWER Discontinued
J01533 5330 3/8 X1 IND HEX HD 9/16 AF T.S. ZINC AB 100 50 -50

J01534 2895 THREAD CUTTING NUT 1/8 STUD SIZE 5/16 HEX

J01536 2897 THREAD CUTTING NUT 1/4 STUD SIZE 7/16 HEX

J01544 2772 8 X 1 PHIL OVAL HD SEMS TAP SCREW CNTRSNK CHRM

J01547 3824 E TYPE RETAINING RING 5/16 SHAFT DIA

J01548 24017 HAIR PIN COTTER .082 WIRE

J01550 24018 HAIR PIN COTTER .026 WIRE

J01552 2269 #5/16 X 1-1/4 IND HEX HEAD TAP SCREW 1/2 HEX ZINC

J01572 5647 4 X 3/8 PHIL FLAT HEAD T.S. ZINC AB

51



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J01580 20378 GM HEADLIGHT ADJUSTING NUT WHITE NYLON

J01601 3135 WINDOW REGULATOR ROLLER ASSEMBLY

J01602 3000 SHIM 2 X 1-1/2 X 1/8 W/ 3/4 SLOT ZINC

J01700 3793 FLAT NUT #8 SCREW SIZE 13/32 X 5/8

J01702 23512 GM DOOR TRIM PAD GROMMET

J01705 5576 U NUT #10 SCREW SIZE

J01713 9863 8/18 X 3/8 SPEC PHIL RD.WA. HEAD B T.S.

J01714 24019 PHILLIPS FLAT TOP WSHR HEAD T.S. #8 X 1/2 - ZINC

J01715 2806 #8 X 5/8 PHILLIPS RD WSHR HD TAP SCREW CHROME

J01723 24144 CHRYSLER WINDOW REGULATOR PUSH NUT

J01729 N/A NYLON DRIVE RIVET Discontinued
J01745 5788 HEADLIGHT ADJUSTING NUT

J01764 9282 1/8-27 HEX SOCKET HEAD PIPE PLUG

J01765 9283 1/4-18 HEX SOCKET HEAD PIPE PLUG

J01766 9284 3/8-18 HEX SOCKET HEAD PIPE PLUG

J01767 9285 1/2-14 HEX SOCKET HEAD PIPE PLUG

J01768 9278 1/8-27 HEX HEAD PIPE PLUG

J01769 9279 1/4-18 HEX HEAD PIPE PLUG

Jo1771 N/A HEX HEAD PIPE PLUG 1/2 Discontinued
J01785 2178 PHIL ROUND WASHER HEAD ZINC 10 X 3/8 TAP SCREW

J01787 8861 PUSH-ON RETAINERFOR 1/16 STUD3/16 OD

J01788 8862 PUSH-ON RETAINERFOR 3/32 STUD3/16 OD

J01789 8863 PUSH-ON RETAINER FOR 1/8 STUD 3/8 OD

J01790 8864 PUSH-ON RETAINER FOR 5/32 STUD7/160D

J01791 8865 PUSH-ON RETAINER FOR 3/16 STUD7/160D

J01794 8868 PUSH-ON RETAINER FOR 1/4 STUD17/320D

J01795 8869 PUSH-ON RETAINER FOR 5/16 STUD5/8 0D

J01796 3758 WIRE LOOM CLIPS BLACK 3/8 CLAMPING DIA

J01797 10397 HAIR PIN COTTER 5/16 - .310 WIRE - ZINC 10 5 -5

J01798 23513 HAIR PIN COTTER 1/2 SHAFT

J01802 9630 BOWED SPRING WASHER PARKERIZED

J01814 2774 8 X 5/8 PHIL OVAL HEAD SEMS TAP SCREW FLUSH CHROME

J01815 2775 8 X 7/8 PHIL OVAL HEX SEMS TAP SCREW FLUSH CHROME

J01822 16672 INTERNAL LOCK WASHERS 5/8 ZINC 25 100 +75

J01823 16673 INTERNAL LOCK WASHERS 3/4 ZINC 25 50 +25

J01825 16675 INTERNAL LOCK WASHERS 1 ZINC 25 10 -15

J01826 24195 EXTERNAL LOCK WASHER 9/16 BOLT SIZE 31/32 O.D. - ZINC

J01827 16676 EXTERNAL LOCK WASHERS 5/8 ZINC 25 50 +25

J01828 N/A EXT TOOTH LOCKWASHER 2 Discontinued
J01833 23528 SPRING TYPE U-NUT SCREW #8 RANGE 0.045-0.062 - BLACK

J01834 24020 SPRING TYPE U-NUT SCREW #8 RANGE 0.050-0.090 - BLACK

J01835 3796 U NUT #8 SCREW SIZE .025-.040 PANEL RANGE

J01838 2091 FLAT NUT #8-32 SCREW SIZE 5/16 X 1/2

J01842 N/A FLAT SPEED NUT C150-02 Discontinued
J01845 2092 FLAT NUT #10-24 SCREW SIZE 7/16 X 3/4

J01849 5836 JNUT #8 SCREW SIZE

J01850 24021 SPRING TYPE U-NUT SCREW #6 RANGE 0.062-0.094 - BLACK

J01856 5307 1/4-20 X 5/8 SLTD PAN HD TYPE F ZINC TCS

J01858 10823 HEX HD SEMS W/ DOG PT 1/4-20 X 7/8 - BLACK 100 50 -50

J01861 8385 UNIVERSAL MOULDING FASTENER (NYLON) 50 25 -25

J01862 23514 GM REAR FENDER LOWER MOULDING FASTENER

J01863 8855 THREAD CUTTING NUT 5/32 STUD SIZE

J01867 8400 UNIVERSAL MOULDING FASTENER (NYLON)

J01868 8399 UNIVERSAL MOULDING FASTENER (NYLON) 50 25 -25

J01869 8398 UNIVERSAL MOULDING FASTENER (NYLON) 50 25 -25

J01872 2561 WASHER LOCK NUT 1/4-20 19/32 0.D. 7/16 HEX

J01873 8550 WIRE HARNESS 50 25 -25

J01881 8858 HEX PALNUT LOCK NUT1/2-20 3/4 HEX ZINC

J01892 5651 6 X 1/2 PHIL FLAT HD T.S. W./NO. 4 HD AB

J01897 8447 UNIVERSAL MOULDING FASTENER (NYLON)

J01899 8272 NYLON STRAP

J01910 23515 1/4 ALUMINUM TUBING CLAMPS/NEOPRENE JACKET

Jo1911 23516 5/16 ALUMINUM TUBING CLAMPS/NEOPRENE JACKET

J01912 23517 3/8 ALUMINUM TUBING CLAMPS/NEOPRENE JACKET

J01913 23518 1/2 ALUMINUM TUBING CLAMPS/NEOPRENE JACKET

J01914 23519 5/8 ALUMINUM TUBING CLAMPS/NEOPRENE JACKET

J01915 23520 3/4 ALUMINUM TUBING CLAMPS/NEOPRENE JACKET

J01916 23521 7/8 ALUMINUM TUBING CLAMPS/NEOPRENE JACKET

J01917 23522 1 ALUMINUM TUBING CLAMPS/NEOPRENE JACKET

J01919 23523 1-1/4 ALUMINUM TUBING CLAMPS/NEOPRENE JACKET

J01921 23524 1-1/2 ALUMINUM TUBING CLAMPS/NEOPRENE JACKET

J01929 N/A SLOT OVAL MACH SCRW 4 Discontinued
J01931 N/A SLOT OVAL MACH SCRW 6 Discontinued
J01933 N/A SLOT OVAL MACH SCRW 6 Discontinued
J01936 N/A SLOT OVAL MACH SCRW 10 Discontinued

52



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J01938 N/A SLOT OVAL MACH SCRW 10 Discontinued
J01949 N/A SLOT TRUS MACH SCRW 10 Discontinued
J01952 N/A SLOT TRUS MACH SCRW 10 Discontinued
J01961 3639 FORD DOOR FLANGE WEATHERSTRIP RETAINER

J01962 5592 PLASTIC FASTENERS

J01967 5879 PLASTIC STRAP 50 25 -25

J01970 12735 HEADLIGHT BEZEL NYLON NUT #6 SCREW SIZE 100 50 -50

J01972 23525 UNIVERSAL MOULDING RETAINER FOR UP TO 3” WIDE MOULDINGS

J01973 23286 GM HEADLIGHT ADJUSTING SCREW 1/4-20 X 1-1/2”

J01979 8944 8/18 X 3/8 SPEC PHIL WA HEAD TYPE BA TP SC

J01982 11294 3/8-16 X 3/4 IND HEX WA HEAD TYPE F - ZINC

J01985 3400 THREAD CUTTING NUT 1/8 STUD SIZE 1/4 HEX 100 200 +100

J01986 24022 UNIVERSAL MOULDING FASTENER

J01990 24165 WASHER LOCK NUT #10-24 DIA. 5/8 - ZINC

J01991 11292 U NUT #8 SCREW SIZE - GM 100 50 -50

J01994 11719 1/4/#14 LICENSE PLATE NUT NYLON - GM

J01995 8843 UNIVERSAL MOULDING FASTENER (NYLON)

J01996 3207 10 X 2 1/2 PHILLIPS OVAL TAP SCREW ZINC

J02000 8419 NYLON NUT

J02001 24023 CHRYSLER HEADLAMP ADJUSTING SCREW SPACER GROMMET

J02002 24025 CHRYSLER HEADLAMP ADJUSTING SCREW SPACER GROMMET

J02003 8942 NYLON NUT 50 25 -25

J02005 13644 RIGHT ANGLE PIGTAIL W/11-1/2 WIRE LEAD

J02024 N/A FLAT BRASS WASHER #8 B Discontinued
J02026 N/A FLAT BRASS WASHER 3/16 Discontinued
J02031 N/A FLAT BRASS WASHER 3/8 Discontinued
J02036 7996 KRIMPING TOOL

J02038 11361 SOLDERLESS BATTERY TERMINAL #4 AWG 5 2 -3

J02039 N/A BATTERY CABLE TERMINAL Discontinued
J02040 N/A BATTERY CABLE TERMINAL Discontinued
J02041 11364 SOLDERLESS BATTERY TERMINAL #1/0 AWG POSITIVE 5 2 -3

J02042 N/A BATTERY CABLE TERMINAL Discontinued
J02043 11366 SOLDERLESS BATTERY TERMINAL #2/0 AWG POSITIVE 5 2 -3

J02044 11367 SOLDERLESS BATTERY TERMINAL #2/0 AWG NEGATIVE 5 2 -3

J02063 5767 8/32 X 1/2 IND HEX WA HEAD TYPE F ZINC

J02064 5769 8/32 X 3/4 IND HEX WA HEAD TYPE F ZINC

J02065 5774 10-24 X 1/2 IND HEX WA HEAD TYPE F ZINC

J02066 5766 8/32 X 3/8 IND HEX WA HEAD TYPE F ZINC

J02067 5782 1/4-20 X 1/2 IND HEX WA HEAD TYPE F ZINC

J02068 5783 1/4-20 X 5/8 IND HEX WA HEAD TYPE F ZINC

J02069 5784 1/4-20 X 3/4 IND HEX WA HEAD TYPE F ZINC

J02070 5786 1/4-20 X 1 IND HEX WA HEAD TYPE F ZINC

J02071 5787 1/4-20 X 1 1/4 IND HEX WA HEAD TYPE F ZINC 50 100 +50

J02072 24024 RUBBER GROMMET BORE - BUTADINE STYRONE (SBR)

J02073 4413 GROMMETS 3/16 BORE DIA. 1/2 OUTSIDE DIA.

J02074 16454 RUBBER GROMMET 1/4 BORE DIA 1/2 0D

J02075 24026 RUBBER GROMMET BORE - BUTADINE STYRONE (SBR)

J02076 4423 GROMMETS 3/8 BORE DIA. 5/8 OUTSIDE DIA.

J02077 24027 RUBBER GROMMET BORE - BUTADINE STYRONE (SBR)

J02078 4432 GROMMETS 5/8 BORE DIA. 1-1/8 OUTSIDE DIA.

J02084 24028 SPIN LOCK NUT W/SERRATIONS #10-24 THREAD 1/2 0.D.

J02085 3378 8 X 1 SLOTTED HEX WASHER HEAD TAP SCREW ZINGC

J02086 3379 8 X 11/4 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J02088 3385 10 X 1 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J02089 3386 10 X 1 1/4 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J02090 3387 10 X 1 1/2 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J02091 3390 12 X 3/4 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J02092 3392 12 X 1 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J02093 3393 12 X 1 1/4 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J02094 3394 12 X 1 1/2 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J02095 24029 SLOTTED HEX WSHR HEAD T.S. #14 X 1 - ZINC

J02101 N/A SLOT HEX SHT MET SCREW Discontinued
J02105 N/A SLOT HEX SHT MET SCREW Discontinued
J02118 2267 #14 X 1-1/4 IND HEX HEAD TAP SCREW 7/16 HEX ZINC

J02128 10222 4-WAY HARNESS CONNECTOR MALE 1 5 +4

J02129 10223 4-WAY HARNESS CONNECTOR FEMALE 1 5 +4

J02136 24030 EXTRUDED J-NUT SCREW #10-24 RANGE 0.025-0.040 - BLACK

J02142 23307 GM ENGINE COMPARTMENT WIRE CLIP FOR 1/4 TUBE

J02145 10109 TEE CONNECTOR 3/16 X 3/16 X 3/16

J02146 9342 NYLON FASTENERS

J02152 N/A CASTER/CAMBER SHIM SAM Discontinued
J02162 N/A CARB WING NUT Discontinued
J02164 N/A WIRE MOULDING CLIP Discontinued
J02167 23803 HEX HEAD SEMS TAPPING SCREW #14 X 1 - ZINC

J02168 23526 SNAP FASTENER PHIL. WOOD SCREW #8 X 5/8” NICKEL ON BRASS




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J02172 N/A HEX NYLON STOP NUT 1-1 Discontinued
J02173 N/A HEX NYLON STOP NUT 1-1 Discontinued
J02183 N/A TRUCK SHIM T-101-4 ALU Discontinued
J02184 N/A TRUCK SHIM T-101-5 ALU Discontinued
J02185 N/A TRUCK SHIM T-101-7 ALU Discontinued
J02187 N/A TRUCK SHIM Discontinued
J02188 N/A TRUCK SHIM T-102-3 ALU Discontinued
J02189 N/A TRUCK SHIM T-102-4 ALU Discontinued
J02190 N/A TRUCK SHIM T-102-5 ALU Discontinued
J02191 N/A TRUCK SHIM T-102-7 ALU Discontinued
J02192 N/A TRUCK SHIM T-103-1 ALU Discontinued
J02193 N/A TRUCK SHIM T-103-2 ALU Discontinued
J02194 N/A TRUCK SHIM T-103-3 ALU Discontinued
J02196 N/A TRUCK SHIM T-104-1 ALU Discontinued
J02197 N/A TRUCK SHIM T-104-2 ALU Discontinued
J02200 N/A TRUCK SHIM T-104-5 ALU Discontinued
J02206 N/A TRUCK SHIM T-105-7 ALU Discontinued
J02208 N/A TRUCK SHIM T-107-3 ALU Discontinued
J02210 N/A TRUCK SHIM Discontinued
J02212 9481 ELECTRICAL CONNECTOR BLUE 18-14 GAUGE

J02215 23588 GM, FORD & CHRYSLER SCREW-IN STUD REPLACES WELD-ON STUD

J02217 23593 GM & FORD HOOD INSULATION RETAINER

J02223 9480 1/4-20 X 1 HEX HEAD SEMS W/ DOG PT. PHOS

402227 23664 HEX HEAD SEMS BODY BOLT W/DOG POINT 3/8-16 X 1-13/16 - BLACK

J02230 3467 10 X 1 #8 HEAD PHIL. OVAL HEAD SEMS WSHR TAP SCREW

J02231 5854 TUBULAR NUT FOR 1/8 STUD

J02232 5195 TUBULAR NUT FOR 1/8 STUD

402243 9862 NYLON NUT

J02250 8359 EXTRUDED U NUT 1/4-20 SCREW SIZE

J02253 8545 TUBULAR NUT FOR 5/32 STUD

J02262 22797 PUSHNUT BOLT RETAINER 1/4 BOLT 1/2 OD BLACK PHOS

J02263 22799 PUSHNUT BOLT RETAINER 3/8 BOLT 25/32 OD BLACK PHOS

J02264 22802 PUSHNUT BOLT RETAINER 7/16 BOLT 27/32 OD BLACK PHOS

J02265 22800 PUSHNUT BOLT RETAINER 1/2 BOLT 15/16 OD BLACK PHOS

J02275 11296 3/8-16 X 1-1/4 IND HEX WA HEAD TYPE F - ZINC 50 25 -25

J02277 24031 UNIVERSAL TRIM PANEL RETAINER WITH SEALER

J02287 9851 NYLON NUT

J02288 2698 6 X 1/2 PHILLIPS OVAL HEAD TAP SCREW CHROME

J02289 1794 PHILLIPS OVAL HEAD TAP SCREW #6 X 3/4 CHROME

J02290 1796 PHILLIPS OVAL HEAD TAP SCREW #6 X 1 CHROME

J02292 2024 PHILLIPS OVAL #6 HEAD TAP SCREW 8 X 3/8 CHROME

J02293 2707 8 X 1/2 PHILLIPS OVAL HEAD TAP SCREW CHROME

J02294 2027 PHILLIPS OVAL #6 HEAD TAP SCREW 8 X 1/2 CHROME

J02295 2709 8 X 5/8 PHILLIPS OVAL HEAD TAP SCREW CHROME

J02296 1421 PHILLIPS OVAL HEAD TAP SCREW 8 X 5/8 6 HEAD

J02297 2710 #8 X 3/4 PHILLIPS OVAL HEAD TAP SCREW CHROME

J02298 1799 PHILLIPS OVAL HD TAP SCREW #38 X 3/4 CHROME #6 HEAD

J02299 2713 #8 X 1 PHILLIPS OVAL HEAD TAP SCREW CHROME

J02300 1483 PHILLIPS OVAL HEAD TAP SCREW #8 X 1 #6HD CHROME

J02301 2716 #8 X 1-1/4 PHILLIPS OVAL HEAD TAP SCREW CHROME

J02302 1423 PHILLIPS OVAL HEAD TAP SCREW #38 X 1-1/4 #6 HEAD

J02303 2718 8 X1 1/2 PHILLIPS OVAL HEAD TAP SCREW CHROME

J02304 1932 PHIL OVAL #6 HEAD TAP SCREW 8 X 1-1/2 CHROME AB

J02305 24032 PHILLIPS OVAL HEAD T.S. #8 X 1-3/4 - CHROME

J02306 1933 PHIL OVAL #6 HEAD TAP SCREW 8 X 1 3/4 CHROME AB

J02307 24033 PHILLIPS OVAL HEAD T.S. #8 X 2 - CHROME

J02310 2722 10 X 1/2 PHILLIPS OVAL HEAD TAP SCREW CHROME

J02311 2657 10 X 1/2 PHILLIPS OVAL #8 HD TAP SCREW CHROME

J02312 2728 #10 X 3/4 PHILLIPS OVAL HEAD TAP SCREW CHROME

J02313 1717 PHILLIPS OVAL HEAD TAP SCREW #8 HEAD 10 X 3/4 CHROME

J02314 2731 #10 X 1 PHILLIPS OVAL HEAD TAP SCREW CHROME

J02316 2730 #10 X 1 #8 HEAD PHILLIPS OVAL HEAD TAP SCREW CHROME

J02317 2735 10 X 1 1/4 PHILLIPS OVAL HEAD TAP SCREW CHROME

J02319 2734 10 X 1 1/4 #8 HEAD PHILLIPS OVAL HEAD TAP SCREW CHROME

J02322 20374 PHILLIPS OVAL HEAD TAP SCREW 10 X 1-1/2 8 HEAD CHROME

J02338 8853 FORD WEATHERSTRIP RETAINER

J02340 14985 DOOR WEATHERSTRIP TO INSIDE PANEL CLIP

J02344 10090 HEADLIGHT ADJUSTING SPRING - GM

J02366 10364 BODY BOLT IND HEX WASHER HEAD TYPE A 5/16-12 X 7/8

J02371 1900 FLAT NUT #10 SCREW SIZE 1/2 X 7/8

J02372 3401 THREAD CUTTING NUT 1/8 STUD SIZE 5/16 HEX 100 200 +100

J02379 2554 WASHER LOCK NUT #6-32 7/16 0.D. 5/16 HEX

J02383 5076 SHIM 1/16 THK 1-1/8 X 1-1/8 W/ 1/2 SLOT

J02384 5077 SHIM 1/8 THK 1-1/8 X 1-1/8 W/ 1/2 SLOT

J02388 5717 NO.6-1/8 LOCK WASHER ZINC

54



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J02389 5718 NO. 8-5/32 LOCK WASHER ZINC

J02390 5719 NO.10-3/16 LOCK WASHER ZINC

J02391 24034 SPRING TYPE LOCK WASHER BOLT SIZE #12 - ZINC

J02392 5720 NO.14-1/4 LOCK WASHER ZINC

J02393 5721 5/16 LOCK WASHER ZINC

J02394 5722 3/8 LOCK WASHER ZINC

J02395 5723 7/16 LOCK WASHER ZINC

J02396 5724 1/2 LOCK WASHER ZINC

J02397 8649 9/16 SPRING TYPE LOCK WASHER ZINC

J02398 8650 5/8 SPRING TYPE LOCK WASHER ZINC

J02399 14879 SPRING TYPE LOCK WASHER 3/4 LENGTH ZINC

J02400 N/A SPLIT LOCKWASHER 7/8 Discontinued
J02406 3984 SAE FLAT WASHER #6 BOLT SIZE 5/32 I.D. 3/8 0.D.

402407 16721 S.A.E. FLAT WASHER #8 ZINC

J02408 3985 SAE FLAT WASHER 3/16 BOLT SIZE 7/321.D. 1/2 0.D.

J02409 8605 3/16 X 1/4 X 9/16 X 3/64 THICK WROUGHT

402410 3986 SAE FLAT WASHER 1/4 BOLT SIZE 9/32 1.D. 5/8 0.D.

J02411 3987 SAE FLAT WASH 5/16 BOLT SIZE 11/321.D. 11/16 0.D.

402412 3988 SAE FLAT WASHER 3/8 BOLT 13/32 I.D. 13/16 0.D.

J02413 3989 SAE FLAT WASHER 7/16 BOLT SIZE 15/32 1.D. 15/16 0.D.

J02414 3990 SAE FLAT WASHER 1/2 BOLT 17/32 1.D. 1-1/16 0.D.

J02415 3991 SAE FLAT WASHER 9/16 BOLT 19/32 1.D. 1-3/16 0.D

J02416 3992 SAE FLAT WASHER 5/8BOLT 21/32 1.D. 1-5/16 0.D.

J02417 3993 SAE FLAT WASHER 3/4 BOLT 13/16 I.D. 1-1/2 0.D. 50 100 +50
J02418 8621 7/8 X 15/16 X 1-3/4 SAE FLAT WASHER ZINC 50 100 +50
402420 N/A FLAT WASHER SAE 1-1/8S Discontinued
402423 N/A FLAT WASHER SAE 1-1/2S Discontinued
J02424 8605 3/16 X 1/4 X 9/16 X 3/64 THICK WROUGHT

402425 8606 1/4 X 5/16 X 3/4 X 1/16 THICK WROUGHT

J02426 8608 3/8 X 7/16 X 1 X 5/64 THICK WROUGHT

402427 N/A FLAT WASHER USS 3/8 US Discontinued
J02428 8609 7/16 X 1/2 X 1 1/4 X 5/64 THICK WROUGHT

402429 8610 1/2X9/16 X 1 3/8 X 7/64 THICK WROUGHT

J02430 8611 9/16 X 5/8 X 1 1/2 X 7/64 THICK WROUGHT

J02431 8612 5/8 X11/16 X 1 3/4 X 9/64 THICK WROUGHT

J02432 8613 3/4 X 13/16 X 2 X 5/32 THICK WROUGHT

J02436 N/A FLAT WASHER USS 1-1/4U Discontinued
J02444 23295 GM FORD SIDE MARKER AND LICENSE PLATE SOCKET ASSEMBLY

J02463 10051 EXTRUDED U NUT 1/4-20 SCREW SIZE

J02467 20675 CHRYSLER DOOR LOCK ROD CLIP 50 25 -25
J02468 14967 GM & FORD DOOR LOCK ROD CLIP FITS 5/32” ROD

J02478 8418 GM NYLON NUT

402479 10053 EXTRUDED U NUT 5/16-18 SCREW SIZE 25 50 +25
J02480 8814 EXTRUDED U NUT 5/16-18 SCREW SIZE

J02481 23305 SPRING TYPE U-NUT #8 SCREW RANGE 0.026-0.150

J02482 9879 SPRING TYPE U NUT #8 SCREW SIZE 50 100 +50
402495 23582 FORD, MAZDA & AMC WINDSHIELD & REAR WINDOW REVEAL MOULDING CLIP

J02499 11295 3/8-16 X 1 IND HEX WA HD TYPE F - ZINC

J02571 4305 0-RINGS 1/8 INNER DIA. 1/4 OUTER DIA. 25 50 +25
J02572 4306 0-RINGS 5/32 INNER DIA. 9/32 OUTER DIA. 25 50 +25
J02573 23529 RUBBER 0-RING 3/16 1.D. 5/16” 0.D.

J02574 4308 0-RINGS 7/32 INNER DIA. 11/32 OUTER DIA. 25 50 +25
J02575 4309 0-RINGS 1/4 INNER DIA. 3/8 OUTER DIA. 25 50 +25
J02576 4310 0-RINGS 5/16 INNER DIA. 7/16 OUTER DIA. 25 50 +25
J02577 4311 0-RINGS 3/8 INNER DIA. 1/2 OUTER DIA. 25 50 +25
J02578 4312 0-RINGS 3/8 INNER DIA. 9/16 OUTER DIA. 25 50 +25
J02579 4313 0-RINGS 7/16 INNER DIA. 5/8 OUTER DIA. 25 50 +25
J02580 4314 0-RINGS 1/2 INNER DIA. 11/16 OUTER DIA. 25 50 +25
J02581 4315 0-RINGS 9/16 INNER DIA. 3/4 OUTER DIA. 25 50 +25
J02582 4316 0-RINGS 5/8 INNER DIA. 13/16 OUTER DIA. 25 50 +25
J02583 4317 0-RINGS 11/16 INNER DIA. 7/8 OUTER DIA. 25 50 +25
J02584 4318 0-RINGS 3/4 INNER DIA. 15/16 OUTER DIA. 25 50 +25
J02585 4319 0-RINGS 3/4 INNER DIA. 1 OUTER DIA. 25 50 +25
J02586 4320 0-RINGS 13/16 INNER DIA. 1-1/16 OUTER DIA. 25 50 +25
J02587 4321 0-RINGS 7/8 INNER DIA. 1-1/8 OUTER DIA. 25 50 +25
J02588 4322 0-RINGS 15/16 INNER DIA. 1-3/16 OUTER DIA. 25 50 +25
J02589 4323 0-RINGS 1 INNER DIA. 1-1/4 OUTER DIA. 25 50 +25
J02591 4347 0-RINGS 1-1/8 INNER DIA. 1-3/8 OUTER DIA.

J02592 4348 0-RINGS 1-3/16 INNER DIA. 1-7/16 OUTER DIA.

J02593 4349 0-RINGS 1-1/4 INNER DIA. 1-1/2 OUTER DIA.

J02594 4350 0-RINGS 1-5/16 INNER DIA. 1-9/16 OUTER DIA.

J02595 4351 0-RINGS 1-3/8 INNER DIA. 1-5/8 OUTER DIA.

J02596 4352 0-RINGS 1-7/16 INNER DIA. 1-11/16 OUTER DIA.

J02597 4353 0-RINGS 1-1/2 INNER DIA. 1-3/4 OUTER DIA.

J02598 4354 0-RINGS 1-1/2 INNER DIA. 1-7/8 OUTER DIA.

95



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J02599 4355 0-RINGS 1-5/8 INNER DIA. 2 OUTER DIA.

J02616 9643 3/16 DIA X .400 SOLID ALUM. BRAZIER HEAD

J02617 12528 BRAZIER HEAD SOLID ALUMINUM RIVET 1/2 LENGTH

J02621 9647 1/4 DIA X 3/8 SOLID ALUM. BRAZIER HEAD

J02648 13933 NYLON GRILLE NUT #8 OR #10 SCREW SIZE 1/2 HEAD 100 50 -50
J02649 8249 1/4 X 5/8 SLTD. RD. WA. HEAD. B SCREW ZINC

J02650 4356 0-RINGS 1-3/4 INNER DIA. 2-1/8 OUTER DIA.

J02651 14838 7 IN 50 LB NYLON CABLE TIES - NATURAL 100 50 -50
J02652 15754 14” THIN CABLE TIE (LIGHT DUTY) NATURAL 50 LB 100 25 -75
J02653 14840 41N 120 LB NYLON CABLE TIES - NATURAL 100 25 -75
J02654 11961 7 IN 50 LB NYLON CABLE TIES W/HOLE- NATURAL 100 50 -50
J02657 16021 FENDER WASHER 9/32 1.D. 1-1/2 0.D. 100 25 -75
J02658 24035 FENDER WASHER BOLT SIZE 7/16 0.D. 1-3/8 - ZINC

J02659 23534 FENDER WASHER 2 0.D. - ZINC

J02660 24180 SPIN LOCK NUT W/SERRATIONS 7/16-24 THREAD 15/16 DIA. - BLACK

J02662 10598 CLOSED CLAMP 1/4 - GALVANIZED VINYL COATED

J02663 10599 CLOSED CLAMP 5/16 - GALVANIZED VINYL COATED

J02664 10600 CLOSED CLAMP 3/8 - GALVANIZED VINYL COATED

J02665 10601 CLOSED CLAMP 1/2 - GALVANIZED VINYL COATED

J02666 10602 CLOSED CLAMP 5/8 - GALVANIZED VINYL COATED

J02667 10603 CLOSED CLAMP 3/4 - GALVANIZED VINYL COATED

J02668 10604 CLOSED CLAMP 7/8 - GALVANIZED VINYL COATED

J02669 10605 CLOSED CLAMP 1 - GALVANIZED VINYL COATED

J02670 10606 CLOSED CLAMP 1-1/4 - GALVANIZED VINYL COATED

J02671 10607 CLOSED CLAMP 1-1/2 - GALVANIZED VINYL COATED

J02674 3466 10 X 3/4 #8 HEAD PHIL. OVAL HD SEMS WSHR TAP SCREW

J02676 5331 3/8 X 1 1/4 IND HEX HEAD 9/16 AF T.S. ZINC

J02677 5332 3/8 X1 1/2 IND HEX HEAD 9/16 AF T.S. ZINC

J02678 10163 #8 X 1/2 PHIL OVAL HEAD T.S. BLACK OXIDE AB

J02679 10165 #8 X 3/4 PHIL OVAL HEAD T.S. BLACK OXIDE

J02680 10167 #8 X 1 PHIL OVAL HEAD T.S. BLACK OXIDE

J02681 10169 #8 X 1-1/4 PHIL OVAL HEAD T.S. BLACK OXIDE

J02682 10171 #8 X 11/2 PHIL OVAL HEAD. T.S. BLACK OXIDE

J02683 10162 #8 X 1/2 PHIL OVAL HEAD T.S. W/ #6 HEAD BLACK OXIDE

J02684 10164 #8 X 3/4 W/#6 HEAD PHIL OVAL HEAD T.S. BLACK OXIDE AB

J02685 10166 #8 X 1 W/ #6 HEAD PHIL OVAL HEAD T.S. BLACK OXIDE

J02686 10168 #8 X 1-1/4 W/ # 6HEAD PHIL OVAL HEAD T.S. BLACK OXIDE

J02687 10170 #8 X 11/2 PHIL OVAL HEAD. T.S. W/ #6 HEAD BLACK OXIDE

J02688 10172 #8 X 1/2 PHIL FLAT HEAD T.S. BLACK OXIDE AB

J02689 10175 #8 X 3/4 PHIL FLAT HEAD T.S. BLACK OXIDE AB

J02690 10177 #8 X 1 PHIL FLAT HEAD T.S. BLACK OXIDE AB

J02691 10179 #8 X 1 1/4 PHIL FLAT HEAD T.S. BLACK OXIDE

J02692 10173 #8 X 1/2 PHIL FLAT HEAD T.S. W/ #6 HEAD BLACK OXIDE

J02693 10174 #8 X 3/4 PHIL FLAT HEAD T.S. W/ #6 HEAD BLACK OXIDE

J02694 10176 #8 X 1 PHIL FLAT HEAD T.S. W/ #6 HEAD AB BLACK OXIDE

J02696 10180 #8 X 1/2 PHIL PAN HEAD T.S. BLACK OXIDE

J02697 10181 #8 X 3/4 PHIL PAN HEAD T.S. BLACK OXIDE

J02698 10182 #8 X 1 PHIL PAN HEAD T.S. BLACK OXIDE

J02699 10183 #8 X 1-1/4 PHIL PAN HEAD T.S. BLACK OXIDE

J02702 24036 HAIR PIN COTTER 7/32 WIRE

J02703 24037 HAIR PIN COTTER 3/16 WIRE

J02704 24038 HAIR PIN COTTER 1/4 WIRE

J02705 N/A HAIR PIN RETAINER Discontinued
J02707 9114 HAIR PIN RETAINERS ZINC PLATED

J02708 N/A HAIR PIN RETAINER 3/16 Discontinued
J02710 10392 HAIR PIN COTTER 1/16 - .062 WIRE - ZINC

J02711 8825 RETAINING RINGS

J02712 8826 RETAINING RINGS

J02713 10131 RETAINING RING E TYPE 5/32 DIA

J02714 3166 RETAINING RINGS 3/16 SHAFT DIA .147 GROOVE DIA

J02715 8828 RETAINING RINGS

J02716 3628 RETAINING RINGS 5/16 SHAFT DIA .250 GROOVE DIA

J02717 10133 RETAINING RING E TYPE 7/32 DIA

J02718 2672 RETAINING RINGS 7/16 SHAFT DIA .343 GROOVE DIA

J02719 5601 RETAINING RINGS

Jo2721 8983 SPRING PINS 1/16 X 1/2 ZINC 100 50 -50
J02722 8985 SPRING PINS 1/16 X 3/4 ZINC 100 50 -50
J02723 8988 SPRING PINS 5/64 X 1/4 ZINC 100 50 -50
J02724 8989 SPRING PINS 5/64 X 1/2 ZINC 100 50 -50
J02725 8991 SPRING PINS 5/64 X 3/4 ZINC 100 50 -50
J02727 8998 SPRING PINS 3/32 X 3/4 ZINC 100 50 -50
J02728 9000 SPRING PINS 3/32 X 1 ZINC 100 50 -50
J02729 9003 SPRING PINS 1/8 X 3/8 ZINC 100 50 -50
J02730 9006 SPRING PINS 1/8 X 3/4 ZINC 100 50 -50
J02731 9010 SPRING PINS 1/8 X 1-1/2 ZINC 100 50 -50

56



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional

Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference

J02732 9013 SPRING PINS 5/32 X 1/2 ZINC 100 50 -50

J02733 9016 SPRING PINS 5/32 X 1 ZINC 100 50 -50

J02734 9018 SPRING PINS 5/32 X 1 1/2 ZINC 100 50 -50

J02735 9019 SPRING PINS 3/16 X 1/2 ZINC

J02736 9022 SPRING PINS 3/16 X 1 ZINC 100 50 -50

J02737 9026 SPRING PINS 3/16 X 2 ZINC

J02738 24039 SPRING PIN 7/32 X 3/4 STEEL

J02740 N/A TENSION PIN 7/32X2 TNS Discontinued

J02741 9033 SPRING PINS 1/4 X 1 ZINC

J02742 9037 SPRING PINS 1/4 X 2 ZINC

J02743 N/A TENSION PIN 1/4X3 TNS Discontinued

J02744 5602 RETAINING RINGS

J02750 8688 INTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02751 8689 INTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02752 8690 INTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02753 8691 INTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02754 8692 INTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02755 8693 INTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02756 8694 INTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02757 8695 INTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02758 8696 INTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02759 8697 INTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02760 8698 INTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02761 8699 INTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02763 8678 EXTERNAL GRIP RINGS Zinc Finish, formerly
Black Finish

J02764 8702 EXTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02765 24040 EXTERNAL RETAINING RING SHAFT DIA. 3/8” - BLACK

J02766 8704 EXTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02767 8705 EXTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02768 8706 EXTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02769 8707 EXTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02770 8708 EXTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02771 8709 EXTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02772 8710 EXTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02773 8711 EXTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J02774 8712 EXTERNAL RETAINING RINGS Zinc Finish, formerly
Black Finish

J03000 5000 TERMINALS

J03001 5021 TERMINALS

J03002 5002 TERMINALS

J03003 5023 TERMINALS

J03004 5003 TERMINALS

J03005 5024 TERMINALS

J03006 5005 TERMINALS

J03007 5026 TERMINALS

J03008 5006 TERMINALS

J03009 5027 TERMINALS

J03010 24191 SOLDERLESS TERMINAL RING NON-INSULATED 16-14 GA 5/16-3/8 STUD

J03011 12144 VINYL SOLDERLESS TERMINAL 16/14 GA 5/16 RING 100

J03012 5007 TERMINALS

J03013 5028 TERMINALS

J03014 5008 TERMINALS

J03015 5029 TERMINALS

o7



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J03016 5009 TERMINALS

J03017 5030 TERMINALS

J03018 5010 TERMINALS

J03019 5031 TERMINALS

J03020 N/A SOLDERLESS TERMINAL Discontinued
J03021 N/A SOLDERLESS TERMINAL Discontinued
J03023 5034 TERMINALS

J03024 5014 TERMINALS

J03025 5035 TERMINALS

J03026 5015 TERMINALS

J03027 5036 TERMINALS

J03029 5037 TERMINALS

J03030 N/A SOLDERLESS TERMINAL Discontinued
J03031 5038 TERMINALS

J03032 N/A SOLDERLESS TERMINAL Discontinued
J03034 N/A SOLDERLESS TERMINAL Discontinued
J03035 5040 TERMINALS

J03037 5041 TERMINALS

J03040 N/A SOLDERLESS TERMINAL 14 Discontinued
J03042 5044 TERMINALS

J03043 5047 TERMINALS

J03044 5045 TERMINALS

J03045 5048 TERMINALS

J03046 5046 TERMINALS

403047 5049 TERMINALS

J03048 N/A SOLDERLESS TERMINAL 3 Discontinued
J03051 5056 TERMINALS

J03052 N/A SOLDERLESS TERMINAL 4 Discontinued
J03055 5067 TERMINALS

J03056 9065 SOLDERLESS TERMINALS 50 100 +50

J03057 5068 TERMINALS

J03060 5063 MALE SNAP PLUG SOLDERLESS TERMINAL

J03061 5062 TERMINALS

J03065 5072 TERMINALS 50 100 +50

J03068 17490 HIGH TEMP NON-INSUL 1/4” MALE TERMINAL 16-14 G 100 50 -50

J03070 5066 HIGH TEMP NON-INS. FEMALE QUICK CONNECT

J03083 1340 WIRE LOOM CLIP 1/4 CLAMPING DIA.

J03084 1341 WIRE LOOM CLIP 3/16 CLAMPING DIA.

J03085 5219 PIG TAIL CONNECTORS

J03086 5220 PIG TAIL CONNECTORS

J03087 5221 PIG TAIL CONNECTORS

J03089 23143 HALOGEN HEADLIGHT HI-TEMP SOCKET ASSEMBLY

J03098 5226 PIG TAIL CONNECTORS

J03100 3877 SIZE NO. 3 WOODRUFF KEYS 1035 STEEL

J03101 3878 SIZE NO. 5 WOODRUFF KEYS 1035 STEEL

J03102 3879 SIZE NO. 7 WOODRUFF KEYS 1035 STEEL

J03103 3880 SIZE NO.4 WOODRUFF KEYS 1035 STEEL

J03104 3881 SIZE NO 6 WOODRUFF KEYS 1035 STEEL

J03105 3882 SIZE NO. 8 WOODRUFF KEYS 1035 STEEL

J03106 3883 SIZE NO. 10 WOODRUFF KEYS 1035 STEEL

J03107 3884 SIZE NO. 9 WOODRUFF KEYS 1035 STEEL

J03108 3885 SIZE NO. 11 WOODRUFF KEYS 1035 STEEL

J03109 3886 SIZE NO. 13 WOODRUFF KEYS 1035 STEEL

J03110 3887 SIZE NO. 16 WOODRUFF KEYS 1035 STEEL

J03111 3888 SIZE NO. 12 WOODRUFF KEYS 1035 STEEL

J03112 3889 SIZE NO. 14 WOODRUFF KEYS 1035 STEEL

J03113 3890 SIZE NO. 17 WOODRUFF KEYS 1035 STEEL

J03114 3891 SIZE NO. A WOODRUFF KEYS 1035 STEEL

J03115 3892 SIZE NO. 15 WOODRUFF KEYS 1035 STEEL

J03116 3893 SIZE NO. 18 WOODRUFF KEYS 1035 STEEL

J03117 3894 SIZE NO. 21 WOODRUFF KEYS 1035 STEEL

J03118 3895 SIZE B WOODRUFF KEYS 1035 STEEL

J03119 3896 SIZE NO. C WOODRUFF KEYS 1035 STEEL

J03120 24041 WOODRUFF KEY 1/16” X 1/2”, IND #1

J03122 N/A WOODRUFF KEY #61 Discontinued
J03125 3953 1/2” CUP EXPANSION PLUGS 50 25 -25

J03126 3957 3/4” CUP EXPANSION PLUGS 50 25 -25

J03127 3958 7/8” CUP EXPANSION PLUGS 50 25 -25

J03128 3962 1-7/32 CUP TYPE EXPANSION PLUG ZINC 50 25 -25

J03129 3965 1-1/2” CUP EXPANSION PLUGS 50 25 -25

J03130 3939 3/4” CONCAVE EXPANSION PLUGS

J03132 3941 15/16” CONCAVE EXPANSION PLUGS

J03133 3942 1” CONCAVE EXPANSION PLUGS

J03135 3944 1-1/8” CONCAVE EXPANSION PLUGS

J03136 3945 1-3/16” CONCAVE EXPANSION PLUGS

58



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J03137 3946 1-1/4” CONCAVE EXPANSION PLUGS

J03140 3949 1-5/8” CONCAVE EXPANSION PLUGS

J03143 N/A EXPANSION PLUG 19/32 Discontinued
J03145 3966 1-5/8” CUP EXPANSION PLUGS 50 25 -25

J03146 3967 1-3/4” CUP EXPANSION PLUGS 50 25 -25

J03147 N/A EXPANSION PLUG 1-61/64 Discontinued
J03151 N/A EXPANSION PLUG 1-49/64 Discontinued
J03152 3969 1-15/16” CUP EXPANSION PLUGS 50 25 -25

J03153 3971 2” CUP EXPANSION PLUGS

J03159 N/A EXPANSION PLUG 2-1/64 Discontinued
J03161 N/A TUBING CLAMP 5/16 Discontinued
J03162 24042 JIFFY TYPE TUBING CLAMP 3/8 WIRE DIA.

J03164 24043 JIFFY TYPE TUBING CLAMP 5/8 WIRE DIA.

J03168 9381 CLOSED CLAMP 1/4 SMALL - GALVANIZED VINYL COATED

J03169 9382 CLOSED CLAMP 5/16 SMALL - GALVANIZED VINYL COATED

J03170 9383 CLOSED CLAMP 3/8 SMALL - GALVANIZED VINYL COATED

J03171 9384 CLOSED CLAMP 1/2 SMALL - GALVANIZED VINYL COATED

J03172 9385 CLOSED CLAMP 5/8 SMALL - GALVANIZED VINYL COATED

J03173 9386 CLOSED CLAMP 3/4 SMALL - GALVANIZED VINYL COATED

J03176 3960 1” CUP EXPANSION PLUGS 50 25 -25

J03177 3961 1-1/8” CUP EXPANSION PLUGS 50 25 -25

J03178 3963 1-1/4” CUP EXPANSION PLUGS 50 25 -25

J03180 3750 PLUG BUTTONS 1/4 HOLE SIZE 13/32 HEAD DIA

J03181 3751 PLUG BUTTONS 3/8 HOLE SIZE 1/2 HEAD DIA

J03182 3752 PLUG BUTTONS 1/2 HOLE SIZE 21/32 HEAD DIA

J03183 3753 PLUG BUTTONS 5/8 HOLE SIZE 13/16 HEAD DIA

J03184 3754 PLUG BUTTONS 3/4 HOLE SIZE 15/16 HEAD DIA

J03185 3755 PLUG BUTTONS 7/8 HOLE SIZE 1-1/16 HEAD DIA

J03186 24044 PLUG BUTTON 1 HOLE SIZE - NICKEL PLATED

J03193 N/A UNIVERSAL CLEVIS PIN 7/16 Discontinued
J03204 N/A SPRING CENTER BOLT 3/8 Discontinued
J03205 N/A SPRING CENTER BOLT 3/8 Discontinued
J03206 N/A SPRING CENTER BOLT 3/8 Discontinued
J03207 N/A SPRING CENTER BOLT 3/8 Discontinued
J03210 24045 SPRING CENTER BOLT 7/16 X 6” SAE FILLISTER HEAD - PLAIN

J03212 N/A SPRING CENTER BOLT 7/1 Discontinued
J03217 N/A SPRING CENTER BOLT 1/2 Discontinued
J03229 3964 1-3/8” CUP EXPANSION PLUGS 50 25 -25

J03230 15072 GREASE FITTING STRAIGHT 1/4 DRIVE FIT 1/2 LENGTH

J03231 15055 GREASE FITTING 1/4 X 28 STRAIGHT 9/64 THREAD 100 50 -50

J03232 9258 GREASE FITTING 1/4-28LONG STR. (1652)

J03233 9259 GREASE FITTING 1/4-28 X-LONG STR (1680) 50 25 -25

J03234 9260 GREASE FITTING 1/4-28 45 DEG (1637) 50 25 -25

J03235 9261 GREASE FITTING 1/4-28 90 DEG (1911) 50 25 -25

J03236 9262 GREASE FITTING 1/8 NPT STRAIGHT (1610)

J03237 9264 GREASE FITTING 1/8 NPT 45 DEG.(1688) 50 25 -25

J03238 9265 GREASE FITTING 1/8 NPT 65 DEG. (1612) 50 25 -25

J03240 9266 GREASE FITTING 1/8 NPT 90 DEG. (1613) 50 25 -25

J03241 9267 GREASE FITTING 1/8 NPT LONG STR.(1607) 50 25 -25

J03250 23148 UNIVERSAL LICENSE PLATE BASE SOCKET ASSEMBLY

J03251 23109 LICENSE PLATE SINGLE CONTACT REGULAR BASE SOCKET ASSEMBLY

J03252 8759 PIGTAIL CONNECTORS 10 5 -5

J03261 15158 8 GA.1/4 STUD RING TERMINAL NON-INSUL.

J03262 15160 8 GA.3/8 STUD RING TERMINAL NON-INSUL.

J03263 15161 8 GA.1/2 STUD RING TERMINAL NON-INSUL

J03264 15162 6 GA.1/4 STUD RING TERMINAL NON-INSUL

J03265 15164 6 GA.3/8 STUD RING TERMINAL NON-INSUL

J03266 15165 6 GA.1/2 STUD RING TERMINAL NON-INSUL

J03267 15167 4 GA.5/16.STUD RING TERMINAL NON-INSUL 25 10 -15

J03268 15168 4 GA.3/8 STUD RING TERMINAL NON-INSUL 25 10 -15

J03270 24046 SOLDERLESS BUTT TERMINAL NON-INSULATED 8GA

J03271 24047 SOLDERLESS BUTT TERMINAL NON-INSULATED 6GA

J03279 3690 PLASTIC STRAP 3-1/2” LENGTH NAT. NYLON 50 100 +50

J03281 N/A SPARK PLUG CLIP Discontinued
J03282 8776 SOLDERLESS TERMINAL

J03283 8774 SOLDERLESS TERMINAL

J03285 8009 TERMINALS 50 100 +50

J03289 8788 TERMINALS 50 25 -25

J03290 N/A DISTR CAP TERMINAL Discontinued
J03300 3155 1-1/4 X 1-1/8 X 1/16 W/3/8 SLOT ZINC 50 100 +50

J03301 3156 1-1/4 X 1-1/8 X 1/8 W/3/8 SLOT ZINC 50 100 +50

J03306 5076 SHIM 1/16 THK 1-1/8 X 1-1/8 W/ 1/2 SLOT

J03307 5077 SHIM 1/8 THK 1-1/8 X 1-1/8 W/ 1/2 SLOT

J03327 N/A SHIM Discontinued
J03341 5096 SHIM 1/32 THK 1-1/2 X 2-1/2 W/ 9/16 SLOT

59



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J03342 5097 SHIM 1/16 THK 1-1/2 X 2-1/2 W/ 9/16 SLOT
J03347 10319 ELECTRICAL BULLET RECEPTABLE CONNECTOR 25 10 -15
J03348 10385 ELECTRICAL CONNECTOR SELF-STRIP 18 TO 10 GA 25 10 -15
J03349 10386 ELECTRICAL CONNECTOR SELF-STRIP 12-10 GA 25 10 -15
J03363 5794 BATTERY CABLE LUGS 10 25 +15
J03366 11467 BATTERY CABLE LUGS 2/0 GAGE 1/2 STUD SIZE -COPPER
J03368 23074 UNIVERSAL FLAT 3-WAY 7-1/2” LEADS HARNESS CONNECTOR
J03384 23535 UNIVERSAL SEALED HEADLIGHT & FLASHER HARNESS CONNECTOR
J03386 8756 PIGTAIL CONNECTORS
J03387 23110 STOP TAIL, PARK LAMP DOUBLE CONTACT REGULAR BASE
SOCKET ASSEMBLY
J03388 23111 DOUBLE CONTACT REGULAR BASE SOCKET ASSEMBLY
J03391 8761 PIGTAIL CONNECTORS
J03392 23112 STOP, TAIL LAMP SINGLE CONTACT REGULAR BASE SOCKET ASSEMBLY
J03397 23114 WEATHERPROOF SIGNAL, PARK, STOP & TAIL LIGHTS SOCKET ASSEMBLY
J03398 N/A SOCKET ADAPTER PLATE Discontinued
J03410 9246 NYLON TUBE CLAMPS
J03411 9247 NYLON TUBE CLAMPS
J03412 9248 NYLON TUBE CLAMPS
J03413 9249 NYLON TUBE CLAMP
J03414 9250 NYLON TUBE CLAMP
J03415 9251 NYLON TUBE CLAMP
J03416 9252 NYLON TUBE CLAMP
J03500 5366 6/32 X 1/4 SOCKET HD S/S CUP PT 25 50 +25
J03503 24190 SOCKET HEAD SET SCREW 6-32 X 1/2
J03505 5370 8/32 X 1/4 SOCKET HEAD SET SCREW CUP PT 25 50 +25
J03506 5371 8/32 X 5/16 SOCKET HEAD SET SCREW CUP PT 25 50 +25
J03507 5372 8/32 X 3/8 SOCKET HEAD S/S CUP PT 25 50 +25
J03508 5373 8/32 X 1/2 SOCKET HEAD S/S CUP PT 25 50 +25
J03509 N/A SOCKET SET SCREW 8-32 Discontinued
J03510 5374 10-24 X 3/16 SOCKET HD S/S CUP PT 25 50 +25
J03511 5375 10-24 X 1/4 SOCKET HEAD S/S CUP PT 25 50 +25
J03512 5376 10-24 X 5/16 SOCKET HEAD S/S CUP PT 25 50 +25
J03513 5377 10-24 X 3/8 SOCKET HEAD SET SCREW CUP PT 25 50 +25
J03514 5378 10-24 X 1/2 SOCKET HEAD S/S CUP PT 25 50 +25
J03518 5394 10-32 X 3/16 SOCKET HEAD S/S CUP PT 25 50 +25
J03519 5395 10-32 X 1/4 SOCKET HEAD S/S CUP PT 25 50 +25
J03520 5396 10-32 X 5/16 SOCKET HEAD S/S CUP PT 25 50 +25
J03524 N/A SOCKET SET SCREW 10-32 Discontinued
J03526 N/A SOCKET SET SCREW 1/4-2 Discontinued
J03527 5379 1/4-20 X 1/4 SOCKET HEAD S/S CUP PT 25 50 +25
J03528 5380 1/4-20 X 5/16 SOCKET HEAD S/S CUP PT 25 50 +25
J03529 5381 1/4-20 X 3/8 SOCKET HEAD SET SCREW CUP PT 25 50 +25
J03530 5383 1/4-20 X 1/2 SOCKET HEAD S/S CUP PT 25 50 +25
J03531 N/A SOCKET SET SCREW 1/4-2 Discontinued
J03532 N/A SOCKET SET SCREW 1/4-2 Discontinued
J03533 N/A SOCKET SET SCREW 1/4-2 Discontinued
J03534 5384 5/16-18 X 1/4 SOCKET HD S/S CUP PT 25 50 +25
J03535 5385 5/16-18 X 5/16 SOCKET HD S/S CUP PT 25 50 +25
J03536 5386 5/16-18 X 3/8 SOCKET HD S/S CUP PT 25 50 +25
J03537 5388 5/16-18 X 1/2 SOCKET HD SET SCREW CUP PT 25 50 +25
J03539 N/A SOCKET SET SCREW 5/16 Discontinued
J03540 N/A SOCKET SET SCREW 5/16 Discontinued
J03542 5389 3/8-16 X 5/16 SOCKET HEAD S/S CUP PT
J03543 5390 3/8-16 X 3/8 SOCKET HEAD S/S CUP PT
J03544 5392 3/8-16 X 1/2 SOCKET HEAD S/S CUP PT
J03545 5393 3/8-16 X 5/8 SOCKET HEAD S/S CUP PT
J03547 N/A SOCKET SET SCREW 3/8-1 Discontinued
J03548 15903 SOCKET HEAD SET SCREW 1/2 X 1/2 USS 10 25 +15
J03550 N/A SOCKET SET SCREW 1/2-1 Discontinued
J03551 N/A SOCKET SET SCREW 5/8-1 Discontinued
J03553 N/A SOCKET SET SCREW 5/8-1 Discontinued
J03555 N/A SOCKET SET SCREW 3/4-1 Discontinued
J03560 9555 6 X 1/2 PHIL FLAT HEAD WOOD SCREW ZINC
J03561 9556 6 X 3/4 PHIL FLAT HEAD WOOD SCREW ZINC
J03564 N/A SLOT FLAT WOOD SCREW 7X Discontinued
J03566 N/A SLOT FLAT WOOD SCREW 8X Discontinued
J03567 N/A SLOT FLAT WOOD SCREW 8X Discontinued
J03568 9564 8 X 3/4 PHIL FLAT HEAD WOOD SCREW ZINC
J03570 9566 8 X 1 1/4 PHIL FLAT HEAD WOOD SCREW ZINC
J03572 9568 8 X 1 3/4 PHIL FLAT HEAD WOOD SCREW ZINGC
J03574 9569 10 X 3/4 PHIL FLAT HEAD WOOD SCREW ZINC
J03575 N/A SLOT FLAT WOOD SCREW 10 Discontinued
J03576 9570 10 X 1 PHIL FLAT HEAD WOOD SCREW ZINC
J03577 9571 10 X 1 1/4 PHIL FLAT HEAD WOOD SCREW ZINC

60



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J03579 N/A SLOT FLAT WOOD SCREW 10 Discontinued
J03580 N/A SLOT FLAT WOOD SCREW 10 Discontinued
J03582 N/A SLOT FLAT WOOD SCREW 12 Discontinued
J03584 9576 12 X 1 1/4 PHIL FLAT HEAD WOOD SCREW ZINC

J03585 9577 12 X 1 1/2 PHIL FLAT HEAD WOOD SCREW ZINC

J03586 9578 12 X 2 PHIL FLAT HEAD WOOD SCREW ZINC

J03588 N/A SLOT FLAT WOOD SCREW 14 Discontinued
J03590 9581 14 X 1 1/2 PHIL FLAT HD WOOD SCREW ZINC

J03591 9582 14 X 2 PHIL FLAT HD WOOD SCREW ZINC

J03593 N/A SLOT FLAT WOOD SCREW 14 Discontinued
J03600 14583 5-.8 X 12MM DIN 933 CAP SCREW CL8.8 - ZINC 10 25 +15

J03601 10506 5-.8 X 20MM DIN 933 CAP SCREW CL8.8 - ZINC

J03602 10507 5-.8 X 25MM DIN 933 CAP SCREW CL8.8 - ZINC

J03603 15512 CAP SCREW DIN 933 M5-.8 X 40MM ZINC 25 50 +25

J03604 10509 6-1.0 X 12MM DIN 933 CAP SCREW CL8.8 - ZINC

J03605 14409 DIN 933 6 X 20MM CAP SCREWS ZINC 8.8

J03606 14410 DIN 933 6 X 25MM CAP SCREW ZINC GR 8.8

J03607 14413 DIN 931 CAP SCREW 6 X 40 MM ZINC GR 8.8

J03608 14414 DIN 931 6 X 45MM CAP SCREW ZINC GR 8.8

J03609 14588 8-1.25 X 12MM DIN 933 CAP SCREW CL8.8 - ZINC

J03610 14420 DIN 933 8 X 20 MM CAP SCREW ZINC GR 8.8

J03611 14421 DIN 933 8 X 25 MM CAP SCREW ZINC GR 8.8

J03612 14424 DIN 931 8 X 40 MM CAP SCREW ZINC GR 8.8

J03613 14426 DIN 931 8MM X 50MM CAP SCREW ZINC

J03614 14430 DIN 933 CAP SCREW 10 X 20 MM ZINC

J03615 14432 DIN 933 10 X 30MM CAP SCREW ZINC

J03616 16712 METRIC CAP SCW. M10-1.50 X 40MM

J03617 10570 5MM-.8 DIN 934 METRIC HEX NUTS - ZINC

J03618 10571 6MM-1.0. DIN 934 METRIC HEX NUTS - ZINC

J03619 10573 8MM-1.25 DIN 934 METRIC HEX NUTS - ZINC

J03620 14454 10MM-1.5 DIN 934 HEX NUT - ZINC 25 10 -15

J03621 14455 12MM-1.75 DIN 934 HEX NUT - ZINC

J03623 N/A METRIC HEX NUT M2 X 0. Discontinued
J03625 10569 4MM-.7 DIN 934 METRIC HEX NUTS - ZINC

J03626 10572 7MM-1.0. DIN 934 METRIC HEX NUTS - ZINC

J03628 N/A METRIC SCREW/HEX HD M4 Discontinued
J03629 10501 4-.7 X 16MM DIN 933 CAP SCREW CL8.8 - ZINC

J03630 10502 4-.7 X 20MM DIN 933 CAP SCREW CL8.8 - ZINC

J03632 10505 5-.8 X 16MM DIN 933 CAP SCREW CL8.8 - ZINC

J03633 14406 DIN 933 CAP SCREW 5 X 30 MM ZINC

J03634 N/A METRIC SCREW/HEX HD M5 Discontinued
J03635 14408 DIN 933 CAP SCREW 6 X 16 MM ZINC GR 8.8

J03636 14411 DIN 931 6 X 30MM METRIC CAP SCREW ZINC

J03637 14412 DIN 931 6 X 35MM CAP SCREW ZINC GR 8.8

J03638 14585 6-1.0 X 50MM DIN 931 CAP SCREW CL8.8 - ZINC

J03639 15514 CAP SCREW DIN 931 M6-1.00 X 60MM ZINC

J03640 N/A METRIC SCREW/HEX HD M6 Discontinued
J03642 14415 DIN 933 7 X 16MM CAP SCREW ZINC

J03644 14417 DIN 933 7 X 25MM CAP SCREW ZINC

J03645 14418 DIN 933 CAP SCREW 7 X 30 MM ZINC

J03646 14587 7-1.0 X 40MM DIN 933 CAP SCREW CL8.8 - ZINC

J03648 N/A METRIC SCREW/HEX HD M7 Discontinued
J03650 N/A METRIC SCREW/HEX HD M8 Discontinued
J03651 14419 DIN 933 8 X 16MM CAP SCREW ZINC GR 8.8

J03652 14422 DIN 933 8MM X 30MM CAP SCREW ZINC GR 8.8

J03653 14428 DIN 931 8 X 60 MM CAP SCREW ZINC

J03654 14429 DIN 933 8 X 70MM CAP SCREW ZINC 25 10 -15

J03655 17399 METRIC CAP SCREW 8.8 M8-1.25 X 80 ZINC 25 15 -10

J03656 N/A METRIC SCREW/HEX HD M1 Discontinued
J03657 14431 DIN 933 CAP SCREW 10 X 25 MM ZINC

J03658 16713 METRIC CAP SCW M10-1.50 X 50MM

J03659 16714 METRIC CAP SCW M10-1.50 X 60MM

J03660 14439 DIN 931 10 X 70MM CAP SCREW ZINC 25 10 -15

J03661 15515 CAP SCREW DIN 931 M10-1.50 X 80MM ZINC

J03662 15517 CAP SCREW DIN 931 M10-1.50 X 100MM ZINC

J03664 14440 DIN 933 12 X 25MM CAP SCREW ZINC

J03665 14441 DIN 933 12 X 30MM CAP SCREW ZINC

J03666 14443 DIN 933 12 X 40MM CAP SCREW ZINC

J03667 14445 DIN 931 12 X 50MM CAP SCREW ZINC

J03668 14446 DIN 931 CAP SCREW 12 X 60 MM ZINC

J03669 14447 DIN 931 12 X 70MM CAP SCREW ZINC

J03670 17403 METRIC CAP SCREW 8.8 M12-1.75 X 80 ZINC

J03671 17404 METRIC CAP SCREW 8.8 M12-1.75 X 90 ZINC

J03672 17405 METRIC CAP SCREW 8.8 M12-1.75 X 100 ZINC 10 B -5

J03673 14590 14-2.0 X 30MM DIN 933 CAP SCREW CL8.8 - ZINC 5 10 +5

61



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J03674 14591 14-2.0 X 40MM DIN 933 CAP SCREW CL8.8 - ZINC 5 10 +5
J03675 14592 14-2.0 X 50MM DIN 933 CAP SCREW CL8.8 - ZINC 5 10 +5
J03677 24048 HEX HEAD CAP SCREW M14-2.00 X 80MM
J03681 10574 8MM-1.0 DIN 934 METRIC HEX NUTS - ZINC
J03682 N/A METRIC HEX NUT M10X1.0 Discontinued
J03683 14459 12MM-1.5 DIN 934 HEX NUT - ZINC
J03684 21426 14MM-1.5 DIN 934 HEX NUT ZINC 25 10 -15
J03685 N/A METRIC LOCKWASHER M2 L Discontinued
J03686 N/A METRIC LOCKWASHER M3 L Discontinued
J03687 10584 4MM DIN 127 METRIC LOCK WASHERS - ZINC 100 50 -50
J03688 10585 5MM DIN 127 METRIC LOCK WASHERS - ZINC 100 50 -50
J03689 10586 6MM DIN 127 METRIC LOCK WASHERS - ZINC 100 50 -50
J03690 10587 7MM DIN 127 METRIC LOCK WASHERS - ZINC 100 50 -50
J03691 10588 8MM DIN 127 METRIC LOCK WASHERS - ZINC 100 50 -50
J03692 10589 10MM DIN 127 METRIC LOCK WASHERS - ZINC
J03693 10590 12MM DIN 127 METRIC LOCK WASHERS - ZINC 50 25 -25
J03701 9668 1/4-1/2 SAE X 1/4-1/2 USS X 1 1/4 OVERAL 25 10 -15
J03703 9673 5/16-7/16 SAE X 5/16-3/8 USS X 1 OVERALL 25 10 -15
J03704 9674 5/16-1/2 SAE X 5/16-1/2 USS X 1-1/4 STUD 25 10 -15
J03706 9679 5/16-7/8 USS X 5/16-7/16 USS X 1 1/2 25 10 -15
J03707 9676 5/16-7/8 SAE X 5/16-9/16 USS X 1 3/4 STD 25 10 -15
J03708 24193  DOUBLE ENDED STUD 5/16X15/16” USS, 5/16X1/2” USS X 1-3/4” OVERALL
J03709 9677 5/16-1 SAE X 5/16-9/16 USS X 2 OVERALL 25 10 -15
J03710 9680 5/16-1 USS X 5/16-7/16 USS X 2 STD 25 10 -15
J03711 9681 5/16-1 1/2 SAE X 5/16-5/8 USS X 3 OVERALL 25 10 -15
J03713 9683 3/8-3/4 SAE X 3/8-1/2 USS X 1 1/2 OVERALL 25 10 -15
J03715 9684 3/8-3/4 SAE X 3/8-1/2 USS X 1 3/4 OVERALL 25 10 -15
J03716 24049 DOUBLE ENDED STUD 3/8 X 7/8” USS, 3/8X5/8” USS X 1-3/4” OVERALL
J03717 9686 3/8-1 SAE 3/8-5/8 USS X 2 OVERALL DBL END STD 25 10 -15
J03718 9687 3/8-1 1/8 USS X 3/8-5/8 USS X 2 OVERALL 25 10 -15
J03720 9690 3/8-2 SAE X 3/8-5/8 USS X 3 OVERALL 25 10 -15
J03721 12129 MANIFOLD STUD 3/8-16 X 5/8 USS X 3/8-16 X 2 25 10 -15
J03722 N/A STUD Discontinued
J03723 9695 3/8-2 USS X 3/8-3/4 USS X 4 OVERALL 25 10 -15
J03724 N/A STUD Discontinued
J03727 24201 DOUBLE ENDED STUD 7/16X11/16” SAE, 7/16X5/8” USS X 1-1/2” OVERALL
J03728 9699 7/16-3/4 SAE X 7/16-9/16 USS X 1 3/4 25 10 -15
J03729 24050 DOUBLE ENDED STUD 7/16X7/8” SAE, 7/16X3/4” USS X 2” OVERALL
J03730 9701 7/16-7/8 SAE X 7/16-3/4 USS X 2 OVERALL 25 10 -15
J03731 9702 7/16-15/16 USS X 7/16-3/4 USS X 2 STD 25 10 -15
J03734 9711 7/16-1 1/4 USS X 7/16-3/4 USS X 2 1/2 25 10 -15
J03735 9712 7/16-1 3/8 SAE X 7/16-3/4 USS X 2 1/2 25 10 -15
J03738 9715 7/16-1 3/16 SAE X 7/16-3/4 USS X 3 25 10 -15
J03748 9728 1/2-15/16 SAE X 1/2-13/16 USS X 2 OVERAL 25 10 -15
J03749 9729 1/2-11/8 SAE X 1/2-3/4 USS X 2 1/4 25 10 -15
J03750 9731 1/2-1 SAE X 1/2-3/4 USS X 2 1/2 OVERALL 25 10 -15
J03752 9732 1/2-2 SAE X 1/2-3/4 USS X 3 OVERALL 25 10 -15
J03760 N/A STUD Discontinued
J03765 9745 5/8-11/4 SAE X 5/8-1 USS X 3 OVERALL 25 10 -15
J03768 24051 DOUBLE ENDED STUD 3/4 X 1-11/16” USS,
3/4 X 1-1/16” USS X 2-13/16” OVERALL
J03781 N/A STUD DOWEL Discontinued
J03784 N/A STUD DOWEL Discontinued
J03801 24052 SPIN LOCK NUT W/SERRATIONS #8-32 THREAD 15/32 0.D.
J03802 24053 SPIN LOCK NUT W/SERRATIONS #10-32 THREAD 1/2 0.D.
J03806 24054 SPIN LOCK NUT W/SERRATIONS 1/2-13 THREAD 1-1/32 0.D.
J03807 24055 SPIN LOCK NUT W/SERRATIONS 1/2-20 THREAD 1-1/32 0.D.
J03827 8298 PAN-L RIVETS 250 500 +250
J03828 8308 PAN-L RIVETS 250 500 +250
J03829 8922 PAN-L RIVETS 250 100 -150
J03830 8928 PAN-L RIVETS 250 100 -150
J03831 8925 PAN-L-RIVETS 250 100 -150
J03832 8931 PAN-L RIVETS 250 100 -150
J03833 5755 PANEL RIVETS
J03834 8311 PAN-L RIVETS
J03835 8301 PAN-L RIVETS
J03836 8313 PAN-L RIVETS
J03837 8938 PAN-L-RIVETS
J03838 19056 PANL BLIND ALUM. RIVET 3/16 DIA 3/8-1/2 GRIP 100 50 -50
J03839 18489 POP BLIND RIVET 3/16 DIA. 1/2-5/8 GRIP ALUMINUM
J03841 8905 PAN-L-RIVETS 250 100 -150
J03842 8911 PAN-L-RIVETS 250 100 -150
J03843 8295 PAN-L RIVETS
J03844 8307 PAN-L RIVETS

J03845 8297 PAN-L RIVETS




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J03846 N/A PIN GRIP RIVET Discontinued
J03848 19051 PNL BLIND ALUMINUM RIVET 3/16 DIA 3/8-1/2 GRIP 100 50 -50

J03850 17466 LGE FLANGE RIVET 3/16 DIA 1/2-5/8 GRIP ALUM/ST 100 25 -75

J03852 5750 PANEL RIVETS 250 500 +250

J03853 5748 PANEL RIVETS 250 500 +250

J03854 8290 PANEL RIVETS 250 500 +250

J03855 N/A PIN GRIP RIVET Discontinued
J03856 8874 PANEL RIVETS 250 100 -150

J03857 8302 PANEL RIVETS 250 500 +250

J03858 5752 PANEL RIVETS 250 500 +250

J03859 8292 PANEL RIVETS 250 500 +250

J03860 8830 PANEL RIVETS 250 100 -150

J03861 19047 PANL BLIND STEEL RIVET 1/8 DIA 3/8-1/2 GRIP 250 100 -150

J03862 8839 PAN-L-RIVETS

J03863 8892 PAN-L-RIVETS

J03864 8895 PAN-L-RIVETS

J03865 8899 PAN-L-RIVETS

J03866 18812 LG FLANGE RIVET 3/16 DIA. 3/8-1/2 GRIP 100 50 -50

J03867 8902 PAN-L-RIVETS

J03871 10365 SCREW GROMMET NYLON - GM 50 25 -25

J03875 10332 RADIATOR GRILLE RETAINER - CHRYSLER 50 25 -25

J03878 10330 GRILLE NYLON NUT #8 SCREW SZ - GM

J03880 24056 CAGE NUT 3/8-16 - BLACK

J03887 23557 AMC TRIM PANEL RETAINER

J03903 10724 HIGH TEMP NON-INS. MALE QUICK CONNECT 16 - 14G 100 25 -75

J03908 24057 SOLDERLESS 1/4 FLAG TERMINAL NON-INSULATED 16-14 GA

J03911 N/A CROSS LOCK CONNECTOR 2 Discontinued
J03912 N/A CROSS LOCK CONNECTOR 1 Discontinued
J03913 N/A CROSS LOCK CONNECTOR 1 Discontinued
J03914 5032 TERMINALS 50 100 +50

J03915 17042 VINYL INSULATED RING TERMINAL 8 GA 1/4 STUD RED

J03916 17044 VINYL INSULATED RING TERMINAL 8 GA 3/8 STUD RED

J03917 17045 VINYL INSULATED RING TERMINAL 8 GA 1/2 STUD RED 25 15 -10

J03918 17046 VINYL INSUL RING TERMINAL 6 GA 1/4 STUD BLUE 10 15 +5

J03919 17048 VINYL INSUL RING TERMINAL 6 GA 3/8 STUD BLUE 10 15 +5

J03920 17049 VINYL INSULATED RING TERMINAL 6 GA 1/2 STUD BLUE

J03922 17052 VINYL INSULATED RING TERMINAL 4 GA 3/8 STUD YELLOW

J03924 17037 VINYL INSULATED BUTT CONNECTOR 8 GA RED 25 10 -15

J03925 17038 VINYL INSULATED BUTT CONNECTOR 6 GA BLUE

J03926 17039 VINYL INSULATED BUTT CONNECTOR 4 GA YELLOW

J03927 N/A QUICK DISCONNECT BB-21 Discontinued
J03928 8781 TERMINALS 100 50 -50

J03929 12157 TERMINALS 50 25 -25

J03930 24058 SOLDERLESS TERMINAL 3/8 FEMALE BLADE 12-10 GA

J03931 12165 SOLDERLESS TERMINAL 3/16 MALE QUICK CON 16/14 100 25 -75

J03933 N/A CROSS LOCK CONNECTOR 2 Discontinued
J03934 N/A CROSS LOCK CONNECTOR 1 Discontinued
J03935 N/A CROSS LOCK CONNECTOR 1 Discontinued
J03937 12150 SOLDERLESS TERMINAL RING 22/18 GA #8 / #10 RING 50 25 -25

J03938 9052 SOLDERLESS TERMINALS 50 25 -25

J03939 9055 SOLDERLESS TERMINALS 50 25 -25

J03940 9056 SOLDERLESS TERMINALS 50 25 -25

J03941 9058 SOLDERLESS TERMINALS 50 25 -25

J03942 12151 SOLDERLESS TERMINAL RING 12/10 GA #8/#10 RING 50 25 -25

J03943 12152 SOLDERLESS TERMINAL RING 12/10 GA #12/#14 RING 50 25 -25

J03944 12153 SOLDERLESS TERMINAL 12/10 GA 5/16-3/8 RING 50 25 -25

403947 N/A SOLDERLESS TERMINAL D7 Discontinued
J03948 24059 SOLDERLESS TERMINAL RING 6 GA #12-1/4 STUD

J03949 24060 SOLDERLESS TERMINAL RING 6 GA #5/16-3/8 STUD

J03950 N/A SOLDERLESS TERMINAL E7 Discontinued
J03951 12164 SOLDERLESS TERMINAL SPADE 22/18 GA #4/#6 STUD 50 25 -25

J03952 12163 SOLDERLESS TERMINAL SPADE 22/18 GA #8/#10 STUD 50 25 -25

J03953 9059 SOLDERLESS TERMINALS 50 25 -25

J03954 9060 SOLDERLESS TERMINALS 50 25 -25

J03955 12162 SOLDERLESS TERMINAL SPADE 12/10 GA #8/#10 STUD 50 25 -25

J03956 12148 SOLDERLESS TERM 1/4 FEM QUICK SLIDE 16/14 GA 50 25 -25

J03958 12147 SOLDERLESS TERM 1/4 MALE QUICK SLIDE 16/14 GA 50 25 -25

J03960 5791 TERMINAL

J03961 5792 TERMINALS

J03962 5793 TERMINALS

J03963 N/A BUTT CONNECTOR D-754 Discontinued
J03964 N/A BUTT CONNECTOR E-762 Discontinued
J03967 N/A CROSS LOCK CONNECTOR 1 Discontinued
J03969 8761 PIGTAIL CONNECTORS

J03970 8755 PIGTAIL CONNECTORS

63



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional

Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference

J03974 9905 LAMP SOCKET

J03979 N/A MULTI-STACK DISCONNECT Discontinued

J03986 N/A HIGH NYLON STOP NUT Discontinued

J03987 N/A HIGH NYLON STOP NUT Discontinued

J03988 N/A THIN NYLON STOP NUT NY Discontinued

J03992 N/A THIN NYLON STOP NUT NY Discontinued

J03994 N/A THIN NYLON STOP NUT NY Discontinued

J03999 N/A THIN NYLON STOP NUT NY Discontinued

J04005 N/A THIN NYLON STOP NUT 40 Discontinued

J04007 N/A THIN NYLON STOP NUT 40 Discontinued

J04010 N/A THIN NYLON STOP NUT 41 Discontinued

J04013 N/A THIN NYLON STOP NUT 1 Discontinued

J04017 N/A HAIRPIN RETAINER Discontinued

J04020 N/A HAIRPIN RETAINER Discontinued

J04023 24061 FENDER WASHER BOLT SIZE 3/16 0.D. 7/8 - ZINC

J04024 16018 FENDER WASHER 7/32 1.D. 1 0.D.

J04025 16019 FENDER WASHERS 7/32 1.D. 1-1/4 0.D. ZINC 100 50 -50

J04026 16020 FENDER WASHER 9/32 I.D. 1 0.D.

J04027 16022 H.D. FENDER WASHERS 27/64 1.D.1-5/8 0.D 100 50 -50

J04029 N/A FLAT NYLON WASHER #6 B Discontinued

J04030 13892 NYLON FLAT WASHER 1/8 BOLT .171 ID .032 THICK 50 100 +50

J04031 24062 FLAT WASHER BOLT SIZE #10 0.D. 0.435 - NATURAL NYLON

J04032 24063 FLAT WASHER BOLT SIZE 1/4 0.D. 0.387 - NATURAL NYLON

J04033 24064 FLAT WASHER BOLT SIZE 5/16 0.D. 0.875 - NATURAL NYLON

J04034 13914 NYLON FLAT WASHER 3/8 BOLT .406 ID .062 THICK 50 25 -25

J04036 13916 NYLON FLAT WASHER 7/16 BOLT .516 ID .062 THICK

J04044 N/A #6 FINISHING WASHER NI Discontinued

J04046 24065 COUNTERSUNK WASHER SCREW #10 0.D. 19/32 - NICKEL PLATE

J04051 24066 SPRING TYPE U-NUT SCREW #10 RANGE 0.062-0.094 - BLACK

J04086 3076 #6 X 1 PHILLIPS PAN HEAD TAP SCREW ZINC

J04089 N/A SLOT HEX SHT MET SCRW Discontinued

J04091 10642 #8 X 3/8 PHILLIPS OVAL WASHER HD T.S. - ZINC

J04094 3373 8 X 3/8 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J04095 3380 10 X 3/8 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J04096 3381 10 X 1/2 SLOTTED HEX WASHER HEAD TAP SCREW ZINC

J04097 8824 RETAINING RINGS

J04098 10130 RETAINING RING E TYPE 9/64 DIA

J04099 8827 RETAINING RINGS

J04100 8829 RETAINING RINGS

J04101 5603 RETAINING RINGS 50 100 +50

J04102 8831 RETAINING RINGS

J04103 8832 RETAINING RINGS

J04104 8833 RETAINING RINGS

J04105 8836 RETAINING RINGS

J04106 3165 RETAINING RINGS 1/8 SHAFT DIA .095 GROOVE DIA

J04107 10134 RETAINING RING REINFORCED E TYPE 5/32 DIA

J04108 10135 RETAINING RING REINFORCED E TYPE 7/32 DIA

J04109 3167 RETAINING RINGS 1/4 SHAFT DIA .210 GROOVE DIA

J04110 5600 RETAINING RINGS

Jo4111 8837 RETAINING RINGS

J04112 24067 EXTERNAL RETAINING RING SHAFT DIA. 3/16 - BLACK

J04113 24068 EXTERNAL RETAINING RING SHAFT DIA. 9/32 - BLACK

J04114 10117 RETAINING RING BASIC EXTERNAL 11/32 DIA Zinc Finish, formerly
Black Finish

J04115 10120 RETAINING RING BASIC EXTERNAL 11/16 DIA Zinc Finish, formerly
Black Finish

J04116 10123 RETAINING RING BASIC EXTERNAL 1-1/16 DIA Zinc Finish, formerly
Black Finish

J04117 10124 RETAINING RING BASIC EXTERNAL 1-3/16 DIA Zinc Finish, formerly
Black Finish

J04118 16743 EXTERNAL RETAIN. RING ZINC SHAFT DIA. 1-5/16 25 50 +25 Zinc Finish, formerly
Black Finish

J04119 16744 EXTERNAL RETAIN. RING ZINC SHAFT DIA. 1-3/8 25 50 +25 Zinc Finish, formerly
Black Finish

J04120 24069 EXTERNAL RETAINING RING SHAFT DIA. 1-7/16 - BLACK

Jod121 10125 RETAINING RING BASIC EXTERNAL 1-1/2 DIA Zinc Finish, formerly
Black Finish

J04122 16745 EXT. RETAIN. RING ZINC SHAFT DIA. 1-5/8 Zinc Finish, formerly
Black Finish

J04123 10126 RETAINING RING BASIC EXTERNAL 1-3/4 DIA Zinc Finish, formerly
Black Finish

J04124 24070 INTERNAL RETAINING RING SHAFT DIA. 11/16 - BLACK

J04125 24071 INTERNAL RETAINING RING SHAFT DIA. 13/16 - BLACK

J04126 24072 INTERNAL RETAINING RING SHAFT DIA. 1-1/16 - BLACK

J04127 24073 INTERNAL RETAINING RING SHAFT DIA. 1-3/16 - BLACK

64



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J04128 24074 INTERNAL RETAINING RING SHAFT DIA. 1-5/16 - BLACK

J04129 24075 INTERNAL RETAINING RING SHAFT DIA. 1-3/8 - BLACK

J04130 24076 INTERNAL RETAINING RING SHAFT DIA. 1-7/16 - BLACK

J04131 24077 INTERNAL RETAINING RING SHAFT DIA. 1-1/2 - BLACK

J04132 24078 INTERNAL RETAINING RING SHAFT DIA. 1-5/8 - BLACK

J04133 24079 INTERNAL RETAINING RING SHAFT DIA. 1-3/4 - BLACK

J04146 N/A PAL LOCK WING NUT Discontinued
J04164 5401 1/4-28 X 3/8 SOCKET HEAD S/S CUP PT 25 50 +25

J04165 5403 1/4-28 X 1/2 SOCKET HEAD S/S CUP PT 25 50 +25

J04166 N/A SOCKET SET SCREW 1/4-2 Discontinued
J04167 N/A SOCKET SET SCREW 1/4-2 Discontinued
J04169 5404 5/16-24 X 1/4 SOCKET HEAD SET SCREW CUP PT 25 50 +25

J04170 5405 5/16-24 X 5/16 SOCKET HEAD S/S CUP PT 25 50 +25

J04172 5408 5/16-24 X 1/2 SOCKET HEAD S/S CUP PT 25 50 +25

J04173 N/A SOCKET SET SCREW 5/16 Discontinued
J04176 N/A SOCKET SET SCREW 3/8-2 Discontinued
Jo4177 5409 3/8-24 X 5/16 SOCKET HEAD S/S CUP PT

J04178 5410 3/8-24 X 3/8 SOCKET HEAD S/S CUP PT

J04179 5412 3/8-24 X 1/2 SOCKET HEAD S/S CUP PT

J04180 5413 3/8-24 X 5/8 SOCKET HEAD S/S CUP PT

J04181 N/A SOCKET SET SCREW 3/8-2 Discontinued
J04182 N/A SOCKET SET SCREW 3/8-2 Discontinued
J04185 N/A SOCKET SET SCREW 1/2-2 Discontinued
J04186 N/A SOCKET SET SCREW 5/8-1 Discontinued
J04188 N/A SOCKET SET SCREW 5/8-1 Discontinued
J04194 N/A HEX HEAD BODY BOLT 5/16-1 Discontinued
J04196 N/A HEX HEAD BODY BOLT 3/8-16 Discontinued
J04197 N/A HEX HEAD BODY BOLT 3/8-16 Discontinued
J04201 N/A HEX HEAD BODY BOLT 7/16-1 Discontinued
J04203 N/A HEX HEAD BODY BOLT 7/16-1 Discontinued
J04205 N/A HEX HEAD BODY BOLT Discontinued
J04206 N/A HEX HEAD BODY BOLT 1/2-13 Discontinued
J04207 N/A HEX HEAD BODY BOLT 1/2-13 Discontinued
J04212 N/A HEX HEAD BODY BOLT 1/2-13 Discontinued
J04215 10374 PUSH-ON RETAINER FOR 3/8 STUD 3/4 OD

J04217 24080 PUSH-NUT FOR NON-THREADED 1/2 STUD 1 0.D. - BLACK

Jo4221 24081 MINI METRIC SLIDE CALIPER TOOL

104224 N/A METRIC SPRING WASHER M Discontinued
J04226 10593 6MM DIN 137B METRIC SPRING WASHERS - ZINC

J04228 10595 8MM DIN 137B METRIC SPRING WASHERS - ZINC

J04229 N/A METRIC SPRING WASHER M Discontinued
404232 N/A METRIC FLAT WASHER M3 Discontinued
J04233 10577 4MM ZINC DIN 125 METRIC FLAT WASHER - ZINC

404234 10578 5MM ZINC DIN 125 METRIC FLAT WASHER - ZINC

J04235 10579 6MM ZINC DIN 125 METRIC FLAT WASHER - ZINC

J04236 10580 7MM ZINC DIN 125 METRIC FLAT WASHER - ZINC

J04237 10581 8MM ZINC DIN 125 METRIC FLAT WASHER - ZINC 50 25 -25

J04238 10582 10MM ZINC DIN 125 METRIC FLAT WASHER - ZINC

J04239 10583 12MM ZINC DIN 125 METRIC FLAT WASHER - ZINC

404240 14632 M14 FLAT WASHER ZINC DIN125 25 50 +25

Jo4241 N/A METRIC PAN HD SCREW M3X Discontinued
404242 N/A METRIC PAN HEAD SCREW M3X Discontinued
J04244 N/A METRIC PAN HEAD SCREW M4X Discontinued
104246 10427 DIN 85 - 4MM X 10MM MACHINE SCREWS

404247 N/A METRIC PAN HEAD SCREW M4X Discontinued
404249 10431 DIN 85 - 5MM X 12MM MACHINE SCREWS ZINGC

J04253 10436 DIN 85 - 6MM X 10MM MACHINE SCREWS

J04255 10438 DIN 85 - 6MM X 16MM MACHINE SCREWS

J04256 10440 DIN 85 - 6MM X 20MM MACHINE SCREWS

J04257 10441 DIN 85 - 6MM X 25MM MACHINE SCREWS

J04263 10478 DIN 963 - 4MM X 8MM MACHINE SCREW

J04264 N/A METRIC FLAT HEAD SCREW M Discontinued
J04265 N/A METRIC FLAT HEAD SCREW M Discontinued
J04268 N/A METRIC FLAT HEAD SCREW M Discontinued
J04269 N/A METRIC FLAT HEAD SCREW M Discontinued
J04270 N/A METRIC FLAT HEAD SCREW M Discontinued
J04275 10488 DIN 963 - 6MM X 25MM MACHINE SCREW

J04277 10362 BODY BOLT IND HEX WASHER HEAD 5/16-18 X 13/16 - GM

J04278 23662 HEX HEAD SEMS BODY BOLT W/DOG POINT 5/16-18 X 15/16 - BLACK

J04279 24082 HEX WSHR HEAD BODY BOLT 5/16-18 X 1-1/4 - BLACK

J04284 10720 FEMALE SNAP PLUG CONNECTOR 22 -18GA - RED VINYL 50 10 -40

J04285 10719 FEMALE SNAP PLUG CONNECTOR 16 -14GA - BLUE NYL 50 10 -40

J04289 10390 INTERNAL HAIR PIN COTTER 7/64 ID .050 WIRE - ZINC

J04290 N/A HAIRPIN RETAINER #9 HR Discontinued

404292 24083 HAIR PIN COTTER 5/16 WIRE DIA.




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J04297 22172 ALUMINUM TUBING CLAMP/NEOPRENE JACKET 25 10 -15

J04300 24084 CHRYSLER BODY SIDE MOULDING CLIP

J04301 24085 GM SIDE MOULDING PUSH TYPE CLIP

J04304 23636 THREAD CUTTING NUT 1/2 STUD SIZE - ZINC

J04305 16260 DOOR TRIM PANEL AND HEADLIGHT RETAINER

J04306 10054 EXTRUDED U NUT 3/8-16 SCREW SIZE

J04316 23304 SPRING TYPE U-NUT #14 SCREW RANGE 0.025-0.125

J04333 23635 SPRING TYPE U-NUT SCREW #14 RANGE 0.025-0.125 - BLACK

J04335 11255 8-1.00 X 10MM METRIC HEX HEAD DIN 961 CL 8.8 25 10 -15

J04336 N/A METRIC HEX BOLT FINE THREAD Discontinued
J04337 11257 8-1.00 X 25MM METRIC HEX HEAD DIN 961 CL 8.8 25 10 -15

J04338 N/A METRIC HEX BOLT FINE THREAD Discontinued
J04340 11259 8-1.00 X 40MM METRIC HEX HEAD DIN 961 CL 8.8 25 10 -15

J04341 14604 M8-1.0 X 50MM CAP SCREW PLAIN DIN 960

404343 N/A METRIC HEX BOLT FINE TH Discontinued
J04344 11262 10-1.00 X 30MM METRIC HEX HEAD DIN 961 CL 8.8 25 10 -15

J04345 11263 10-1.00 X 40MM METRIC HEX HEAD DIN 961 CL 8.8 25 10 -15

J04346 11264 10-1.00 X 50MM METRIC HEX HEAD DIN 961 CL 8.8 25 10 -15

104347 14605 M10-1.25 X 20MM CAP SCREW PLAIN DIN 961 25 10 -15

J04348 11265 10-1.25 X 25MM METRIC HEX HEAD DIN 961 CL 8.8 25 10 -15

J04349 11266 10-1.25 X 30MM METRIC HEX HEAD DIN 961 CL 8.8 25 10 -15

J04350 11267 10-1.25 X 35MM METRIC HEX HEAD DIN 961 CL 8.8 25 10 -15

J04351 11268 10-1.25 X 40MM METRIC HEX HEAD DIN 961 CL 8.8 25 10 -15

J04352 11269 10-1.25 X 50MM METRIC HEX HEAD DIN 961 CL 8.8 25 10 -15

J04353 14606 M10-1.25 X 60MM CAP SCREW PLAIN DIN 960 25 10 -15

J04354 11270 12-1.25 X 25MM METRIC HEX HEAD DIN 961 CL 8.8 - BLACK

J04355 11271 12-1.25 X 35MM METRIC HEX HD DIN 961 CL 8.8 10 5 -5

J04356 N/A METRIC HX BOLT FINE THREAD Discontinued
J04357 11273 12-1.5 X 20MM METRIC HEX HD DIN 961 CL 8.8 - BLACK

J04358 11274 12-1.5 X 30MM METRIC HEX HD DIN 961 CL 8.8 - BLACK

J04359 N/A METRIC HEX BOLT FINE THREAD Discontinued
J04360 11275 12-1.5 X 40MM METRIC HEX HD DIN 961 CL 8.8 10 5 -5

J04361 11276 12-1.5 X 50MM METRIC HEX HD DIN 961 CL 8.8 10 5 -5

J04362 N/A METRIC HEX BOLT FINE THREAD Discontinued
J04365 N/A METRIC HEX BOLT FINE THREAD Discontinued
J04366 N/A METRIC HEX BOLT FINE THREAD Discontinued
J04367 N/A METRIC HEX BOLT FINE THREAD Discontinued
J04368 14613 M14-1.5 X 50MM CAP SCREW PLAIN DIN 961

J04369 N/A METRIC HEX BOLT FINE THREAD Discontinued
J04371 14457 10MM-1.25 DIN 934 HEX NUT - ZINC

J04372 14458 12MM-1.25 DIN 934 HEX NUT - ZINC

J04373 N/A FINE THRD METRIC JAM N Discontinued
J04375 24086 JAM HEX NUT M14-1.50

J04376 N/A FINE THREAD METRIC JAM N Discontinued
J04377 N/A FINE THREAD METRIC JAM N Discontinued
J04378 N/A FINE THREAD METRIC JAM N Discontinued
J04379 11097 GREASE FITTING 6MM-1.0 STR DIN 71412 (8601) 25 5 -20

J04380 11098 GREASE FITTING 8MM-1.0 STR DIN 71412 (8901) 25 5 -20

J04381 11100 GREASE FITTING 10MM-1.0 STR (9301) 25 5 -20

J04382 11775 GREASE FITTING 6MM-1.0 45DEG DIN 71412 (7045) 25 10 -15

J04383 11777 GREASE FITTING 8MM-1.0 45DEG DIN 71412 (7445) 25 10 -15

J04384 15067 GREASE FITTING 10MM-1.0 45 DEGREES 23MM LENGTH

J04385 11776 GREASE FITTING 6MM-1.0 90DEG DIN 71412 (7090) 25 10 -15

J04386 11099 GREASE FITTING 8MM-1.0 90DEG (7490) 25 5 -20

J04387 11101 GREASE FITTING 10MM-1.0 90 DEG MT (9390) 25 5 -20

J04393 5349 HOSE CLAMP

J04394 5350 HOSE CLAMP

J04395 5352 HOSE CLAMP

J04396 9357 HOSE CLAMP

J04397 9599 HOSE CLAMPS

J04398 N/A HOSE CLAMP 3-1/2 - 3-3 Discontinued
J04399 N/A HOSE CLAMP 3-3/4 -4 H Discontinued
J04400 9358 HOSE CLAMP

J04401 9324 MINI-CLAMP

404402 10221 MINI HOSE CLAMP NO 6

J04403 9584 HOSE CLAMPS

J04404 9585 HOSE CLAMPS

J04405 9586 HOSE CLAMPS

J04406 9587 HOSE CLAMPS

J04407 9589 HOSE CLAMPS

J04408 9591 HOSE CLAMPS

J04410 9594 HOSE CLAMPS

J04411 N/A HOSE CLAMP 3-1/2 - 3-3 Discontinued
J04412 N/A HOSE CLAMP 3-3/4 -4 H Discontinued

J04413 9595 HOSE CLAMPS




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J04415 9596 HOSE CLAMPS

J04416 9597 HOSE CLAMPS

J04417 9598 HOSE CLAMPS

404422 9948 BATTERY TERMINAL 10 2 -8

404423 10808 BATTERY TERMINAL CONNECTOR 5/16-18 STUD - LEAD 10 2 -8

J04431 24087 HD SOLDERLESS TERMINAL RING NON-INSULATED 2/0 GA 5/16-3/8 STUD

J04432 N/A SOLDERLESS TERMINAL J- Discontinued
J04443 10832 TRIM PANEL RETAINER - GM

J04444 10831 TRIM PANEL RETAINER - GM FORD CHRYSLER AMC

J04457 N/A MOULDING FASTENER Discontinued
J04460 24088 FORD SIDE MOULDING CLIP

J04462 24089 UNIVERSAL MOULDING FASTENER

J04463 808 TRIM CLIPS

J04465 N/A RIVET TOOL Discontinued
J04466 7981 NOSE PIECE FOR RIVET

J04467 N/A RIVET GUN TIP Discontinued
J04468 7983 NOSE PIECE FOR RIVET GUN

J04469 7984 NOSE PIECE FOR RIVET GUN

J04470 7985 NOSE PIECE FOR RIVET GUN

J04471 11104 PANEL RIVETS 1/8 DIA 3/16-1/4 GRIP STAINLESS- FORD

J04521 N/A HDLMP ADJST NUT Discontinued
J04538 23608 GM, FORD & CHRYSLER DASH & COWL PANEL RETAINER

J04539 10051 EXTRUDED U NUT 1/4-20 SCREW SIZE

J04543 24090 SPRING TYPE U-NUT SCREW #10 RANGE 0.025-0.150 - BLACK

J04547 11138 MOULDING CLIP -GM 25 10 -15

J04548 24091 GM SIDE MOULDING CLIP

J04549 23353 1/4-28 X 2 PHILLIPS HDLAMP ADJ SCREW - ZINC

J04561 11179 #8-32 X 5/16 STEEL ACORN CAP NUT - NICKEL

J04562 11180 #10-24 X 3/8 STEEL ACORN CAP NUT - NICKEL

J04563 11181 #10-32 X 3/8 STEEL ACORN CAP NUT - NICKEL

J04564 11182 1/4-20 X 7/16 STEEL ACORN CAP NUT - NICKEL

J04565 N/A ACORN CAP NUT 5/16-18 Discontinued
J04566 11184 3/8-16 X 5/8 STEEL ACORN CAP NUT - NICKEL

J04568 23692 HEX WSHR HD BODY BOLT CA POINT 5/16-18 X 1 - BLACK

J04570 12009 5/16-18 X 1 1/2 IND HEX WA HD 1/2 AF T.S. BODY BOLT

J04571 11245 PLASTIC NUT - GM

J04573 8987 SPRING PINS 1/16 X 1 ZINC 100 50 -50

J04575 8992 SPRING PINS 5/64 X 1 ZINC 100 50 -50

J04576 8993 SPRING PINS 5/64 X 1-1/4 ZINC 100 50 -50

J04577 8994 SPRING PINS 5/64 X 1-1/2 ZINC 100 50 -50

J04578 8996 SPRING PINS 3/32 X 1/2 ZINC 100 50 -50

J04579 8997 SPRING PINS 3/32 X 5/8 ZINC 100 50 -50

J04580 8999 SPRING PINS 3/32 X 7/8 ZINC 100 50 -50

J04581 9001 SPRING PINS 3/32 X 1-1/4 ZINC 100 50 -50

J04582 9002 SPRING PINS 3/32 X 1-1/2 ZINC 100 50 -50

J04583 9004 SPRING PINS 1/8 X 1/2 ZINC 100 50 -50

J04584 9005 SPRING PINS 1/8 X 5/8 ZINC 100 50 -50

J04585 9007 SPRING PINS 1/8 X 7/8 ZINC 100 50 -50

J04586 9008 SPRING PINS 1/8 X 1 ZINC 100 50 -50

J04587 9009 SPRING PINS 1/8 X 1-1/4 ZINC 100 50 -50

J04588 9011 SPRING PINS 1/8 X 1-3/4 ZINC

J04589 9012 SPRING PINS 1/8 X 2 ZINC

J04591 9015 SPRING PINS 5/32 X 3/4 ZINC 100 50 -50

J04592 N/A TENSION PIN 5/32 X 7/8 T Discontinued
J04593 9017 SPRING PINS 5/32 X 1 1/4 ZINC 100 50 -50

J04595 N/A TENSION PIN 5/32X2 TNS Discontinued
J04596 N/A TENSION PIN 5/32 X 2-1/4 Discontinued
J04597 N/A TENSION PIN 5/32 X 2-1/2 Discontinued
J04598 N/A TENSION PIN 3/16 X5/8 T Discontinued
J04599 9021 SPRING PINS 3/16 X 3/4 ZINC

J04600 N/A TENSION PIN 3/16 X 7/8 T Discontinued
J04601 9023 SPRING PINS 3/16 X 1 1/4 ZINC

J04602 9024 SPRING PINS 3/16 X 1 1/2 ZINC

J04603 9025 SPRING PINS 3/16 X 1 3/4 ZINC

J04604 N/A TENSION PIN 3/16 X 2-1/4 Discontinued
J04607 9027 SPRING PINS 7/32 X 5/8 ZINC

J04608 N/A TENSION PIN 7/32 X 7/8 T Discontinued
J04609 N/A TENSION PIN 7/32 X 1 TNS Discontinued
J04610 N/A TENSION PIN 7/32 X 1-1/4 Discontinued
J04611 9029 SPRING PINS 7/32 X 1 3/4 ZINC

J04612 N/A TENSION PIN 7/32 X 2-1/4 Discontinued
J04614 N/A TENSION PIN 1/4 X 1/2 TN Discontinued
J04615 9030 SPRING PINS 1/4 X 5/8 ZINC

J04616 9031 SPRING PINS 1/4 X 3/4 ZINC

J04618 9034 SPRING PINS 1/4 X1 1/4 ZINC




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J04619 9035 SPRING PINS 1/4 X1 1/2 ZINC

J04620 9036 SPRING PINS 1/4 X 1 3/4 ZINC

J04621 9038 SPRING PINS 1/4 X 2 1/4 ZINC

J04622 9039 SPRING PINS 1/4 X 2 1/2 ZINC

J04624 9040 SPRING PINS 5/16 X 3/4 ZINC

J04625 N/A TENSION PIN 5/16 X 7/8 T Discontinued
J04626 9042 SPRING PINS 5/16 X 1 ZINC

J04628 9043 SPRING PINS 5/16 X 1 1/2 ZINC

J04629 9044 SPRING PINS 5/16 X 1 3/4 ZINC 50 25 -25

J04630 9045 SPRING PINS 5/16 X 2 ZINC 50 25 -25

J04631 N/A TENSION PIN 5/16 X 2-1/4 Discontinued
J04632 9046 SPRING PINS 5/16 X 2 1/2 ZINC

J04633 N/A TENSION PIN 5/16 X 2-3/4 Discontinued
J04634 N/A TENSION PIN 5/16 X 3 TNS Discontinued
J04636 N/A TENSION PIN 5/16 X 4 TNS Discontinued
J04639 9048 SPRING PINS 3/8 X 1 ZINC

J04640 N/A TENSION PIN 3/8 X 1-1/4 Discontinued
J04641 9049 SPRING PINS 3/8 X 1 1/2 ZINC

J04642 N/A TENSION PIN 3/8 X 1-3/4 Discontinued
J04643 9050 SPRING PINS 3/8 X 2 ZINC

J04644 N/A TENSION PIN 3/8 X 2-1/4 Discontinued
J04645 9051 SPRING PINS 3/8 X 2 1/2 ZINC

104647 24092 SPRING PIN 3/8” X 3” STEEL

J04648 N/A TENSION PIN 3/8 X 3-1/2 Discontinued
J04652 N/A TENSION PIN 7/16 X 1-1/2 Discontinued
J04653 N/A TENSION PIN 7/16 X 1-3/4 Discontinued
J04657 N/A TENSION PIN 7/16 X 3-1/2 Discontinued
J04658 N/A TENSION PIN 7/16 X 4 TNS Discontinued
J04660 N/A TENSION PIN 1/2 X2 TNS Discontinued
J04661 N/A TENSION PIN 1/2 X 2-1/2 Discontinued
J04662 N/A TENSION PIN 1/2 X 3 TNS Discontinued
J04670 24093 CHRYSLER BODY SIDE MOULDING CLIP

J04671 23681 CHRYSLER DOOR LOCK ROD CLIP

J04672 23682 CHRYSLER DOOR LOCK ROD CLIP

J04674 11049 4MM-.7 METRIC NYLON INSERT LOCK NUT DIN 985 25 100 +75

J04675 11051 5MM-.8 METRIC NYLON INSERT LOCK NUT DIN 985 25 100 +75

J04676 11053 6MM-1.0 METRIC NYLON INSERT LOCK NUT DIN 985 25 100 +75

J04677 N/A NYLON STOP NUT/METRIC Discontinued
J04678 N/A NYLON STOP NUT/METRIC Discontinued
J04679 11055 8MM-1.25 METRIC NYLON INSERT LOCK NUT DIN 985 25 100 +75

J04680 N/A NYLON STOP NUT/METRIC Discontinued
J04682 11057 10MM-1.5 METRIC NYLON INSERT LOCK NUT DIN 985 10 100 +90

J04684 N/A NYLON STOP NUT/METRIC Discontinued
J04685 11059 12MM-1.75 METRIC NYLON INSERT LOCK NUT DIN 985 10 100 +90

J04686 N/A NYLON STOP NUT/METRIC Discontinued
J04689 N/A NYLON STOP NUT/METRIC Discontinued
J04691 23113 UNIVERSAL SQUARE 4-WAY HARNESS CONNECTOR

J04695 23149 MOULDED IN-LINE 20 AMP GLASS FUSE HOLDER WITH WIRE

J04696 23150 MOULDED IN-LINE 30 AMP GLASS FUSE HOLDER WITH WIRE

J04698 11475 PARK STOP & TAIL LIGHT SOCKET CONNECTOR - GM

J04699 23154 4-WAY FLAT TRAILER CONNECTOR KIT

J04706 N/A UNIV BATT TERMINAL BRA Discontinued
J04707 24094 EXTRUDED U-NUT SCREW 1/4-20 RANGE 0.050-0.070 - BLACK

J04717 N/A BRASS TERMINAL EYE Discontinued
Jo4721 N/A BRASS TERMINAL EYE Discontinued
J04722 13004 WELL NUT 1/4-20 THREAD .625 HEAD DIA.

J04726 N/A INT TOOTH LKWSHR METRIC Discontinued
J04728 N/A INT TOOTH LKWSHR METRIC Discontinued
J04735 N/A EXT TOOTH LKWSHR METRIC Discontinued
J04742 12723 SLOTTED FINISHED HEX NUTS 5/8-18 SAE ZINC

J04744 N/A SLOTTED HEX NUT 42433 Discontinued
J04747 24095 SLOTTED HEX NUT 1-8 ZINC

J04748 N/A SLOTTED HEX NUT 1-14 Discontinued
J04750 N/A SLOTTED HEX NUT 1-1/4 Discontinued
J04755 8477 1/16 X 1/2 HAMMER LOCK COTTER PIN ZINC

J04756 8478 1/16 X 3/4 HAMMER LOCK COTTER PIN ZINC

J04757 8479 1/16 X 1 HAMMER LOCK COTTER PIN ZINC

J04759 8480 1/16 X 1 1/2 HAMMER LOCK COTTER PIN ZINC

J04762 N/A COTTER PIN 3/32 X 1/2 Discontinued
J04763 8481 3/32 X 3/4 HAMMER LOCK COTTER PIN ZINC

J04764 8482 3/32 X 1 HAMMER LOCK COTTER PIN ZINC

J04765 8483 3/32 X 1 1/4 HAMMER LOCK COTTER PIN ZINC

J04766 8484 3/32 X 1 1/2 HAMMER LOCK COTTER PIN ZINC

J04768 8485 3/32 X 2 HAMMER LOCK COTTER PIN ZINC

J04772 N/A COTTER PIN 1/8 X 3/4 C Discontinued

68



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J04773 8486 1/8 X 1 HAMMER LOCK COTTER PIN ZINC

J04774 8487 1/8 X 1 1/4 HAMMER LOCK COTTER PIN ZINC

J04775 8488 1/8 X 1 1/2 HAMMER LOCK COTTER PIN ZINC

J04776 8489 1/8 X 1 3/4 HAMMER LOCK COTTER PIN ZINC

J04777 8490 1/8 X 2 HAMMER LOCK COTTER PIN ZINC

J04779 8491 1/8 X 2 1/2 HAMMER LOCK COTTER PIN ZINC 100 200 +100

J04782 N/A COTTER PIN 5/32 X 3/4 Discontinued
J04783 8492 5/32 X 1 HAMMER LOCK COTTER PINS ZINC

J04785 8493 5/32 X 1 1/2 HAMMER LOCK COTTER PIN ZINC

J04786 24096 COTTER PIN 5/32 X 1-3/4 - PLATED

J04787 8494 5/32 X 2 HAMMER LOCK COTTER PIN ZINC

J04788 N/A COTTER PIN 5/32 X 2-1 Discontinued
J04791 N/A COTTER PIN 3/16 X 3/4 Discontinued
J04792 N/A COTTER PIN 3/16 X1 CT Discontinued
J04794 8495 3/16 X 1 1/2 HAMMER LOCK COTTER PIN ZINC 50 100 +50

J04796 8496 3/16 X 2 HAMMER LOCK COTTER PIN ZINC 50 100 +50

J04798 8497 3/16 X 2 1/2 HAMMER LOCK COTTER PIN ZINC 50 100 +50

J04799 14911 3/16 X 3 HL COTTER PIN ZINC 25 100 +75

J04804 8498 1/4 X1 1/2 HAMMER LOCK COTTER PIN ZINC 50 100 +50

J04805 N/A COTTER PIN 1/4 X 1-3/4 Discontinued
J04806 8499 1/4 X 2 HAMMER LOCK COTTER PIN ZINC 50 100 +50

J04808 8500 1/4 X 2 1/2 HAMMER LOCK COTTER PIN ZINC 25 100 +75

J04810 8501 1/4 X 3 HAMMER LOCK COTTER PIN ZINC 25 100 +75

J04811 N/A COTTER PIN 1/4 X 3-1/2 Discontinued
J04813 N/A COTTER PIN 1/4 X 4-1/2 Discontinued
J04815 N/A COTTER PIN 5/16 X1 CT Discontinued
J04816 N/A COTTER PIN 5/16 X 1-1 Discontinued
J04818 N/A COTTER PIN 5/16 X 1-3 Discontinued
J04821 8502 5/16 X 2 1/2 HAMMER LOCK COTTER PIN ZINC 25 50 +25

J04822 8503 5/16 X 3 HAMMER LOCK COTTER PIN ZINC 25 50 +25

J04828 N/A COTTER PIN 3/8 X 1-1/2 Discontinued
J04829 N/A COTTER PIN 3/8 X2 CTR Discontinued
J04835 N/A COTTER PIN 3/8 X 4-1/2 Discontinued
J04837 N/A COTTER PIN 3/8 X6 CTR Discontinued
J04840 24097 GUAGE TOOL - STAINLESS STEEL

J04846 N/A SLOT PAN THRD CUT SCRW Discontinued
J04853 5796 BATTERY CABLE LUGS 10 25 +15

J04854 N/A BATTERY CABLE LUG Discontinued
J04857 24098 COPPER BATTERY CABLE LUG 4/0 GA 1/2 STUD

J04858 8659 9/16 - 12 USS FINISHED HEX NUT ZINC

J04859 8660 9/16-18 SAE FINISHED HEX NUT ZINC

J04860 8661 5/8-11 USS FINISHED HEX NUT ZINC

J04861 8662 5/8 - 18 SAE FINISHED HEX NUT ZINC

J04862 8663 3/4-10 USS FINISHED HEX NUT ZINC 25 50 +25

J04869 N/A HEX NUT 1-1/8-12 HEX Discontinued
J04870 N/A HEX NUT 1-1/4-7 HEX N Discontinued
J04873 N/A HEX NUT 1-3/8-12 HEX Discontinued
J04874 N/A HEX NUT 1-1/2-6 HEX N Discontinued
J04875 N/A HEX NUT 1-1/2-12 HEX Discontinued
J04876 N/A HEX NUT 1-3/4-5 HEX N Discontinued
J04878 N/A HEX NUT 2-4-1/2 HEX N Discontinued
J04881 N/A HEX NUT 2-1/4-12 HEX Discontinued
J04884 N/A HEX NUT 2-3/4-4 HEX N Discontinued
J04885 N/A HEX NUT 2-3/4-12 HEX Discontinued
J04887 N/A HEX NUT 3-12 HEX NUT Discontinued
J04388 N/A HEX LAG BOLT 1/4 X1 H Discontinued
J04894 N/A HEX LAG BOLT 1/4 X4 H Discontinued
J04895 N/A HEX LAG BOLT 1/4 X5 H Discontinued
J04897 N/A HEX LAG BOLT 5/16 X 1-1 Discontinued
J04899 N/A HEX LAG BOLT 5/16 X 2-1 Discontinued
J04905 N/A HEX LAG BOLT 3/8 X 1-1/2 Discontinued
J04906 N/A HEX LAG BOLT 3/8 X2 H Discontinued
J04909 9100 3/8 X 4 HEX HD LAG SCREW ZINC

J04912 N/A HEX LAG BOLT 3/8 X 8 Discontinued
J04913 N/A HEX LAG BOLT 1/2X2 H Discontinued
J04914 N/A HEX LAG BOLT 1/2 X 2 1 Discontinued
J04919 N/A HEX LAG BOLT 1/2X 8 H Discontinued
J04922 N/A HEX LAG BOLT 5/8 X6 H Discontinued
J04926 N/A HEX LAG BOLT 3/4 X 8 H Discontinued
J04927 N/A HEX LAG BOLT 3/4 X 10 Discontinued
J04933 N/A STUD Discontinued
J04941 11625 EXTRUDED U NUT M4-.7 SCREW SIZE -GM 25 50 +25

J04943 11628 EXTRUDED U NUT M6.3-1.0 SCREW SIZE - GM

J04945 11629 EXTRUDED U NUT M8-1.25 SCREW SIZE - GM FORD CHRY

J04946 23318 EXTRUDED U-NUT M10-1.50 SCREW SIZE RANGE 1.5-5.5MM

69



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
404947 3556 1/2 BOLT SIZE 1 1/2 0.D. FENDER WASHER ZINC 50 100 +50

J04948 N/A HEX HD THREAD CUT SCREW 1 Discontinued
404949 23320 HEX WASHER HEAD SCREW M8-1.25 X 25MM BLACK

J04950 11761 MAGNETIC CHUCK FOR 5/16 HEX SIZE

J04951 10232 METAL PLUG BUTTON 1-1/2 HOLE NICKEL PLTD 25 10 -15

J04960 3080 #8 X 1-1/4 PHILLIPS PAN HEAD TAP SCREW ZINC

J04961 3081 8 X 1 1/2 PHILLIPS PAN HEAD TAP SCREW ZINC

J04962 13026 PHILLIPS WASHER HEAD TAP SCREW 8 X 3/4

J04963 N/A NYLON STOP NUT/METRIC Discontinued
J04964 N/A NYLON STOP NUT/METRIC Discontinued
J04965 N/A NYLON STOP NUT/METRIC Discontinued
J04966 22798 PUSHNUT BOLT RETAINER 5/16 BOLT 5/8 OD BLACK PHOS

J04970 14607 M12-1.25 X 30MM CAP SCREW PLAIN DIN 961 10 5 -5

J04971 14608 M12-1.25 X 40MM CAP SCREW PLAIN DIN 961 10 5 -5

J04973 N/A METRIC HEX BOLT FINE TH Discontinued
J04974 14610 M12-1.25 X 70MM CAP SCREW PLAIN DIN 960 10 5 -5

J04975 N/A METRIC HEX BOLT FINE TH Discontinued
J04977 14582 M4-.7 X 25MM CAP SCREW ZINC DIN933 25 50 +25

J04979 N/A METRIC SCREW/HEX HD M4 Discontinued
J04980 24099 HEX HEAD CAP SCREW M14-2.00 X 70MM

J04982 14595 16-2.0 X 30MM DIN 933 CAP SCREW CL8.8 - ZINC

J04985 14598 16-2.0 X 60MM DIN 931 CAP SCREW CL8.8 - ZINC

J04987 N/A METRIC SCREW/HEX HD M1 Discontinued
J04988 N/A METRIC SCREW/HEX HD M1 Discontinued
J04989 24100 HEX HEAD CAP SCREW M16-2.00 X 100MM

J04992 14602 20-2.5 X 60MM DIN 933 CAP SCREW CL8.8 - ZINC

J04993 N/A METRIC SCREW/HEX HD M2 Discontinued
J04999 N/A METRIC HEX NUT M20 X 2 Discontinued
J05001 N/A METRIC HEX NUT M24 X 3 Discontinued
J05004 N/A METRIC HEX NUT FINE THR Discontinued
J05006 N/A FINE THREAD METRIC JAM N Discontinued
J05007 N/A FINE THREAD METRIC JAM N Discontinued
J05009 N/A FINE THREAD METRIC JAM N Discontinued
J05010 N/A METRIC JAM NUT 4X.70 P Discontinued
J05011 N/A METRIC JAM NUT 5X.80 P Discontinued
J05013 N/A METRIC JAM NUT 8X1.25 Discontinued
J05014 N/A METRIC JAM NUT 10X1.50 Discontinued
J05015 N/A METRIC JAM NUT 12X1.75 Discontinued
J05017 N/A METRIC SPRING WASHER M Discontinued
J05018 N/A METRIC SPRING WASHER M Discontinued
J05019 N/A METRIC SPRING WASHER M Discontinued
J05020 N/A METRIC LOCKWASHER M16 Discontinued
J05022 N/A METRIC LOCKWASHER M20 Discontinued
J05023 N/A METRIC LOCKWASHER M24 Discontinued
J05024 14633 M16 FLAT WASHER ZINC DIN125 25 50 +25

J05025 N/A METRIC FLAT WASHER M18 Discontinued
J05027 N/A METRIC FLAT WASHER M24 Discontinued
J05029 N/A METRIC STOVER LOCK NUT Discontinued
J05030 N/A METRIC STOVER LOCK NUT Discontinued
J05031 N/A METRIC STOVER LOCK NUT Discontinued
J05032 N/A METRIC STOVER LOCK NUT Discontinued
J05033 N/A METRIC STOVER LOCK NUT Discontinued
J05034 N/A METRIC STOVER LOCK NUT Discontinued
J05035 N/A METRIC STOVER LOCK NUT Discontinued
J05036 N/A METRIC STOVER LOCK NUT Discontinued
J05037 N/A METRIC STOVER LOCK NUT Discontinued
J05038 N/A METRIC STOVER LOCK NUT Discontinued
J05040 24101 M14-2.0 STOVER LOCK NUT DIN 980 - ZINC

J05041 N/A METRIC STOVER LOCK NUT Discontinued
J05045 N/A TRUCK SHIM T-103-7 ALU Discontinued
J05047 N/A TRUCK SHIM T-106-3 ALU Discontinued
J05050 24102 AXLE HUB STUD DOWEL 7/16 1.D. 3/4 0.D.

J05052 N/A METRIC PAN HEAD SCRW M3X Discontinued
J05054 N/A METRIC PAN HEAD SCRW M4X Discontinued
J05057 N/A METRIC PAN HEAD SCRW M4X Discontinued
J05058 N/A METRIC PAN HEAD SCRW M5X Discontinued
J05059 N/A METRIC PAN HEAD SCRW M5X Discontinued
J05060 N/A METRIC PAN HEAD SCRW M6X Discontinued
J05061 N/A METRIC PAN HEAD SCRW M6X Discontinued
J05062 N/A METRIC PAN HEAD SCRW M6X Discontinued
J05063 N/A METRIC PAN HEAD SCRW M6X Discontinued
J05064 N/A METRIC PAN HEAD SCRW M8X Discontinued
J05065 N/A METRIC PAN HEAD SCRW M8X Discontinued
J05066 N/A METRIC PAN HEAD SCRW M8X Discontinued
J05068 N/A METRIC PHIL OVAL MACH Discontinued

70



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J05070 N/A METRIC PHIL OVAL MACH Discontinued
J05071 N/A METRIC PHIL OVAL MACH Discontinued
J05075 N/A METRIC PHIL OVAL MACH Discontinued
J05076 N/A METRIC PHIL OVAL MACH Discontinued
J05077 N/A METRIC PHIL OVAL MACH Discontinued
J05078 N/A METRIC PHIL OVAL MACH Discontinued
J05081 N/A PHIL OVAL MACH SCREW 5X Discontinued
J05082 15890 PHIL. OVAL HD. METRIC M.S. M5-.8 X 20MM 25 100 +75

J05086 N/A METRIC PHIL OVAL MACH Discontinued
J05088 15895 PHIL. OVAL HD. METRIC M.S. M6-1.0 X 20MM 25 50 +25

J05089 15896 PHIL. OVAL HD. METRIC M.S. M6-1.0 X 25MM 25 50 +25

J05092 N/A METRIC PHIL OVAL MACH Discontinued
J05098 15867 PHIL. PAN HD. METRIC M.S. M4-.7 X 8MM 25 100 +75

J05099 N/A METRIC PHIL PAN HEAD M Discontinued
J05100 15869 PHIL. PAN HD. METRIC M.S. M4-.7 X 16MM 25 100 +75

J05104 N/A METRIC PHIL PAN HEAD M Discontinued
J05106 15871 PHIL. PAN HD. METRIC M.S. M5-.8 X 10MM 25 100 +75

J05107 15873 PHIL. PAN HD. METRIC M.S. M5-.8 X 16MM 25 100 +75

J05108 15874 PHIL. PAN HD. METRIC M.S. M5-.8 X 20MM 25 100 +75

J05109 15875 PHIL. PAN HD. METRIC M.S. M5-.8 X 25MM 25 100 +75

J05110 N/A METRIC PHIL PAN HEAD M Discontinued
J05112 15876 PHIL. PAN HD. METRIC M.S. M6-1.0 X 10MM 25 100 +75

J05113 23537 PHIL. PAN HEAD METRIC MACHINE SCREW 6MM-1.00 X 12MM

J05114 15879 PHIL. PAN HD. METRIC M.S. M6-1.0 X 20MM 25 50 +25

J05115 15880 PHIL. PAN HD. METRIC M.S. M6-1.0 X 25MM 25 50 +25

J05116 15881 PHIL. PAN HD. METRIC M.S. M6-1.0 X 30MM 25 50 +25

J05117 N/A METRIC PHIL PAN HEAD M Discontinued
J05119 N/A METRIC PHIL PAN HEAD M Discontinued
J05121 11602 FEMALE INSUL. SNAP PLUG CONNECTOR 16-14 GA (.176) 50 25 -25

J05122 24103 SPRING TYPE U-NUT SCREW #10 RANGE 0.025-0.040 - BLACK

J05123 N/A PHIL PAN HD SHT MET SC Discontinued
J05124 23543 MOULDED IN-LINE ATO/ATC 5AMP FUSE HOLDER W/FUSE

J05125 23544 MOULDED IN-LINE ATO/ATC 7.5AMP FUSE HOLDER W/FUSE

J05126 23546 MOULDED IN-LINE ATO/ATC 10AMP FUSE HOLDER W/FUSE

J05127 23547 MOULDED IN-LINE ATO/ATC 20AMP FUSE HOLDER W/FUSE

J05130 11156 PIGTAIL CONNECTOR BACKUP & CORNERING- GM B 1 -4

J05133 23138 GM DIMMER SWITCH HARNESS CONNECTOR

J05134 11442 ALTERNATOR HARNESS PIGTAIL CONNECTOR - GM

J05135 11443 TRANSISTOR ALT HARNESS PIGTAIL CONNECTOR - GM

J05136 11444 VOLTAGE REGULATOR PIGTAIL CONNECTOR - GM B 10 +5

J05137 11445 VOLTAGE REGULATOR PIGTAIL CONNECTOR - FORD 5 10 +5

J05140 11606 INSUL NYLON FEMALE QUICK-CONNECT TERMINAL 16-14 GA

J05141 11605 INSUL NYLON MALE QUICK-CONNECT TERMINAL 16-14 GA

J05143 14836 NYLON CABLE TIE 4” LENGTH

J05144 11827 22-18 GA FEMALE QUICK SLIDE TERMINALS - RED

J05145 11828 22-18 GA MALE QUICK SLIDE TERMINALS - RED

J05146 11829 12-10 GA FEMALE QUICK SLIDE TERMINALS - YELLOW 50 25 -25

J05147 11830 12-10 GA MALE QUICK SLIDE TERMINALS - YELLOW 50 25 -25

J05148 N/A HEAVY DUTY HAND RIVETER Discontinued
J05149 N/A RIVETER NOSEPIECE Discontinued
J05150 N/A SPLIT RIVET NOSEPIECE Discontinued
J05151 16837 WINDOW REGULATOR PEEL-TYPE RIVET (SAME AS 11620)

J05152 12658 SPECIAL PEEL-TYPE RIVET (GM & FORD) 1/4 DIA.

J05155 12348 8-1.25 X 30MM HEX WASHER HEAD - PHOS

J05156 23661 HEX HD SEMS BODY BOLT CA POINT M6.3-1.0 X 20MM - BLACK

J05158 23326 HEX HEAD SEMS SCREW W/ STARTER POINT M10-1.50 X 40MM

J05159 23321 METRIC HEX FLANGE NUT M10-1.5

J05161 23695 HEX HD SEMS T.S. M6.3-1.81 X 22MM - BLACK

J05164 23656 FREE SPINNING WASHER NUT M8-1.25 24MM TOOTHED WASHER

J05165 23655 FREE SPINNING WSHR NUT M6.3-1.0 19MM WSHER 0.D.

J05170 12253 THREAD CUTTING NUT 5MM STUD SIZE -PHOS. 100 50 -50

J05172 22798 PUSHNUT BOLT RETAINER 5/16 BOLT 5/8 OD BLACK PHOS

J05173 22801 PUSHNUT BOLT RETAINER M12-1.75 21MM OD BLACK PHOS

J05176 N/A MTRC PAL LOCK NUT Discontinued
J05179 24104 UNIVERSAL MOULDING FASTENER

J05181 24105 METRIC HEX FLANGE LOCK NUT M5-0.80 11.2MM DIA.

J05193 13543 PIGTAIL SOCKET ASSEMBLY PARK/STOP/TAIL LIGHTS 5 1 -4

J05195 11436 DIMMER SWITCH PIGTAIL HARNESS CONNECTOR - GM

J05196 23139 FORD, CHRYSLER & AMC DIMMER SWITCH HARNESS CONNECTOR

J05197 11371 #12-28 X 1-1/2 HEADLIGHT ADJUST ASSEMBLY 25 10 -15

J05198 23151 4- WAY UNIVERSAL SHROUDED FLAT LEADS HARNESS CONNECTOR

J05199 23115 4 WAY UNIVERSAL SHROUDED 12” LEADS HARNESS CONNECTOR

J05200 11434 6 WAY MALE TRAILER CONNECTOR

J05201 11435 6 WAY FEMALE TRAILER CONNECTOR

J05206 23724 GM HEADLIGHT ADJUSTING SCREW #12-28 X 1 3/4




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J05207 11718 HEADLIGHT ADJUSTING NUT - GM

J05208 11831 BUMPER FASTENER - GM

J05209 12059 4.2-1.41 X 13MM METRIC PHILLIPS WASHER HD - ZINC

J05218 14970 SEMS PHILLIPS OVAL TAP SCREW 6 HEAD 8 X 1 1/2 100 50 -50

J05225 11852 PEEL TYPE RIVET 1/4 DIA 5/64 GRIP - GM FORD 50 25 -25

J05228 11864 EXTRUDED U NUT M6-1.0 SCREW SIZE - GM

J05230 11449 #8-18 X 5/8 PHIL OVAL CTRSK WASH SEMS TEK - CH 50 100 +50

J05231 11450 #8-18 X 3/4 PHIL OVAL CTRSK WASH SEMS TEK - CH 50 100 +50

J05232 11451 #8-18 X 1 PHIL OVAL CTRSK WASH SEMS TEK - CHROME

J05236 11454 #8-18 X 5/8 PHIL OVAL CTRSK WASH SEMS TEK - PH 50 100 +50

J05237 11455 #8-18 X 3/4 PHIL OVAL CTRSK WASH SEMS TEK - PH 50 100 +50

J05238 11456 #8-18 X 1 PHIL OVAL CTRSK WASH SEMS TEK - PHOS

J05241 23357 HEX HEAD SEMS SCREW W/ STARTER POINT M10-1.50 X 20MM

405242 12065 6-1.0 X 25MM HEX HEAD SEMS 17MM QD - PHOSPHATE

405249 9118 1/4-20 X 1/2 GR. 8 CAP SCREW ALLQY ZINC

J05250 9119 1/4-20 X 3/4 GR. 8 CAP SCREW ALLOY ZINC

J05251 9120 1/4-20 X 1 GR. 8 CAP SCREW ALLQY ZINC

J05252 9121 1/4-20 X 1 1/4 GR 8 CAP SCREW ALLOQY ZINC

J05253 9122 1/4-20 X 1 1/2 GR. 8 CAP SCREW ALLQY ZINC

J05255 9124 1/4-20 X 2 GR 8 CAP SCREW ALLOY ZINC

J05256 9125 1/4-20 X 2 1/4 GR 8 CAP SCREW ALLOY ZINC

J05258 N/A GRADE 8 CAP SCREW 1/4 Discontinued
J05259 N/A GRADE 8 CAP SCREW 1/4 Discontinued
J05261 9128 5/16-18 X 3/4 GR 8 CAP SCREW ALLOY ZINC

J05262 9129 5/16-18 X 1 GR. 8 CAP SCREW ALLOY ZINC

J05263 9130 5/16-18 X 1 1/4 GR.8 CAP SCREW ALLOY ZNC

J05264 9131 5/16-18 X 1 1/2 GR. 8 CAP SCREW ALLQY ZINC

J05265 9132 5/16-18 X 1 3/4 GR. 8 CAP SCREW ALLQY ZINC

J05266 9133 5/16-18 X 2 GR 8 CAP SCREW ALLQY ZINC

J05268 9134 5/16-18 X 2 1/2 GR 8 CAP SCREW ALLOY ZINC

J05269 9135 5/16-18 X 3 GR 8 CAP SCREW ALLQY ZINC

J05270 N/A GRADE 8 CAP SCREW 5/16 Discontinued
J05272 9136 3/8-16 X 3/4 GR. 8 CAP SCREW ALLQOY ZINC

J05273 9137 3/8-16 X 1 GR. 8 CAP SCREW ALLQOY ZINC

J05274 9138 3/8-16 X 1 1/4 GR. 8 CAP SCREW ALLQY ZINC

J05275 9139 3/8-16 X 1 1/2 GR. 8 CAP SCREW ALLQY ZINC

J05276 N/A GRADE 8 CAP SCREW 3/8 Discontinued
J05277 9140 3/8-16 X 2 GR 8 CAP SCREW ALLQY ZINC 50 25 -25

J05279 9141 3/8-16 X 2 1/2 GR 8 CAP SCREW ALLQY ZINC

J05280 9142 3/8-16 X 3 GR 8 CAP SCREW ALLQY ZINC

J05281 17028 ALTERNATOR BOLT GR.8 CAP SCREW 3/8 X 3-1/2 ZINC 25 15 -10

J05282 9143 3/8-16 X 4 GR 8 CAP SCREW ALLQOY ZINC

J05285 24199 HEX HEAD CAP SCREW GRADE 8, 3/8-16 X 6

J05286 9144 7/16-14 X 1 GR 8 CAP SCREW ALLQY ZINC

J05287 9145 7/16-14 X 1 1/4 GR 8 CAP SCREW ALLOY ZINC

J05288 9146 7/16-14 X1 1/2 GR 8 CAP SCREW ALLOY ZINC

J05290 9147 7/16-14 X 2 GR. 8 CAP SCREW ALLOY ZINC

J05291 9148 7/16-14 X2 1/2 GR 8 CAP SCREW ALLOY ZINC

J05292 9149 7/16-14 X 3 GR 8 CAP SCREW ALLQY ZINC 10 25 +15

J05293 N/A GRADE 8 CAP SCREW 7/16 Discontinued
J05294 23538 7/16-14 X 4 HEX HD CAP SCREW GRADE 8

J05297 9151 1/2-13 X1 GR. 8 CAP SCREW ALLQY ZINC

J05298 9152 1/2-13 X1 1/4 GR 8 CAP SCREW ALLOY ZINC

J05299 9153 1/2-13 X1 1/2 GR 8 CAP SCREW ALLOQY ZINC

J05300 9154 1/2-13 X 1 3/4 GR 8 CAP SCREW ALLOY ZINC

J05301 9155 1/2-13 X 2 GR 8 CAP SCREW ALLOY ZINC

J05302 9156 1/2-13 X2 1/2 GR 8 CAP SCREW ALLOY ZINC

J05303 9157 1/2-13 X 3 GR. 8 CAP SCREW ALLQY ZINC

J05304 N/A GRADE 8 CAP SCREW 1/2 Discontinued
J05305 9158 1/2-13 X 4 GR. 8 CAP SCREW ALLQY ZINC

J05306 N/A GRADE 8 CAP SCREW 1/2 Discontinued
J05307 9159 1/2-13 X5 GR 8 CAP SCREW ALLOY ZINC

J05310 9160 5/8-11 X 1 1/2 GR. 8 CAP SCREW ALLQY ZINC

J05312 9161 5/8-11 X 2 GR. 8 CAP SCREW ALLQOY ZINC

J05313 9162 5/8-11 X2 1/2 GR 8 CAP SCREW ALLQY ZINC

J05314 9163 5/8-11 X 3 GR. 8 CAP SCREW ALLQOY ZINC

J05315 17499 GRADE 8 CAP SCREW 5/8 X 3-1/2 ZINC

J05316 9164 5/8-11 X 4 GR 8 CAP SCREW ALLQY ZINC 5 10 +5

J05317 24106 HEX HEAD CAP SCREW GRADE 8, 5/8-11 X 4-1/2”

J05318 9165 5/8-11 X 5 GR. 8 CAP SCREW ALLQOY ZINC 5 10 +5

J05321 N/A GRADE 8 CAP SCREW 3/4 Discontinued
J05322 9167 3/4-10 X 2 GR. 8 CAP SCREW ALLQOY ZINC 5 10 +5

J05323 N/A GRADE 8 CAP SCREW 3/4 Discontinued
J05324 9169 3/4-10 X 3 GR. 8 CAP SCREW ALLQOY ZINC 5 10 +5

J05325 9170 3/4-10 X 3 1/2 GR 8 CAP SCREW ALLQY ZINC 5 10 +5




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J05326 9171 3/4-10 X 4 GR. 8 CAP SCREW ALLOY ZINC 5 10 +5

J05328 9172 3/4-10 X 5 GR. 8 CAP SCREW ALLQOY ZINC B 10 +5

J05330 N/A GRADE 8 CAP SCREW 3/4- Discontinued
J05334 13283 12 X 1-1/4 PHILLIPS PAN HEAD TAP SCREW 18-8 50 25 -25

J05336 N/A GRADE 8 CAP SCREW 7/8 Discontinued
J05337 N/A GRADE 8 CAP SCREW 7/8 Discontinued
J05342 N/A GRADE 8 CAP SCREW 7/8 Discontinued
J05347 N/A GRADE 8 CAP SCREW 1-8 Discontinued
J05351 N/A GRADE 8 CAP SCREW 1-8 Discontinued
J05353 N/A GRADE 8 CAP SCREW 1-8 Discontinued
J05358 N/A GRADE 8 CAP SCREW 1/4 Discontinued
J05359 9174 1/4-28 X 3/4 GR. 8 CAP SCREW ALLOY ZINC

J05362 9177 1/4-28 X 1 1/2 GR 8 CAP SCREW ALLOQY ZINC

J05363 N/A GRADE 8 CAP SCREW 1/4 Discontinued
J05364 N/A GRADE 8 CAP SCREW 1/4 Discontinued
J05366 N/A GRADE 8 CAP SCREW 1/4 Discontinued
J05367 N/A GRADE 8 CAP SCREW 1/4 Discontinued
J05368 N/A GRADE 8 CAP SCREW 5/16 Discontinued
J05369 9184 5/16-24 X 1 GR 8 CAP SCREW ALLQY ZINC

J05371 9186 5/16-24 X 1 1/2 GR 8 CAP SCREW ALLOY ZINC

J05372 N/A GRADE 8 CAP SCREW 5/16 Discontinued
J05373 9188 5/16-24 X 2 GR 8 CAP SCREW ALLQY ZINC

J05374 N/A GRADE 8 CAP SCREW 5/16 Discontinued
J05375 N/A GRADE 8 CAP SCREW 5/16 Discontinued
J05376 N/A GRADE 8 CAP SCREW 5/16 Discontinued
J05378 9191 3/8-24 X 3/4 GR 8 CAP SCREW ALLOY ZINC

J05379 9192 3/8-24 X1 GR 8 CAP SCREW ALLQOY ZINC

J05380 9193 3/8-24 X 1 1/4 GR 8 CAP SCREW ALLQY ZINC

J05381 9194 3/8-24 X 1 1/2 GR 8 CAP SCREW ALLQY ZINC

J05384 N/A GRADE 8 CAP SCREW 3/8 Discontinued
J05386 N/A GRADE 8 CAP SCREW 3/8 Discontinued
J05387 N/A GRADE 8 CAP SCREW 3/8 Discontinued
J05388 N/A GRADE 8 CAP SCREW 3/8 Discontinued
J05392 9199 7/16-20 X 1 GR 8 CAP SCREW ALLQY ZINC

J05394 9201 7/16-20 X 1 1/2 GR. 8 CAP SCREW ALLQY ZINC

J05396 9203 7/16-20 X 2 1/2 GR. 8 CAP SCREW ALLQY ZINC

J05398 N/A GRADE 8 CAP SCREW 7/16 Discontinued
J05399 N/A GRADE 8 CAP SCREW 7/16 Discontinued
J05400 N/A GRADE 8 CAP SCREW 1/2 Discontinued
J05402 9208 1/2-20 X 1 1/2 GR. 8 CAP SCREW ALLQY ZINC

J05404 9210 1/2-20 X 2 GR 8 CAP SCREW ALLOY ZINC

J05406 9212 1/2-20 X 3 GR 8 CAP SCREW ALLQY ZINC

J05407 24107 HEX HEAD CAP SCREW GRADE 8, 1/2-20 X 4” PLATED

J05411 24108 HEX HEAD CAP SCREW GRADE 8, 5/8-18 X 2” PLATED

J05413 N/A GRADE 8 CAP SCREW 5/8 Discontinued
J05415 N/A GRADE 8 CAP SCREW 5/8 Discontinued
J05417 24109 HEX HEAD CAP SCREW GRADE 8, 3/4-16 X 1-1/2” PLATED

J05418 N/A GRADE 8 CAP SCREW 3/4 Discontinued
J05419 N/A GRADE 8 CAP SCREW 3/4 Discontinued
J05420 9224 3/4-16 X 3 GR 8 CAP SCREW ALLQY ZINC B 10 +5

J05426 N/A GRADE 8 CAP SCREW 1°-1 Discontinued
J05428 N/A GRADE 8 CAP SCREW 1’-1 Discontinued
J05429 15640 GR 8 HEX NUT 1/4-20 ZINC & YELLOW 50 100 +50

J05430 15641 GR 8 HEX NUT 5/16-18 ZINC & YELLOW 50 100 +50

J05431 15642 GR 8 HEX NUT 3/8-16 ZINC & YELLOW 50 100 +50

J05432 15643 GR 8 HEX NUT 7/16-14 ZINC & YELLOW

J05433 15644 GR 8 HEX NUT 1/2-13 ZINC & YELLOW

J05434 15645 GR 8 HEX NUT 5/8-11 ZINC & YELLOW

J05435 9306 3/4-10 GR. 8 HEX NUT ZINC HIGH ALLOY

J05436 N/A GRADE 8 HEX NUT 7/8-9 Discontinued
J05438 15649 GR 8 HEX NUT 1/4-28 ZINC & YELLOW 50 100 +50

J05440 15651 GR 8 HEX NUT 3/8-24 ZINC & YELLOW 50 100 +50

J05441 15652 GR 8 HEX NUT 7/16-20 ZINC & YELLOW

405442 15653 GR 8 HEX NUT 1/2-20 ZINC & YELLOW

J05443 15654 GR 8 HEX NUT 5/8-18 ZINC & YELLOW

J05444 N/A GRADE 8 HEX NUT 3/4-16 Discontinued
J05445 N/A GRADE 8 HEX NUT 1°-14 Discontinued
J05446 8746 7/16-20 R.H. WHEEL NUT GM & CHRYSLER

J05447 8742 1/2-20 R.H. WHEEL NUT CHRYSLER

J05448 8744 1/2-20 RIGHT HAND WHEEL NUT ZINC

J05450 12771 1/4 USS HI STRENGTH WASHER ZINC-YLW 50 100 +50

J05451 12772 5/16 USS HI STRENGTH WASHER ZINC-YLW 50 100 +50

J05452 12773 3/8 USS HI STRENGTH WASHER ZINGC-YLW 50 100 +50

J05453 12774 7/16 USS HI STRENGTH WASHER ZINC-YLW

J05454 12775 1/2 USS HI STRENGTH WASHER ZINC-YLW

73



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional

Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference

J05455 12776 9/16 USS HI STRENGTH WASHER ZINC-YLW

J05456 12777 5/8 USS HI STRENGTH WASHER ZINC-YLW

J05457 12778 3/4 USS HI STRENGTH WASHER ZINC GOLD 25 10 -15

J05458 12779 7/8 USS HI STRENGTH WASHER ZINC-YLW 25 10 -15

J05460 N/A USS THRU HARD WASHER 1 Discontinued

J05462 N/A USS THRU HARD WASHER 1 Discontinued

J05463 N/A USS THRU HARD WASHER 1 Discontinued

J05464 12781 1/4 SAE HI STRENGTH WASHER ZINC-YLW 50 100 +50

J05465 12782 5/16 SAE HI STRENGTH WASHER ZINC-YLW 50 100 +50 Zinc & Yellow
Dichromate Finish, formerly Zinc Finish

J05466 N/A SAE THRU HARD WASHER 3 Discontinued

J05468 12785 1/2 SAE HI STRENGTH WASHER ZINC-YLW

J05469 12786 9/16 SAE HI STRENGTH WASHER ZINC-YLW 25 50 +25

J05470 12787 5/8 SAE HI STRENGTH WASHER ZINC-YLW

J05471 12788 3/4 SAE HI STRENGTH WASHER ZINC-YLW

J05472 12789 7/8 SAE HI STRENGTH WASHER ZINC-YLW 25 15 -10

J05473 N/A SAE THRU HARD WASHER 1 Discontinued

J05475 N/A SAE THRU HARD WASHER 1 Discontinued

J05476 N/A SAE THRU HARD WASHER 1 Discontinued

J05477 N/A TORX FLOORBOARD SCREW Discontinued

J05481 21719 1/4 - 20 X 3 FLAT HEAD TORX FLOOR SCREWS PHOSPHATE & OIL

J05482 21720 1/4 - 20 X 3-1/2 FLAT HEAD TORX FLOOR SCREWS PHOSPHATE & OIL

J05483 N/A TORX FLOORBOARD SCREW Discontinued

J05484 21725 5/16 - 18 X 2-1/4 FLAT HEAD TORX FLOOR SCREWS PHOSPHATE & OIL
J05485 21726 5/16 - 18 X 2-1/2 FLAT HEAD TORX FLOOR SCREWS PHOSPHATE & OIL

J05486 12104 T-30 TORX INSERT BITS

J05488 12697 PREVAILING TORQ LOCK NUT 1/4-20 USS GRADE 8

J05489 12698 PREVAILING TORQ LOCK NUT 5/16-18 USS GR.8 CAD & WAX

J05490 12699 PREVAILING TORQ LOCK NUT 3/8-16 USS GR 8

J05491 12700 PREVAILING TORQ LOCK NUT 7/16-14 USS GR. 8

J05492 12701 PREVAILING TORQ LOCK NUT 1/2-13 USS GR. 8

J05493 12703 PREVAILING TORQ LOCK NUT 5/8-11 USS GRADE 8 25 10 -15
J05494 12704 PREVAILING TORQ LOCK NUT 3/4-10 USS GR. 8 25 10 -15
J05495 12705 PREVAILING TORQ LOCK NUT 1/4-28 SAE GR. 8

J05497 12707 PREVAILING TORQ LOCK NUT 3/8-24 SAE GR.8

J05498 12708 PREVAILING TORQ LOCK NUT 7/16-20 SAE GR 8

J05499 12709 PREVAILING TORQ LOCK NUT 1/2-20 SAE GRADE 8

J05500 12711 PREVAILING TORQ LOCK NUT 5/8-18 SAE GR.8 25 10 -15
J05502 14007 FENDER LINER RETAINER 11/16 HEAD DIA. 9/16 LENGTH

J05505 9399 6 X 1/2 PHIL OVAL HD T.S. 18-8 GR.S.S.

J05506 9400 6 X 3/4 PHIL OVAL HD T.S. 18-8 GR.S.S.

J05507 9401 6 X 1 PHIL OVAL HD. T.S. 18-8 GR. S.S.

J05508 9403 8 X 1/2 PHIL OVAL HD. T.S. 18-8 GR. S.S.

J05509 9404 8 X 3/4 PHIL OVAL HD T.S. 18-8 GR.S.S.

J05510 9405 8 X1 PHIL OVAL HD. T.S. 18-8 GR. S.S.

J05511 9406 8X11/4 PHIL OVAL HD T.S. 18-8 GR. S.S. 50 100 +50
J05512 9407 8 X 11/2 PHIL OVAL HD. T.S. 18-8 GR.S.S. 50 100 +50
J05513 9408 10 X 1/2 PHIL OVAL HD. T.S. 18-8 GR. S.S.

J05514 9409 10 X 3/4 PHIL OVAL HD. T.S. 18-8 GR.S.S.

J05515 9410 10 X 1 PHIL OVAL HD. T.S. 18-8 GR.S.S.

J05516 9411 10 X 1 1/4 PHIL OVAL HD. T.S. 18-8 GR.S.S 50 100 +50
J05517 9412 10X 1 1/2 PHIL OVAL HD. T.S. 18-8 GR.S.S 50 100 +50
J05518 13265 6 X 1/2 PHILLIPS PAN HEAD TAP SCREW 18-8

J05519 13266 6 X 3/4 PHILLIPS PAN HEAD TAP SCREW 18-8

J05520 13267 6 X 1 PHILLIPS PAN HEAD TAP SCREW 18-8

J05521 13269 8 X 1/2 PHILLIPS PAN HEAD TAP SCREW 18-8

J05522 13270 8 X 3/4 PHILLIPS PAN HEAD TAP SCREW 18-8 100 50 -50
J05523 13271 8 X 1 PHILLIPS PAN HEAD TAP SCREW 18-8 100 50 -50
J05525 13273 8 X1 1/2 PHILLIPS PAN HEAD TAP SCREW 18-8 50 25 -25
J05526 13274 10 X 1/2 PHILLIPS PAN HEAD TAP SCREW 18-8

J05527 13275 10 X 3/4 PHILLIPS PAN HEAD TAP SCREW 18-8 100 50 -50
J05528 13276 10 X 1 PHILLIPS PAN HEAD TAP SCREW 18-8 100 50 -50
J05529 13277 10 X 1 1/4 PHILLIPS PAN HEAD TAP SCREW 18-8

J05530 13278 10 X 1 1/2 PHILLIPS PAN HEAD TAP SCREW 18-8 50 25 -25
J05531 13280 12 X 1/2 PHILLIPS PAN HEAD TAP SCREW 18-8

J05532 13281 12 X 3/4 PHILLIPS PAN HEAD TAP SCREW 18-8

J05533 13282 12 X 1 PHILLIPS PAN HEAD TAP SCREW 18-8

J05534 N/A STN STL SHT MET SCREW Discontinued
J05535 13284 12 X 1-1/2 PHILLIPS PAN HEAD TAP SCREW 18-8 50 25 -25
J05538 N/A STN STL SHT MET SCREW Discontinued
J05539 N/A STN STL SHT MET SCREW Discontinued
J05541 11321 UNIVERSAL BREAK-OFF HOSE CONNECTOR 1/8 1/4 3/8

J05542 23539 UNIVERSAL BREAK-OFF HOSE TEE 1/8 1/4 3/8

J05545 14055 HEAVY DUTY AUTOFUSE HOLDER 10” OF 12 GA WIRE 10 3 -7

J05546 24204 GM , FORD & CHRYSLER APRON, FENDER, ENGINE RETAINER




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J05548 18735 HEAT SHRINK TUBING 8-1 GAUGE BLACK

J05549 18737 HEAT SHRINK TUBING 2-4/0 GAUGE BLACK

J05550 N/A HEAT SHRINK TUBING Discontinued
J05551 23276 IN-LINE BLADE TYPE ATC/ATO FUSE HOLDER W/WIRE

J05556 N/A SLOT PAN HD SHT MET SC Discontinued
J05558 N/A SLOT PAN HD SHT MET SC Discontinued
J05560 N/A PHIL PAN HD SHT MET SC Discontinued
J05562 N/A PHIL PAN HD SHT MET SC Discontinued
J05563 N/A PHIL PAN HD SHT MET SC Discontinued
J05564 N/A PHIL PAN HD SHT MET SC Discontinued
J05566 11084 #10 X 1/2 PHIL OVAL HD T.S. - BLACK OXIDE

J05568 11086 #10 X 3/4 PHIL OVAL HD T.S. - BLACK OXIDE

J05569 11087 #10 X 3/4 W/ #8HD PHIL OVAL HD T.S. - BLACK OXIDE

J05570 11088 #10 X 1 PHIL OVAL HD T.S. - BLACK OXIDE

J05571 11089 #10 X 1 W/ #8HD PHIL OVAL HD T.S. - BLACK OXIDE

J05572 11090 #10 X 1-1/4 PHIL OVAL HD T.S. - BLACK OXIDE

J05573 11091 #10 X 1-1/4 PHIL OVAL #8 HD. T.S. TYPE AB

J05574 11092 #10 X 1-1/2 PHIL OVAL HD.T.S. - BLACK OXIDE

J05576 23540 PHIL. PAN HEAD T.S. #8 X 1-1/2 - BLACK

J05577 11921 #10 X 1/2 PHIL PAN HD T.S. - BLACK OXIDE

J05578 11922 #10 X 3/4 PHIL PAN HD T.S. - BLACK OXIDE

J05579 11923 #10 X 1 PHIL PAN HD T.S. - BLACK OXIDE 100 50 -50

J05580 11924 #10 X 1-1/4 PHIL PAN HD T.S. - BLACK OXIDE 100 50 -50

J05581 23541 PHIL. PAN HEAD T.S. #10 X 1-1/2 - BLACK

J05582 2807 8 X 3/4 PHILLIPS FLAT HEAD TAP SCREW ZINC

J05583 5661 8 X 1 PHIL FLAT HD T.S. ZINC AB

J05586 1712 PHILLIPS FLAT TAP SCREW #6 HEAD 8 X 3/4” ZINC

J05587 5660 8 X 1 PHIL FLAT HD T.S. W./NO 6 HD. AB

J05589 N/A PHIL FLAT HD SHT MET SCREW Discontinued
J05590 2810 10 X 3/4 PHILLIPS FLAT HEAD TAP SCREW ZINC

J05591 5672 10 X 1 PHIL FLAT HD T.S. ZINC AB

J05592 N/A PHIL FLAT HD SHT MET SCREW Discontinued
J05595 11762 MAGNETIC CHUCK FOR 3/8 HEX SIZE

J05597 N/A NYLON CABLE TIE 8 - 18 Discontinued
J05598 11957 11 IN 50 LB NYLON CABLE TIES - NATURAL 100 25 -75

J05599 N/A NYLON CABLE TIE HVY DUTY Discontinued
J05600 N/A NYLON CABLE TIE HVY DUTY Discontinued
J05602 10697 TEE HOSE CONNECTOR 1/8 X 1/8 X 1/8

J05603 10108 TEE CONNECTOR 5/32 X 5/32 X 5/32

J05604 10110 TEE CONNECTOR 1/4 X 1/4 X 1/4

J05605 12920 NYLON TEE CONNECTOR 5/16 X 5/16 X 5/16

J05606 11228 TEE CONNECTOR 3/8 X 3/8 X 3/8

J05607 10101 STRAIGHT CONNECTOR 1/8 X 1/8

J05608 10102 STRAIGHT CONNECTOR 3/16 X 3/16

J05609 10103 STRAIGHT CONNECTOR 1/4 X 1/4

J05610 10104 STRAIGHT CONNECTOR 5/16 X 5/16

J05611 10105 STRAIGHT CONNECTOR 3/8 X 3/8

J05612 10106 REDUCER CONNECTOR 1/4 X 3/16

J05613 10107 REDUCER CONNECTOR 3/8 X 1/4

J05615 24110 HEX WSHR HD T.S. W/ TEK POINT #6 X 1/2 - ZINC

J05617 24111 HEX WSHR HD T.S. W/ TEK POINT #6 X 1 - ZINC

J05618 9611 #8 X 1/2 HEX WASHER HEAD TEKS T.S. ZINC

J05619 9612 #8 X 3/4 HEX WASHER HEAD TEKS T.S. ZINC

J05620 11906 #8 X 1 IND HEX WA HD #2 TEKS SCREW - ZINC

J05622 11908 #8 X 1-1/2 IND HEX WA HD #2 TEKS SCREW - ZINC

J05623 9613 #10 X 1/2 HEX WASHER HEAD TEKS T.SZINC

J05624 9615 #10 X 3/4 HEX WASHER HEAD TEKS T.SZINC

J05625 9616 10-16 X 1 HEX WA.HD. #2 TEKS SC. ZINC

J05626 11909 #10 X 1-1/4 IND HEX WA HD #3 SUPER TEKS - ZINC

J05627 11910 #10 X 1-1/2 IND HEX WA HD #3 SUPER TEKS - ZINC

J05628 9617 12-14 X 3/4 HEX WA.HD. #3 TEKS SC. ZINC 50 100 +50

J05629 11911 #12 X 1 IND HEX WA HD #3 SUPER TEKS - ZINC 50 25 -25

J05630 11913 #12 X 1-1/2 IND HEX WA HD #3 SUPER TEKS - ZINC

J05631 N/A HX WSHR SELF DRILL SCREW Discontinued
J05632 9620 1/4-14 X 3/4 HEX WA.HD.#3 TEKS SCREW. ZINC 50 100 +50

J05633 11914 #14 X 1 IND HEX WA HD #3 SUPER TEKS - ZINC 50 25 -25

J05634 11916 #14 X 1-1/2 IND HEX WA HD #3 SUPER TEKS - ZINC

J05635 24112 HEX WSHR HD T.S. W/ TEK POINT #14 X 2 - ZINC

J05637 13865 NYLON HOLE PLUG 1/4 BLACK 50 100 +50

J05638 13867 NYLON HOLE PLUG 5/16 BLACK 50 100 +50

J05639 13869 NYLON HOLE PLUG 3/8 BLACK 50 100 +50

J05640 13871 NYLON HOLE PLUG 7/16 BLACK

J05641 13873 NYLON HOLE PLUG 1/2 BLACK

J05642 13875 NYLON HOLE PLUG 9/16 BLACK

J05643 13877 NYLON HOLE PLUG 5/8 BLACK




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J05644 13879 NYLON HOLE PLUG 11/16 BLACK

J05645 13881 NYLON HOLE PLUG 3/4 BLACK

J05646 13883 NYLON HOLE PLUG 13/16 BLACK

J05647 13885 NYLON HOLE PLUG 7/8 BLACK

J05648 13887 NYLON HOLE PLUG 1 BLACK

J05651 16179 LGE FLNG THIN SHEET ALUMINUM NUTSERT 10-24 THREAD 25 50 +25

J05652 16182 LGE FLNG THIN SHEET ALUM. NUTSERT 1/4-20 THREAD

J05653 16183 LGE FLNG THIN SHEET ALUM. NUTSERT 1/4-20 THREAD

J05654 16184 LGE FLNG THIN SHEET ALUM. NUTSERT 5/16-18 THREAD 10 25 +15

J05656 N/A RIVET NUT 8-32 Discontinued
J05661 11805 NUTSERT HAND TOOL

J05663 11808 #8-32 NUTSERT TOOL CONVERSION KIT

J05664 11810 #10-24 NUTSERT TOOL CONVERSION KIT

J05665 11809 #10-32 NUTSERT TOOL CONVERSION KIT

J05667 N/A TOOL Discontinued
J05668 12534 ATC FUSE - 3 AMP-VIOLET 10 5 -5

J05669 12535 ATC FUSE 4 AMP PINK 10 5 -5

J05670 12536 ATC FUSE 5 AMP TAN 10 B -5

J05671 12537 ATC FUSE 7.5 AMP BROWN 10 5 -5

J05672 12538 ATC FUSE 10 AMP RED 10 B -5

J05673 12539 ATC FUSE 15 AMP LIGHT BLUE 10 5 -5

J05674 12540 ATC FUSE 20 AMP YELLOW 10 B -5

J05675 12541 ATC FUSE 25 AMP WHITE 10 5 -5

J05676 12542 ATC FUSE 30 AMP LIGHT GREEN 10 B -5

J05677 N/A GLASS FUSE AGC1 Discontinued
J05678 18981 GLASS TUBE FUSE 2 AMP 10 B -5

J05679 17625 GLASS TUBE FUSE 3 AMP 10 5 -5

J05680 17626 GLASS TUBE FUSE 5 AMP 10 B -5

J05681 12545 AGC FUSE 10 AMP (GLASS TUBE FUSE) 10 5 -5

J05682 12546 AGC FUSE 15 AMP (GLASS TUBE FUSE) 10 B -5

J05683 18982 GLASS TUBE FUSE 20 AMP 10 5 -5

J05684 18983 GLASS TUBE FUSE 25 AMP 10 B -5

J05685 12547 AGC FUSE 30 AMP (GLASS TUBE FUSE) 10 5 -5

J05689 N/A GLASS FUSE SFE14 Discontinued
J05691 12544 SFE FUSE 30 AMP (GLASS TUBE FUSE) 10 5 -5

J05697 12791 ELECTRICAL CONNECTOR T-TAP 22-18 GAUGE 25 10 -15

J05698 12161 ELECTRICAL CONNECTOR T-TAP 18-14 GAUGE 25 10 -15

J05699 12792 ELECTRICAL CONNECTOR T-TAP 12 GAUGE 25 10 -15

J05700 12977 SELF-STRIPPING FUSEHOLDER 10 5 -5

J05701 9388 CLOSED CLAMP 1 SMALL - GALVANIZED VINYL COATED

J05702 10184 TIRE VALVES 10 5 -5

J05706 N/A RUBBER TIRE VALVE Discontinued
J05707 N/A BRASS & CHROME VALVE Discontinued
J05710 N/A STEEL TRUCK VALVE Discontinued
J05716 24113 TIRE VALVE SLOTTED CAP - STEEL

J05717 24114 TIRE VALVE OCTAGON - CHROME

J05718 16457 RUBBER GROMMET 7/16 BORE DIA 3/4 0D

J05719 4428 GROMMETS 1/2 BORE DIA. 31/32 OUTSIDE DIA.

J05720 4434 GROMMETS 3/4 BORE DIA. 1-3/8 OUTSIDE DIA

J05740 N/A TOGGLE BOLT 3/16 X5 T Discontinued
J05757 N/A NYLON & STEEL RIVET 61 Discontinued
J05768 N/A NYLON RIVET 61APT 2507 Discontinued
J05770 N/A NYLON RIVET 61APT 2515 Discontinued
J05771 N/A NYLON SCREW ANCHORS 61 Discontinued
J05772 10006 PLASTIC ANCHORS #10 - #12 100 50 -50

J05773 N/A NYLON SCREW ANCHORS 61 Discontinued
J05783 N/A STUD TYPE BATTERY KIT Discontinued
J05788 13939 NYLON CABLE CLAMP 3/16 CABLE SIZE

J05790 N/A HEAVY DUTY CABLE CLIPS Discontinued
J05793 13944 NYLON CABLE CLAMP 1/2 CABLE SIZE

J05801 N/A PUSH-IN FASTENERS, NYLON Discontinued
J05803 13748 NYLON RIVET 13/64 HOLE DIA. 1-7/8 LENGTH 50 25 -25

J05804 13755 NYLON RIVET 13/64 HOLE DIA. 2 LENGTH 50 25 -25

J05805 13750 NYLON RIVET 1/4 HOLE DIA. 2-3/16 LENGTH 50 25 -25

J05806 13753 NYLON RIVET 17/64 HOLE DIA. 1-7/8 LENGTH 50 25 -25

J05808 16265 GM FASCIA PUSH-TYPE RETAINER 1” HD DIA 3/4 LGTH

J05809 13756 BLIND NYLON RIVET GUN

J05813 N/A METRIC SEMS SCREW M8 X 1 Discontinued
J05824 24115 JAM HEX NUT 1/2-20 - ZINC

J05825 N/A FINISHED JAM NUT 5/8-1 Discontinued
J05830 N/A COUPLING NUT 1/2-13 CO Discontinued
J05831 N/A COUPLING NUT 5/8-11 CO Discontinued
J05836 N/A COUPLING NUT 1-1/4 COU Discontinued
J05837 N/A COUPLING NUT 1-1/2 COU Discontinued
J05838 24167 SPIN LOCK NUT W/SERRATIONS 1/4-20 THREAD 23/32 DIA. - ZINC

76



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J05839 24164 SPIN LOCK NUT W/SERRATIONS 5/16-18 THREAD 13/16 0.D. - ZINC

J05840 24116 SPIN LOCK NUT W/SERRATIONS 3/8-16 THREAD 7/8 DIA. - ZINC

J05841 17036 ELECTRICAL CONNECTOR TAP SPLICE 22-18 GA. RED

J05843 13946 GM DOOR TRIM PANEL RETAINER 50 25 -25

J05845 14920 SELF-STRIPPING ELEC PGTAIL CONN W/SLR 22-14 GA 25 10 -15

J05847 15035 WIRE STRIPPER/CRIMPING TOOL

J05849 24117 PHILLIPS PAN HD T.S. W/ TEK POINT #6 X 3/8 - ZINC

J05851 24118 PHILLIPS PAN HD T.S. W/ TEK POINT #6 X 3/4 - ZINC

J05853 N/A PHIL PAN SELF DRILL SCREW Discontinued
J05854 9605 #8 X 1/2 PHILLIPS PAN HD TEKS T.S. ZINC

J05855 9606 8/18 X 3/4 PHIL PAN HD #2 TEKS SC. ZINC

J05856 11904 #8 X 1 PHIL PAN HD #2 TEKS SCREW - ZINC

J05857 N/A PHIL PAN SELF DRILL SCREW Discontinued
J05858 9607 10-16 X 1/2 PHIL PAN HD #2 TEKS SCREW ZINC

J05859 9608 10-16 X 3/4 PHIL PAN HD #2 TEKS SCREW ZINC

J05860 9609 10-16 X 1 PHIL PAN HD.#2 TEKS SCREW ZINC

J05861 24119 PHILLIPS PAN HD T.S. W/ TEK POINT #10 X 1-1/4 - ZINC

J05862 14474 HOT SIDE TAP CLIP FOR BLADE TYPE FUSES

J05869 11974 6 X25X6 X 7.5MM METRIC STUD DIN 939

J05870 N/A METRIC STUD 6M X 37.5 Discontinued
J05873 N/A METRIC STUD 6M X 57.5 Discontinued
J05874 11982 8 X30X8X 10X 40MM METRIC STUD DIN 939

J05875 11983 8 X35X8X 10X 45MM METRIC STUD DIN 939

J05876 11984 8 X 40X 8 X 10 X 50MM METRIC STUD DIN 939

J05879 11987 8 X50X8X 10X 65MM METRIC STUD DIN 939

J05880 11990 10X 35X 10 X 12 X 47MM METRIC STUD DIN 939

J05881 11991 10X 40X 10 X 12 X 52MM METRIC STUD DIN 939

J05882 11993 10X 50 X 10 X 12 X 62MM METRIC STUD DIN 939

J05883 11995 10X 65X 10 X 12 X 77MM METRIC STUD DIN 939

J05895 24182 WIRE NUT CONNECTOR 18-14 GA GRAY

J05896 10379 WIRE NUT CONNECTORS 18 - 14 GA BLUE

J05897 N/A WIRE CONNECTOR - ORANG Discontinued
J05898 10381 WIRE NUT CONNECTORS 18 - 12 GA YELLOW

J05899 10382 WIRE NUT CONNECTORS 18 - 10 GA RED

J05900 10384 WIRE NUT CONNECTORS 14 - 6 GA BLUE

J05901 13659 KRIMP AND SEAL BUTT CONNECGTOR 22-18 GAUGE

J05902 13669 KRIMP AND SEAL BUTT CONNECTOR 16-14 GAUGE

J05903 13678 KRIMP & SEAL BUTT CONNECTOR 12-10 GAUGE

J05904 13816 BATTERY HOLD DOWN NUT 3/8-16 STAINLESS STEEL

J05905 11083 3/8-16 X 1-1/8 BATTERY SIDE TERMINAL BOLT

J05912 N/A SQUARE MACH SCREW NUT Discontinued
J05914 3250 SQUARE NUT 1/4-20 THREAD BRIGHT ZINC

J05919 N/A EXT TOOTH SEMS MACH SC Discontinued
J05924 N/A EXT TOOTH SEMS MACH SC Discontinued
J05925 N/A EXT TOOTH SEMS MACH SC Discontinued
J05928 N/A EXT TOOTH SEMS MACH SC Discontinued
J05930 N/A EXT TOOTH SEMS MACH SC Discontinued
J05931 N/A EXT TOOTH SEMS MACH SC Discontinued
J05932 N/A PHIL FILLISTER HD MACH Discontinued
J05939 N/A TEE NUT 3 PRONG 10-24 Discontinued
J05942 N/A TEE NUT 4 PRONG 10-32 Discontinued
J05944 N/A TEE NUT 4 PRONG 1/4-20 Discontinued
J05945 N/A 1/4-20 X 7/16 3 PRONG Discontinued
J05946 24120 TEE NUT ZINC 1/4-20 4 PRONG

J05948 11326 TEE NUTS 5/16-18 X 3/8 4 PRONG SLIMLINE

J05950 11327 TEE NUTS 3/8-16 4 PRONG SLIMLINE

J05956 13656 KRIMP AND SEAL TERMINAL #6 STUD 22-18 GAUGE

J05957 13657 KRIMP AND SEAL TERMINAL #10 STUD 22-18 GAUGE

J05958 13662 KRIMP AND SEAL TERMINAL #6 STUD 16-14 GAUGE

J05959 13663 KRIMP AND SEAL TERMINAL #10 STUD 16-14 GAUGE

J05960 13664 KRIMP AND SEAL TERMINAL 1/4 STUD 16-14 GAUGE

J05961 13666 KRIMP AND SEAL TERMINAL 3/8 STUD 16-14 GAUGE

J05962 13674 KRIMP AND SEAL TERMINAL #10 STUD 12-10 GAUGE

J05963 13675 KRIMP AND SEAL TERMINAL 1/4 STUD 12-10 GAUGE

J05964 13676 KRIMP AND SEAL TERMINAL 3/8 STUD 12-10 GAUGE

J05966 N/A HEAT SEAL SPADE TERMINAL Discontinued
J05967 N/A HEAT SEAL SPADE TERMINAL Discontinued
J05968 13677 KRIMP AND SEAL TERMINAL #10 STUD 12-10 GAUGE

J05969 13682 KRIMP AND SEAL TERMINAL .157 STUD 16-14 GA (M)

J05970 13681 KRIMP AND SEAL TERMINAL .157 STUD 16-14 GA (F)

J05971 13661 KRIMP AND SEAL TERMINAL .250 STUD 22-18 GA. (M)

J05972 13673 KRIMP AND SEAL TERMINAL .250 STUD 16-14 GA (M)

J05973 13680 KRIMP AND SEAL TERMINAL .250 STUD 12-10 GA (M)

J05974 13660 KRIMP AND SEAL TERMINAL .250 STUD 22-18 GA. (F)

J05975 13672 KRIMP AND SEAL TERMINAL .250 STUD 16-14 GA (F)




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J05976 13679 KRIMP AND SEAL TERMINAL .250 STUD 12-10 GA (F)

J05977 N/A METRIC COTTER PIN 2M X Discontinued
J05979 N/A METRIC COTTER PIN 2M X Discontinued
J05980 N/A METRIC COTTER PIN 2M X Discontinued
J05981 24121 METRIC COTTER PIN 2MM X 40MM

J05982 N/A METRIC COTTER PIN 2M X Discontinued
J05983 10556 2.5MM X 25MM ASME B18.8.6M METRIC COTTER PINS

J05984 24122 METRIC COTTER PIN 2.5MM X 32MM

J05985 N/A METRIC COTTER PIN 2.5M Discontinued
J05987 N/A METRIC COTTER PIN 3.2M Discontinued
J05988 10557 3.2MM X 20MM ASME B18.8.6M METRIC COTTER PINS

J05989 N/A METRIC COTTER PIN 3.2M Discontinued
J05990 24123 METRIC COTTER PIN 3.2MM X 32MM

J05991 24124 METRIC COTTER PIN 3.2MM X 40MM

J05992 N/A METRIC COTTER PIN 4M X Discontinued
J05994 10564 4MM X 40MM ASME B18.8.6M METRIC COTTER PINS

J05995 N/A METRIC COTTER PIN 4M X Discontinued
J05996 10566 5MM X 35MM ASME B18.8.6M METRIC COTTER PINS

J05999 N/A METRIC SOCKET SET SCREW Discontinued
J06000 N/A METRIC SOCKET SET SCREW Discontinued
J06001 N/A METRIC SOCKET SET SCREW Discontinued
J06002 N/A METRIC SOCKET SET SCREW Discontinued
J06004 N/A METRIC SOCKET SET SCREW Discontinued
J06008 N/A METRIC SOCKET SET SCREW Discontinued
J06009 N/A METRIC SOCKET SET SCREW Discontinued
J06011 N/A METRIC SOCKET SET SCREW Discontinued
J06013 N/A METRIC SOCKET SET SCREW Discontinued
J06014 N/A METRIC SOCKET SET SCREW Discontinued
J06015 N/A METRIC SOCKET SET SCREW Discontinued
J06018 11024 8-1.25 X 20MM SOCKET SET SCREW DIN 916 CL12.9

J06019 N/A METRIC SOCKET SET SCREW Discontinued
J06020 N/A METRIC SOCKET SET SCREW Discontinued
J06021 N/A METRIC SOCKET SET SCREW Discontinued
J06022 N/A METRIC SOCKET SET SCREW Discontinued
J06023 N/A METRIC SOCKET SET SCREW Discontinued
J06024 N/A METRIC SOCKET SET SCREW Discontinued
J06025 11032 DIN 916 10 X 20MM METRIC CUP PT.SOCKET

J06026 N/A METRIC SOCKET SET SCREW Discontinued
J06028 N/A METRIC SOCKET SET SCREW Discontinued
J06029 N/A METRIC SOCKET SET SCREW Discontinued
J06030 N/A METRIC SOCKET SET SCREW Discontinued
J06031 N/A METRIC SOCKET SET SCREW Discontinued
J06032 N/A METRIC SOCKET SET SCREW Discontinued
J06033 N/A METRIC SOCKET SET SCREW Discontinued
J06034 N/A METRIC SOCKET SET SCREW Discontinued
J06035 N/A METRIC SOCKET SET SCREW Discontinued
J06036 N/A METRIC SOCKET SET SCREW Discontinued
J06037 N/A FIX-A-THREAD INSERTS 14MM-1.25 Discontinued
J06056 N/A FIX-A-THREAD KIT FOR SPARK PLUG 14MM-1.25 Discontinued
J06079 N/A THREAD REPAIR DIE Discontinued
J06080 N/A THREAD REPAIR DIE Discontinued
J06081 N/A THREAD REPAIR DIE Discontinued
J06082 N/A THREAD REPAIR DIE Discontinued
J06083 N/A THREAD REPAIR DIE Discontinued
J06098 N/A RING TERMINAL Discontinued
J06099 21260 CRIMP & SOLDER RING TERMINAL

J06100 21261 CRIMP & SOLDER RING TERMINAL

J06101 21262 CRIMP & SOLDER RING TERMINAL

J06102 N/A ELEKTRALINK SPADE TERMINAL Discontinued
J06103 21265 CRIMP & SOLDER RING TERMINAL

J06104 21266 CRIMP & SOLDER RING TERMINAL

J06107 N/A ELEKTRALINK SPADE TERMINAL Discontinued
J06108 21271 CRIMP & SOLDER RING TERMINAL

J06109 21272 CRIMP & SOLDER RING TERMINAL

J06110 21274 CRIMP & SOLDER RING TERMINAL

J06111 N/A ELEKTRALINK RING TERMINAL Discontinued
J06112 N/A ELEKTRALINK SPADE TERMINAL Discontinued
J06113 N/A ELEKTRALINK CONNECTOR Discontinued
J06114 24125 SEALED CRIMP & SOLDER BUTT CONNECTOR 14-16 GA

J06115 N/A ELEKTRALINK CONNECTOR Discontinued
J06116 12980 METRIC THINSHEET NUTSERT M4-.7 25 50 +25

J06118 12984 METRIC THINSHEET NUTSERT M6-1.0

Jo6121 12988 METRIC NUTSERT CONVERSION KIT M4-.7

J06122 12989 METRIC NUTSERT CONVERSION KIT M5-.8

J06123 12990 METRIC NUTSERT CONVERSION KIT M6-1.0

78



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J06124 12991 METRIC NUTSERT CONVERSION KIT M8-1.25

J06125 N/A METRIC RIVET NUT MANDREL 10MM-1.5 Discontinued
J06126 N/A METRIC RIVET NUT NOSEP Discontinued
J06127 N/A METRIC RIVET NUT NOSEP Discontinued
J06128 N/A METRIC EXPANSION PLUG Discontinued
J06130 N/A METRIC EXPANSION PLUG Discontinued
J06131 11876 EXPANSION PLUG 18MM CUP TYPE - ZINC

J06132 11877 EXPANSION PLUG 20MM CUP TYPE - ZINC

J06133 11878 EXPANSION PLUG 22MM CUP TYPE - ZINC

J06134 11879 EXPANSION PLUG 25MM CUP TYPE - ZINC

J06135 11881 EXPANSION PLUG 30MM CUP TYPE - ZINC

J06136 N/A METRIC EXPANSION PLUG Discontinued
J06138 11884 EXPANSION PLUG 35MM CUP TYPE - ZINC 25 10 -15

J06139 N/A METRIC EXPANSION PLUG Discontinued
J06140 11886 EXPANSION PLUG 38MM CUP TYPE - ZINC 25 10 -15

J06147 11896 EXPANSION PLUG 50MM CUP TYPE - ZINC

J06148 N/A METRIC EXPANSION PLUG Discontinued
J06149 N/A METRIC EXPANSION PLUG Discontinued
J06150 N/A METRIC EXPANSION PLUG Discontinued
J06151 11899 EXPANSION PLUG 35MM CONCAVE TYPE - ZINC

J06157 N/A CARRIAGE BOLT 10-24 X Discontinued
J06164 N/A CARRIAGE BOLT 1/4-20X1 Discontinued
J06190 20478 ALLIGATOR CLIP 10 AMP 2” LENGTH NICKEL PLATED

J06191 23152 INSULATED 10 AMP ALLIGATOR TEST CLIP

J06193 23153 10 AMP CHARGING CLIP

J06194 16970 TEST CLIP - 10 AMP BLACK INSULATION 2 5 +3

J06195 16969 TEST CLIP - 10 AMP RED INSULATION 2 5 +3

J06200 18202 VINYL VACUUM CAP BLUE FOR 3/16 DIA.TUBE 25 50 +25

J06201 18203 VINYL VACUUM CAP RED FOR 1/4 DIA. TUBE 25 50 +25

J06202 18204 VINYL VACUUM CAP WHITE FOR 5/16 DIA. TUBE 25 50 +25

J06203 18205 VINYL VACUUM CAP BLACK FOR 3/8 DIA. TUBE 25 50 +25

J06204 23091 SEALED FUSE HOLDER FOR ATC/ATO BLADE TYPE FUSES

J06207 1741 5/16-18 TWO WAY LOCK NUT - ZINC

J06209 11742 3/8-16 TWO WAY LOCK NUT - ZINC

J06210 24126 REVERSIBLE LOCK NUT 3/8 - 24 HEX 9/16 - ZINC

J06212 N/A REVERSIBLE LOCK NUT Discontinued
J06213 11743 1/2-13 TWO WAY LOCK NUT - ZINC

J06215 11744 5/8-11 TWO WAY LOCK NUT - ZINC

J06216 24127 EXTRUDED J-NUT SCREW #10 - 24 RANGE 0.140-0.160 - BLACK

J06232 3469 #6 FLANGED COUNTERSUNK WASHER NICKEL/BRASS

J06233 2515 #8 FLANGE COUNTERSUNK WASHER NICKEL/BRASS

J06234 3471 #10 FLANGED COUNTERSUNK WASHER NICKEL/BRASS

J06235 19587 OIL DRAIN PLUG W/GASKET SNGL OVERSIZE 1/2-20

J06236 18121 DRAIN PLUG & GASKET 1/2-20 DOUBLE OVERSIZE

J06237 18122 DRAIN PLUG & GASKET 1/2-20 TRIPLE OVERSIZE

J06239 8286 DRAIN PLUG WITH GASKETS

106242 19130 OIL DRAIN PLUG W/ GASKET 1/2-20 THRD 9/16 HEX 5 15 +10

J06243 14677 M12-1.75 OIL DRAIN PLUG WITH GASKET

J06244 14678 M14-1.5 OIL DRAIN PLUG WITH GASKET

J06245 11782 1/2-20 SINGLE OVERSIZE PIGGY-BACK DRAIN PLUG

J06246 11783 1/2-20 DOUBLE OVERSIZE PIGGY-BACK DRAIN PLUG

J06247 18019 BLACK FIBRE OIL DRAIN PLUG GASKET 1/2 INNR DIA 25 50 +25

J06250 21647 OIL DRAIN PLUG GASKET

J06252 18726 BLACK FIBRE OIL DRAIN PLUG GASKET 12MM I.D. 25 50 +25

J06253 16682 METRIC DRAIN PLUG GASKET 14MM I.D. FIBER 25 50 +25

J06254 19590 ALUMINUM OIL DRAIN PLUG GASKET 1/2 I.D.

J06255 N/A DRAIN PLUG GASKET, ALU Discontinued
J06256 N/A DRAIN PLUG GASKET, ALU Discontinued
J06257 N/A DRAIN PLUG GASKET, ALU Discontinued
J06259 19601 12MM ALUMINUM 25 50 +25

J06260 24128 ALUM. DRAIN PLUG GASKET 14MM 1.D 24MM 0.D.

J06261 N/A MARINE BATT TERM/BRASS Discontinued
J06262 8773 MARINE BATTERY TERMINAL

J06263 8772 MARINE BATTERY TERMINAL

J06264 N/A MARINE BATT TERM/BRASS Discontinued
J06265 N/A COMPRESSION BATTERY TE Discontinued
J06266 N/A COMPRESSION BATTERY TE Discontinued
J06267 N/A COMPRESSION BATTERY TE Discontinued
J06268 N/A COMPRESSION BATTERY TE Discontinued
J06271 N/A COMPRESSION BATTERY TE Discontinued
J06272 N/A COMPRESSION BATTERY TE Discontinued
J06273 N/A COMPRESSION BATTERY TE Discontinued
J06274 N/A COMPRESSION BATTERY TE Discontinued
J06275 N/A COMPRESSION BATTERY TE Discontinued
J06276 N/A HEAVY WALL COPPER LUG Discontinued

79



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J06277 15618 COMPRESSION COPPER LUG 3/8 HOLE SIZE GRAY

J06278 N/A HEAVY WALL COPPER LUG Discontinued
J06279 N/A HEAVY WALL COPPER LUG Discontinued
J06280 15622 COMPRESSION COPPER LUG 3/8 HOLE SIZE ORANGE

J06282 N/A HEAVY WALL COPPER LUG Discontinued
J06284 N/A HEAVY WALL COPPER LUG Discontinued
J06285 N/A HEAVY WALL COPPER LUG Discontinued
J06287 15625 COMPRESSION COPPER LUG 1/2 HOLE SIZE PURPLE

J06288 N/A NUT FOR COMP BATT. TE Discontinued
J06289 N/A NUT FOR COMP BATT. TE Discontinued
J06290 N/A NUT FOR COMP BATT. TE Discontinued
J06291 N/A NUT FOR COMP BATT. TE Discontinued
J06292 15632 BATTERY TERMINAL COMPRESSION NUT 2/0 GA ORANGE

J06293 N/A NUT FOR COMP BATT. TE Discontinued
J06294 1935 PHILLIPS PAN HD TAP SCREW 6 X 1/4 ZINC AB

J06296 3078 6 X 1 1/2 PHILLIPS PAN HEAD TAP SCREW ZINC

J06299 N/A SLOT RD HD MACH SCREW Discontinued
J06300 N/A SLOT RD HD MACH SCREW Discontinued
J06303 N/A SLOT RD HD MACH SCREW Discontinued
J06304 N/A SLOT RD HD MACH SCREW Discontinued
J06305 N/A SLOT RD HD MACH SCREW Discontinued
J06306 N/A SLOT RD HD MACH SCREW Discontinued
J06307 N/A SLOT RD HD MACH SCREW Discontinued
J06308 N/A SLOT RD HD MACH SCREW Discontinued
J06310 N/A SLOT RD HD NMACH SCREW Discontinued
J06311 N/A SLOT RD HD NMACH SCREW Discontinued
J06314 N/A SLOT RD HD NMACH SCREW Discontinued
J06315 N/A SLOT RD HD NMACH SCREW Discontinued
J06316 N/A SLOT RD HD NMACH SCREW Discontinued
J06318 N/A SLOT RD HD NMACH SCREW Discontinued
J06324 N/A SLOT RD HD NMACH SCREW Discontinued
J06328 N/A SLOT PAN HD MACH SCREW Discontinued
J06329 N/A SLOT PAN HD MACH SCREW Discontinued
J06330 N/A SLOT PAN HD MACH SCREW Discontinued
J06331 N/A SLOT PAN HD MACH SCREW Discontinued
J06332 N/A SLOT PAN HD MACH SCREW Discontinued
J06334 N/A SLOT PAN HD MACH SCREW Discontinued
J06335 N/A SLOT PAN HD MACH SCREW Discontinued
J06336 N/A SLOT PAN HD MACH SCREW Discontinued
J06340 N/A SLOT PAN HD MACH SCREW Discontinued
J06341 N/A SLOT PAN HD MACH SCREW Discontinued
J06342 N/A SLOT PAN HD MACH SCREW Discontinued
J06345 N/A SLOT PAN HD MACH SCREW Discontinued
J06347 N/A SLOT PAN HD MACH SCREW Discontinued
J06348 N/A SLOT PAN HD MACH SCREW Discontinued
J06349 N/A SLOT PAN HD MACH SCREW Discontinued
J06353 N/A SLOT PAN HD MACH SCREW Discontinued
J06354 N/A SLOT PAN HD MACH SCREW Discontinued
J06360 N/A SLOT HEX HD MACH SCREW Discontinued
J06361 N/A SLOT HEX HD MACH SCREW Discontinued
J06362 N/A SLOT HEX HD MACH SCREW Discontinued
J06364 N/A SLOT HEX HD MACH SCREW Discontinued
J06365 N/A SLOT HEX HD MACH SCREW Discontinued
J06366 N/A SLOT HEX HD MACH SCREW Discontinued
J06367 N/A SLOT HEX HD MACH SCREW Discontinued
J06368 N/A SLOT HEX HD MACH SCREW Discontinued
J06369 N/A SLOT HEX HD MACH SCREW Discontinued
J06370 N/A SLOT HEX HD MACH SCREW Discontinued
J06371 N/A SLOT HEX HD MACH SCREW Discontinued
J06374 N/A SLOT HEX HD MACH SCREW Discontinued
J06375 N/A SLOT HEX HD MACH SCREW Discontinued
J06378 N/A SLOT HEX HD MACH SCREW Discontinued
J06379 N/A SLOT HEX HD MACH SCREW Discontinued
J06384 N/A SLOT HEX HD MACH SCREW Discontinued
J06388 N/A SLOT OVAL HD MACH SCREW Discontinued
J06389 N/A SLOT OVAL HD MACH SCREW Discontinued
J06390 N/A SLOT OVAL HD MACH SCREW Discontinued
J06391 N/A SLOT OVAL HD MACH SCREW Discontinued
J06392 N/A SLOT OVAL HD MACH SCREW Discontinued
J06393 N/A SLOT OVAL HD MACH SCREW Discontinued
J06394 N/A SLOT OVAL HD MACH SCREW Discontinued
J06395 N/A SLOT OVAL HD MACH SCREW Discontinued
J06397 N/A SLOT OVAL HD MACH SCREW Discontinued
J06398 N/A SLOT OVAL HD MACH SCREW Discontinued
J06399 N/A SLOT OVAL HD MACH SCREW Discontinued

80



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J06401 N/A SLOT OVAL HD MACH SCREW Discontinued
J06402 N/A SLOT OVAL HD MACH SCREW Discontinued
J06407 N/A SLOT FLAT HD MACH SCREW Discontinued
J06408 N/A SLOT FLAT HD MACH SCREW Discontinued
J06409 N/A SLOT FLAT HD MACH SCREW Discontinued
J06410 N/A SLOT FLAT HD MACH SCREW Discontinued
J06411 N/A SLOT FLAT HD MACH SCREW Discontinued
J06412 N/A SLOT FLAT HD MACH SCREW Discontinued
J06414 N/A SLOT FLAT HD MACH SCREW Discontinued
J06416 N/A SLOT FLAT HD MACH SCREW Discontinued
J06418 N/A SLOT FLAT HD MACH SCREW Discontinued
J06421 N/A SLOT FLAT HD MACH SCREW Discontinued
J06427 N/A MACHINE SCREW HEX NUT Discontinued
J06428 17360 MOISTURE RESISTANT TAP CONNECTOR 18-14 GAUGE 25 50 +25

J06431 21352 VW OIL DRAIN PLUG WITH GASKET 5 2 -3

J06432 19560 SINGLE BOND NYLON HOSE GLAMP 11/32 50 25 -25

J06434 19562 SINGLE BOND NYLON HOSE CLAMP 15/32 50 25 -25

J06436 19564 SINGLE BOND NYLON HOSE CLAMP 19/32 50 25 -25

J06437 19566 SINGLE BOND NYLON HOSE CLAMP 3/4 50 25 -25

J06438 N/A NYLON HOSE CLAMP Discontinued
J06440 19570 SINGLE BOND NYLON HOSE CLAMP 1-1/4 25 10 -15

J06441 11788 #8 X 3/4 PHIL OVAL #6 HD AB TAPPING SEMS - BLACK

406442 11452 #8-18 X 1-1/4 PHL OVAL CTRSK WASH SEMS TEK - CHROME

J06443 11457 #8-18 X 1-1/4 PHIL OVAL CTRSK WASH SEMS TEK - PHOS

J06446 N/A RATCHET RIVET Discontinued
J06447 N/A RATCHET RIVET Discontinued
J06448 N/A RATCHET RIVET Discontinued
J06452 14568 CABLE TIE TOOL

J06454 N/A SNAP FASTENER TOOL KIT Discontinued
J06457 N/A 10-32 NYL INS WINGNUT Discontinued
J06459 N/A 1/4-28 NYL INS WINGNUT Discontinued
J06462 N/A NYLON CABLE TIE 6-18 L Discontinued
J06463 N/A NYLON CABLE TIE 8-18 L Discontinued
J06464 15146 BLACK NYLON CABLE TIE 7” LENGTH 100 50 -50

J06465 N/A NYLON CABLE TIE 11-75L Discontinued
J06466 15753 14” THIN CABLE TIE (LIGHT DUTY) BLACK 50 LB 100 25 -75

J06467 15148 BLACK NYLON CABLE TIE 14” LENGTH 100 25 -75

J06470 17686 BLADE TYPE MINI FUSE TAP

J06471 15150 BLACK NYLON CABLE TIE W/MNTG HOLE 7-1/2 LENGTH 100 50 -50

J06474 14196 DRAIN PLUG 1/2 - 20 THREAD 5 10 +5

J06475 16039 HEX WASHER HEAD TEKS SCREW #38 X 1/2

J06476 16040 HEX WASHER HEAD TEKS SCREW #8 X 3/4

J06477 16041 HEX WASHER HEAD TEKS SCREW #38 X 1 100 50 -50

J06481 16042 HEX WASHER HEAD TEKS SCREW #10 X 1/2 100 50 -50

J06482 16043 HEX WASHER HEAD TEKS SCREW #10 X 3/4 100 50 -50

J06483 23549 HEX WSHR HD T.S. W/ TEK POINT #10 X 1 - BLACK

J06484 24129 HEX WSHR HD T.S. W/ TEK POINT #10 X 1-1/4 - BLACK

J06486 N/A HX WSHR SELF DRILL SCR Discontinued
J06487 24130 HEX WSHR HD T.S. W/ TEK POINT #14 X 3/4 - BLACK

J06488 24131 HEX WSHR HD T.S. W/ TEK POINT #14 X 1 - BLACK

J06491 16033 PHILLIPS PAN HEAD TEKS SCREW #8 X 1/2

J06492 16034 PHILLIP PAN HEAD TEKS SCREW #8 X 3/4

J06493 16035 PHILLIP PAN HEAD TEKS SCREW #8 X 1 100 50 -50

J06494 24132 PHILLIPS PAN HD T.S. W/ TEK POINT #8 X 1-1/2 - BLACK

J06495 16036 PHILLIP PAN HEAD TEKS SCREW #10 X 1/2 100 50 -50

J06496 16037 PHILLIP PAN HEAD TEKS SCREW #10 X 3/4 100 50 -50

J06497 16038 PHILLIP PAN HEAD TEKS SCREW #10 X 1 100 50 -50

J06498 24133 PHILLIPS PAN HD T.S. W/ TEK POINT #10 X 1-1/2 - BLACK

J06499 24134 PHILLIPS PAN HEAD TAPPING SCREW #14 X 3/4 - BLACK

J06500 24135 PHILLIPS PAN HEAD TAPPING SCREW #14 X 1 - BLACK

J06502 N/A PHIL PAN SHT MET SCREW Discontinued
J06503 N/A PHIL PAN SHT MET SCREW Discontinued
J06504 N/A PIN GRIP RIVET BAS 48 Discontinued
J06505 N/A PIN GRIP RIVET BAS 52 Discontinued
J06506 19050 PANL BLIND ALUM. RIVET 5/32 DIA 3/16-1/4 GRIP 250 100 -150

J06507 N/A PIN GRIP RIVET BAS 56 Discontinued
J06509 8883 PAN-L-RIVETS 250 100 -150

J06510 8836 PAN-L-RIVETS 250 100 -150

J06511 N/A PIN GRIP RIVET BSS 56 Discontinued
J06512 N/A PIN GRIP RIVET BAA 45 Discontinued
J06513 5434 1/4-20 X 1/2 GRADE 5 CAP SCREW ZINC 50 100 +50

J06514 5436 1/4-20 X 3/4 GRADE 5 CAP SCREW ZINC 50 100 +50

J06515 5438 1/4-20 X 1 GRADE 5 CAP SCREW ZINC 50 100 +50

J06516 5439 1/4-20 X 1 1/4 GRADE 5 CAP SCREW ZINC 50 100 +50

J06517 5440 1/4-20 X 1 1/2 GRADE 5 CAP SCREW ZINC 50 100 +50




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J06518 5442 1/4-20 X 2 GRADE 5 CAP SCREW ZINC 50 100 +50

J06519 5449 5/16-18 X 3/4 GRADE 5 CAP SCREW ZINC 50 100 +50

J06520 5451 5/16-18 X 1 GRADE 5 CAP SCREW ZINC 50 100 +50

J06521 5453 5/16-18 X 1 1/2 GRADE 5 CAP SCREW ZINC 50 100 +50

J06522 5455 5/16-18 X 2 GRADE 5 CAP SCREW ZINC

J06523 5457 5/16-18 X 2 1/2 GRADE 5 CAP SCREW ZINC 25 50 +25

J06524 5463 3/8-16 X 3/4 GRADE 5 CAP SCREW ZINC

J06525 5465 3/8-16 X 1 GRADE 5 CAP SCREW ZINC

J06526 5467 3/8-16 X 1 1/2 GRADE 5 CAP SCREW ZINC

J06527 5469 3/8-16 X 2 GRADE 5 CAP SCREW ZINC

J06528 5471 3/8-16 X 2 1/2 GRADE 5 CAP SCREW ZINC 25 50 +25

J06529 5476 7/16-14 X 1 GRADE 5 CAP SCREW ZINC 25 50 +25

J06530 5478 7/16-14 X 1 1/2 GRADE 5 CAP SCREW ZINC 25 50 +25

J06531 5480 7/16-14 X 2 GRADE 5 CAP SCREW ZINC

J06532 5488 1/2-13 X1 1/2 GRADE 5 CAP SCREW ZINC

J06533 5490 1/2-13 X 2 GRADE 5 CAP SCREW ZINC

J06534 5491 1/2-13 X2 1/2 GRADE 5 CAP SCREW ZINC

J06536 15587 GR 5 HEX NUT 5/16-18 USS ZINC

J06537 15588 GR 5 HEX NUT 3/8-16 USS ZINC

J06538 15589 GR 5 HEX NUT 7/16-14 USS ZINC 100 50 -50

J06539 15590 GR 5 HEX NUT 1/2-13 USS ZINC 100 50 -50

J06540 16352 MINI FUSE - 3 AMPS 10 B -5

J06541 16353 MINI FUSE - 4 AMPS 10 5 -5

J06542 16354 MINI FUSE - 5 AMPS 10 B -5

J06543 16355 MINI FUSE - 7.5 AMPS 10 5 -5

J06544 16356 MINI FUSE - 10 AMPS 10 B -5

J06545 16357 MINI FUSE - 15 AMPS 10 5 -5

J06546 16358 MINI FUSE - 20 AMPS 10 B -5

J06547 16359 MINI FUSE - 25 AMPS 10 5 -5

J06548 16360 MINI FUSE - 30 AMPS 10 B -5

J06549 17091 BLACK NYLON LICENSE PLATE SCREW M6-1.0 X 20MM

J06550 18348 BLACK M6-1.00 NYLON LICENSE PLATE NUT 100 1000 +900

J06551 15170 DEALER LICENSE PLATE THUMB SCREW #14X1/2

J06552 23550  SLOTTED HEX WSHR HD LICENSE PLATE SCREW #14 X 3/4 - BLACK E-COAT

J06554 16031 BLIND RIVET 1/4 HEAD DIA. 1/2 RIVET LENGTH 250 100 -150

J06555 19790 TRIM PANEL RET. GREY VERSION OF 11146

J06556 N/A GRD 5 HHCS-ZINC 3/8-16 Discontinued
J06558 N/A HEAT SHRINK TUBING 1/2 Discontinued
J06561 N/A NYLON CABLE TIE 6-30LB Discontinued
J06562 12795 PHILLIPS OVAL HD T.S. 6 X 1/2 BLACK OXIDE

J06563 12796 PHILLIPS OVAL HD 6 X 3/4 T.S. BLACK OXIDE

J06564 12797 PHILLIPS OVAL HD T.S. 6 X 1 BLACK OXIDE

J06567 24136 HEX PAL NUT #10-24 HEX 3/8 - ZINC

J06575 14170 WASHER CAP TYPE FASTENER - 1/4

J06576 14171 WASHER CAP TYPE FASTENER - 5/16

J06577 14172 WASHER CAP TYPE FASTENER - 3/8

J06578 8665 ROD END FASTENER - 1/2 50 100 +50

J06579 16851 PUSHNUT BOLT RETAINER #6 BOLT 11/32 0.D.

J06580 10085 PUSH-NUT BOLT RETAINER #38 BOLT 3/8 OD

J06581 16852 PUSHNUT BOLT RETAINER #10 BOLT 7/16 0.D.

J06603 N/A GRIP CLIP 7/16-3/4 SHA Discontinued
J06604 N/A GRIP CLIP 5/8-1 SHAFT Discontinued
J06622 9288 PLASTIC PLUG BUTTON W/DEP CTR 1/2 HOLE

J06623 9289 PLASTIC PLUG BUTTON W/DEP CTR 3/4 HOLE

J06624 9290 PLASTIC PLUG BUTTON W/DEP CTR 7/8 HOLE

J06625 9291 PLASTIC PLUG BUTTON W/DEP CTR 1 HOLE

J06626 9292 PLASTIC PLUG BUTTON W/DEP CTR1-1/4HOLE 50 100 +50

J06627 9293 PLASTIC PLUG BUTTON W/DEP CTR1-1/2HOLE 50 100 +50

J06628 17208 PLASTIC PLUG BUTTON 2” HOLE SIZE

J06634 14876 SPIN LOCK NUT W/ SERR. 3/8-16 3/4 0D 50 100 +50

J06637 N/A PHIL OVAL HD SHT MET S Discontinued
J06638 1797 PHILLIPS OVAL HEAD TAP SCREW 6 X 1 1/4 CHROME

J06642 2712 8 X 7/8 PHILLIPS OVAL HEAD TAP SCREW CHROME

J06647 24137 PHILLIPS PAN HEAD TAPPING SCREW #10 X 5/8 - BLACK

J06648 N/A PHIL PAN SHT MET SCREW Discontinued
J06650 24138 HEX PAL NUT 3/4-16” HEX 1-1/16” - ZINC

J06651 24139 SLOTTED HEX WASHER HEAD T.S. #14 X 1/2 - ZINC

J06652 24140 SLOTTED HEX WASHER HEAD T.S. #14 X 5/8 - ZINC

J06653 N/A PHIL OVAL MS SEMS 1/4- Discontinued
J06694 5648 4 X 1/2 PHIL FLAT HD T.S. ZINC AB

J06695 2736 6 X 5/16 #4 HD PHILLIPS FLAT HEAD TAP SCREW ZINC

J06696 1946 PHILLIPS FLAT HEAD TAP SCREW 6 X 1/2 ZINC AB

J06697 5653 6 X 5/8 PHIL FLAT HD T.S. ZINC AB

J06702 N/A PHIL FLAT SHT MET SCRE Discontinued
J06717 16323 SLOT TRUSS HEAD LICENSE PLATE SCREW #14 X 3/4

82



Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
J06723 23548 MOULDED IN-LINE ATO/ATC 30AMP FUSE HOLDER W/FUSE

J06725 N/A ATO BLOWN FUSE INDICAT Discontinued
J23340 7677 BUTTON FASTENER

J23341 7679 STUD FASTENERS

J23342 7678 SOCKET FASTENER

J23343 7682 EYELET FASTENERS

J33242 N/A GREASE FITTING * FORME Discontinued
J80502 N/A J-TYPE CAGE NUT C30110 Discontinued
J80512 N/A PHIL FLAT MS 8-32 x 3/ Discontinued
J80513 N/A SLTD PAN HD MS 8-32 x Discontinued
J80514 N/A SLTD PAN MS 10-24 x 1- Discontinued
J80515 N/A PHIL FLAT SMS 12 x 1/2 Discontinued
J80517 N/A SLTD FLAT MS 3/8-16 x Discontinued
J80518 N/A SLTD FLAT WOODSCREW 8 Discontinued
J80520 N/A SLTD ROUND WOODSCREW 8 Discontinued
J80521 N/A STEP BOLT - ZINC 1/4-2 Discontinued
J80522 N/A GRD 5 HHCS - ZINC 1/2- Discontinued
J80529 N/A HEAVY FENDER WASHER 1- Discontinued
J80537 N/A PHIL FLAT SMS 6 x 3/4 Discontinued
J80539 N/A PHIL FLAT SMS 12 x 1-1 Discontinued
J80540 N/A HHCS GRD 8 1-8x6Z & Discontinued
J80541 N/A HHCS GR5 7/8-9 x 3-1/2 Discontinued
J80542 N/A STAMPED WING NUT 42437 Discontinued
J80543 N/A SLTD PAN HD MS 10-32 x Discontinued
J80550 N/A HEX FLANGE BODY BOLT 5 Discontinued
J80551 N/A PHIL FLAT SMS 7 x 1 Discontinued
J80552 N/A U TYPE SPEED NUT C1925 Discontinued
J80553 N/A HOLE PLUG 9/32 Discontinued
J80557 N/A METRIC CAP SCREW M16 X Discontinued
J80558 N/A SPECIAL SHOULDER BOLT Discontinued
J80559 N/A M6 x 1.0 NYLON FLANGE NU Discontinued
J80568 N/A GRD 5 HHCS-ZINC 9/16-1 Discontinued
J80569 N/A GRD 5 HEX NUT ZINC 433 Discontinued
J80570 N/A COLLET FOR 5148 Discontinued
J80571 N/A TYPE 1 TCS W/ SERRATIO Discontinued
J80580 N/A E’'RETAINING RING SAME Discontinued
J80589 N/A GRD 5 HHCS 1/2-20 x 3- Discontinued
J80594 N/A GRADE 8 CAP SCREW 3/4- Discontinued
J80605 N/A PHIL OVAL MS 8 - 32 x 3/ Discontinued
J80622 N/A FLAT BRASS WASHER 7/16 Discontinued
J80638 N/A 1/4 - 20 TAP 43041 Discontinued
J80639 N/A 5/16 - 18 TAP 43051 Discontinued
J80640 N/A 7/16 - 14 TAP 43071 Discontinued
J80641 N/A 1/2 - 13 TAP 43081 Discontinued
J80649 N/A PHIL FLAT MS 1/4 - 20 X Discontinued
J80650 N/A GRD 5 HHCS 7/16 - 20 X 7 Discontinued
J80653 N/A UNUT 1/4 - 20 C7446-142 Discontinued
J80654 N/A PHIL FLAT WOODSCREW 12 Discontinued
J80690 N/A HEX JAM NUT 3/4-16 ZIN Discontinued
J80691 N/A 1/4 - 20 ROUND WELD NUT Discontinued
J80700 N/A SPINLOCK BODY BOLT 1/2 Discontinued
J80710 N/A METRIC SCREW/ HEX HD M Discontinued
J81400 N/A 4SR CABINET 4 DRAWER SM Discontinued
J81401 N/A M5 MANDREL FOR 200RN Discontinued
186445 N/A VIBRA-TITE 8 0OZ. CANS Discontinued
NN-3001 5788 HEADLIGHT ADJUSTING NUT

NN-3003 N/A ALTHREAD NUT Discontinued
NN-3004 N/A ALTHREAD NUT Discontinued
RK-100 24141 FORD WINDOW REGULATOR ROLLER

RK-128 23551 FORD WINDOW REGULATOR ROLLER

RK-137 23996 GM WINDOW REGULATOR ROLLER

RK-175 23997 GM WINDOW REGULATOR ROLLER & RIVET KIT

SC-3197 15759 DOOR LOCK ROD CLIP

SC-3314 N/A FASTENER Discontinued
SC-3315 24144 CHRYSLER WINDOW REGULATOR PUSH NUT

SC-3339 24145 GM & FORD WINDSHIELD REVEAL MOULDING CLIP

SC-3344 23563 GM WEATHERSTRIP CLIP

SC-3345 23563 GM WEATHERSTRIP CLIP

SC-3348 23563 GM WEATHERSTRIP CLIP

VHB-105R  N/A VENT HANDLE BRACKET Discontinued
VLK-7 24146 FORD, INTERNATIONAL, RAMBLER, CHECKER CAB VENT LATCH KIT

WC-2038 2310 DOOR TRIM PANEL FASTENERS

WC-2049 2288 DOOR & WINDOW CRANK HANDLE RETAINING CLIP

WC-2051 24143 FORD WINDOW REGULATOR ROLLER RETAING CLIP

WP-1 24147 GM DOOR WEATHERSTRIP CLIP




Only Quantity Changes Noted Below

Car-Pak Auveco Car-Pak  Auveco  Quantity Notes / Functional
Part No. Part No. Item Description Pkg. Qty. Pkg.Qty. Change Difference
X-2555 23767 STEERING HOUSING KIT Discontinued
X-2804 3135 WINDOW REGULATOR ROLLER ASSEMBLY

X-2819b 23097 FUEL INJECTOR HARNESS CONNECTOR Discontinued
X-2890 15170 DEALER LICENSE PLATE THUMB SCREW #14 X 1/2

X-3162 13750 NYLON RIVET 1/4 HOLE DIA. 2-3/16 LENGTH 100 25 -75

X-3199 13753 NYLON RIVET 17/64 HOLE DIA. 1-7/8 LENGTH 100 25 -75

X-6431 16308 OIL DRAIN PLUG-14MM SHORT BODY W/ GASKET

84



